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مقدمه
ىکى از عوامل مهم توسعه در هر کشورى وجود نىروهاى متخصص و کارا در آن کشور 
مربوط  انجام محاسبات  تواناىى  باشد  داشته  فن ورز  باىد ىک  که  تواناىى هاىى  از جمله  مى باشد. 
به کار خود و ىا انجام کارها با نگرش محاسباتى مى باشد. با اىن دىدگاه، درس محاسبات فنى به 
منظور تقوىت تواناىى محاسبات مرتبط با رشته ماشىن هاى کشاورزى براى هنرجوىان اىن رشته در 

کمىسىون ماشىن هاى کشاورزى برنامه رىزى شده است.
محتواى کتاب محاسبات فنى با دىد جامع به تواناىى هاى علمى مورد انتظار از هنرجوىان 
سال سوم رشته ماشىن هاى کشاورزى برنامه رىزى شده و شامل دو بخش اساسى مى باشد. بخش 
اول در ادامه درس فىزىک و به منظور تکمىل اطلاعات پاىه فىزىک و مکانىک آورده شده و بخش 
و  فنى  نکات  از  اعم  ماشىن هاى کشاورزى  و  تراکتور  مورد  در  دوم شامل محاسبات تخصصى 

اقتصادى مى باشد.

از روابط  استفاده  با  انجام محاسبات  تواناىى  و  مفاهىم  آموزش  اىن کتاب  توجه: هدف 
کاربردى است. بنابراىن در آزمون ها جداول و فرمول ها در اختىار هنرجوىان قرار خواهد گرفت.

هدف کلى

تواناىى انجام محاسبات مرتبط با ماشىن هاى کشاورزى.
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ÆbýUÐÅv" «—«œ «— vÖó¹Ë sOMÇ »uš ÁU~²Ýœ p¹ qLŽ —œ

µ∫ÈdOÖÅÁ“«b « XO�dþ ‡‡ÅÅÈdOÖÅÁ“«b�« qÐUG —«bI" s¹dðÅ¯—eÐ ̈ ÈdOÖÅÁ“«b�« XO-dþ “« —uEM" 

U?¼Åv?ýËd?-ö?Þ —œ ÁœU?H?²?Ý« œ—u?" ÈË“«d?ð ‰U?¦?" Ê«uMŽÅtÐ ÆbýUÐÅv" ÈdOÖÅÁ“«b�« tKOÝË U¹ —«eÐ« jÝuð

"« XÝ« —«œ—ušdÐ v¹ôUÐ hO1Að  —bG “« tÇÅdÖ«Ò bŠ Uð Ê¬ XO-dþ U
  
1kg“« gOÐ ÈU¼Åt�“Ë Ë ÁœuÐ 

Æbý b¼«uš Ë“«dð vÖb¹œÅVOÝ¬ Vłu" s¹«

¥‡‡±ÈdOÖÅÁ“«b « —œ ÁU³²ý« Ë UDš ‡‡

ÈdOÖÅÁ“«b�« d¼ —œ ÆbýUÐÅv" Ê¬ vFG«Ë —«bI" UÐ Ábý t²-dÖ ÅÁ“«b�« p¹ ·ö²š« ÈdOÖÅÁ“«b�« ÈUDš

∫œuýÅv" ÊUOÐ d¹“  —uH tÐ VKž« t/ œ—«œ œułË ÈœbF²" ÈU¼UDš

∫Èd?O?Ö—U?� tÐ ÈUDš ‡‡œ—u?" X?O?L?/ ÈË— Èd?O?ÖÅÁ“«b?�« tKOÝË ÈdOÖ—U/ tÐ dŁ« —œ UDš s¹« 

Æb¹¬Åv" œułËÅtÐ ÁU~²Ýœ XRUšœ “« qHUŠ  «dOOGð Ë ÈdOÖÅÁ“«b�«

∫œdJKLŽ ÈUDš ‡‡ôuLF" UDš s¹« ÎdOÖÅÁ“«b�« h1ý jÝuð ÁU~²Ýœ “« ÁœUH²Ý« “dÞ XKŽ tÐ 

ÆœuýÅv" qHUŠ

∫j?O?×� ÈUDš ‡‡ «d?Ł« Ë Èd?O?ÖÅÁ“«b?�« j?O?×?" j?¹«dý —œ qHUŠ  «dOOGð dŁ« —œ UDš s¹« 

Æb¹¬Åv" œułËÅtÐ ÈdOÖÅÁ“«b�« qLŽ ÈË— Ê¬ qÐUI²"

∫vJO�UM¹œ ÈUDš ‡‡bM²6¼ dOOGð —œ rz«œ —uÞÅtÐ t/ ÈdOÖÅÁ“«b�« œ—u" ÈU¼ÅXOL/ —œ UDš s¹« 

ÈU?D?š ÁU?Öd?¼ Æb?²?-«Åv?" ‚UHð«  «dOOGð s¹« UÐ ÈdOÖÅÁ“«b�« “«dÐ« U¹ ÁU~²Ýœ qLFR«ÅfJŽ ‚U³D�« ÂbŽ Ë

ôuLF" “U−" ÈUDš ÈÅÁ“«b�« ÆbM¹uÖÅv" ÁU³²ý« Ê¬ tÐ býUÐ “U−" bŠ “« gOÐ ÈdOÖÅÁ“«b�«Î ≤ Uð ≥dÐ«dÐ 

ÆœuýÅv" sOOFð ÈdOÖÅÁ“«b�« tKOÝË XGœ

µ‡‡ÅÅÅ±‰uÞ ÈdOÖÅÁ“«b « bŠ«Ë ‡‡

 r?²?6OÝ —œ ‰uÞ ÈdOÖÅÁ“«b�« bŠ«ËSI® d?²" ¨m—œ —u?� t?/ X?Ý« v²-U6" d²" p¹ ÆbýUÐÅv" ©



ÅÅÅÅÅÅÅÅµÅ

  b"
1

299792458
Æb¹ULOÄÅv" úš —œ tO�UŁ 

 œbŽ d~¹bJ¹ tÐ d²" ·UF{« Ë ¡«eł« q¹b³ð V¹d{±∞¡«eł« q¹b³ð Áu×� d¹“ qJý —œ býUÐÅv" 

1m = 10dm = 100cm = 1000mm

×10 ×10 ×10

:10 :10 :10

 qJý±‡‡±

ÆXÝ« Ábý Áœ«œ ÊUA� d~¹bJ¹ tÐ d²"

ôu?L?F?" t?/ d²" d~¹œ È«eł« “«Îœd?O?ÖÅv?" —«d?G ÁœU?H?²?Ý« œ—u" È“UÝÅsOýU" oOGœ ÈU¼—U/ —œ 

∫UÐ XÝ« dÐ«dÐ t/ œdÐ ÂU� d²"ËdJO" “« Ê«uðÅv"

1µm =
1

1000000
m =

1

1000
mm

 r²6OÝ —œSI V¹d{ UÐ dðÅpÇu/ È«eł« tÐ U¼bŠ«Ë q¹b³ð ±∞V¹d{ UÐ dðÅ¯—eÐ È«eł« tÐ Ë 

  

1

10

ÆbýUÐÅv" d¹“ ‰Ëbł tÐ tłuð UÐ 

∫‰U¦� ≥[¥øXÝ« d²"Åv²�UÝ bMÇ d²"uKO/ 

∫qŠ

  
1km =1000m

3 / 4km = 3 / 4×1000m = 3400m

  
1m =100cm

  
3400m = 3400×100cm = 340000cm

∫‰U¦� ±¥∞ÆbOM/ q¹b³ð d²"ÅvKO" tÐ «— d²"ËdJO" 

1µm =
1

1000
mm

140µm =140×
1

1000
=

140

1000
=0/14mm

p n µ m c d da h k M G T

10−12 10−9 10−6 10−3 10−2 10−1 10 1 10 2 10 3 10 6 10 9 10 12

«dðU~OÖU~�uKO�U²J¼U�œvÝœv² UÝvKO�ËdJO�u U uJOÄb uAOÄ

b uAOÄ X�öŽ

V¹d{



ÅÅÅÅÅÅ∂Å

 r?²?6?O?Ý ÈU?łÅt?Ð f?OK~�« Ë UJ¹d"¬ ÈU¼—uA/SIb?Š«Ë Æb?M?M?/Åv?" ÁœU?H²Ý« vâM¹« r²6OÝ “« 

®  u- ¨vâM¹« r²6OÝ —œ ‰uÞ ÈdOÖÅÁ“«b�«foot® êM¹« Ê¬ È«eł« “« t/ ¨býUÐÅv" ©inch·UF{« “« Ë ©

® œ—U¹ Ê¬yards?OMâL¼ Ë vâM¹« r²6OÝ —œ ‰uÞ bŠ«Ë ·UF{« Ë ¡«eł« d¹“ —œ ÆœdÐ ÂU� Ê«uðÅv" «— ©

ÆXÝ« Áb"¬ p¹d²" bŠ«Ë tÐ U¼ÅÊ¬ q¹b³ð V¹d{

1in = ′′1 = 25 / 4mm

1ft =1 ′′2 = 304 / 80mm

1yd = 3 ft = 914 / 4mm

«cR ÆœdOÖÅv" —«dG ÁœUH²Ý« œ—u" eO� êM¹« p¹ “« dðÅpÇu/ œUFÐ« È“UÝÅsOýU" ÈU¼—U/ —œ ÊuÇ

ôuLF"Î tÐ «— êM¹« p¹ ±∂ÊU?A?� d¹“ Õdý tÐ v¹U¼d6/ UÐ «— Ê¬ È«eł« Ë Áœd/ rO6Ið ÈËU6" XL6G 

∫bM¼œÅv"

  

′′1

16
 ¨

  

′′1

8
 ¨

  

′′3

16
 ¨

  

′′1

4
 ¨

  

′′5

16
 ¨

  

′′3

8
 ¨

  

′′7

16
 ¨

  

′′1

2
 ¨

  

′′9

16
 ¨

  

′′5

8
 ¨

  

1 ′′1

16
 ¨

  

′′3

4
 ¨

  

1 ′′3

16
 ¨

  

′′7

8
 ¨

  

1 ′′5

16
 ¨  ′′1

∫‰U¦� 

  

1

4
øXÝ« d²"ÅvKO" bMÇ êM¹« 

′′1

4
=

1

4
×25 / 4mm = 6 / 35mm

∫‰U¦� 

  
1

′′1

4
ÆbO¹UL� q¹b³ð d²"ÅvKO" tÐ «— 

1
′′1

4
=

′′5

4
⇒

5

4
×25 / 4mm = 31/ 75mm

s	dL�

±‡‡ "FLuôÎ GDd œ«šKv RuRtÅ¼U ¼Lâ?MOs GDd ÝUÇLt ÐK³d¹M@Å¼U —« ÐU Ë«Šb «¹Mê "vÅÝM−MbÆ GD?d

œ«šKv RuRt Ë GDd ÝUÇLt ÐK³d¹M~v œ— «ýJU‰ “¹d œ«œÁ ýbÁ «ÝX "IUœ¹d ¬ÊÅ¼U —« ÐtÅÅ"OKvÅ"²d ð³b¹q �LU¹ObÆ

vKš«œ dD6

 qJý≤‡‡±

5
16

″
= ? mm

3

8

″
= ? mm

7
8

″
= ? mm

vł—Uš dD6

1
2

″
= ? mm

3

4

″
= ? mm

1
8

″
= ? mm

 qJý≥‡‡±



ÅÅÅÅÅÅÅÅ∑Å

≤XÝ« Ábý Áœ«œ ÊUA� d¹“ qJý —œ vâOÄ vł—Uš dDG V6ŠdÐ È«ÅÁdN" Ë êOÄ dÝ X"U1{ ‡‡

 êOÄ dDG dÖ«

  
d =1

′′1

4
Æb¹—Ë¬ XÝœÅtÐ d²"ÅvKO" V6ŠdÐ «— Ê¬ œUFÐ« ¨býUÐ 

 qJý¥‡‡±

d

0/7d 0/8d

∂‡‡± UFD6 jO×� t³ÝU×� ‡‡

È“—ËU?A?/ Ë v?²FMH  UFDG —œ jO×" t³ÝU×" »U²/ s¹« —œ  UFDG jO×" t³ÝU×" “« ·b¼

ôuLF" t/ ªXÝ«ÎË Ád¹«œ jO×" t³ÝU×" jÐ«Ë— È—Ë¬œU¹ Ê«uMŽÅtÐ ÆbMýUÐÅv" vÝbM¼ ‰UJý« “« v³O/dð 

ÆœuýÅv" Áœ—Ë¬ Ád¹«œ ŸUDG vÝuG ‰uÞ sOMâL¼ Ë vCOÐ

 qJýµ‡‡ÅÅÅÅ±

d

vCOÐÁd¹«œ ŸUD6Ád¹«œ

α

d

l

D
d

∫‰U¦� q?J?ý oÐUD" È«ÅtFDG ∂‡‡ÅÅ±‚—Ë “« 

«— ‘d?Ð d?O?6?" ‰u?Þ ªb?ý b?¼«u?š Áb?¹dÐ Èœôu-

Æ©XÝ« d²"ÅvKO" V6ŠdÐ U¼ÅÁ“«b�«® bOM/ »U6Š

L2

L3

L48
0

L5

2
0
0

L 1
=

2
0

0

 qJý∂‡‡ÅÅÅÅ±

U ==
D ++ d

2
.ππ    

U == d.ππ  (1−− 3)(1−− 2)(1−−1)
    
l ==

d.ππ.αα
360





ÅÅÅÅÅÅ∏Å

∫qŠj?O?×?" «b?²?Ð« Ê¬ t?³ÝU×" È«dÐ t/ býUÐÅv" tFDG jO×" ÊUL¼ ‘dÐ dO6" ‰uÞ “« —uEM" 

 ÈU¼Å‰uÞ tÐ «— tFDG
  
L

1
 Ë 

  
L

2
 Ë 

  
L

3
 Ë 

  
L

4
UÐ U¼ÅÊ¬ “« p¹ d¼ ‰uÞ t³ÝU×" “« fÄ Ë Áœd/ pOJHð 

Æb�—Ë¬Åv" XÝœÅtÐ «— V/d" tFDG jO×" ¨U¼ÅjšÅÁ—UÄ ‰uÞ lLł

L
2

=
d

2
× π
2

=
400× 3 /14

2
= 628mm

L
3

= 200− 80=120mm

L
4

=
d

4
× π
4

=
160× 3 /14

4
=125 / 6mm

L
5

= 400− 80= 320mm

U = 200+628 +120+125 / 6 + 320=1393 / 6mm

  
U =1/ 394m

∫‰U?¦�® t?L?6?ð Œd?Ç U?Ð X?M?R ÈdOÖ—œ t¹Ë«“ bOM/ »U6Š qJý oÐUD" e"dð ÁU~²Ýœ —œ α©«— 

 ŒdÇ dDG t/ vð—uH—œ¥∞∞ ŒdÇ UÐ dOÖ—œ XMR ”uG ‰uÞ Ë d²"ÅvKO" ∏∞≤[∏ÆbýUÐ d²"ÅvKO" 

 ‰u"d- “«≤‡‡±∫r¹—«œ 

    

l =
d × π × α

360


Å ÅÅ 

α=
l × 360



d × π
=

802 / 8 × 360


400× 3 /14

    α = 230/1

ÅÅÅÅÅÅ

400

3
4


1
9



8
100

10
0

 qJý∑‡‡±

s	dL�

±Ë v?ł—U?š jO×" ‡‡

Áœ«œ ÊU?A?�  U?F?D?G X?ŠU6"

«— Ë—Åt??ÐË— ‰U??J??ý« —œ Áb??ý

V6ŠdÐ Á“«b�«® b¹—Ë¬ XÝœÅtÐ

Æ©XÝ« d²"ÅvKO"

3
0

7

6
5

1
0

60

8
5

1
3

0

 qJý∏Å‡‡ÅÅÅÅÅÅÅ±

10

30

180

120

 qJýπ‡‡ÅÅÅÅ±



ÅÅÅÅÅÅÅÅπÅ

≤Æb¹—Ë¬ XÝœÅtÐ «— qJý oÐUD" tFDG jO×" sOMâL¼ Ë Èe/d" t¹Ë«“ ‡‡

 qJý±∞‡‡±

∑‡‡±vÝbM¼ ÕuDÝ  U³ÝU×� œdÐ—U� ‡‡

÷dŽ Ë ‰uÞ XÝ« bFÐ Ëœ È«—«œ `DÝ p¹

 `DÝ= ÷dŽ ×‰uÞ 

 r²6OÝ —œ `DÝ bŠ«Ë s¹«dÐUMÐSIvFÐd" `DÝ Ê¬ Ë XÝ« lÐd"d²" 

ÆbýUÐÅv" d²" p¹ lK{ d¼ ‰uÞ t/ XÝ«

  1m ×1m =1m2

® lÐd"d²"ÅvÝœ “« bMð—U³Ž lÐd" d²" «eł«  dm2
© lÐd"d²"Åv²�UÝ Ë   cm2

lÐd"d²"ÅvKO" Ë   mm2

  1m2 ×100dm2 =10000cm2 =1000,000mm2

 lÐd" d²"U/œ “« bMð—U³Ž lÐd" d²" ·UF{«  dm2
lÐd" d²"ÅÅ—u²J¼ Ë 

 ©—U²J¼®ha  lÐd"d²"uKO/Ë   km2

  
1hd =10000 m2

—U²J¼ 

  
1km2 =1000,000m2

lÐd"d²"uKO/ 

∫v?,?OK~ « r²,OÝ —œ `DÝ ÈdOÖÅÁ“«b « bŠ«Ë l?Ðd"  u- r²6OÝ s¹« —œ `DÝ bŠ«Ë   ft
2

 l?Ðd?" ÅÅêM¹« Ê¬ ¡«eł« Ë XÝ«  in2
 l?Ðd" œ—U¹ Ê¬ ·UF{« “« Ë 

  
yd2

U?¼ÅÊ¬ j?Ð«Ë— t/ œdÐ ÂU� Ê«uðÅv" «— 

∫“« bMð—U³Ž

  
1in2 = 6 / 45cm2

lÐd" êM¹« 

  
1Ft2 =144in2 = 929cm2

lÐd"  u- 

 
  
1yd2 = 9Ft2 =1296in2 = 8361cm2

lÐd" œ—U¹ 

2
7
0

α

l = 282 /6

 qJý±±‡‡±



ÅÅÅÅÅÅ±∞Å

 ‰Ëbł —œ≤‡‡±Æb�«ÅÁbý Áœ«œ È—Ë¬œU¹ Ê«uMŽÅtÐ vÝbM¼ ÕuDÝ jÐ«Ë— 

A ==
ππ ×× D ×× d

4
®∏‡‡ÅÅÅ±© ®π‡‡±© ®±∞‡‡±©A ==

ππ ×× d2

4

  
A ==0 / 785×× D ×× d

A ==0 / 785×× d2

A ==
l ×× b

2

A == l ×× b ®∂‡‡ÅÅ±© ®∑‡‡±©
  

A == l2 ®¥‡‡±© ®µ‡‡ÅÅÅ±© A == l ×× b
  
lm ==

l1 ++ l2
2

A == lm ×× b

tI “Ë–
Ÿö{ô«ÅÈ“«u²�qOD²,�lÐd�

vCOÐÁd¹«œYK¦�

D

d

D

lB

α
α

lB

b Ád¹«œ tFD6Ád¹«œ ŸUD6Ád¹«œ ÃUð

  

A ==
ππ(D2 −− d2)

4
    

A ==
ππ ×× d2

4
××

αα

360


    

A ==
ππ ×× d2

4
××

αα

360


−−
l(r −− b)

2

  
A ==0 / 785(D2 −− d2)

  

A ==
lB ×× d

4   

A ≈≈
2

3
l ×× b®±±‡‡±© ®±≤‡‡±© ®±≥‡‡±©

 ‰Ëbł≤‡‡±

b d

l l l Dd

l b

l l l

l2

lm

l1

∏‡‡ÅÅÅ±V�d� ÕuDÝ t³ÝU×� ‡‡

t³ÝU×" “« fÄ Ë Áœd/ pOJHð vÝbM¼ ÕuDÝ tÐ «— U¼ÅÊ¬ ̀ DÝ «b²Ð« V/d" ÕuDÝ t³ÝU×" È«dÐ

Æb�—Ë¬Åv" XÝœÅtÐ «— V/d" ̀ DÝ XŠU6" ̈ vÝbM¼ ÕuDÝ d¹œUI" Èd³ł lLł UÐ ̈ U¼ÅÊ¬ “« p¹d¼ ̀ DÝ

∫‰U¦�Æb¹—Ë¬ XÝœÅtÐ lÐd" d²"Åv²�UÝ V6ŠdÐ «— qJý oÐUD" tFDG `DÝ XŠU6" 



ÅÅÅÅÅÅÅÅ±±Å

10

1
0

1
5

10

4
0A A1

A2 A3= − −

 qJý±≤‡‡±

A = A
1

− A
2

− A
3

  
A

1
= L × b = 30× 40=1200mm2

  
A

2
= L2 =10

2 =100mm2

  
A

3
= L × b

2
= 10×15

2
= 75mm2

  
A =1200−100− 75 =1025 mm2

  
A = 1025

100
=10/ 25cm2

∫‰U¦�ÆbO¹UL� sOOFð lÐd" d²"ÅvKO" V6ŠdÐ «— qJý oÐUD" ÈbMÐÅ»¬ dý«Ë `DÝ 

 qJý±≥‡‡±

  
A == A1 −− A2 −− 2A3

A1

100

3
0

14

6
6

= − −A2 A 3 A 3

A

−

  
A1 =0/ 785 × D × d =0/ 785 ×100×66 = 5181mm2

  
A

2
=0/ 785 × d2 =0/ 785 × 30

2 = 706 / 5mm2



ÅÅÅÅÅÅ±≤Å

  
A

3
=0/ 785 × d2 =0/ 785 ×14

2 =153 / 86mm2

  
A = 5181− 706 / 5 − (2×153 / 86) = 4166 / 78mm2

s	dL�

± Á“«b?�« b?O?M?/ »U?6Š ÆXÝ« Ábý Áœ«œ ÊUA� d¹“ qJý —œ v�uðUý t²Ýœ lDI" `DÝ ‡‡X«— 

 Ê¬ lDI" XŠU6" t/ vð—uH—œ¥≤[πÆbýUÐ lÐd"d²"Åv²�UÝ 

60

4
5

1
0

0X

 qJý±¥‡‡±

≤ œ«b?F?ð s?²?šU?Ý È«d?Ð Â“ô tORË« ‚—Ë `DÝ t³ÝU×" X6ÐuKD" ‡‡µo?ÐU?D" È«ÅtFDG “« œbŽ 

 e¹— Ë X1¹— t/Åvð—uH—œ «— qJý±≤[µÆbýUÐ ‚—Ë tORË« `DÝ bH—œ 

22

1
8

2
2

4
6

28

110

 qJý±µ‡‡±



ÅÅÅÅÅÅÅÅ±≥Å

≥ œUFÐ« tÐ Èœôu- ‚—Ë “« ‡‡2× 500×1000mmb?ý b¼«uš t²šUÝ qJý oÐUD" È«ÅtFDG 

∫bOM/ »U6Š

ÆÁbý t²šUÝ tFDG `DÝ ©»                 ÆtORË« ‚—Ë `DÝ ©nR«

ÆtORË« ‚—Ë `DÝ ÈUM³" dÐ e¹— Ë X1¹— bH—œ ©œ               Æv×DÝ e¹— Ë X1¹— ©Ã

π‡‡ÅÅÅ±vÝbM¼ ÂU−Š«  U³ÝU×� œdÐ—U� ‡‡

∫r?−?Š ÈdOÖÅÁ“«b « bŠ«ËÈd?OÖÅÁ“«b�« bŠ«Ë 

 r?²?6OÝ —œ r−ŠSI —U?³?Ž Ê¬ Ë b?ýU?ÐÅv" VFJ"d²" 

 Ê¬ ŸUHð—« Ë ÷dŽ Ë ‰uÞ t/ v³FJ" r−Š “« XÝ«±

ÆbýUÐ d²"

  
1m ×1m ×1m =1m3

2
5

0

5
0

0

480

750

2
0

0

 qJý±∂‡‡±

 qJý±∑‡‡±

1m

1m

1m

÷

d
Ž

‰uÞ

Ÿ
U
H
ð
—

«

∫“« bMð—U³Ž VFJ"d²" ¡«eł«

  
1m3 =1000dm3 =1000000cm3 =1000000000mm3

® d?²?O?R “«  UF¹U" g−MÝ È«dÐLp?¹ ‰œU?F?" v?L−Š UÐ XÝ« dÐ«dÐ d²OR d¼ ÆœuýÅv" ÁœUH²Ý« ©

ÆVFJ"d²"ÅvÝœ

  
1dm3 =1L

1dm3

= 1L

 qJý±∏‡‡±



ÅÅÅÅÅÅ±¥Å

∫“« bMð—U³Ž U¼ÅÊ¬ Ë œuýÅv" ÁœUH²Ý« Ê¬ ¡«eł« “« d²OR “« dðÅpÇu/ ÈU¼År−Š ÈdOÖÅÁ“«b�« È«dÐ

  
1L =10dL =100cL =1000mL

∫V?�d?� ÂU?−?Š« q?� `DÝ Ë v³ Uł `DÝ ¨r−Š ÈÅt³ÝU×�`?D?Ý Ë r−Š ÈÅt³ÝU×" È«dÐ 

p¹d¼ `DÝ U¹ Ë r−Š t³ÝU×" “« fÄ Ë ÁœuL� pOJHð vÝbM¼ ÂU−Š« tÐ «— U¼ÅÊ¬ «b²Ð« ¨V/d" ÂU−Š«

U?Ð d?¹“ ÈU¼Å‰U¦" Æb�—Ë¬Åv" XÝœÅtÐ «— V/d" `DÝ U¹ Ë r−Š ¨qHUŠ d¹œUI" Èd³ł lLł UÐ ¨U¼ÅÊ¬ “«

ÅÅXÝuOÄ ‰Ëbł —œ Ábý Áœ—Ë¬ ÂU6ł« r−Š t³ÝU×" jÐ«Ë— “« ÁœUH²Ý«±∞ÆXÝ« Ábý qŠ 

∫‰U¦� Ê¬ ÈÅÁbŽUG dDG t/ VFJ"ÅÅd²"ÅvÝœ V6ŠdÐ È«Åt�«u²Ý« r−Š XÝ« »uKD" ≤∞∞d²"ÅvKO" 

 gŽUHð—« Ëµ∞∞ÆXÝ« d²"ÅvKO" 
200

5
0

0

d = ?

∫‰U?¦� È«ÅÁd/ r−Š µ≤≥[≥≥V?F?J"d²"ÅvÝœ 

ÆbOM/ t³ÝU×" «— Ê¬ dDG XÝ«

  

V =
π.d2

4
.h

  

V =
3 /14×2

2

4
× 5

  dm3
      V =15 / 7

  
V = 523 / 33dm3

  

V =
d3 .π

6

  

d =
6V
π

d =
6 × 523 / 33

3 /14

3 = 1000
3

  
d =10dm3

 qJý±π‡‡±

 qJý≤∞‡‡±



ÅÅÅÅÅÅÅÅ±µÅ

 ∫‰U¦� q?Jý oÐUD" È«ÅtIKŠ r−Š≤±‡‡±dDG UÐ 

 vł—Uš∂∞s?O?O?F?ð V?FJ" d²"ÅvKO" V6ŠdÐ «— d²"ÅvKO" 

ÆbO¹UL�

V = A × ds × π

  
ds = 60−20= 40mm

  

V =
πd2

4
× ds × π

  

V =
3 /14× 40

2

4
× 40× 3 /13

  
V = 39438 / 4mm3

         ∫‰U¦�  UB1A" UÐ Ë ‘uÖ—UNÇ œôu- “« qJý oÐUD" È«ÅtIKŠ 
  
a = 8mm Ë 

  
D = 95mm

∫bOM/ »U6Š bý b¼«uš t²šUÝ

Æd²"ÅvKO" V6ŠdÐ «—ÅÊ¬ ©Áœd²6Ö ‰uÞ® tORË« œ«u" ‰uÞ ©nR«

ÆVFJ"d²"Åv²�UÝ V6ŠdÐ «—ÅÊ¬ r−Š ©»

ÆlÐd"d²"Åv²�UÝ V6ŠdÐ «—ÅÊ¬ q/ `DÝ ©Ã

  
a = 8mm

  
D = 95mm

D

a

a

a

 qJý≤≤‡‡± qJý≤≥‡‡±

∫qŠ

Ls = ds × π           ds = D − a = 95 − 8 = 87mm ®nR«

Ls = 87 × 3 /14 = 273 /18mm

  
V = a × a × Ls = 8 × 8 ×273 /18 =17483 / 52mm3 =17 / 48cm3

 ®»

 qJý≤±‡‡±

mm≤∞



ÅÅÅÅÅÅ±∂Å

  
AO = 4× a × ls = 4× 8 ×273 /18 = 8741/ 76mm2 = 87 / 42cm2

 ®Ã

∫‰U¦�∫bOM/ »U6Š ¨bý b¼«uš t²šUÝ s¼¬ ‚—Ë “« qJý oÐUD" vF³M" 

Æ«—ÅÊ¬ Áœd²6Ö v³�Uł `DÝ ŸUHð—« Ë ‰uÞ ©nR«

 t??/ v??ð—u??H—œ l??Ðd??"d??²??" V??6??Šd??Ð «—ÅÊ¬ X?šU?Ý X?N?ł t?O?RË« ‚—Ë `?D?Ý ©»∏`??D?Ý •

Æœu?ý t?²?-d?Ö d?E?�—œ e?¹— Ë X?1?¹— Ê«u?M?ŽÅt?Ð Áb?ý t?²?šU?Ý tFDG

Æd²OR V6ŠdÐ «— Êe1" XO-dþ ©Ã

∫qŠ

 qG«bŠ dDG                                                       +d¦/«bŠ dDG 

ds =
                                       

2
= 497m  ®nR«

Ls = ds × π = 497 × 3 /14 =1560/ 58mm

  
h = 600mm

3

497

6
0

0

∅500

 qJý≤¥‡‡±

= dsjÝu²" dDG 

= Lsv³�Uł `DÝ jÝu²" ‰uÞ 

= AOÊe1" n/ Ë v³�Uł ÕuDÝ q/ XŠU6" 

= AgÊe1" n/ XŠU6" 

= AMv³�Uł ÕuDÝ jÝu²" XŠU6" 

= AbtORË« ‚—Ë `DÝ 

= AV‚—Ë e¹— Ë X1¹— `DÝ 

AO = Am + Ag ®»

  
Am = Ls × h =1560/ 58 ×600= 936348 mm2

  
Ag =0/ 785d2 =0/ 785 × (500− 3 ×2)2 =191568 / 26mm2

  
AO = 936348 +191568 / 26 =1127916 / 2mm2



ÅÅÅÅÅÅÅÅ±∑Å

  

AO =
1127916 / 2

1000000
=1/128m2

  

Ab =
AO ×100

100− AV

=
1/128 ×100

100− 8
=

112 / 8

92
=1/ 226m2

  
V = Ag × h =0/ 785(500−6)2 × (600− 3) ®Ã

  
V =114366251/ 2mm3

 ©d²OR®LU¹ V =
114366251/ 2

1000000
=114 / 36dm3

∫‰U¦� qJý oÐUD" vHOG —œ ≤µ‡‡±∞∫bOM/ »U6Š

ÆV??F??J??"d?²?" V?6?Šd?Ð n?O?G r?−?Š ©n?R«

vð—uH—œ lÐd"d²" V6ŠdÐ «—ÅÊ¬ v³�Uł `DÝ ©»

Æœuý dE�Å·dH ‚—Ë X"U1{ “« t/ 

 qJý≤µ‡‡±

∫qŠ

= Vq/ r−Š 

  
= V

1
VFJ" r−Š 

  
= V

2
hGU� ◊Ëd1" r−Š 

8
0

0
m

4
0

0
m

800m

400 m

6
0

cm

1
/1

0
m

55cm



ÅÅÅÅÅÅ±∏Å

= Ag◊Ëd1" ÁbŽUG `DÝ 

= Ad◊Ëd1" nIÝ `DÝ 

= Amq/ `DÝ 

  
= AM1

 VFJ" `DÝ

  
= AM2

◊Ëd1" `DÝ 

= Ug◊Ëd???1???" Áb??ŽU??G j??O??×??" 

= Ud◊Ëd1" nIÝ jO×" 

  
V = V

1
+ V

2
 ®nR«

  
V

1
= Ag × h =0/ 4

2 ×0/ 6 =0/096m3

V
2

=
h
3

(Ag + Ad + Ag × Ad )

  
V2 =

1/10−0/ 6

3
(0/ 42 +0/ 82 + 0/ 42 ×0/ 82 )

V
2

=0/166(0/16 +0/ 64 +0/ 32)

  
V

2
=0/166 ×1/12 =0/186m3

  
V =0/096 +0/186 =0/ 282m3

  
Am = MM1

+ MM2
 ®»

  
AM1

= Ug × h =0/ 4× 4×0/ 6 =0/ 96m2

  

AM2
=

Ug + Ud

2
× hs =

(0/ 4× 4) + (0/ 8 × 4)

2
×0/ 55

  
AM2

=1/ 32m2

  
Am =0/ 96 +1/ 32 = 2 / 28m2



ÅÅÅÅÅÅÅÅ±πÅ

s	dL�

±Æb¹—Ë¬ XÝœÅtÐ Ábý t²Ý«uš ÈU¼bŠ«Ë V6ŠdÐ «— Ábý Áœ«œ vL−Š d¹œUI" ‡‡

 ©nR«
  
3 / 43cm3

 tÐ «—   mm3
 ©Ã

  
0/0034m3

 tÐ «—   dm3

 ©»
  
0/052m3

 tÐ «—   cm3
 ©œ

  
8744 /03mm3

 tÐ «—   dm3

≤ÅÅqJý oÐUD" U¼ÅÊ¬ ·dþ t/ v¹U¼ÅsÖ«Ë “« ̈ ÊœUF" —œ @MÝÅ‰Už“ qLŠ È«dÐ ‡‡≤∂‡‡±¨býUÐÅv" 

 V6ŠdÐ bŠ«Ë® œuýÅv" ÁœUH²Ý«mm∫bOM/ »U6Š ©býUÐÅv" 

500

5
0

0

1200

VFJ"d²" V6ŠdÐ «—ÅÊ¬ r−Š ©nR«

 t/Åvð—uH—œ lÐd"d²" V6ŠdÐ «—ÅÊ¬ XšUÝ XNł Â“ô tORË« ‚—Ë `DÝ ©»±∞`DÝ bH—œ 

Æb¹¬ »U6ŠÅtÐ e¹—ÅÅ—Ëœ tFDG

≥ q?Jý oÐUD" Êe1" qš«œ dOý r−Š ‡‡≤∑‡‡±V?6ŠdÐ œUFÐ«® bOM/ »U6Š d²OR V6ŠdÐ «— 

Æ©býUÐÅv" d²"Åv²�UÝ

∅360

2
0

1
0

0

 qJý≤∂‡‡±

 qJý≤∑‡‡±

Ád�



ÅÅÅÅÅÅ≤∞Å

±∞‡‡ÅÅ± U6U³D « ‡‡

d?¼ œU?F?Ð« Æb?ýU?ÐÅv?" r?N?" —U?O?6?Ð b?�d?O?~Ð Uł U¹ b�eGKÐ d~¹bL¼ qš«œ —œ b¹UÐ t/ vðUFDG Á“«b�«

U??Ð V??ÝU??M??²??" U??¼ÅÊ¬ Á“«b??�« t??/ b??ýU??ÐÅv??" d??¦??/«b??Š Ë q??G«b??Š È«—«œ ‰U??B??ð« q?×?" —œ t?F?D?G Ëœ

Æb?M?¹u?ÖÅv?"  U?GU?³?D?�« œU?F?Ð« s?¹« s?O?O?F?ð t?Ð œu?ýÅv?" »U?1?²?�« t?F?D?G Ëœ d?¼ œUFÐ« Ë Ÿu� ¨—U/ j¹«dý

 r?²?6?OÝ —œISAt?Ý b?�d?O?~?Ð U?ł U?¹ Ë b?�e?G?K?Ð d?~?¹b?L?¼ q?š«œ —œ X?6?¹U?ÐÅv" t/ vðUFDG sOÐ Å

ÆXÝ« œułu" vKH« XRUŠ

 ∫o?` ‚U?³?D? « ‡‡d?ðÅp?Çu?/ Œ«—u?Ý d?D?G Á“«b?�« “« Á—«u?L?¼ t?K?O?" d?D?G Á“«b?�« X?RUŠ s¹« —œ

ÆbM/ X/dŠ t�«œ«“¬ Œ«—uÝ qš«œ —œ b�«uðÅv" tKO" Ë ÁœuÐ

∫v?Ýd?Ä ‚U?³D « ‡‡d?ðÅ¯—e?Ð Œ«—u?Ý d?D?G Á“«b?�« “« t?K?O?" d?DG Á“«b�« Á—«uL¼ XRUŠ s¹« —œ 

ÆbýUÐÅv" œU¹“ ÈËdO� tÐ ÃUO²Š« ‚U³D�« Ÿu� s¹« È«dÐÆœ—«b� œułË vIR tFDG Ëœ sOÐ s¹« dÐUMÐ Ë býUÐÅv"

∫»c??ł ‚U??³?D? « ‡?‡Á“«b??�« “« b??�«u??ðÅv??" œ—u??" V?6?Šd?Ð t?K?O?" d?D?G Á“«b?�« ¨X?RU?Š s?¹« —œ 

U??ð o??R X??RU??Š b??�«u??ðÅv??" Œ«—u??Ý q?š«œ —œ t?K?O?" «c?R Ë b?ýU?Ð d?ðÅp?Çu?/ U?¹ d?ðÅ¯—e?Ð Œ«—u?Ý d?D?G

g??J?Ç r?¹ö?" t?Ðd?{ U?¹ X?Ýœ r?/ ÈËd?O?� U?Ð X?RU?Š s?¹« —œ t?F?D?G Ëœ ‚U?³?D?�« Æb?ýU?Ð t?²?ý«œ v?Ýd?Ä

ÆœdOÖÅv" ÂU−�«

ÆbM²6¼ eO� vHK²1" Ÿ«u�« q"Uý vK/  ôUŠ s¹« “« p¹d¼

·Ëd‡Š Èœ«b‡Fð “« bMð—U³Ž rOMO³Ð rO�«uðÅv‡" vM- ÈU‡¼ÅtAI� ÈË— ‚U³D�« dE� “« U" t‡/ tÇÅÊ¬ U"«

ÆbýUÐÅv" tFDG Áb�“UÝ Ë Õ«dÞ jÝuð Ábý ÂU−�«  U³ÝU×" sOÐ È«ÅtDÐ«— t/ È—UB²š« r¹ö‡Ž Ë

Á“«b�« dE�ÅÅÅÅÅÅ“« —U/ tFDG XšUÝ —œ dÖ—U/  —UN" Ë sOýU" Ÿu� Ë —U/ jO×"  —«dŠ tł—œ ÊuÇ

sOOFð —œ Õ«dÞ «cR ¨œ—«b� œułË tAI� —œ Ábý Áœ«œ Á“«b�« —œ tFDG XšUÝ ÊUJ"« Ë œ—«œ rOI²6" dOŁQð

—œ X?6?¹U?ÐÅv?" Áb?ý t?O?Nð  UFDG t/ b¹UL�Åv" nKJ" «— Áb�“UÝ Ë Áœd/ sOOFð È“U−" bŠ tFDG Á“«b�«

ÁœU?Ý —u?ÞÅtÐ Ë bM¹uÖ Á“«b�« “U−" ÊUÝu� tM"«œ «— bŠ s¹«ÅÅÆb�dOÖ —«dG Ábý sOOFð œËbŠ sOÐU" tKHU-

 ∫bM6¹u�Åv" sOMÇNb
a

 ‰U¦" Ê«uMŽÅtÐ ∅40
+ 0 / 100

− 0 / 100
 dDG Ábý t²ýu� Á“«b�« —œ 40b�«uðÅv" d²"ÅvKO" 

 tKHU- —œ∅40 / 100 Ë ∅39 / 900qÐUG Ë “U−" tKHU- s¹« —œ È«ÅÁ“«b�« d¼ Ë býUÐ t²ý«œ ÊUÝu� 

—u/c" Á“«b�« —œ ÆbýUÐÅv" ‰u³G∅40 ̈ vLÝ« Á“«b�« «— ∅40 / 100 Ë d¦/«bŠ Á“«b�« «— ∅39 / 900

vIOIŠ Á“«b�« œuýÅv" sOOFð d²"ËdJO" tKOÝËÅtÐ —U/ ÂULð« “« fÄ t/ È«ÅÁ“«b�« —«bI" Ë qG«bŠ Á“«b�« «—

ÆœuýÅv" ÁbO"U�



ÅÅÅÅÅÅÅÅ≤±Å

ÆbM¹uÖÅv" ©È—«œ «Ë—® f�«dRuð «— d¦/«bŠ Ë qG«bŠ Á“«b�« Ëœ q{UHð

40 / 100 - 39 / 900 = 0 / 200

Á“«b�« sO¹UÄ Ë ôUÐ bŠ sOÐU" tKHU- —œ vLÝ« Á“«b�« ÊUÝu� “« XÝ«  —U³Ž f�«dRuð d~¹œ  —U³Ž tÐ

È«d?Ð Ë Áb?ý vLÝ« Á“«b�« UÐ Á«dL¼  U×O{uð sOA�Uł È—UB²š« r¹öŽ Ë ·ËdŠ bý t²HÖ t/ È—uÞÅtÐ

ÆbMM/Åv" Ã—œ U¼ÅtAI� ÈË— ·ËdŠ Ë œ«bŽ« UÐ Á«dL¼ «— vLÝ« Á“«b�« dE�Åœ—u" Á“«b�«  «dOOGð Êœ«œ ÊUA�

                  Å   Å   ÅÅœ«“¬ tF�UD�œ«“¬ tF�UD�

∫œ«bŽ« œ«b?Ž« “« r?²?6OÝ s¹« —œ ± v?R« ±∏U?¼ÅÊ¬ ÈÅt?K?O?ÝËÅt?Ð t/ Ábý ÁœUH²Ý« 

X?Gœ Ë d?²AOÐ f�«dRuð tM"«œ b�uý dðÅ¯—eÐ œ«bŽ« tÇd¼ œuýÅv" h1A" —U/ XOHO/

¨d?Ö—U?/  —U?N?" dE� “« Ê¬ XOHO/ U¹ Ë tFDG XOÐužd" œ—u" s¹« —œ Ë XÝ« d²L/ qLŽ

q?"«u?Ž “« qLŽ XŽdÝ Ë jO×"  —«dŠ tł—œ ¨U¼ÅÈdOÖÅÁ“«b�« —œ XGœ ¨sOýU" XGœ

d²L/ f�«dRuð tM"«œ r¹ËdÐ dðÅpÇu/ œ«bŽ« ·dÞÅtÐ tÇd¼ Æb�uýÅv" »u6×" —U/ vKH«

Ë d??ðÅo??O??Gœ ÈU?¼—«e?Ð« ¨d?¼U?" Ê«d?Ö—U?/ ¨d?ðÅo?O?Gœ ÈU?¼Ås?O?ýU?" t?Ð ÃU?O?²?Š« t?/ œu?ýÅv?"

U?L?K?6?" X?Gœ t?L?¼Ås?¹« d?ÞUšÅtÐ Ë Xý«œ rO¼«uš oOGœ ÈU¼ÅÈdOÖÅÁ“«b�«Î˛U?O?R¬ U¹ fMł 

s¹« ÆœuýÅv" ÂULð dðÅÊ«dÖ Ë t²-— ôUÐ —U/ vHO/ l{Ë fÄ ÆœuýÅv" »U1²�« ÈdðÅ»užd"

—«dG ÁœUH²Ý« œ—u" ”U6Š ÈU¼—U/ —œ Ë t²ý«œ Èd²AOÐ Â«Ëœ Ë XOÐužd"  UFDG Ÿu�

Æb�dOÖÅv"

 ∫·Ëd?ŠÁœu?Ð d?H?H j?š “« f?�«d?Ru?ð t?M?"«œ s?²?-dÖ —«dG l{Ë ·dF" ·ËdŠ

Æœœd?ÖÅv?" h?1?A?" ‚U?³?D?�« d?E?� “« t?F?D?G t?�U?ÖÅt?Ý  ôUŠ tKOÝËÅs¹bÐ Ë

 “« ·ËdŠA vR« G—«œÅÈ“UÐ ‚U³D�« Ÿu� ÁbM¹UL� 

 “« ·ËdŠH vR« KÈ—u³Ž ‚U³D�« Ÿu� ÁbM¹UL� 

 “« ·ËdŠM vR« ZvÝdÄ ‚U³D�« Ÿu� ÁbM¹UL� 

 “« ̄ —eÐ ·ËdŠA vR« ZXÝ«— XLÝ —œ U¼Å·UJý Ë U¼ÅŒ«—uÝ Á“«b�« UÐ Á«dL¼ 

 “« pÇu/ ·ËdŠ Ë œuýÅv" t²ýu� vLÝ« Á“«b�« ÈôUÐ Ëa vR« zU¼ÅtKO" Á“«b�« UÐ Á«dL¼ 

ÆœuýÅv" t²ýu� vLÝ« Á“«b�« sO¹UÄ Ë XÝ«— XLÝ —œ U¼Åt�UÐ“ Ë

∫‰U¦� qJý —œ ≤∏‡‡± tKO" Ë Œ«—uÝ vLÝ« Á“«b�« Å∅40Œ«—uÝÅÁ“«b�« Ë d²"ÅvKO" 

∅40H7 tKO" Á“«b�« Ë ∅40g6«— ôUÐ ÈU¼ÅÁ“«b�« f�«dRuð ‰Ë«bł tÐ tFł«d" UÐ XÝ« 



ÅÅÅÅÅÅ≤≤Å

 ‰Ë«bł “« g1Ð s¹« ÈU¼Å‰U¦"® Xýu� Ê«uðÅv"¥ Ë µÁœUH²Ý« »U²/ ÈUN²�« —œ œułu" 

 V?6?Šd?Ð ‰Ëb?ł œ«bŽ« t/ `O{uð s¹« UÐ œuýÅv"µm ®t?Ð b?¹U?Ð t/ býUÐÅv" ©d²"ËdJO"

mmÆ©œuý q¹b³ð ©d²"ÅvKO"® 

 qJý≤∏‡‡±

                     tKO�             ∅∅40H7 = ∅∅400
+0 / 025

Œ«—uÝ

—œ v?H?O/ dE� “« Ë ÁœuÐ Ê«Ë— ‚U³D�« Ÿu� È«—«œ d~¹bL¼ tÐ X³6� tFDG Ëœ s¹«

ÆbýUÐÅv" È“UÝ—«eÐ« ÈU¼ÅsOýU" Ë »¬ —uðu"  UFDG Ëeł Ë t²-dÖ —«dG jÝu²" bŠ

Ë o?O?Gœ ÈU?¼—«eÐ« s²ý«œ ÂeK²6" nK²1" ÈU¼ÅÊUÝu� tM"«œ UÐ  UFDG tONð ÊuÇ

UHuB1" býUÐÅv" Ê—b" È“UÝ—«eÐ« ÈU¼ÅsOýU"ÎÈœbF²" ÈU¼Å”uG dÐ U¼ÅŒ«—uÝ œ—u" —œ 

ÁœUH²Ý« œ—u" ‚U³D�« r²6OÝ Ëœ —U/ —«eÐ« Ÿu� Êœd/ œËb×" È«dÐ «cR XÝ« ÂËeR œ—u"

ÆœdOÖÅv" —«dG

±∫Œ«—uÝ  u³Ł r²�OÝ ‡‡Á“«b�« Ë XÝ« XÐUŁ Œ«—uÝ Á“«b�« r²6OÝ s¹« —œ 

tKO" ÈË— tAOL¼ Á“«b‡�«  «dOOGð d~¹œ  —U³ŽÅtÐ ÆbM/Åv" dOOGð t�UÖÅt‡Ý  ôUŠ È«dÐ tKO"

v?K?š«œ Èd?O?ÖÅÁ“«b?�« t?O?N?ð Ë vKš«œ ‘«dð “« dðÅÊUÝ¬ Ê¬ ÈdOÖÅÁ“«b�« Ë ‘«dð t/ XÝ«

ôu?LF" ÆbýUÐÅv"ÎÁ“«b?�« ÆœuýÅv" ÁœUH²Ý« r²6OÝ s¹« “« jÝu²" Ë n¹dþ ÈU¼—U/ —œ 

 f�«dRuð tM"«œ UÐ vLÝ«HÆXÝ« X³¦" ·dÞÅtÐ dHH jš “« Ê¬ ÊUÝu� t/ XÝ« Á«dL¼ 

ÅÅœ«“¬ tF�UD�œ«“¬ tF�UD�

∅∅40g6 = ∅∅40−−0 / 025
−−0 / 009

1

2

∅40H7
g 6



ÅÅÅÅÅÅÅÅ≤≥Å

 qJý≤π‡‡±

Œ«—uÝ  u³Ł r²,OÝ

h6 j6 k6e8 f7 g6 m6

H7

M 2

M 2

≤∫tKO�  u³Ł r²�OÝ ‡‡ È«dÐ Œ«—uÝ Á“«b�« Ë XÝ« XÐUŁ tKO" Á“«b�« r²6OÝ s¹« —œ 

ôu?L?F?" Ë X?Ý« Œ«—uÝ ÈË— Á“«b�«  «dOOGð d~¹œ  —U³ŽÅtÐ bM/Åv" dOOGð t�UÖÅtÝ  ôUŠÎ—œ 

ÆœuýÅv" ÁœUH²Ý« r²6OÝ s¹« “« È“UÝÅsOÐ—uð Ë U¼ÅÁb¹bŠ Ë È“UÝÅv²A/ bM�U" sAš ÈU¼—U/

 f�«dRuð tM"«œ UÐ vLÝ« Á“«b�«hÆXÝ« vHM" ·dÞ tÐ dHH jš “« Ê¬ ÊUÝu� t/ XÝ« Á«dL¼ 

∫‰U¦� vGU³D�« X"öŽ —œ 
  
∅25 f 7

H7
nR« ∫t³ÝU×" X6ÐuKD" ©¨d¦/«bŠ Á“«b�« 

‚U³D�« Ÿu� hO1Að ©»   Œ«—uÝ Ë tKO" È«dÐ f�«dRuð Ë qG«bŠ Á“«b�«

∫qŠ

® tKO" tÐ ◊uÐd"  U³ÝU×" ©nR«f∑©

                                                                  = 25mmvLÝ« Á“«b�« 

A11 B11 C11 D11 H11

h11

h 2

h 2

 qJý≥∞‡‡±

tKO�  u³Ł r²,OÝ

ÅÅœ«“¬ tF�UD�œ«“¬ tF�UD�



ÅÅÅÅÅÅ≤¥Å

                                                                     ÅÅÅÅÅ‰Ëbł “« 

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ     ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ 

   
            → = −20µm = −0/020mmv¹ôUÐ Á“«b�«

                                                                            ÅÅÅÅÅÅ‰Ëbł “« 

Å   ÅÅÅÅ             ÅÅ

                             
            → = −41µm = −0/041mmvMO¹UÄ Á“«b�« 

                          = 25mm −0/020mm = 24 / 980 mmd¦/«bŠ Á“«b�« 

                       
  
= 25mm −0/041mm = 24 / 959  mmqG«bŠ Á“«b�« 

                          = 24 / 980mm −24 / 959mm =0/021 mmf�«dRuð 

® Œ«—uÝ tÐ ◊uÐd"  U³ÝU×"H∑©

                                                                   = 25mmvLÝ« Á“«b�« 

‰Ëbł “«                                                                      

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ     ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ  ÅÅÅ ÅÅÅÅÅ

                                
            → = 21µm =0/021mmv¹ôUÐ Á“«b�«

ÅÅÅÅÅ‰Ëbł “«                                                                  

Å                ÅÅÅÅÅÅÅ

                                                           
            → =0vMO¹UÄ Á“«b�« 

                       = 25mm +0/021mm = 25 /021 mmd¦/«bŠ Á“«b�« 

                                          = 25mm +0= 25  mm qG«bŠ Á“«b�«

                                     = 25 /021mm −25mm =0/021mmf�«dRuð 

Œ«—uÝ qG«bŠ Á“«b�« Ë d¦/«bŠ Á“«b�« È«dÐ Ábý t³ÝU×" ÈU¼ÅÁ“«b�« t6¹UI" “« ©»

eO� Œ«—uÝ dDG Ë dðÅpÇu/ vLÝ« Á“«b�« “« ‰UŠ d¼ —œ tKO" dDG t/ œuýÅv" ÂuKF" tKO" Ë

ÆXÝ« oR ‚U³D�« Ÿu� t/ r¹dOÖÅv" t−O²� Ë XÝ« dðÅ¯—eÐ vLÝ« Á“«b�« “« Á—«uL¼

n`«»Ãœ

f�«dKð∞[∞±±∞[∞∂≤∞[∞µ¥∞[∞≤≤

d¦/«bŠ Á“«b�«∞[∞±≤øøø

qG«bŠ Á“«b�«ø∞[±¥≤Å−∞[≤±∞Å+∞[∞≥¥Å−

s	dL�

±Æb¹—Ë¬ XÝœÅtÐ Ábý Áœ«œ ÈU¼ÅÁ“«b�« tÐ tłuð UÐ «— f�«dKð —«bI" ‡‡Å

  250−0/ 7 ®Ã  333+0/57
 ®»Å  134−0/5

+0/2
 ®nR«

≤ÆbOM/ q"U/ «— d¹“ ‰Ëbł ‡‡Å

ÅÅœ«“¬ tF�UD�œ«“¬ tF�UD�



Å Å ÅÅÅ Å ≤ µÅ

26+− 0/2

1
8

+ −0
/1

 qJý≥±‡‡Å±  qJý≥≤‡‡Å±

≥Æb¹—Ë¬ XÝœÅtÐ «— Ábý Áœ«œ ÈU¼ÅtAI� —œ “U−� Á“«b�« s¹dðÅpÇu! Ë s¹dðÅ¯—eÐ ‡‡Å

±±‡‡Å±Âdł ‡‡Å

 r?²?(?O?Ý —œ Âd?ł bŠ«Ë ÆbM¹uÖ r(ł Ê¬ Âdł «— r(ł d¼ —œ œułu� ÁœU� —«bI�SIÂd?ÖÅuKO! 

U³¹dIð ÂdÖÅuKO! p¹ÆbýUÐÅv�Î ÈU�œ —œ h5Uš »¬ VFJ� d²�ÅvÝœ p¹ Âdł ‰œUF� ¥œ«dÖÅv²�UÝ tł—œ 

ÆbýUÐÅv�

∫Âdł ÈdOÖÅÁ“«b�«s¹« È«dÐ Ë Áœd! ÁœUH²Ý« —«œÅsO¼Uý ÈË“«dð “« r(ł p¹ Âdł ÈdOÖÅÁ“«b�« È«dÐ 

—«d>dÐ ‰œUFð Uð bM¼œÅv� —«d> d~¹œ tH! —œ «— t�uL� Âdł Ë Ë“«dð tH! p¹ —œ «— ÈdOÖÅÁ“«b�« œ—u� Âdł —uEM�

dÐ«dÐ t�uL� ÈU¼ÅÂdł Ë ÈdOÖÅÁ“«b�« œ—u� Âdł tÐ sO�“ ·dÞ “« Áœ—«Ë tÐ–Uł ÈËdO� t!Ås¹« tÐ tłuð UÐ ÆœœdÖ

ÆbM!Åv� ÈdOÖÅˆ“«b�« Ë t(¹UI� t�uL� Âdł UÐ «— r(ł Âdł —«œÅsO¼Uý ÈË“«dð t! XHÖ Ê«uðÅv� ¨býUÐÅv�

∫© v?�U?~Ç® ’uB!" ÂdłU?Ð t?J?K?Ð Áœu?³� r!«d²� Á“«b�« p¹ tÐ nK²H� œ«u� tKJA²�  «—– 

œułËÅtÐ «— dE�Åœ—u� r(ł Ë t²JdÖ—«d> d~¹bJ¹ —UM!ÅÅ—œ r! U¹ Ë œU¹“ r!«dð UÐ bM�«uðÅv� ÁœU� Ÿu� tÐ tłuð

ÆbMýUÐÅv�  ËUH²� r¼ UÐ nK²H� œ«u� “« vMOF�År−Š Âdł s¹« dÐUMÐ Æb�—Ë¬

ÆbM¹uÖ ÁœU� Ê¬ ’uBH� Âdł «— ÁœU� d¼ “« r−Š bŠ«Ë Âdł

                  ÅÅÅÂdłÅÅÅÅÅ      

®≤π‡‡Å±©=
         

   
⇒ .=

m
V

’uBH� Âdł
 r−Š

ÅÅÅÅÅÅÅÅÅÅÅ                     

 r²(OÝ —œ ’uBH� Âdł bŠ«ËSI® VFJ� d²� tÐ ÂdÖuKO! 

  

kg
m3©ôuLF� v5Ë ªbýUÐÅv� Î«—ÅÅÅÅÅÊ¬ 

 ¨V?(ŠdÐ

  

t
m3 ¨

  

kg
dm3 ¨

  

g
cm3 Ë 

  

mg
mm3œôu?J ’u?B?H?� Âd?ł ‰U?¦?� Ê«u?M?Ž tÐ ÆbM−MÝÅv� eO� 

1
5

−0
/0

5

+0
/0

2

10−0/1
+0/1

24
−0/02

+0/012

2
5

−
0
/0

2

+
0
/0

1



ÅÅÅÅÅÅÅÅ≤∂ÅÅ

1dm3

1d
m

1d
m

1dm

œôu%Å

 qJý≥≥‡‡Å±

7850
kg
m3 ¨

  
7 / 85

kg
dm3 ¨

  
7 / 85

g
cm3 U¹ Ë 7 / 85

t
m3ÆbýUÐÅv� 

“« ’u?B?H?� Âd?ł s?O?O?F?ð UÐ fáÝ Ë Áœd! «bOÄ «— U¼ÅÊ¬ r−Š Ê«uðÅv� œ«u� Âdł sOOFð È«dÐ

Æœ—Ë¬ XÝœÅtÐ «— U¼ÅÊ¬ Âdł ¨’uBH� Âdł tDÐ«— “« ÁœUH²Ý« UÐ Ë tÞuÐd� ‰Ëbł

= .
m
V

⇒ m = V × .

 ‰Ëbł∂‡‡ÅÅ± V*ŠdÐ ÁœU" bMÇ ’uB!" Âdł ‡‡

  

kg
dm3

ÅÅÅÅ UF¹U" «b"Uł   U¼“UÖÅÅÅÅÅÅÅ      

ÁœU"     ÂdłÁœU"   ÂdłÁœU"    ÂdłÁœU"     Âdł

’uB!"’uB!"’uB!"’uB!"

 »¬    (4
C)±»uÇ±[≤∂ÊbÇ ∑[≤µ«u¼  ±[≤π

”uMÐ¬Èd²(!Uš

XH�∞[∏µÈU¼˛UO5¬±[∏Z�dÐ   ∏[µÊóO(!«  ±[¥≥

r¹eOM�

s¹eMÐ∞[∑≤rOMO�u5¬≤[∑f�   ∏[πsKO²Ý«  ±[±∑±

qOzË“UÖ∞[∏µÈË—∑[±≥œôuJ   ∑[∏µÊ˛Ë—bO¼  ∞[∞π

—uðu� sžË—∞[πlK>∑[≥»dÝ   ±±[≥µ “«  ±[≤µ

∫‰U¦" ‰u?Þ t?Ð ÈœôuJ È—uAM� Âdł ±≤∞ q?J?ý o?ÐUD� vFDI� `DÝ UÐ d²�ÅvKO� ≥¥‡‡±«— 

ÆbOM! »U(Š ÂdÖÅuKO! V(ŠdÐ



Å Å ÅÅÅ Å ≤ ∑Å

m = V × .

V = Ag × h

Ag = A1 − A2 − A3

  A1 = L × b = 80×60= 4800 mm2

  A2 = L1 × b1 = 8 ×6 = 48  mm2

  

A
3

=
L2 + L

3

2
× b2 =

56 + 8

2
×24 = 768  mm2

  Ag = 4800− 48 − 768 = 3984  mm2

  
V = Ag × h = 3984×120= 478080 mm3

d²�ÅvÝœ V(ŠdÐ r−Š t! XÝ« Â“ô s¹«dÐUMÐ XÝ« Ábý t²Ý«uš ÂdÖÅuKO! V(ŠdÐ Âdł ÊuÇ

Æœuý t³ÝU×� VFJ�

V =
478080

1000000
=0/ 47808  dm3

  
m = V × .= 0/ 47808  dm3 × 7 / 85

kg
dm3 = 3 / 752  kg

∫U?¼Å‚—Ë Âdł t³ÝU×�d?Ð«d?Ð d?²?�Åv?K?O� p¹ X�UH{ Ë lÐd� d²� p¹ XŠU(� tÐ v>—Ë r−Š 

ÆVFJ� d²�ÅvÝœ p¹ UÐ XÝ«

Âd?ł U?Ð X?Ý« d?Ð«d?Ð d?²?�Åv?K?O?� p?¹ X?�UH{ Ë lÐd� d²� p¹ XŠU(� tÐ v>—Ë Âdł ∫s¹«dÐUMÐ

 V(Š dÐ Ê¬ ’uBH�

  

kg
dm3

Æ

6
0

2
4

6

80

8

56

 qJý≥¥‡‡Å±



ÅÅÅÅÅÅÅÅ≤∏ÅÅ

Ê¬ X?�U?H?{ —œ l?Ðd?� d?²?� V?(?Šd?Ð «— ‚—Ë X?ŠU?(� XÝ« vJU! U¼Å‚—Ë Âdł t³ÝU×� È«dÐ

V?F?J?� d?²?�Åv?Ýœ V?(?Šd?Ð ‚—Ë r?−?Š ÊUL¼ qo« —œ t! «— qoUŠ Ë Áœd! »d{ d²�ÅvKO� V(ŠdÐ

ÆœuL� »d{ ’uBH� Âdł —œ býUÐÅv�

®≥∞‡‡Å±©m = A × S × .

∫È—UB²š« r¹öŽ

= mÂdÖÅuKO! V(Š dÐ ‚—Ë Âdł 

= AlÐd� d²� V(ŠdÐ ‚—Ë `DÝ 

= Sd²�ÅvKO� V(Š dÐ ‚—Ë X�UH{ 

= .VFJ� d²�ÅvÝœ dÐ ÂdÖÅuKO! V(ŠdÐ ‚—Ë ’uBH� Âdł 

∫‰U¦" œUFÐ« tÐ vLOMO�u5¬ ‚—Ë Âdł    1500× 3000×2mmbOM! »U(Š ÂdÖÅuKO! V(ŠdÐ «— 

®

  
= . 2 / 7

kg
dm3©Æ

m = A × S × .

  A = L × b = 3 ×1/ 5 = 4 / 5  m2

m = 4 / 5 ×2×2 / 7 = 24 / 3  kg

‚—Ë lÐd� d²� p¹ Âdł U¼ÅÊ¬ —œ t! XÝ« Ábý tONð v5Ë«bł ̈ U¼Å‚—Ë Âdł t³ÝU×� X5uNÝ È«dÐ

p¹ Âdł XÝ« vJU! U¼Å‚—Ë Âdł t³ÝU×� È«dÐ s¹« dÐUMÐ ÆXÝ« Ábý Áœ«œ Ê¬ X�UH{ Ë fMł V(ŠdÐ

ÆœuL� »d{ U¼ÅÊ¬ `DÝ —œ Ë Áœ—Ë¬ XÝœÅtÐ ‰Ëbł “« «— U¼ÅÊ¬ “« lÐd� d²�

®≥±‡‡±           ©m = mA × A

∫È—UB²š« r¹öŽ

= mÂdÖÅuKO! V(Š dÐ tFD> Âdł 

= mAÂdÖÅuKO! V(Š dÐ ‚—Ë “« lÐd� d²� p¹ Âdł 

= AlÐd� d²� V(ŠdÐ ‚—Ë `DÝ 

 ‰Ëbł —œ∂ V(ŠdÐ nK²H� ÈU¼Å‚—Ë “« všdÐ Âdł XÝuOÄ 

  

kg
m2

ÆXÝ« Ábý Áœ«œ 

 ‰Ëbł pL! tÐ «— q³> tK¾(� Ê«uðÅv� ‰UŠ∂ÆœuL� qŠ eO� XÝuOÄ 

m = mA × A



Å Å ÅÅÅ Å ≤ πÅ

  
= 5 / 4

kg
m2 ‰Ëbł “« ∂   XÝuOÄ mA ⇒

  A = L × b = 3 ×1/ 5 = 4 / 5m2

m = 5 / 4× 4 / 5 = 24 / 3  kg

∫U?¼Åt?²šUÝÅtLO½ Âdł t³ÝU×�¨U?¼Åt?�u?� ¨U?¼Åq?O�ËdÄ® U¼Åt²šUÝ tLO� Âdł t³ÝU×  X�uNÝ È«dÐ 

ôu?L?F?  ©Ád?Ož Ë U¼ÅtKO ÎÆb?�«ÅÁœu?L?� È—Ë¬Åœd?Ö v?�Ë«b?ł —œ Ë t?³?ÝU×  «— U¼ÅÊ¬ ‰uÞ “« d²  p¹ Âdł 

Áœ—Ë¬ XÝœÅtÐ ‰Ëbł “« «— U¼ÅÊ¬ “« d²  p¹ Âdł XÝ« v�U5 U¼Åt²šUÝÅtLO� Âdł t³ÝU×  È«dÐ s¹«dÐUMÐ

ÆœuL� »d{ U¼ÅÊ¬ ‰uÞ —œ Ë

®≥≤‡‡±       ©  m = m1 × L

∫È—UB²š« r¹öŽ

= mÂdÖÅuKO5 V?ŠdÐ tFDB Âdł 

  = m1ÂdÖÅuKO5 V?ŠÅdÐ d²  p¹ Âdł 

= Ld²  V?ŠÅdÐ tFDB ‰uÞ 

∫‰U¦�® tFDB Âdł a qJý ©≥µ‡‡±ÆbOM5 »U?Š «— 

1
5

0

150

15.15.5

80.2000

3.120030.30.3.1000

b = 30

d = 3

l =1000

h = 30

b = 30

d = 4

l =1200

h

b

l

b

d

b

l

d

b

h

l
5

d
t

t = 3

l = 2000

d = 6

b = 45

h = 80

 qJý≥µ‡‡Å±



ÅÅÅÅÅÅÅÅ≥∞ÅÅ

∫qŠ

                   
 ‰Ëbł “«∂XÝuOÄ                               → 39 / 3  kg X�UH{ tÐ ÈœôuJ Å‚—Ë lÐd� d²� p¹ Âdłµd²�ÅvKO� 

 ÅÅ                 

 ‰Ëbł “«πXÝuOÄ 

 
                              → 1/ 36  kg œUFÐ« tÐ ÈœôuJ vA³� d²� p¹ Âdł  30× 30× 3d²�ÅvKO� 

                  

 ‰Ëbł “«πXÝuOÄ 

 
                              → 1/ 77  kg œUFÐ« tÐ ÈœôuJ ÈdáÝ d²� p¹ Âdł  30× 30× 4d²�ÅvKO� 

ÅÅÅÅÅÅÅ               

 ‰Ëbł “«πÅ  XÝuOÄ                               → 8 / 64  kg œUFÐ« tÐ ÈœôuJ v�«œËU� d²� p¹ Âdł   80× 45 ×6d²�ÅvKO�Å

  m = m1 + m2 + m3 + m4

m1 = mA × A = 39 / 3 ×
150

1000
×

150

1000
=0/ 884  kg

  
m2 = mL × L =1/ 36 ×

1000

1000
=1/ 36  kg

m3 = mL × L =1/ 77 ×
1200

1000
= 2 /124  kg

m4 = mL × L = 8 / 64×
2000

1000
=17 / 28  kg

m =0/ 884 +1/ 36 +2 /124 +17 / 28 = 21/ 648  kg



Å Å ÅÅÅ Å ≥ ±Å

s�dL�

±∫bOM! »U(Š ÆXÝ« Ábý Áœ«œ ÊUA� qJý —œ vLOMO�u5¬ tFD> p¹ ‡‡Å

ÆÂdÖÅuKO! V(ŠdÐ «—ÅÊ¬ Âdł ©n5«

 XOJdþ UÐ v�uO�U! tKOÝËÅtÐ Ê«uðÅv� «—ÅÊ¬ “« tFD> bMÇ ©»≥ÆœuL� qLŠ sð 

∫tłuð“« «— ÂËe5 œ—u� œ«u� ’uBH� Âdł ¨ UM¹dLð qŠ —œ 

 ‰Ëbł∂ ‡‡ ±Æb¹—Ë¬ XÝœÅtÐ 

≤t?!Åv?ð—u?o —œ Áb?ý Áœ«œ ÊU?A?� g?�öJ Âdł XÝ«Å»uKD� ‡‡Å

 Ê¬ X�UH{ Ë Èd²(!Uš ÊbÇ “« Ê¬ fMł±≤mmÆbýUÐ 

≥d?¹“ —œ U¼ÅÊ¬  UBHA� t! «— v¹U¼Å‚—Ë Âdł bOM! »U(Š ‡‡Å

∫b�«ÅÁbý Áœ«œ

 œUFÐ« tÐ ÈœôuJ ‚—Ë ©n5«  2×650×1000Æ d²�ÅvKO� 

 œUFÐ« tÐ v(� ‚—Ë ©»  0/ 9×1400×1200Æd²�ÅvKO� 

 œUFÐ« tÐ vLOMO�u5¬ ‚—Ë ©Ã  1/ 4× 850×1650Æd²�ÅvKO� 

±≤‡‡ÅÅÅÅ±©Ê“Ë ÈËdO�® Ê“Ë ‡‡Å

·dÞ tÐ tÐ–Uł ÈËdO� ÂU�ÅtÐ v¹ËdO� UÐ b�—«œ r¼ tÐ X³(� t! È«ÅtKoUJ Ë Âdł X³(� tÐ ÂU(ł« tOK!

œU¹“ Âdł UÐ v�U(ł« —œ v5Ë eOÇU� —UO(Ð r! Âdł UÐ v�U(ł« —œ Ê¬ —«bI� t! ªb�uýÅv� »cł d~¹bL¼

«— ÂU(ł« b�—«œ t! ÈœU¹“ Âdł qO5œÅtÐ ÁU� Ád! sOMâL¼ Ë sO�“ Ád! ‰U¦� Ê«uMŽÅtÐ ÆbýUÐÅv� tłuð qÐU>

9
0

1
7

0

110

60

110

2
5∅10

20

 qJý≥∂‡‡Å±

 qJý≥∑‡‡Å±



ÅÅÅÅÅÅÅÅ≥≤ÅÅ

d?²?A?OÐ ÁU� Ád! tÐ X³(� sO�“ÅÁd! Âdł ÊuÇ XÝ« vN¹bÐ ÆbM¹UL�Åv� »cł œuš ·dÞ tÐ ËdO� sOL¼ UÐ

ÆbýUÐÅv� ÁU� Ád! tÐ–Uł ÈËdO� “« d²AOÐ Ê¬ tÐ–Uł ÈËdO� «c5 XÝ«

ÆbM�U�Åv� Ê“Ë ÈËdO� b�œdÖÅv� sO�“ Ád! »cł ÂU(ł« Ê¬ UÐ t! «— v¹ËdO�

 r?²(OÝ —œ Ê“Ë ÈËdO� Ë ËdO� bŠ«ËSIt?! X?Ý« v¹ËdO� —«bI� “«  —U³Ž Ê¬ Ë býUÐÅv� sðuO� 

ÆbM! œU−¹« tO�UŁ —Ëc−� dÐ d²� p¹ ‰œUF� vÐU²ý ÂdÖÅuKO! p¹ Âdł tÐ vL(ł —œ b�«u²Ð

 »U?²ý “« —uEM�

  
1

m
S2

 —«b?I?� t?Ð t?O?�UŁ d¼ —œ „d×²� XŽdÝ dÐ t! XÝ« s¹« “«  —U³Ž 

  
1

m
S

Æœuý tJU{«

∫È—UB²š« r¹öŽ

®                                                     ≥≥‡‡±©             F = m × a

= FsðuO� V(Š dÐ ËdO� 

= mÂdÖuKO! V(Š dÐ Âdł 

  
1N =1kg ×1

m
S2

= atO�UŁ —Ëc−� dÐ d²� ÅV(ŠdÐ r(ł »U²ý 

 ‰œUF� «— sO�“ qIŁ »U²ý —«bI� vMJ q¹U(� qŠ —œ

  

9 / 81
m
S2Æb�dOÖÅv� dE� —œ 

  
g = 9 / 81

m
S2

‰U?Š —œ ÂU?(?ł« t?Ð tJKÐ ¨◊uIÝ ‰UŠ —œ ÂU(ł« tÐ UNMð t� tÐ–Uł ÈËdO� t! XÝ« d!cð tÐ Â“ô

»U?²?ý U?Ð X?Ý« t?²?Jd?Ö—«d?> —U! eO� ÈË— —œ t! vJUo t×Ho ‰U¦� Ê«uMŽ tÐ Æb¹UL�Åv� dŁ« eO� ÊuJÝ

  
g = 9 / 81

m
S2ÁU?ÖÅt?O?J?ð tÐ bM! X!dŠ sO�“Å Ád! ·dÞÅtÐ b�«uðÅvL� ÊuÇ v5Ë ªœœdÖÅv� sO�“ »cł 

šÆœ—Ë¬Åv� œ—«Ë œuš Ê“Ë ÈËdO� ‰œUF� v¹ËdO� ©—U! eO�® œu

Ê¬ —«dI²Ý« q×� qIŁ »U²ý —œ tFD> Âdł »d{ÅqoUŠ “« Ê«uðÅv� «— ÂU(ł« Ê“Ë ÈËdO� —«bI�

Æœ—Ë¬ XÝœÅÅtÐ

®                                                     ≥¥‡‡Å±©W = m × g

∫È—UB²š« r¹öŽ

= WsðuO� V(ŠdÐ r(ł Ê“Ë ÈËdO� m = V × .

= mÂdÖÅuKO! V(Š dÐ r(ł Âdł W = V × .× g

= gtO�UŁ —Ëc−� dÐ d²� V(ŠÅdÐ qIŁ »U²ý 



Å Å ÅÅÅ Å ≥ ≥Å

s�dL�

± Ê¬ d?D?> t?!Åv?ð—u?o —œ «— q?J?ý È«Åt�«u²Ý« ÊeH� n! dÐ œ—«Ë —UAJ Ë ËdO� ‡‡Å±≤[µ¨d?²� 

 Ê¬ ŸUHð—«π[∏ Ê¬ Èu²×� sžË— ’uBH� Âdł Ë d²�   = . 0/ 88  kg dm3
ÆbOM! »U(Š býUÐ 

∫tłuðÆbM!Åv� dŁ« Ê¬ ÈË— dÐ ËdO� t! v×DÝ dÐ ËdO� X³(� “« XÝ«  —U³Ž —UAJ 

®≥µ‡‡±           ©P = F
A

≤ v²(¹UÐ v�UMOLÞ« ÛUÄuÝ t�“Ë Ê“Ë ‡‡Å±≤∞Ê¬ fMł Ë ÈËd! t�“Ë t! vð—uo —œ ÆbýUÐ sðuO� 

® b¹—Ë¬ XÝœÅtÐ «—ÅÊ¬ dD> ¨býUÐ ÊbÇ “«

  
g =10

m
S2©Æ 

≥œ ‡‡Å—t?�“Ë Âdł dÖ« ÆœuýÅv� t²(Ð Ë “UÐ vKJý È«Åt�«u²Ý« t�“Ë pL! tÐ È—UJÐ¬ Á—u! p¹ 

 tÞuÐd�  m =18kg bOM! »U(Š býUÐ œôuJ “« Ê¬ fMł Ë ®Æ©œuý dE�Å·do U¼ÅÁd>d> „UJDo« “«

 dÖ« sðuO� V(ŠdÐ «— t�“Ë tÐ qB²� rOÝ gA! ÈËdO� ©n5«

  
g =10

m
S2Æœuý —uEM� 

Æd²�ÅvKO� V(ŠÅdÐ «— t�“Ë ‰uÞ ©»

 qJý≥∏‡‡Å±

F W=120N

a 3a

l

∅100

 qJý≥π‡‡ ±



ÅÅÅÅÅÅÅÅ≥¥ÅÅ

ÂËœ qB%

 U¦K¦" œdÐ—UB

±‡‡Å≤t¹Ë«“ ‡‡Å

Ê¬ t?Ð q?ÐU?I?� ”u?> ‰uÞ rO(Ið qoUŠ “« t¹Ë«“ d¼ —«bI� b¹¬Åv� b¹bÄ jš Ëœ lÞUIð “« t¹Ë«“

Æb¹¬Åv� XÝœÅtÐ tÞuÐd� ŸUFý tÐ t¹Ë«“

α
r

b

α
O

A

B

1m

1radR
=1
m

∫È—UB²š« r¹öŽ

= αÊU¹œ«— V(ŠdÐ t¹Ë«“ —«bI� 

= bt¹Ë«“ tÐ qÐUI� ”u> ‰uÞ 

= r Ád¹«œ ŸUFý ®©t¹Ë«“ lK{ ‰uÞ

Å®±‡‡≤           ©α =
b
r

ôu?LF� U¹«Ë“ Êœ«œÅ ÊUA� È«dÐÎ v?�U�u¹ ·ËdŠ “« α ® ¨©U?H5¬. ® ¨©U²Ð. ® ¨©U�UÖ. ® Ë ©U?²5œ.

ÆœuýÅv� ÁœUH²Ý« ©sKO(á¹«®

∫t¹Ë«“ bŠ«Ë® ÊU¹œ«— t¹Ë«“ bŠ«Ë radt! býUÐÅv� ©

X³(� UÐ XÝ« dÐ«dÐ ¨d²� p¹ ŸUFý tÐ È«ÅÁd¹«œ —œ Ê¬ —«bI�

ÆÊ¬ ŸUFý tÐ d²� p¹ Á“«b�«ÅÅtÐ vÝu> ‰uÞ

                                       

  
1rad =

1m
1m

 qJý±‡‡Å≤

 qJý≤‡‡Å≤



Å Å ÅÅÅ Å ≥ µÅ

∫‰U¦" ŸUFý tÐ È«ÅÁd¹«œ —œ ±∞∞ÆbOM! »U(Š d²�ÅvKO� 

 t¹Ë«“ ©n5« qÐUI� ‰uÞ tÐ”u>  b =150mmÆ

Æq�U! Ád¹«œ t¹Ë«“ ©»

  
α =

b
r

=
150

100
=1/ 5  rad ®n5«

  
α =

b
r

=
U
r

=
100×2× 3 /14

100
= 6 / 28  rad ®»

  α = 2πrad

dÐ«dÐ tł—œ p¹ ÆœœdÖÅv� ÁœUH²Ý« tł—œ ÂU�ÅtÐ Èd~¹œ bŠ«Ë “« XFMo —œ U¹«Ë“ ÈdOÖÅÁ“«b�« È«dÐ

 UÐ XÝ«

  

1

90
 t¹Ë«“  tLzU>®ÅL dÐ«dÐ rzU> t¹Ë«“ t!Åv¹UłÅÊ¬ “« Ë ©

  

16

2
rad∫Xýu� Ê«uðÅv� s¹«dÐUMÐ ̈ býUÐÅv� 

1
=

1

90
L =

π
2

rad

90
=

π
180

rad

Å®                           ≤‡‡≤©

    

1
=

π
180

rad  ,  1rad = 57 / 3


∫‰U¦" t¹Ë«“ 
    α = 30

ÆbOM! q¹b³ð ÊU¹œ«— tÐ «— 

    
1=

π
180

rad

    
α = 30= 30×

π
180

rad =
π
6

rad

  α =0/ 523rad

∫‰U¦" t¹Ë«“   = . 0/ 7330radÆXÝ« tł—œ bMÇ 

    1rad = 57 / 30

    = . 0/ 7330rad =0/ 7330×1rad =0/ 7330× 57 / 3= 42

® tIO>œ “« bMð—U³Ž tł—œ dðÅpÇu! ÈU¼bŠ«Ë′ ©® tO�UŁ Ë ′′ ©d~¹bJ¹ tÐ U¼ÅÊ¬ q¹b³ð V¹d{ t! ¨

 œbŽ∂∞ÆbýUÐÅv� 

    1= 6 ′0 = 360 ′′0

:60
1

×60

:60

×60

1 1tł—œ tIODœ tO�UŁ



ÅÅÅÅÅÅÅÅ≥∂ÅÅ

bM�U�® È—UAŽ« d(!  —uoÅtÐ t¹Ë«“ —«bI� t! rOM!Åv� œ—ušdÐ Èœ—«u� tÐ U¹«Ë“  U³ÝU×� —œ

    36 / 2

©ÈU?¼b?Š«ËÅt?Ð «— È—U?A?Ž« X?L?(?> t?! X?Ý« d?²?N?Ð œ—«u� t�uÖ s¹« —œ ÆXÝ« Áb�¬ XÝœÅtÐ 

ÆœuL� q¹b³ð tł—œ dðÅpÇu!

∫tK¾*" 
    45 / 4

Æb¹—Ë¬ XÝœÅtÐ Ê¬ ¡«eł« Ë tł—œ V(ŠdÐ «— 

    45 / 4= 45+0/ 4= 45+0/ 4×1= 45+0/ 4×6 ′0 = 45,2 ′4

∫‰U¦" 
    64 / 38

Æb¹—Ë¬ XÝœÅtÐ Ê¬ ¡«eł« Ë tł—œ V(ŠdÐ «— 

    64 / 38= 64+0/ 38= 64+0/ 38 ×6 ′0 = 64+22 / ′8

    64+22 / ′8 = 64+2 ′2 +0/ ′8 = 64+2 ′2 +0/ 8 ×6 ′′0

    = 64+2 ′2 + 4 ′′8

    64 / 38= 64,2 ′2 ,4 ′′8

® l?K?{ p?¹ tÐ qÐUI� Èe!d� t¹Ë«“ t³ÝU×� È«dÐα©® l?K{ Ëœ sOÐ t¹Ë«“ sOMâL¼ Ë .© —œ n

∫œœdÖÅv� ÁœUH²Ý« d¹“ jÐ«Ë— “« rE²M� ÈU¼ÅvFK{

α

.

 qJý≥‡‡ÅÅÅÅÅ≤

∫È—UB²š« r¹öŽ

= αrE²M� vFK{ bMÇ —œ lK{ p¹ tÐ qÐUI� Èe!d� t¹Ë«“ ®   ≥‡‡Å≤      ©

    
α =

360

n
= nŸö{« œ«bFð 

= .            rE²M� vFK{ bMÇ —œ lK{ Ëœ sOÐ t¹Ë«“ ®Å¥‡‡≤     ©

    
= . 180−

360

n

U¹«Ë“ vKG« qLŽ —UNÇ

U¼Åt¹Ë«“ rO(Ið Ë »d{ ¨o¹dHð ¨lLł tÐ “UO� œ—«u� “« všdÐ —œ U¹«Ë“ tÐ ◊uÐd� qzU(� qŠ È«dÐ



Å Å ÅÅÅ Å ≥ ∑Å

∫býUÐÅv� d¹“ Õdý tÐ U¹«Ë“ —œ vKo« qLŽ —UNÇ ÂU−�« ‘Ë— ÆbýUÐÅv�

∫U?¼Åt¹Ë«“ lLłl?L?ł t?ł—œ U?Ð tł—œ Ë tIO>œ UÐ tIO>œ Ë tO�UŁ UÐ tO�UŁ VOðdð tÐ U¼Åt¹Ë«“ lLł —œ 

 d¼ ¡«“UÐ t! XJdÖ dE� —œ b¹UÐ Ë œuýÅv�∂∞ d¼ ¡«“UÐ Ë tIO>œ tÐ bŠ«Ë p¹ tO�UŁ ∂∞tÐ bŠ«Ë p¹ tIO>œ 

ÆœuýÅv� tJU{« tł—œ

∫‰U¦"

30
+ 4 ′0 ,5 ′′0 +20

, 3 ′0 ,4 ′′0

30
,4 ′0 ,5 ′′0 +

20
, 3 ′0 ,4 ′′0

50
,7 ′0 ,9 ′′0 =

50
,7 ′1 , 3 ′′0 =

51
,1 ′1 , 3 ′′0

 ∫U¼Åt¹Ë«“ o¹dHðd(! tł—œ “« tł—œ Ë tIO>œ “« tIO>œ Ë tO�UŁ “« tO�UŁ VOðdðÅtÐ U¼Åt¹Ë«“ o¹dHð —œ

 býUÐ dðÅpÇu! vMO¹UÄ œbŽ “« tO�UŁ v¹ôUÐ œbŽ dÖ« t! XJdÖ dE� —œ b¹UÐ Ë œuýÅv�∂∞ôUÐ œbŽ tÐ tO�UŁ 

«q?L?Ž e?O� tIO>œ œ—u� —œ VOðdð sOL¼ tÐ Ë rO¹UL�Åv� r! v¹ôUÐ tIO>œ r>— “« bŠ«Ë p¹ Ë ÁœuL� tJU{

ÆrOM!Åv�

∫‰U¦"

    

61
, 3 ′4 ,4 ′′2 − 38

, 3 ′6 ,2 ′′7

61
, 3 ′4 ,4 ′′2 −

38
, 3 ′6 ,2 ′′7

61
, 3 ′4 ,4 ′′2 =

60
,9 ′4 , ′′4 =

60
,9 ′4 ,4 ′′2 −

38
, 3 ′6 ,2 ′′7 =

28
,5 ′8 ,1 ′′5



ÅÅÅÅÅÅÅÅ≥∏ÅÅ

∫t¹Ë«“ »d{Êœd!dÐ«dÐ bMÇ —uEM� tÐ «— t¹Ë«“ v5Ë œd! »d{ Ê«uðÅvL� d~¹bJ¹ —œ «— U¼Åt¹Ë«“ 

Ë Áœd?! »d?{ tł—œ Ë tIO>œ Ë tO�UŁ —œ VOðdð tÐ «— œbŽ t! VOðdð s¹bÐ œd! »d{ ÈœbŽ —œ Ê«uðÅv�

 “« d?ðÅg?OÐ tIO>œ Ë tO�UŁ »d{ÅÅÅÅqoUŠ t!Åvð—uoÅ—œ rO(¹u�Åv� «— »d{ÅÅÅqoUŠ∂∞ d¼ §«“UÐ býUÐ ∂∞

 d¼ §«“UÐ sOMÇÅr¼ Ë tIO>œ tÐ bŠ«Ë p¹ vJU{« tO�UŁ∂∞»d{ÅqoUŠ tł—œ tÐ bŠ«Ë p¹ vJU{« tIO>œ 

ÆrO(¹u�Åv� «— Ábý ÁœUÝ t−O²� Ë rO¹«eJ«Åv�

∫‰U¦"

    

62
, 3 ′4 ,5 ′′6

(62
, 3 ′4 ,5 ′′6 ) × 5

62
× 5 = 310



3 ′4 × 5 =       17 ′0

5 ′′6 × 5 =              28 ′′0

            
310

,17 ′0 ,28 ′′0 =

312
,5 ′4 ,4 ′′0

ð∫œbŽ tÐ t¹Ë«“ rO*IbMÇ —uEM�ÅtÐ «— t¹Ë«“ v5Ë œuL� rO(Ið Ê«uðÅvL� d~¹œÅp¹ tÐ «— t¹Ë«“ 

œb?Ž t?Ð «— t?ł—œ V?(?Šd?Ð t?¹Ë«“ Á“«b?�« «b?²?Ð« t! VOðdð s¹bÐ bMM!Åv� rO(Ið ÈœbŽ tÐ Êœd!ÅXL(>

 —œ «— Ê¬ b�¬ XÝœÅtÐ È«ÅÁb�U�Åv>UÐ dÖ« rOM!Åv� rO(Ið dE�ÅÅÅœ—u�∂∞ÊUL¼ ÈÅtIO>œ œbŽ UÐ Ë Áœd! »d{ 

q?L?Ž e?O?� t?O?�U?Ł Ë t?I?O?>œ œ—u?� —œ «— q?L?Ž s¹« Ë rO¹UL�Åv� rO(Ið tOKŽÅÂu(I� œbŽ dÐ Ë lLł t¹Ë«“

ÆrOM!Åv�

≤‡‡Å≤vÝbM¼ ÈU¹UCD “« všdÐ È—Ë¬ÅœU¹ ‡‡Å

 “« U¹«Ë“ tÐ ◊uÐd� vMJ q¹U(� qŠ —œ t!ÅÅv¹UłÅÊ¬ “« ÈU¹UC>t²JdÖ pL! eO� tÝbM¼ Ë »U(Š

 ¨œu?ýÅv� v?‡?¹U‡¹UC> s?‡?¹« q?¹U?(� q‡Š —œ t! «— X?L(>È—Ë¬œU?‡?¹ b?ý b?¼«u?‡š ÁœUH²Ý« U‡¼ÅÊ¬ “«

ÆrO¹UL�Åv�

± U¼ÅÊ¬ ÈU¹«Ë“ ŸuL−� t!Åvð—uo —œ bM¹uÖ d~¹bJ¹ rL²� «— t¹Ë«“ Ëœ ‡‡Åπ∞ÆbýUÐ tł—œ 

≤ t¹Ë«“ Ëœ ŸuL−� tâ�UMÇ ‡‡Å
    180

ÆbM¹uÖ d~¹bJ¹ qLJ� «— t¹Ë«“ Ëœ Ê¬ býUÐ 

µ—œ »d{ 



Å Å ÅÅÅ Å ≥ πÅ

.

α

o
α + = . 180

.

α

o
α + .= 90

 qJý¥‡‡Å≤

qLJ" t¹Ë«“ Ëœ

rL²" t¹Ë«“ Ëœ

α

.

.

α + + . .= 180

..

α .

α + + . .+ .= 360 α + + . .+ .= 360

α

. .

.

 qJýµ‡‡ÅÅÅÅÅÅÅÅÅ≤

®¥‡‡Å≤© ®µ‡‡ÅÅÅ≤©

®∂‡‡≤© ®∑‡‡≤©

≥ Y?K?¦?� d¼ vKš«œ ÈU¹«Ë“ ŸuL−� ‡‡Å
    180

t?²?(?Ð v?FK{Å—UNÇ d¼ vKš«œ ÈU¹«Ë“ ŸuL−� Ë 

    360

ÆbýUÐÅv� 

s�dL�

±ÆbOM! hHA� Ê¬ ¡«eł« Ë tł—œ V(ŠdÐ «— Ábý Áœ«œ ÈU¹«Ë“ Á“«b�« ‡‡Å

 ‡‡ n5«

    
27

1

2
 ‡‡ »

    62 / 67

 ‡‡ Ã
    15 / 5

 ‡‡ œ
    38 / 23

≤«— ‰u?N?−?� t?¹Ë«“ —«b?I?� b?F?Ð ÈÅt?×?H?o ‰U?Jý« —œ Ábý Áœ«œ È—«œdÐ Áœ«dÐ ÈU¼—«eÐ« “« ‡‡Å

Æb¹—Ë¬ XÝœÅtÐ



ÅÅÅÅÅÅÅÅ¥∞ÅÅ

64 

?

15


?

95

12


ÅÅ qJý∂‡‡ÅÅÅ≤

.

α.

.

α .

.
130 115

α
.

89

25





 qJý∑ÅÅ‡‡ÅÅÅÅÅ≤

≥Æb¹—Ë¬ XÝœÅtÐ «— Ábý Áœ«œ ‰UJý« —œ ‰uN−� ÈU¹«Ë“ ‡‡Å

n�«»Ãœ‡¼Ë“Õ◊

 ¥∂∏±≤±∂≤∞≤¥≤∏≥≤

 qJý∏Å‡‡ÅÅÅÅÅÅÅÅ≤

αα == ?
.= .= ?
.= .= ?
.= .= ?

X�UŠ

n

¥® Èe!d� t¹Ë«“ ‡‡Åα©‰Ëbł —œ Ábý Áœ«œ Œ«—uÝ œ«bFð UÐ v¹U¼Åg�öJ È—U!ÅŒ«—uÝ È«dÐ «— 

Æb¹—Ë¬ XÝœÅtÐ

À—užU¦O% ÈÅtOCD

 d¹“ Ábý rÝ— t¹Ë«e5«ÅrzU> YK¦� —œA,B,C Ê¬ —œ t! YK¦� ÈU¼ÅtýuÖ 
    
(= . 90

) Ë a Ë bËœ 

 Ë tLzU> t¹Ë«“ tÐ —ËU−� lK{cg5uÞ d~¹œ lK{ Ëœ “« t! býUÐÅv� YK¦� dðË tLzU> t¹Ë«“ tÐ qÐUI� lK{ 

UÐ ÆXÝ« dðÅgOÐ ÆXýu� Ê«uðÅv� qJý tÐ tłuð

 lK{ tÐ lÐd� XŠU(�a UÐ XÝ« dÐ«dÐ   a2 = 4
2 =16

 lK{ tÐ lÐd� XŠU(�b UÐ XÝ« dÐ«dÐ   b2 = 3
2 = 9

C

A

B
c

b
a

α

.

. =90

 qJýπ‡‡Å≤



Å Å ÅÅÅ Å ¥ ±Å

UÐ XÝ« dÐ«dÐ lÐd� Ëœ s¹« ÈU¼ÅXŠU(� lLł

  a2 + b2 = 25

 l??K??{ t?Ð l?Ðd?� X?ŠU?(?�C U??Ð X?Ý« d?Ð«d?Ð 

  c2 = 5
2 = 25

«— À—u?žU?¦?O?J t?O?C?> ôU?Ð ‰U?¦?� t?Ð t?łu?ð UÐ

∫Xýu� d¹“  —uoÅtÐ Ê«uðÅv�

C2 = 25

90


a2 = 16

b2=9

C

A B

 qJý±∞‡‡Å≤

 À—užU¦O% tOCD±∫t¹Ë«e5«ÅrzU> YK¦� d¼ —œ 

d?~?¹œ l?K{ Ëœ  UFÐd� ŸuL−� UÐ XÝ« dÐ«dÐ dðË lÐd�

                                          ÅÅÅÅÅÅÅÅÅc2 = a2 + b2

∫œuýÅv� t−O²� ôUÐ ÈÅtDÐ«— “«

                                             

  

a2 = c2 − b2

b2 = c2 − a2

.

.

.

..

∫‰U¦"tÐ —ËU−� lK{ t¹Ë«e5«ÅrzU> YK¦� p¹ —œ 

 t?L?zU?> t?¹Ë«“  a = 85 Ê¬ d??ðË Ë d?²?�Åv?K?O?�   c =160

ÆbOM! »U(Š ¨býUÐÅv� d²�ÅvKO�

c
ab

M

 qJý±±‡‡Å≤

±® ÂuÝ ‰uÞ ‡‡b©           b2 = c2 − a2

  b = 160
2 − 85

2

   b =135mm

≤lÐd�d²�Åv²�UÝ V(ŠdÐ YK¦� XŠU(� ‡‡

  

A =
g.h
2



ÅÅÅÅÅÅÅÅ¥≤ÅÅ

 qJý±≤‡‡Å≤

 qJý±≥‡‡Å≤

  

A =
13 / 5 × 8 / 5

2

  
A = 57 / 35cm2

 À—užU¦O% tOCD≤∫ŸUHð—« t¹Ë«e5« rzU> YK¦� d¼ —œ 

ÆXÝ« dðË ÁbýÅrO(Ið tFD> Ëœ sOÐ vÝbM¼ tDÝ«Ë dðË dÐ œ—«Ë

                                                       h2 = a.bh

a b

∫‰U¦"qJý t¹Ë«e5«ÅrzU> YK¦� —œ ±≥‡‡≤® dðË dÐ œ—«Ë ŸUHð—« hÆbOM! »U(Š «— ©

  h2 = a.b

h = a.b

  h = 40×90

  h = 3600

  
h = 60mm

h = ?

40 90

∫f�Uð tOCD t¹Ë«“ tÐ qÐUI� lK{ t¹Ë«e5«ÅrzU> YK¦� d¼ —œ 
    30



ÆXÝ« dðË nB� 

Lt¹Ë«e5«ÅrzU> YK¦� dðË ‡‡ 

h t¹Ë«“ tÐ qÐUI� lK{ ‡‡ 
    30



h =
1

2
L

30


L

h

 qJý±¥‡‡Å≤

∫‰U¦" lK{ ‰uÞ g qJý —œ «— ±µ‡‡≤ÆbOM! t³ÝU×� 

  L = 2h = 2× 50=100

g = L2 − h2

  
g = 100

2 − 50
2

  
g = 7500 ⇒ g ≈ 86 / 6

g = ?

L = ?

h
=

5
0

 qJý±µ‡‡Å≤



Å Å ÅÅÅ Å ¥ ≥Å

1
7
0

∅120

h
=
?

3200

2500

S2S
1

1
2
0

3
6

72

x

∫‰U?¦" Á“«b?�« È˛«—U?Ö n?IÝ XšUÝ È«dÐ X

«—ÅÊ¬ Á“«b�« Ábý Áœ«œ œUFÐ« tÐ tłuð UÐ ÆXÝ« “UO� œ—u�

Æb¹—Ë¬ XÝœÅtÐ

∫qŠ

  x2 = a2 + b2

x = a2 + b2 = 1/ 22 + 5 / 82 = 35 /08

  x = 5 / 92m

s�dL�

±Æb¹—Ë¬ XÝœÅtÐ «— ◊ËdH� ŸUHð—« Á“«b�« ‡‡Å

≤ÈU¼uCŽ ‰uÞ Ábý ÅÁœ«œ ÊUA� ÈUÄdš —œ ‡‡Å

  S1 Ë   S2Æb¹—Ë¬ XÝœÅtÐ «— 

≥ ‡‡Å q?Jý±π‡‡≤Áb?�œÅŒd?Ç Ëœ ÈdOÖ—œ X5UŠ 

 Á“«b�« qJý s¹« —œ Æb¼œÅv� ÊUA� «—x»U(Š «— ÆbOM! 

 qJý±∂‡‡Å≤

 qJý±∑‡‡Å≤

 qJý±∏‡‡Å≤

 qJý±π‡‡Å≤

a
=

1
/2
m

b = 5 /80m

x



ÅÅÅÅÅÅÅÅ¥¥ÅÅ

¥ ‡‡Å È«ÅtFD> tÐ ÈœdÖÅtKO� “« d¹“ qJý oÐUD� dD>  d = 80mmoLŽ Á“«b�« bý b¼«uš t²šUÝ 

® —UÐh© ÷dŽ t!Åvð—uo —œ «—  XL(> Ábý XHð  b = 50mmÆbOM! »U(Š býUÐ 

b

h

d

 qJý≤∞‡‡Å≤

≥‡‡Å≤vðU¦K¦" jÐ«Ë— ‡‡Å

Ÿö{« Ë U¹«Ë“ ¨vðU¦K¦� jÐ«Ë— tÐ s²š«œdÄ “« q³>

 q?J?ý o?ÐU?D?� «— t?¹Ë«e?5«År?zU?> Y?K?¦� p¹≤±‡?‡≤d?E� —œ 

Ær¹dOÖÅv�

a

c

= . 90

.α
A B

C

b

 qJý≤±‡‡Å≤

= a t¹Ë«“ tÐ qÐUI� lK{ α t¹Ë«“ tÐ —ËU−� Ë .

= b t¹Ë«“ tÐ qÐUI� lK{ . t¹Ë«“ tÐ —ËU−� Ë α

= ctLzU> t¹Ë«“ tÐ qÐUI� lK{ U¹ dðË 

∫t?¹Ë«e?�«År?zUD YK¦" —œ Ÿö{« Ë U¹«Ë“ sOÐ jÐ«Ë—ÈU?¼ÅY?K?¦� Ÿö{« Ë t¹Ë«“ t(¹UI� UÐ 

ÅÅqJý≤±‡‡≤∫XJdÖ t−O²� Ê«uðÅv� 

 qJý≤≤‡‡Å≤

α I

b = 20

a
=

1
0

α II

′b = 30

′a
=1

5

α
IV

′a
=3

5
′′

′′b =40′

α III

′′b =40

′a
=2

0
′



Å Å ÅÅÅ Å ¥ µÅ

± t¹Ë«“ ÊuÇ ‡‡Åα t¹Ë«e5«ÅrzU> ÈU¼ÅYK¦� —œ I Ë II Ë IIIU¼ÅÊ¬ Ÿö{« X³(� ¨XÝ« dÐ«dÐ r¼ UÐ 

ÆœuÐ bM¼«uš dÐ«dÐ r¼ UÐ eO�

b
a

=
20

10
=

2

1
= 2

a
b

=
10

20
=

1

2
=0/ 5

  

′b
′a

=
30

15
=

2

1
= 2

  

′a
′b

=
15

30
=

1

2
=0/ 5

  

′′b
′′a

=
40

20
=

2

1
= 2

  

′′a
′′b

=
20

40
=

1

2
=0/ 5

≤ t¹Ë«“ —«bI� dÖ« ‡‡Åα YK¦� —œ IIIYK¦� qJý oÐUD� IV  dOOGð eO� Ê¬ Ÿö{« X³(� bM! dOOGð 

Æœd! b¼«uš

  

′′′b
′′′a

=
40

35
=

8

7
=1/142

  

′′′a
′′′b

=
35

40
=

7

8
=0/ 875

 ≥ Y?K¦� d¼ —œ ‡‡Å t?¹Ë«e5«ÅrzU>ö?¦�® t¹Ë«“ d¼ È«dÐÎ 
    42

©Ë t?²?ý«œ œułË vMOF� Ÿö{« X³(� 

 bM�U�® sOF� Ÿö{« X³(� d¼ È«dÐ sOMâL¼
9

10
=0/ 9©∫s¹«dÐUMÐ œ—«œ œułË vBHA� t¹Ë«“ eO� 

 Y?K¦� d¼ —œ t?¹Ë«e5«ÅrzU> ÈU¹«Ë“ —«bI�α U?¹ Ë .s?O?M?âL¼ Ë t²ý«œ v~²(Ð Ÿö{« X³(� ÅtÐ 

 t¹Ë«“ —«bI� tÐ eO� Ê¬ Ÿö{« X³(�α U¹ Ë .Æœ—«œ v~²(Ð 

¥ YK¦� d¼ —œ ‡‡Å t¹Ë«e5«ÅrzU>—UO²š« —œ UÐ sOMâL¼ Ë t¹Ë«“ —«bI� Ê«uðÅv� Ÿö{« X³(� s²ý«œ UÐ

Æœ—Ë¬ XÝœÅtÐ «— Ÿö{« X³(� Ê«uðÅv� t¹Ë«“ —«bI� s²ý«œ

Y??K??¦?� —œ U?¹«Ë“ U?Ð U?¼ÅÊ¬ v?~?²?(?Ð«Ë Ë Ÿö?{« ÈU?¼ÅX?³?(?�

 t?¹Ë«e?5«ÅrzU>v?ðU?¦?K?¦?� j?Ð«Ë— s?¹d?ðÅr?N?� ÆbM�U�Åv� vðU¦K¦� jÐ«Ë— «—

∫“« b�«Å —U³Ž

 ÅÅÅÅÅÅÅÅÅÅ—ËU−� lK{Å              

®π‡‡ÅÅ≤©=
                   

   
⇒ cosα =

b
c

”uMO(!

 Å

    dðË

Å                  

ÅÅÅÅÅÅÅÅÅÅÅÅÅqÐUI� lK{Å             

®±∞‡‡≤©=
                   

   
⇒ sin α =

a
c

”uMOÝ

ÅÅ   dðË

Å                 

A C

B

c

b

a

α

 qJý≤≥‡‡Å≤



ÅÅÅÅÅÅÅÅ¥∂ÅÅ

      —ËU−� lK{ÅÅÅÅ         

®±±‡‡≤©=
                   

   
⇒ cot α =

b
a

X�«ó�U²!

 qÐUI� lK{
ÅÅÅÅÅÅÅ               

       qÐUI� lK{Å        

®±≤‡‡≤©=
                   

   
⇒ tan α =

a
b

X�«ó�Uð

ÅÅÅ—ËU−� lK{

ÅÅ             

U¼ÅÊ¬ “« È«Åt�uL� d¹“ —œ t! ªœœdÖÅv� ÁœUH²Ý« vMJ q¹U(� “« È—UO(Ð qŠ —œ vðU¦K¦� jÐ«Ë— “«

ÆbO¹UL�Åv� Áb¼UA� «—

∫‰U¦" t?Ð ÈœdÖÅtKO� “«  d?D>  d = 50mm ¨ È«ÅtFD> q?Jý oÐUD�≤¥‡‡≤Æb?ý b¼«uš t²šUÝ 

® —UÐ oLŽ bOM! »U(ŠhÆbýUÐ ÈËU(� r¼ UÐ Ábý XHð ÕuDÝ ÷dŽ t! vð—uo —œ «— ©

5
0

h
4

.α
b

. .
α α

120

 qJý≤¥‡‡Å≤

 qJý≤µ‡‡Å≤

∫qŠ Y?K?¦?� q?O?J?Að UÐ rOM!Åv� vFÝ q¹U(� t�uÖÅs¹« qŠ —œ  t?¹Ë«e5«ÅrzU>j?Ð«Ë— “« ÁœUH²Ý« Ë

ÆrO¹UL� qŠ «— tK¾(� vðU¦K¦�

 YK¦� qOJAð UÐ tK¾(� —œ t¹Ë«e5«ÅrzU>hHA� qJý —œ t!

 t¹Ë«“ «b²Ð« ªXÝ« Ábýα t¹Ë«“ fáÝ Ë .UÐ Ë Áœ—Ë¬ XÝœÅtÐ «— 

ÆrOM!Åv� qŠ «— tK¾(� ”uMO(! tDÐ«— “« ÁœUH²Ý«

                                      

”uMOÝ ‰Ëbł “«
    ⇒ α ≈ 4

,3 ′0
                                 

  

sin α =

4

2

50

2

=
2

25
=0/08



Å Å ÅÅÅ Å ¥ ∑Å

27

t

5

2

75

8
0

55

∅
4

0

D
−
d

2

 qJý≤∑‡‡Å≤

 qJý≤∂‡‡Å≤

    
= .

360

3
−2a

2
=

120−2× 4, 3 ′0

2
≈ 55, 3 ′0

  

cos= . b
r

⇒ b = cos× . r =0/ 5664 ×25 ≈14 /16mm

  h = r − b = 25 −14 /16 =10/ 84mm

s�dL�

±® —UÐ oLŽ ‡‡Åt—uAM� s²šUÝ È«dÐ «— ©

 qJý oÐUD�≤∂‡‡≤ÆbOM! »U(Š 

≤ ◊ËdH� ‡‡Å h>U�qJý oÐUD�≤∑‡‡≤

∫bOM! »U(Š XÝ« ÷ËdH�

® ◊ËdH� VOý ©n5«

  
tan α

2
©Æ

® VOý t¹Ë«“ ©»

  

α
2

©t¹Ë«“ sOMâL¼ Ë 

Æ◊ËdH� ”√—

≥Å‡‡ sOMâL¼ Ë Ÿö{« ‰uÞ  dD>oÐUD� qOD²(�

qJý≤∏‡‡≤Ê¬ XŠU(� t!Åvð—uo —œ ¨«—   47 / 48m2

ÆbOM! »U(Š býUÐ
56

 1
′0

 qJý≤∏‡‡Å≤



ÅÅÅÅ¥∏Å

Å

ÂuÝ qB�

Ê¬ ‰UI²�« Ë X�dŠ

±‡‡≥X�dŠ ‡‡

—œ v�d×²
 r�ł ÁUÖd¼ ÆXÝ« Áœd� X�dŠ r�ł Ê¬ rO¹uÖ bM� dOOGð vL�ł —«dI²Ý« q×
 dÖ«

dO�
 dÖ« ‰UŠ ÆbM¹uÖ Xš«uMJ¹ X�dŠ «— X�dŠ ̈ bM� vÞ «— ÈdÐ«dÐ ÈU¼ÅX*U�
 ̈ ÈËU�
 ÈU¼ÅÊU
“

¨X?�d?Š d?O?�?
 t?�Åv?ð—u/ —œ Ë Xš«uMJ¹ j12« rOI²�
 X�dŠ «— Ê¬ býUÐ rOI²�
 ¨vDš X�dŠ

q?¹— ÈË— —U?D?5 X?�d?Š ‰U?¦?
 Ê«u?M?ŽÅt?Ð Æb?M?
U?8 X?š«u?MJ¹ v8«—Ëœ X�dŠ «— X�dŠ býUÐ È«ÅÁd¹«œ

ÆbýUÐÅv
 v8«—Ëœ X�dŠ Ê¬ ÈU¼ÅŒdÇ X�dŠ Ë j12«ÅrOI²�
 X�dŠ ¨rOI²�


 qJý±‡‡≥

«— X?�d?Š b?M?� v?Þ «— ÈËU?�?
 d?O?ž ÈU?¼ÅX?*U�
 ÈËU�
 ÈU¼ÅÊU
“ —œ v�d×²
 tFD5 ÁUÖd¼

—œ ‘dÐ X�dŠ Ë v5«d²Š« ÈU¼—uðu
 —œ Êu²�OÄ X�dŠ bM8U
 ªbM¹uÖ ©dOG²
® Xš«uMJ¹dOž X�dŠ

Æv8UL�ÅÁ—« ÈU¼ÅsOýU


≤‡‡≥XŽdÝ ‡‡

d?Ð Áb?ý Áœu?L?O?Ä X?*U�
 X³�8 ¨n¹dFð dÐUMÐ ÆX�dŠ g−MÝ È«dÐ XÝ« vLN
 q
UŽ XŽdÝ

ÆbM¹uÖ XŽdÝ «— X�dŠ ÊU
“



Å¥πÅ

∫XŽdÝ Ÿ«u�«t� b8dOÖÅv
 —«d5 vÝ—dÐ œ—u
 XŽdÝ Ÿu8 —UNÇ ̈  sOýU
 tÐ ◊uÐd
  U�dŠ —œ 

ÆÈ«Åt¹Ë«“ XŽdÝ Ë vDO×
 XŽdÝ ¨v8«—Ëœ XŽdÝÅÅ¨vDš XŽdÝ “« bMð—U³Ž

∫vDš XŽdÝXÝœÅtÐ d¹“ tDÐ«— “« Ë bM¹uÖ vDš XŽdÝ «— j12«ÅrOI²�
 X�dŠ —œ XŽdÝ 

Æb¹¬Åv


∫È—UB²š« r¹öŽ

= s®                                                         X*U�
 ±‡‡≥©V =
s
t

= tÊU
“ 

= VXŽdÝ 

r²�OÝ —œ XŽdÝ bŠ«ËSI  tO8UŁ dÐ d²
 ¨(
m
s )—uÞÅtÐ t� XÝ« v�d×²
 XŽdÝ Ê¬ Ë býUÐÅv
 

ÆbM�Åv
 vÞ «— d²
 p¹ ‰œUF
 v²*U�
 tO8UŁ d¼ —œ Xš«uMJ¹

ÈU?¼b?Š«Ë Æb?ýU?Ð t²ý«œ eO8 Èd~¹œ ÈU¼bŠ«Ë œdÐ—U� q×
 Ë œ—u
 V�ŠdÐ b8«uðÅv
 XŽdÝ

∫“« bMð—U³Ž U¼ÅÊ¬ œdÐ—U� Ë XŽdÝ ‰Ë«b²


 tÐ tOKI8 q¹UÝË XŽdÝ ‡‡km h

 tÐ —u8 XŽdÝ ‡‡km s

 È—U�Å‘«dð ¨È—U�ÅŒ«—uÝ —œ ‘dÐ XŽdÝ ‡‡m min

 tÐ  u/ XŽdÝ Ë vDO×
 XŽdÝ ‡‡m s

 v8“Å@MÝ Ë “d* ÈU¼ÅsOýU
 —œ ÈËdAOÄ XŽdÝ ‡‡mm min

∫‰U¦& ‰uÞ ̈ tKOÝË s¹« t� bý h1A
 tŽ—e
 —œ È—u²�«dð —U� ÂU~M¼ —œ ±µµ«— sO
“ Èd²
 

 Ë tIO5œ p¹ ÊU
“  b
 —œ¥∞øXÝ« —b5ÅtÇ —u²�«dð s¹« vDš XŽdÝ ÆXÝ« ÁœuL8 vÞ tO8UŁ 

  s =155m

  

t = 60+ 40=100s             V =
s

t
=

155

100
=1/ 55  m s

XŽUÝ dÐ d²
uKO� V�ŠdÐ —u²�«dð XŽdÝ

  
1/ 55 ×

3600

1000
= 5 / 6 km h

∫‰U¦& qJý oÐUD
 È«Åt2UI8 tL�ð pL� tÐ ≤‡‡≥Ær?O¹UL8 tOK1ð Ë qLŠ «— vðUFD5 rO¼«ušÅv
 ¨

  UFD5 “« p¹ d¼ X�dŠ ÊU
“ dÖ«

  

2

3
∫bOM� »U�Š býUÐ tIO5œ 



ÅÅÅÅµ∞Å

Å

 V�ŠdÐ «— t2UI8 tL�ð XŽdÝ ©n2«
m
s

Æ

©»  r¼ “« tFD5 Ëœ tK/U* t� vð—u/—œ b8uýÅv
 qLŠ XŽUÝ d¼ —œ t� «— vðUFD5 œ«bFð∞[¥d²
 

ÆbýUÐ

 

  

V =
s
t =

32m
2

3
min

=
32m

2

3
×60s

=
32m
40s =0/ 8

m
s ®n2«

                                  tFD5    

=
0/ 8m s
0/ 4m = 2

         
s Ábý UłÅtÐÅUł  UFD5 œ«bFð ®»

                              

tFD5

                           

tFD5

ÅÅ          

tFD5

Å          

tFD5

2
         

s = 2
1

3600
h

= 2
         × 3600

h = 7200
        

h

s�dL�

± qJý oÐUD
 È«Åt2UI8 tL�ð pL� tÐ ‡‡≥‡‡≥dÖ« Æb8œdÖÅv
 qLŠ vM�Å◊uK1
 ÁU~²Ýœ tÐ Èœ«u
 ̈

 d¼ —œ býUÐ Â“ô∂∫bOM� »U�Š œuý v¹ULM¼«— s�Å◊uK1
 qš«œ tÐ tO2Ë« œ«u
 t³Fł p¹ tO8UŁ 

vð—u/ —œ «— d~¹œÅr¼ “« U¼Åt³Fł tK/U* ©n2«

 t2UI8 tL�ð XŽdÝ t�

  
V =18

m
min ÆbýUÐ

tL�ð ‰uÞ dÖ« «— t³Fł p¹ ÊœuLOÄ ÊU
“ ©»

 t2UI8±≤≥ÆbýUÐ d²
 
 qJý≥‡‡≥

≤q?Jý —œ Ábý Áœ«œ ÊUA8 vHIÝ qOIŁdł XŽdÝ ‡‡¥‡‡≥¨—UÐ Êœd� bMKÐ nK²1
 ÈU¼ÅX2UŠ —œ 

Ë ÈËU�
 r¼ UÐ —UÐ Êœ—Ë¬ sO¹UÄ Ë vI*« X�dŠ

 dÐ«dÐ≥∂È«d?Ð Â“ô ÊU
“ býUÐÅv
 tIO5œ dÐ d²
 

ÆbOM� »U�Š «— sÖ«Ë qš«œ tÐ t³Fł d¼ qLŠ

32m

0/4
m

 qJý≤‡‡≥

 qJý¥‡‡≥



Åµ±Å

S m
ax

≥ ¨q?J?ý o?ÐU?D
 v�«dð XHO2 jÝuð ‡‡≤∞

 ŸUHð—« tÐ t�O� œbŽ±[µÆbý b¼«uš qLŠ Èd²
 

 „«d?ðÅXHO2 Áb8dÐ ôUÐ XŽdÝ dÖ«±≤t?IO5œ dÐ d²
 

 t�O� d¼ Êœd� ÁœUOÄ Ë —«uÝ È«dÐ Ë ÁœuÐ≤∏tO8UŁ 

X?N?ł Â“ô ÊU?
“ b?O?M?� »U?�Š ¨býUÐ Â“ô X5Ë

Æ«— U¼ÅÊ¬ qLŠ

d

v

p

 qJýµ‡‡ÅÅÅÅ≥

 qJý∂‡‡ÅÅ≥

∫v½«—Ëœ XŽdÝö¦
 t²�Ð vM×M
 p¹ —Ëœ vL�ł dÖ« Î«— r�ł X�dŠ bM� X�dŠ Ád¹«œ p¹ 

X?Žd?Ý ¨r?�?ł Ê¬ —u?×?
 ‰u?Š ¨ÊU
“ bŠ«Ë —œ r�ł p¹ Ê«—Ëœ œ«bFð tÐ ÆbM¹uÖÅv
 v8«—Ëœ X�dŠ

ôuLF
 Ë œuýÅv
 t²HÖ v8«—ËœÎÅUÐ «— Ê¬ n v8«—Ëœ XŽdÝ bŠ«Ë ÆbM¼œÅv
 ÊUA8 

  

1

min
 ®U¹ ©tIO5œ—œ —Ëœ

  

1

S
 ®ÆbýUÐÅv
 ©eðd¼U¹ tO8UŁ—œ —Ëœ

∫vDO×� XŽdÝU¼ÅÁœU³MÝ @MÝ ̈ U¼ÅÁb8œ ŒdÇ ̈ U¼ÅtL�ð ŒdÇ bM8U
 ̈ —«Ëœ ÂU�ł« X�dŠ XŽdÝ 

 b?M?8U?
 È«Åt?DI8 dÖ« ÆbM
U8Åv
 vDO×
 XŽdÝ «— ìÅËP dD5 tÐ È«ÅÁd¹«œ ÈË— d«— v?²?š«uMJ¹ X�dŠ 

ÆœœdÖÅv
 t³ÝU×
 d¹“ Õdý tÐ Ê¬ vDO×
 XŽdÝ ¨b¼œ ÂU−8«

= d × π —Ëœ p¹ —œ Ábý ÁœuLOÄ X*U�
 ®©X�dŠ Ád¹«œ jO×


  = d × π ×2—Ëœ Ëœ —œ Ábý ÁœuLOÄ X*U�
 

= d × π × n  —œ Ábý ÁœuLOÄ X*U�
ntIO5œ d¼ —œ —Ëœ 



ÅÅÅÅµ≤Å

Å

ôu?LF� t
 v¹UłÅÊ¬ “«Î¨X?FM� —œ X?Žd?Ý Ë t?IO œ dÐ —Ëœ bŠ«Ë UÐ —Ëœ ¨d²�ÅvKO� bŠ«Ë UÐ dD 

d¹“ ÕdýÅtÐ q¹b³ð V¹«d{ tÐ tłuð UÐ vDO×� XŽdÝ tDÐ«— «c0 ¨œuýÅv� ÊUOÐ tO1UŁ dÐ d²� bŠ«Ë UÐ vDO×�

ÆœuÐ b¼«uš

Å®  ≤‡‡≥©

  
V =

d × .× n
1000×60

∫È—UB²š« r¹öŽ

=d  d²�ÅvKO� V;ŠdÐ ŒdÇ dD  ®mm©

 =n tIO œ d¼ —œ ŒdÇ Ê«—Ëœ œ«bFð 

  

RPM(
1

min
)±

=v   tO1UŁ dÐ d²� V;ŠdÐ ŒdÇ vDO×� XŽdÝ(
m
s )

œ«b?F?ð Ë v?ŽU?F?ý XOF u� tÐ —«Ëœ r;ł p¹ tDI1 d¼ vDO×� XŽdÝ t
 b¼œÅv� ÊUA1 ‚uC tDÐ«—

XÝ« dðÅp¹œe1 ŒdÇ —u×� tÐ t
 È«ÅtDI1 ¨Ê«—Ëœ œ«bFð Êb1U� XÐUŁ UÐ t
 Èu×1ÅtÐ ªœ—«œ v~²;Ð Ê¬ Ê«—Ëœ

ÆœuÐ b¼«uš Èd²AOÐ vDO×� XŽdÝ È«—«œ XÝ« dð—Ëœ ŒdÇ —u×� “« t
 È«ÅtDI1 Ë d²L
 vDO×� XŽdÝ

∫‰U¦� dD  tÐ È«ÅtL;ð ŒdÇ 420mm tIO œ d¼ —œµ∂∞t?
 «—ÅÊ¬ vDO×� XŽdÝ Æb1“Åv� —Ëœ 

Æb¹—Ë¬ XÝœÅtÐ býUÐÅv� tL;ð XŽdÝ ‰œUF�

V =
d × .× n
1000×60

=
420× 3 /14× 560

1000×60
=12 / 32

m
s

s�dL�

±X?ÝœÅt?Ð d?²?�Åv?K?O?� V?;?ŠdÐ «— qJý oÐUD� È«ÅÁ—« tGOð dD  ‡‡

 Ê¬ vDO×� XŽdÝ t
 vð—u� —œ b¹—Ë¬±≤v1«—Ëœ XŽdÝ Ë tO1UŁ dÐ d²� 

 Ê¬µ∞∞ÆbýUÐ tIO œ d¼ —œ —Ëœ 

≤ X?Žd?Ý UÐ t
 «— vKO³�uð« ŒdÇ v1«—Ëœ XŽdÝ ‡‡±∞∞d²�uKO
 

 Ê¬ ÈU?¼ÅŒdÇ dŁR� dD  Ë ÁœuÐ X
dŠÅ —œ XŽUÝ —œ∂∏X?Ý« d²�Åv²1UÝ 

ÆbOM
 »U;Š tIO œ —œ —Ëœ V;ŠdÐ

≥ U?¼ÅtL;ð ŒdÇ jÝuð X
dŠ ‰UI²1« —œ ¨tL;ð VÝUM� XŽdÝ dÖ« ‡‡

  
15

m
s

 bOM
 sOOFð býUÐ

  ôUŠ “« p¹ÅÂ«b
I U¹ IIÆbýUÐÅv� VÝUM� X
dŠ ‰UI²1« È«dÐ 

d

 qJý∑‡‡≥

± ‡‡RPM  ULK
 ‰Ë« ·ËdŠ Round Per MinuteÆbýUÐÅv� 



Åµ≥Å

II                 I      ÅÅÅÅÅ

∏∞∞/min±µ∞∞/minn

¥∞∞mm±µ∞mmd

 qJý∏‡‡ ÅÅÅ≥

∫È«Åt?¹Ë«“ XŽdÝt?²?H?Ö È«Åt¹Ë«“ XŽdÝ bM�Åv
 vÞ ÊU
“ bŠ«Ë —œ „d×²
 t� È«Åt¹Ë«“ tÐ 

 tKO
 U¹ Ë“UÐ ÆœuýÅv
OAtDI8 ‰uŠ ©vðU¦K¦
 XNł® XŽUÝ ÈU¼ÅtÐdIŽ X�dŠ ·öš XNł —œ t� «— 

O qJý —œ π‡‡≥  b
 —œ tKO
 s¹« ÁUÖd¼ Æb¹dO~Ð dE8 —œ bšdÇÅv
 t—«bI
 tÐ È«Åt¹Ë«“ tO8UŁ .ÊU¹œ«— 

∫UÐ œuÐ b¼«uš dÐ«dÐ tKO
 È«Åt¹Ë«“ XŽdÝ ÆbšdâÐ

                                           

ÊU¹œ«—

              

tKO
 jÝuð Ábý vÞ t¹Ë«“ 

®≥‡‡≥©
= .                                      = .

t
=            

                                            

tO8UŁ

                     
        

ÊU
“

tÐ ôUÐ tDÐ«— —œ. Ê¬ bŠ«Ë Ë bM¹uÖÅv
 È«Åt¹Ë«“ XŽdÝ 
rad
s

Â“ô l5«u
 d²AOÐ —œ ÆbýUÐÅv
 

∫œuýÅv
 ÁœUH²Ý« d¹“ tDÐ«— “« —U� s¹« È«dÐ ÆœœdÖ q¹b³ð È«Åt¹Ë«“ XŽdÝ tÐ v8«—Ëœ XŽdÝ t� œuýÅv


®¥‡‡≥©

  

= . 2πn
60

∫È—UB²š« r¹öŽ

= . tO8UŁ dÐ ÊU¹œ«— V�ŠdÐ È«Åt¹Ë«“ XŽdÝ (
rad
s )

O

B

A
.

.

 qJýπ‡‡ÅÅÅ≥ tKO& Ê«—Ëœ ‡‡OA ÈÅtDI� ‰uŠ O



ÅÅÅÅµ¥Å

Å

= π dÐ«dÐ vÄ œbŽ ≥[±¥

=n t??I??O??5œ d??Ð —Ëœ V??�??Šd??Ð v??8«—Ëœ X?Žd?Ý (rpm)

∫‰U¦& v?8«—Ëœ X?Žd?Ý UÐ ©d~M2ÅŒdÇ® q¹u¹ö* p¹ ≤¥∞∞b?O?M?� s?OF
 ÆbšdÇÅv
 tIO5œ dÐ —Ëœ 

ÆXÝ« tO8UŁ dÐ ÊU¹œ«— bMÇ Ê¬ È«Åt¹Ë«“ XŽdÝ

  
n = 2400rpm

  

= .
2πn
60

=
2× 3 /14 ×2400

60
= 251/ 3

rad
s

s�dL�

± qJý oÐUD
 g�«u¼ ÈU¼ÅÁdÄ È«Åt¹Ë«“ XŽdÝË v8«—Ëœ XŽdÝ ‡‡±∞‡‡≥vð—u/ —œ «— n2« ‡‡

 Ê¬ ÈU¼ÅÁdÄ dD5 t�¥µ∞ Ê¬ vDO×
 XŽdÝ Ë ÁœuÐ d²
ÅvKO
 
  
4 / 35m s ÆbOM� »U�Š býUÐ

≤ qJý ÁœU³MÝ @MÝ È«Åt¹Ë«“ XŽdÝ Ë vDO×
 XŽdÝ ‡‡±∞‡‡≥dD5 t� vð—u/ —œ ¨«— » ‡‡ 

 @MÝ≤µ∞ Ê¬ v8«—Ëœ XŽdÝ Ë d²
ÅvKO
 ±∞∞∞ÆbOM� »U�Š býUÐ tIO5œ d¼ —œ —Ëœ 

d

 qJý±∞‡‡≥

n4«
»

≥‡‡≥U¼ÅtL8ð ŒdÇ Ë tL8ð tKOÝËÅtÐ X�dŠ ‰UI²�« ‡‡

ÆbMM�Åv
 ÁœUH²Ý« „d×²
 —u×
 tÐ „d×
 —u×
 “« X�dŠ ‰UI²8« È«dÐ U¼ÅtL�ð ŒdÇ Ë tL�ð “«

v?2U?I?²8« ÈËdO8 Ë ÁœuÐ œU¹“ —u×
 Ëœ tK/U* t� œuýÅv
 ÂU−8« tL�ð UÐ vF5«u
 —œ d²AOÐ X�dŠ ‰UI²8«

d?¹c?ÄÅÊU?J?
« U?¼ÅtL�ð ŒdÇ Ë tL�ð sOÐ „UJD/« o¹dÞ “« q¹UÝË s¹« —œ X�dŠ ‰UI²8« ÆbýUÐ œËb×


U²³�8 X�dŠ ‰UI²8« q¹UÝË Ÿu8 s¹« ÆœœdÖÅv
Ît� È«Åt²O�O²Ýô« XO/Uš dÞUšÅtÐ Ë ÁœuÐ ÁœUÝ Ë Ê«“—« 

qO2œ sOL¼ÅÅtÐ ÆbM�Åv
 qI²M
 r� È«b/ Ë dÝ UÐ Ë tÐd{ ÊËbÐ Ë Âd8 «— X�dŠ ¨œ—«œ œułË U¼ÅtL�ð —œ

 œU−¹« U¼ÅÊ¬ —œ t� vIO5œ  ô¬ÅsOýU
 Ë q¹UÝË —œ vKOš ÕuDÝ XOHO�dE8 œ—u
 —U�  UFD5 —œ vÐuš



ÅµµÅ

ŒdÇ “« ¨©v8“œdÖ ÁœU³MÝ @MÝ ÈU¼ÅsOýU
 bM8U
® XÝ«

Æb8dOÖÅv
 pL� X�dŠ ‰UI²8« È«dÐ U¼ÅtL�ð

∫tL8ð ŒdÇ Ë tL8ð Ÿ«u�« UÐ X�dŠ ‰UI²�«XÝ« sJL
 “UO8 V�ŠdÐ «— U¼ÅtL�ð lDI
 `DÝ 

ŒdÇ UÐ tL�ð ”ULð ̀ DÝ qJý t� XÝ« vN¹bÐ ÆbM¹UL8 »U1²8« œdÖ U¹ Ë È«ÅtI8“Ë– ̈ X1ð ÈU¼ÅÂd* tÐ t�

ÆXÝ« ÁœuÐ tL�ð lDI
 `DÝ “« dŁQ²
 ¨ÅtL�ð

± ‡‡≥‡‡≥‡‡∫X=ð ÈU¼ÅtL8ð UÐ X�dŠ ‰UI²�« ‰UI²8« ÊUJ
« ¨U¼ÅtL�ð ŒdÇ Ë tL�ð pL� tÐ 

q?J?ý Æœ—«œ œu?łË ¨b?8—«œ r?¼Åt?Ð X?³?�?8 ÈœU¹“ —u×
 tK/U* t� vK¹UÝË —œ ËdO8 U¹ Ë X�dŠ±≤‡‡≥

Æb¼œÅv
 ÊUA8 «— X1ð ÈU¼ÅtL�ð ŒdÇ Ë tL�ð pL�ÅtÐ X�dŠ ‰UI²8« nK²1
 ÈU¼ÅX2UŠ

@M4 qO&

‚dÐ b4u&

 qJý±±‡‡≥ÁœUÝ tL8ð ‡‡

»¬ éLÄ

v³OKGÅtLO�v³OKG“UÐ

 qJý±≤‡‡≥

sOÐ Â“ô ‰UI²8« X³�8 tÐ tłuð UÐ ̈ „d×²
 —u×
 tÐ „d×
 —u×
 “« ËdO8 U¹ X�dŠ ‰UI²8« È«dÐ

Â«b�d¼  U³ÝU×
 Õdý tÐ d¹“ —œ t� ªX*dÖ pL� tL�ð ÃË“ bMÇ U¹ Ë Ëœ ̈ p¹ “« Ê«uðÅv
 ̈ —u×
 Ëœ

Ær¹“«œdÄÅv
 U¼ÅÊ¬ “«



ÅÅÅÅµ∂Å

Å

≤ ‡‡≥‡‡≥‡‡∫©ÁœUÝ X³8�® tL8ð ŒdÇ ÃË“ p¹ UÐ X�dŠ ‰UI²�« Ëœ “« VKž« ‘Ë— s¹« —œ 

Ë b?8u?ýÅv?
 ◊u?Ðd?
 d?~?¹b?L?¼ t?Ð È«Åt?L?�ð tKOÝËÅtÐ t� œuýÅv
 ÁœUH²Ý« nK²1
 ÈU¼dD5 UÐ tL�ð ŒdÇ

ÆœœdÖÅv
 qI²M
 „d×²
 ŒdÇ tÐ tL�ð tKOÝËÅtÐ „d×
 ŒdÇ “« v8«—Ëœ X�dŠ

◊uÐd
  U³ÝU×
 ¨„d×²
 ŒdÇ Ë tL�ð ¨„d×
 ŒdÇ vDO×
 XŽdÝ ÊœuÐ ÈËU�
 tÐ tłuð UÐ

 tDÐ«— oÐUD
 X�dŠ ‰UI²8« tÐµ‡‡≥ÆœuÐ b¼«uš 

  
V

1
= V

2

®µ‡‡ÅÅ≥©

  

d
1

× π × n
1

1000×60
=

d
2

× π × n
2

1000×60
   ⇒ d

1
× n

1
= d

2
× n

2

∫È—UB²š« r¹öŽ

=VtO8UŁ dÐ d²
 V�ŠdÐ tL�ð XŽdÝ 

  
= V

1
 tO8UŁ dÐ d²
 V�ŠdÐ „d×
 ŒdÇ vDO×
 XŽdÝ

  
= V

2
 tO8UŁ dÐ d²
 V�ŠdÐ „d×²
 ŒdÇ vDO×
 XŽdÝ

  
= d1

 d²
ÅvKO
 V�ŠdÐ „d×
 ŒdÇ dD5

  
= d

2
 d²
ÅvKO
 V�ŠdÐ „d×²
 ŒdÇ dD5

  
= n

1
—Ëœ V�ŠÅdÐ „d×
 ŒdÇ v8«—Ëœ XŽdÝ 

tIO5œ —œ        

  
= n

2
tIO5œ —œ —Ëœ V�ŠÅdÐ „d×²
 ŒdÇ v8«—Ëœ XŽdÝ

∫tłuð tDÐ«— —œ µ‡‡ÅÅ≥ œËbŠ® tL�ð v¹eł Êœ—ušdÝ “« ≤ÆXÝ« Ábý dE8Å·d/ ©b/—œ 

tHOþË bM8«uðÅv
 ¨„d×²
 —u×
 tÐ „d×
 —u×
 “« X�dŠ ‰UI²8« tHOþË dÐÅÁËöŽ U¼ÅtL�ð ŒdÇ

Œd?Ç v?8«—Ëœ X?Žd?Ý t?³?ÝU?×?
 È«dÐ ÆbMýUÐ t²ý«œ ÁbNŽÅtÐ eO8 «— „d×²
 ŒdÇ v8«—Ëœ XŽdÝ dOOGð

 tDÐ«Ë— tÐ tłuð UÐ „d×²
 Ë „d×
 U¼ÅtL�ðµ‡‡ÅÅ≥ÆXý«œ rO¼«uš 

                                            „d×²
 ŒdÇ dD5     „d×
 ŒdÇ v8«—Ëœ XŽdÝ

®∂‡‡ÅÅ≥©

                                            
„d×
 ŒdÇ dD5      v8«—Ëœ XŽdÝ„d×²
 ŒdÇ 

 X³�8

  

n
1

n
2

  ·dŠ UÐ Ë ÁbO
U8 —Ëœ ‰UI²8« X³�8 «—ibM¼œÅv
 ÊUA8 

d1 d2

V1
V

V2

V = V1= V2

n1
n2

 qJý±≥‡‡≥

  

                                     

 
=

                         
⇒

n1

n2

=
d2

d1



Åµ∑Å

                                                                     
v8«—Ëœ XŽdÝ„d×
 ŒdÇ 

®∑‡‡≥©

                                                                    

„d×²
 ŒdÇ v8«—Ëœ XŽdÝ

 œbŽ ̈ Ãd1
 —œ t� œd� ÁœUÝ Èu×8ÅtÐ «— Ê¬ XÝ« d²NÐ ‰UI²8« X³�8 t³ÝU×
 —œ±Æœuý q/UŠ 

ÆœuL8 rO�Ið Ãd1
 œbŽ tÐ «— Ê¬ Ãd1
 Ë  —u/ ¨d�� Êœd� ÁœUÝ “« fÄ Ê«uðÅv
 —uEM
 s¹« È«dÐ

  
n1 =12 rps

  
n2 = 4 rps

  

i =
n1

n2

=
12

4
=

3

1
= 3

∫‰U¦& ‰Ë« t?L?�ð ŒdÇ v8«—Ëœ XŽdÝ tL�ð ŒdÇ Ë tL�ð tKOÝËÅtÐ X�dŠ ‰UI²8« p¹ —œ ±≤

® tO8UŁ —œ —Ëœrps ÂËœ tL�ð ŒdÇ v8«—Ëœ XŽdÝ Ë ©¥ÆbOM� »U�Š «— —Ëœ ‰UI²8« X³�8 ̈ tO8UŁ —œ —Ëœ 

„d×²
 —u×
 v8«—Ëœ XŽdÝ t� b¼œÅv
 ÊUA8 „d×²
 Ë „d×
 —u×
 sOÐ ‰UI²8« X³�8 —«bI


ÆbM�Åv
 dðÅsýË— «— VKD
 s¹« d¹“ ‰Ëbł ÆœuÐ b¼«uš œU¹“ U¹ Ë r�

„d×²& ŒdÇ v�«—Ëœ XŽdÝ  «dOOGð

 ‰UI²8« X³�8     ii=±i>±i<±

„d×²
 ŒdÇ Ê«—Ëœ œ«bFðbM�ÅvL8 dOOGðœuýÅv
 r�œuýÅv
 œU¹“

 ‰Ëbł±‡‡≥

∫‰U¦&ÆœuýÅv
 qI²M
 váLÄ —u×
 tÐ qJý oÐUD
 È«ÅtL�ð ŒdÇ jÝuð È—uðu
 Ëd²J2« X�dŠ 

 dÖ«v8«—Ëœ XŽdÝ —uðu
Ëd²J2« 
  
n

1
=1500RPM Ê¬ —u×
 tÐ qB²
 ŒdÇ dD5 Ë 

  
d

1
=150mm

∫bOM� »U�Š býUÐ

 ©n2«v8«—Ëœ XŽdÝ éLÄ —u×
 
  
(n

2
)  Ê¬ tÐ qB²
 ŒdÇ dD5 t� vð—u/ —œ «—

  
d

2
= 90mm

ÆbýUÐ

® ‰UI²8« X³�8 ©»iÆ©

  

i =
                                      

⇒ i =
n1

n2   

i =
d

2

d
1

U¹



ÅÅÅÅµ∏Å

Å

n1

d 1

d 2

n2

 qJý±¥‡‡≥

∫qŠ

  
n

1
× d

1
= n

2
× d

2
 ®n2«

  

n
2

=
n

1
× d

1

d
2

=
1500×150

90
= 2500RPM

  

i =
n

1

n
2

=
1500

2500
=

3

5
=

3:5
5:5 =

0/ 6

1
=0/ 6 ®»

  

i =
d

2

d
1

=
90

150
=

3

5
=0/ 6U¹ 

∫tłuðÈ«d?Ð È«Åt?DÐ«— Ê«uðÅv
 ¨U¼ÅŒdÇ “« vJ¹ v8«—Ëœ XŽdÝ Ë ‰UI²8« X³�8 ÊœuÐ ÂuKF
 UÐ 

Æœ—Ë¬ XÝœÅtÐ d~¹œ ŒdÇ v8«—Ëœ XŽdÝ t³ÝU×


®∏‡‡ÅÅ≥©

  

i =
n

1

n
2

⇒ n
1

= n
2

× i  ,  n
2

=
n

1

i

dD5 t³ÝU×
 È«dÐ È«ÅtDÐ«— Ê«uðÅv
 ¨U¼ÅŒdÇ “« vJ¹ dD5 Ë ‰UI²8« X³�8 ÊœuÐ ÂuKF
 UÐ sOMâL¼

Æœ—Ë¬ XÝœÅtÐ d~¹œ ŒdÇ

®π‡‡≥© 

  

i =
d

2

d
1

⇒ d
2

= d
1

× i  ,  d
1

=
d

2

i

∫‰U¦& ‰UI²8« X³�8 dÖ« ¨qJý oÐUD
 X�dŠ ‰UI²8« ÁU~²Ýœ —œ   i = 4 ∫bOM� »U�Š býUÐ

 „d×²
 ŒdÇ v8«—Ëœ XŽdÝ ©n2«
  
(n

2
)Æ

 ©»„d×²
 ŒdÇ dD5 
  
(d

2
)Æ



ÅµπÅ

≤‡‡≥‡‡≥ ‡‡∫È«ÅtI�“Ë– ÈU¼ÅtL8ð UÐ X�dŠ ‰UI²�«ÈœU¹“ sÝU×
 qO2œ tÐ U¼ÅtL�ð Ÿu8 s¹« 

ÆbýUÐÅv
 ÊËe*«ÅÅÅ“Ë— U¼ÅÊ¬ ÁœUH²Ý« œ—u
 Ë Áœd� «bOÄ l¹UM/ —œ Èd²AOÐ œdÐ—U� Á“Ëd
« b8—«œ t�

È«ÅtI8“Ë– —UOý UÐ U¼ÅtL�ð Ÿu8 s¹« d²NÐ ÈdOÖ—œ qO2œ tÐ

œU−¹« tÞuÐd
 tL�ð ŒdÇ ÈË— —œ —uEM
 sOL¼ tÐ t� vKJý

«— Èd?ðœU?¹“ ÈËd?O?8 Ê«u?ðÅv?
 ÈËU�
 j¹«dý —œ ¨XÝ« Ábý

 X?1ð ÈU¼ÅtL�ð tÐ X³�8ÈËd?O8 X2UŠ s¹« —œ ÆœuL8 qI²M


—œ Ê«uðÅv
 Ë ÁœuÐ X1ð ÈU¼ÅtL�ð “« d²L� U¼ÅÊU5UðU¹ tÐ œ—«Ë

ðœU?¹“ ÈU¼dD5 ·ö²š«UðÅ® d

  

i =
10

1

Å©/U* Ë r?� ÈU¼—u×
 tK

ÈU¼ÅpO²Ýô “« «— U¼ÅtL�ð s¹« fMł Æœd� ÁœUH²Ý« U¼ÅÊ¬ “«

»U?1?²?8« v?Žu?M?B?
 œ«u?
 U?¹ Ë v8U²� rJ×
 ÈU¼Åa8 tÐ `K�


qÐUI
 —œ U¼ÅÊ¬ vł—Uš ÕuDÝ X
ËUI
 g¹«e*« È«dÐ Ë Áœd�

ôuLF
 ¨vÖbOzUÝÎ«— U?¼ÅtL�ð s¹« ÆXÝ« t²*— —U�ÅtÐ ÁbýÅt²*UÐ œ«u
 “« v�“U8 t¹ô U¼ÅÊ¬ vł—Uš dA5 —œ 

ôuLF
ÎÆbMM�Åv
 t{dŽ —«“UÐ tÐ œ—«b8U²Ý« ÈU¼ÅÁ“«b8« UÐ Ë tJð p¹  —u/ÅtÐ 

 qJý±∂‡?‡≥ÈËd?O?8 Æb?¼œÅv?
 ÊU?A8 «— —UOý n� eO8 Ë v³8Uł ÈU¼—«u¹œ tÐ ËdO8 l¹“uð ÈÅÁu×8 

s¹« œuýÅv
 qI²M
 eO8 v³8Uł ÈU¼—«u¹œ tÐ —UOý n� dÐÅÁËöŽ t� Ábý rO�Ið tH2R
 tÝ tÐ tL�ð tÐ Áœ—«Ë

Áœ—«Ë ÈËdO8 t�Åv2UŠ—œ ÆœœdÖÅv
 U¼ÅÊU5UðU¹ tÐ eO8 Ë —UOý n� tÐ Áœ—«Ë ËdO8 g¼U� V³Ý ËdO8 l¹“uð Ÿu8

œ t?L�ð ŒdÇ tÐ tL�ð “«U?²¹UN8 t� býUÐÅv
 ÈœuLŽ tH2u
 p¹  —u/ÅtÐ ·U/ ÈU¼ÅtL�ð —ÎtÐ ËdO8 s¹« 

ÆœœdÖÅv
 ‰ULŽ« U¼ÅÊU5UðU¹ “« X³�8 UÐ X�dŠ ÊUJ
« È«ÅtI8“Ë– ÈU¼ÅtL�ð pL� tÐ 

  

1

10
 Uð 

  

10

1
d¹cÄÅÊUJ
« 

d 1
=
1
5
0 n1 = 1440/ min

n2 = ?

d 2
= ?

 qJý±µ‡‡≥

 qJý±∂‡‡≥



ÅÅÅÅ∂∞Å

Å

È«ÅtI8“Ë– ÈU¼ÅtL�ð tKOÝËÅtÐ X�dŠ ‰UI²8«  U³ÝU×
 býUÐÅv


Œd?Ç —œ t?�  ËU?H?ð s?¹« U?Ð ¨b?ýU?ÐÅv?
 X1ð ÈU¼ÅtL�ð bM8U


®vł—Uš dD5 ÈUłÅtÐ ̈ È«ÅtI8“Ë– ÈU¼ÅtL�ðd® dŁR
 dD5 ̈ ©dm©

ÆbM¼œÅv
 —«d5 tÞuÐd
 tDÐ«— —œ «—

∫È—UB²š« r¹öŽ

  
= dm

1
 d²
ÅvKO
 V�ŠdÐ „d×
 ŒdÇ dŁR
 dD5

  
= n

1
 tIO5œ —œ —Ëœ V�ŠdÐ „d×
 ŒdÇ v8«—Ëœ XŽdÝ ®ÅRPM©

  
= dm

2
d²
ÅvKO
 V�ŠdÐ „d×²
 ŒdÇ dŁR
 dD5 

  
= n

2
 tIO5œ —œ —Ëœ V�ŠdÐ „d×²
 ŒdÇ v8«—Ëœ XŽdÝ ®ÅRPM©

= cd²
ÅvKO
 V�ŠdÐ ŒdÇ vł—Uš dD5 Uð dŁR
 dD5 tK/U* 

®±∞‡‡≥©

  

i =
dm

2

dm
1

  U¹  

  

dm
1

× n
1

= dm
2

× n
2

      i =
n

1

n
2

 dÐ«dÐ Ëœ vł—Uš dD5 “« ¨dŁR
 dD5 Êœ—Ë¬ XÝœÅtÐ È«dÐCrOM�Åv
 r� «— 

®±±‡‡≥©  

  
dm = d −2c

 —«bI
C® tL�ð ÷dŽ tÐ v~²�Ð bÆœ—Ë¬ XÝœÅtÐ d¹“ ‰Ëbł “« Ê«uðÅv
 «— Ê¬ —«bI
 Ë t²ý«œ ©

 —«bI&C® tL8ð ÈUMNÄ Á“«b�«ÅtÐ b©

 tL�ð ÈUMNÄb
±∞±≥±∑≤∞≤≤≤µ≥≤¥∞ mm

 —«bI
C
≥¥µ∂∑∏±∞±≤

mm

 ‰Ëbł≤‡‡≥

d

dm

h

b

 qJý±∑‡‡≥



Å∂±Å

∫‰U¦&s?O?ýU?
 —u?×?
 t?Ð —u?ðu
Ëd²J2« X�dŠ ¨qJý oÐUD
 È«ÅtI8“Ë– tL�ð œbŽ —UNÇ jÝuð 

 —uðu
Ëd²J2« —u×
 v8«—Ëœ XŽdÝ dÖ« ÆœuýÅv
 qI²M

  
n

1
= 720RPMqB²
 ŒdÇ vł—Uš dD5 Ë 

 Ê¬ tÐ
  
d

1
= 260mm tL�ð ÷dŽ Ë 

  
b =17mm ∫bOM� »U�Š ¨býUÐ

 „d×
 ŒdÇ dŁR
 dD5 ©n2«
  
(dm

1
) Æd²
ÅvKO
 V�ŠdÐ «—

 „d×²
 tL�ð ŒdÇ dŁR
 dD5 ©»
  
(dm

2
) vð—u/ —œ «—

 Ê¬ v8«—Ëœ XŽdÝ t� 
  
n

2
=1200RPM ÆbýUÐ

® ‰UI²8« X³�8 ©ÃiÆ©

                                                                                      
‰Ëbł “«

∫qŠ
  
c            = 5mm ®n2«

dm
1

= d
1

−2c = 260−2× 5 = 250mm

dm
1

× n
1

= dm
2

× n
2

 ®»

  

dm
2

=
dm

1
× n

1

n
2

=
250× 720

1200
=150mm

  

i =
n

1

n
2

=
720

1200
=0/ 6 ®Ã

s�dL�

±s?O?M?â?L?¼ Ë ‰U?I?²?8« X?³?�?8 ¨Áb?ý Áœ«œ  UB1A
 Ë d¹“ qJý oÐUD
 ÈU¼ÅtL�ð ŒdÇ —œ ‡‡

Æb¹—Ë¬ XÝœÅtÐ «— „d×²
 ŒdÇ v8«—Ëœ XŽdÝ

  
n

1
=1400RPM

  
d

1
= 245mm

  
d

2
= 70mm

n2

n1
d 1

 qJý±∏‡‡≥

n1

d 1
n2

d 2

 qJý±π‡‡≥



ÅÅÅÅ∂≤Å

Å

≤ qJý X�dŠ ‰UI²8« ÁU~²Ýœ —œ ‡‡≤∞‡‡≥‰UI²8« X³�8 ̈

 sOMâL¼ Ë dD5ÆbOM� t³ÝU×
 «— —uðu
Ëd²J2« v2uÄ

 qJý≤∞‡‡≥

≥ q?Jý v¹uAÝU³2 sOýU
 —œ ‡‡≤±‡‡≥“« s?O?ýU
 —u×
 tÐ —uðu
Ëd²J2« X�dŠ ‰UI²8« È«dÐ ¨

 dÖ« XÝ« Ábý ÁœUH²Ý« È«ÅtI8“Ë– tL�ð
  
d

1
= 36mm¨

  
d

2
=126mm—uðu
Ëd²J2« v8«—Ëœ XŽdÝ Ë 

  
n

1
= 6370RPM ÆbOM� »U�Š býUÐ

 ©n2« dD5 tL�ð ÈUMNÄ dÖ« «— ŒdÇ Ëœ “« p¹ d¼ dŁR
  b =10mm ÆbýUÐ

® ‰UI²8« X³�8 ©»iÆ©

 sOýU
 —u×
 v8«—Ëœ XŽdÝ ©Ã
  
(n

2
)Æ

 qJý≤±‡‡≥



Å∂≥Å

¥‡‡≥Áb�œ ÅŒdÇ ‡‡

Áb8œ ŒdÇ r¹—Ë¬ b¹bÄ Áó¹Ë vKJý UÐ «— v¹U¼—UOý ¨dÐ«dÐ v¹U¼ÅtK/U* tÐ È«Åt8«u²Ý« Êu
«dOÄ —œ dÖ«

Æb
¬ b¼«uš XÝœÅtÐ È«ÅÁœUÝ

 ÊUMÇ «— U¼ÅÊ¬ Ë rOýUÐ t²ý«œ —UO²š« —œ «— U¼ÅŒdÇ s¹« “« Uð Ëœ dÖ« —«d5ÈU¼Åv~²�łdÐ t� rO¼œ

 Èd~¹œ ÈU¼—UOý —œ vJ¹ —«d5Æb8dOÖ—œ r¼ UÐ ŒdÇ Ëœ s¹« t� bM¹uÖ ¨œdOÖ

t . 1

D1

O1 O2

D2

. 2

tI / Z1

II / Z2

A

P

n4«

O2

III

O1

 qJý≤≤‡‡≥

»
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Å

 —u×
 Ëœ dÖ«
  
O

1
 Ë 

  
O

2
 Ëœ sOÐ t� r¹dO~Ð dE8—œ «—  —«d5 ÊU5UðU¹tÐ v8UÝ¬ tÐ bM8«uðÅv
 Ë b8«Åt²*dÖ

 —u×
 ÈË— «— U¼ÅÁb8œÅŒdÇ “« vJ¹ ÁU~8¬ Ë bM¹¬—œ ‘œdÖ
  
O

1
 —u×
 ÈË— «— Èd~¹œ Ë 

  
O

2
—«uÝÅ ÊUMÇ 

 —u×
 dÖ« ÆbMýUÐ dOÖ—œÅ r¼ UÐ t� rOM�
  
O

1
tÐ XÝ« —«uÝ Ê¬ dÐ t� «— È«ÅÁb8œ ŒdÇ Ë b¹¬—œ X�dŠ tÐ 

 —u×
 ÈË— t� È«ÅÁb8œÅŒdÇ œ—Ë¬—œ ‘œdÖ
  
O

2
 —u×
 Áb
¬—œ X�dŠ tÐ eO8 XÝ« 

  
O

2
—œ ‘œdÖ tÐ «— 

 e�d
 tÐ Ád¹«œ Ëœ t� XÝ« s¹« bM8U
 bM¹¬Åv
—œ ‘œdÖ tÐ U¼ÅÁb8œÅÅŒdÇ t� v
U~M¼ œ—Ë¬b¼«uš
  
O

1
 Ë 

  
O

2

 b?M?8U?
 È«Åt?D?I8 —œ Á—«uL¼ Ë bM¹¬Åv
—œ ‘œdÖ tÐ n2U1
 XNł Ëœ —œ výeG2 t8uÖÅêO¼ ÊËbÐPq?Jý 

≤∞‡‡≥ e�d
 UÐ Ád¹«œ Ëœ ÈË— t� n2« ‡‡
  
O

1
 Ë 

  
O

2
  —«d5ÂUÖ Ád¹«œ «— U¼ÅÁd¹«œ s¹« bMÝULð —œ r¼ UÐ œ—«œ

ÆbM
U8Åv
 Áb8œ ÈU¼ÅŒdÇ

Ë—ÅÅs¹« “« Ë b¹¬ÅvL8 b¹bÄ výeG2 t8uÖÅêO¼ U¼ÅÁb8œ ŒdÇ sOÐ ̈ Ê«—Ëœ ÂU~M¼ tÐ bý t²HÖ t� t8uÖÅÊUL¼

ÆœdÐ —U�ÅtÐ eO8 U¼ÅŒdÇ t8uÖÅs¹« È«dÐ «— U¼ÅtL�ð ŒdÇ —œ X�dŠ ‰UI²8« tDÐ«— Ê«uðÅv


®±≤‡‡≥                        ©

  

D
1

D
2

=
n

2

n
1

 UłÅs¹« —œ
  
D

1
 Ë 

  
D

2
  dD5Ê«—Ëœ XŽdÝ X³�8 t� s¹« È«dÐ Ë XÝ« Áb8œÅÅÅŒdÇ Ëœ ÂUÖ ÈU¼ÅÁd¹«œ

 t� XÝ« Â“ô rO8«bÐ «— U¼ÅÁb8œÅŒdÇ dD5 ÂUÖ ÈU¼ÅÁd¹«œ U
« ¨rO8«bÐ «— U¼ÅÊ¬ ÂUÖ Ád¹«œ qÐU5Ë bM²�O8 Êb¹œ

 s²*dÖ Á“«b8« dD5Æ—«uýœ XÝ« È—U� U¼ÅÊ¬

U¼ÅÁb8œÅÅÅŒdÇ ÈU¼ÅvÖó¹Ë “« vJ¹ “« rOM� t³ÝU×
 dðÅÁœUÝ ‘Ë— UÐ «— ôUÐ tDÐ«— rO8«u²Ð t� s¹« È«dÐ

 Áb8œÅŒdÇ ÈÅÁd¹«œ Êu
«dOÄ ÈË—dÐ dÐ«dÐ v¹U¼ÅtK/U* UÐ ŒdÇ ÈU¼Åt8«b8œ t� rO8«œÅv
 ÆrOM�Åv
 ÁœUH²Ý«—«d5

 ‰uÞ UÐ VÝUM²
 tK/U* s¹« ¨b8«Åt²*dÖ vÝu5q/Ë r¼ÅtÐ «— t8«b8œ Ëœ “« tÐUA
 tDI8 Ëœ t� ÂUÖ Ád¹«œ “«

ÆXÝ« ©—ËU−
 t8«b8œ t³2 Uð «— t8«b8œ p¹ t³2 U¹ —ËU−
 t8«b8œ e�d
 Uð t8«b8œ p¹ e�d
® bM�

 ·dŠ UÐ «— Ê¬ Ë bM
U8Åv
 t8«b8œ ÂUÖ «— Ábý t²HÖ tK/U*tÁd¹«œ jO×
 dÖ« ‰UŠ ÆbM¼œÅv
 g¹UL8 

Æb
¬ b¼«uš XÝœÅtÐ ŒdÇ ÈU¼Åt8«b8œ œ«bFð rOM� rO�Ið t8«b8œ ÂUÖ tÐ «— ÂUÖ

®±≥‡‡≥           ©
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=
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∫Áb�œ ŒdÇ Ëœ “« gOÐ —œ v�«—Ëœ XŽdÝ t³ÝU×&r¼ UÐ t� Áb8œÅŒdÇ Èœ«bFð d¹“ qJý —œ 

U¼ÅtAI8 —œ «— U¼ÅÁb8œÅŒdÇ vLOÝdð ÈU¼Å‰UJý« “« ÈdOÖuKł È«dÐ® ̈ XÝ« Ábý Áœ«œ g¹UL8 bM²�¼ dOÖ—œ

 ©b?M?¼œÅv?
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 jš Ë jš UÐ
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∫tłuð Áb8œ ŒdÇ ≤ Ë ≥ ÆXÝ« dÐ«dÐ r¼ UÐ Ëœ d¼ v8«—Ëœ XŽdÝ Ë b8«ÅÁbý XÐUŁ —u×
 p¹ ÈË—

 ÈU¼ÅÁb8œÅŒdÇ¥ Ë µX�dŠ XÝ« dÐ«dÐ r¼ UÐ Ëœ d¼ v8«—Ëœ XŽdÝ Ë b8«ÅÁbý XÐUŁ —u×
 p¹ ÈË— r¼ 

 Áb8œÅŒdÇ “«± tÐ ≤ Áb?8œÅŒd?Ç “« fáÝ œuýÅv
 qI²M
 ≥ tÐ ¥ Áb8œÅŒdÇ “« Ë µ Áb8œÅŒdÇ tÐ ∂q?I²M
 

 qJý tÐ tłuð UÐ ÆœœdÖÅv
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p?¹ ÈË— Â«b� d¼ U¼ÅÁb8œÅŒdÇ dÖ« t� Xý«œ tłuð b¹UÐ „d×²
 Áb8œÅŒdÇ Ê«—Ëœ XNł Á—UÐ—œ

Ë« Áb?8œÅŒd?Ç s?O?Ð t� v¹U¼—u×
 œ«bFð Ë bMýUÐ t8UÖ«bł —u×
ÒX?N?ł býUÐ ÃË“ b8dOÖÅv
 —«d5 dš¬ Ë ‰

s?OÐ t� v¹U¼—u×
 œ«bFð dÖ« Ë XÝ« „d×²
 Áb8œÅŒdÇ Ê«—Ëœ XNł ·öš „d×²
 Áb8œÅŒdÇ X�dŠ

ÆXÝ« vJ¹ X�dŠ XNł býUÐ œd* œdOÖÅv
 —«d5 U¼ÅÊ¬

∫‰U?¦?& Â«b?�d?¼ ¨v?M?žË— é?L?Ä ÈÅÁb?8œ Œd?Ç Ëœ ±≤X?³?�?8 U?¼ÅÊ¬ e?�d?
 t?K?/U?* Ë œ—«œ Áb?8œ 

r¼ÅtÐ≥∞ÆbOM� sOOFð XÝ« d²
ÅvKO
ÅÅ

n2«V�ŠdÐ U¼ÅÁb8œÅŒdÇ dD5 ©

Æd²
ÅvKO


V�ŠdÐ U¼ÅÁb8œÅŒdÇ ÅÂUÖ ©»

Æd²
ÅvKO


 qJý≤¥‡‡≥
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Å∂∑Å

∫qŠ
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ŸUFý
  
= 2×          = 30mmtK¾�
 s¹« —œ s¹e�dL2«Åjš 
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t =
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1

Z
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=
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= 7 / 85mm

s�dL�

± È«—«œ Áb8œÅŒdÇ Ëœ ‡‡
  
Z

1
=12 Ë 

  
Z

2
= 20Ë« Áb8œ ŒdÇ v8«—Ëœ XŽdÝ bMýUÐÅv
 Ò—Ëœ bMÇ ‰

 ÂËœ Áb8œ ŒdÇ Uð býUÐ tIO5œ —œ≤∞∞ÆbšdâÐ tIO5œ —œ —Ëœ 

≤ XŽdÝ UÐ t� È—uðu
Ëd²J2« —u×
 ÈË— dÐ ‡‡∑∞∞∞RPM œ«bFð UÐ È«ÅÁb8œÅŒdÇ bšdÇÅv
 ≤∞

 È«—«œ t� Èd~¹œ Áb8œÅŒdÇ o¹dÞ “« Áb8œÅŒdÇ s¹« XÝ« Ábý —«uÝ t8«b8œ≥µtÐ «—  —b5 XÝ« t8«b8œ 

t³ÝU×
 tIO5œ —œ —Ëœ V�ŠdÐ «— dÐôUÐ „d×
 —u×
 XŽdÝ ÆbM�Åv
 qI²M
 dÐôUÐ p¹ „d×
 —u×


ÆbOM�



ÅÅÅÅÅÅÅÅ∂∏Å

Â—UNÇ qB	

ËdO


±‡‡¥ËdO
 ‡‡

vL�ł U¹ ¨bM� X�dŠ tÐ ŸËdý ÊuJÝ X�UŠ“« r�ł p¹ ¨œuýÅv� YŽUÐ t� XÝ« vK�UŽ ËdO$

u²� XÝ« X�dŠ ‰UŠ —œ t�(U¹ ̈ ÁœuL$ X�dŠ dðÅt²�¼¬ U¹ dðÅl¹dÝ r�ł p¹ œuýÅv� YŽUÐ U¹ ̈ œuý n

r?�?ł —œ X?�d?Š t?Ð q?¹U?L?ð U?¹ X?�dŠ œU−¹« YŽUÐ t� v¹U¼ËdO$ U¹ ËdO$ ÆbM�dOOGð r�ł X�dŠ dO��

uð tÐ q¹ULð U¹ X�dŠ “« l$U� t� v¹U¼ËdO$ U¹ ËdO$ fJF�UÐ Ë bMýUÐÅv� „d×� ÈU¼ËdO$ b$uýÅv�(r�ł n

‰U?Š —œ v?I?:« ÁœU?ł p?¹ ÈË— v?K?O?³�uð« dÖ« ‰U¦� È«dÐ Æb$uýÅv� Áb$«uš ÂËUI� ÈU¼ËdO$ ¨b$uýÅv�

uð XOF{Ë sOL¼ —œ eO$ U¼e�dð “« ÁœUH²Ý« ÊËbÐ v²Š ¨býUÐ ÊuJÝ(qO³�uð« dÖ« Æb$U� b¼«uš v(UÐ n

«u¼ X�ËUI� Ë „UJDE« ̈ X�dŠ qÐUI� —œ ÂËUI� ÈU¼ËdO$ UNMð ̈ býUÐ X�dŠ ‰UŠ —œ vI:« ÁœUł ÈË—

Uð œuý r¼«d: —uðu� ÈÅtKOÝËÅtÐ U¼ÅÊ¬ XNł n�UG� Ë ÈËU�� v¹ËdO$ b¹UÐ U¼ÅÊ¬ Ê«d³ł È«dÐ t� býUÐÅv�

ÈËdO$® —uðu� ÈÅtKOÝËÅtÐ Ábý ‰ULŽ« ÈËdO$ dÖ« Æb¼œ t�«œ« œuš Xš«uMJ¹ X�dŠ tÐ b$«u²Ð qO³�uð«

X�ËUI� ÈËdO$  ´ „UJDE« ÈËdO$ UłÅs¹« —œ® X�dŠ qÐUI� —œ ÂËUI� ÈU¼ËdO$ ŸuL−� “« ©„d×�

e�dð dÖ« —uÞÅsOL¼ ÆœdOÖÅv� »U²ý Xš«uMJ¹ —uÞÅtÐ d²AOÐ ÈËdO$ XNł —œ qO³�uð« ̈ býUÐ d²AOÐ ©«u¼

ÈU?¼Ëd?O?$ “« d?²?L?� qO³�uð« „d×� ÈËdO$ X�UŠ s¹« —œ ÊuÇ ©d~¹œ ÂËUI� ÈËdO$® œuý t²:dÖ —U�ÅtÐ

dŁ« X�dŠ n�UG� XNł —œ t� U¼ËdO$ s¹« bM¹¬dÐ X×ð qO³�uð« XŽdÝ s¹«dÐUMÐ ̈ XÝ« Ê¬ X�dŠ ÂËUI�

ö�U� t� s¹« Uð œuýÅv� r� ¨bM�Åv�Îuð X�UŠ tÐ (Æb¹¬—œ n

 r²�OÝ —œ ËdO$ bŠ«ËSI sðuO$ (N)Âdł tÐ vL�ł tÐ b$«u²Ð t� v¹ËdO$ “« XÝ«  —U³Ž Ë ÁœuÐ 

 dÐ«dÐ vÐU²ý ÂdÖuKO� p¹
  
1m s2

∫U¹ b¼bÐ 

  
1N =1kg ×1m s2

  
1N =1kg m s2

 r²�OÝ —œ ËdO$ bŠ«ËM.K.S ËdO$ ÂdÖuKO� vKLŽ (kgf) ËdO$ b$uÄ v�OK~$« r²�OÝ —œ Ë (lbf)



ÅÅÅÅÅÅÅÅÅÅ∂π

Æœd� ÁœUH²Ý« XÝuOÄ ‰Ëbł “« Ê«uðÅv� d~¹bJ¹ tÐ ‚u: ÈU¼bŠ«Ë q¹b³ð È«dÐ býUÐÅv�

≤‡‡¥U¼ËdO
 ‰œUFð ‡‡

¨r�ł ÈË— U¼ËdO$ dOŁQð qOK×ð Ë t¹e−ð È«dÐ b$uýÅv� œ—«Ë r�ł p¹ dÐ ËdO$ bMÇ t� v�U~M¼

∫Xý«œ dE$—œ b¹UÐ «— d¹“ t²J$ tÝ

±U¼ËdO$ —«bI� ‡‡

≤U¼ËdO$ dŁ« ÈÅtDI$ ‡‡

≥U¼ËdO$ œ«b²�« ‡‡

Ë ÁœuÐ È—«œdÐ ÈU¼ÅXOL� «c� ¨bMýUÐÅv� XNł Ë U²Ý«— ¨—«bI� È«—«œ U¼ËdO$ t� s¹« tÐ tłuð UÐ

ÆœuL$ lLł d~¹bJ¹ UÐ È—«œdÐ  —uEÅtÐ «— U¼ÅÊ¬ b¹UÐ

‰UŠ tÐ v²(Ë ËdO$ Ëœ t� XÝ« Ê¬ œuL$ d�– r�ł p¹ dÐ œ—«Ë ÈU¼ËdO$ œ—u� —œ b¹UÐ t� Èd~¹œ t²J$

 qJý —œ ÆbMýUÐ U²Ý«—År¼ Ë n�UG� U¼ÅÊ¬ XNł Ë ÈËU�� U¼ÅÊ¬ —«bI� t� b$dOÖÅv� —«d( ‰œUFð±‡‡¥n�«ÅÅÅ‡‡

 ÈU¼ËdO$
  
F1 Ë 

  
F2 s�UÝ r�ł dÐ œ—«Ë ÈËdO$ Ëœ AÆbMýUÐÅvL$ U²Ý«— r¼ v�Ë bM²�¼ t×HEÅr¼ Ë 

  ÈËdO$ Ëœ
  
F1

 Ë 
  
F2

 ÊuJÝ X�UŠ “« «— r�ł ®U²Ý«—År¼ r�ł X�dŠ ̈ bM¹UL$Åv� Ã—Uš ©‰œUFð

 ÈËd?O?$ Ëœ bM¹¬dÐ UÐ XNłÅr¼ Ë
  
F1 Ë 

  
F2 vMF¹ R q?J?ý® œuÐ b¼«uš ±‡‡¥r?�ł t�Ås¹« È«dÐ Æ©» ‡‡

O

F2F1

F3

(A)

 qJý±‡‡¥ r�ł dÐ ËdO
 Ëœ dŁ« ‡‡A

©n!«® ©»®

R

O

F2

F1

� ÈËd?O?$ b¹UÐ œuý n(u²
  
F

3
 ÈËd?O?$ X?Nł n�UG� Ë U²Ý«—År¼ ¨ÈËU�� t� Rœ—«Ë r?�ł tÐ býUÐÅv� 

 ÈËdO$ ‰ULŽ« UÐ l(«Ë —œ Æœuý
  
F

3
  ÈËdO$ Ëœ dŁ« 

  
F1 Ë 

  
F2r�ł dÐ œ—«Ë ÈU¼ËdO$ bM¹¬dÐ Ë Ábý v¦Mš 

t?Ð ‚u?: V?K?D?� v?{U?¹— ÊU?O?Ð ÆœuýÅv� dHE U¼ËdO$ ÂULð È—«œdÐÅlLł d~¹œ  —U³ŽÅtÐÅÅÆXÝ« Ábý dHE

∫œuÐ b¼«uš d¹“  —uE
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 ‰œUFð ◊dý  . F =0

  F
→

1+ F
→

2 = − F
→

3  U¹    ⇒ F
→

1+ F
→

2+ F
→

3 =0

 —«œd?Ð vMF¹
  
F

3
 ÈU?¼—«œdÐ lLł qEUŠ ÈËU�� 

  
F1 Ë 

  
F2d?Ł« U?¼ÅÊ¬ b?M¹¬dÐ XNł ·öš —œ U�« ÁœuÐ 

 r?�?ł VOðdð s¹bÐ ¨XÝ« t²ý«cÖA ‰œUFð ‰UŠ —œ (X?�U?Š —œ ◊dý® vÞdý sOMÇ ÆXÝ« t²:dÖ —«d

 ‰œUFð(∫b¹UÐ vMF¹ býUÐ ‚œUE eO$ Ê¬ dÐ œ—«Ë ÈU¼—ËU²AÖ œ—u� —œ b¹UÐ ©r�ł p¹ s²ý«œ —«d

  . M =0

≥‡‡¥ËdO
 —ËU²AÖ ‡‡

tKEU: —œ ËdO$ »d{ÅqEUŠ UÐ XÝ« ÈËU�� ¨vÐUG²$« tDI$ p¹ tÐ X³�$ ËdO$ —ËU²AÖ U¹ d~M�

 tKO� ÆËdO$ œ«b²�« Uð tDI$ ÈœuLŽAB ÁUÖÅtOJð ÈË— t� «— O qJý® b¹dO~Ð dE$ —œ œ—«œ —«d( ≤‡‡¥¨©

 ÈËdO$ Ëœ(ÁUÖÅtOJð ‰uŠ «— tKO� s¹« rO¼«ušÅv� ÆrO¼œÅv� dŁ« Ê¬ ÈUN²$« Ëœ —œ Ë ¨tKO� ÈU²Ý«— dÐ rzU

OU¼ÅÊ¬ tKEU: Ë U¼ËdO$ “« bMð—U³Ž bMýUÐÅv� dŁR� ÁUÖÅtOJð —Ëœ tÐ tKO� s²AÖ —œ t� vK�«uŽ ÆrO$UšdâÐ 

 ÁUÖÅtOJð UðOÆ

F2F1

11 12

OA B

 qJý≤‡‡¥ ÅtKO+ dÐ U¼ËdO
 dŁ« ‡‡AB ÁUÖÅtOJð ÈË— t. OÆXÝ« t²	dÖ —«d2 

s¹« UÐ ÆbM�U$Åv� ËdO$ —ËU²AÖ «— —u×� p¹ —Ëœ tÐ r�ł p¹ s²AÖ —œ dŁR� q�«uŽ VOðdð s¹bÐ

∫Xýu$ Ê«uðÅv� n¹—UFð

  
= F1 × l1 ÈËdO$ —ËU²AÖ 

  
F1 tDI$ ‰uŠ O

  
= F2 × l2 ÈËdO$ —ËU²AÖ 

  
F2 tDI$ ‰uŠ O

∫r¹—«œ vK� —uÞÅtÐ

®±‡‡¥        ©M = F × l

∫Ê¬ —œ t�

M ÈËdO$ —ËU²AÖ Ω F d²� sðuO$ V�ŠdÐ (N.m)



ÅÅÅÅÅÅÅÅÅÅ∑±

F sðuO$ V�Š dÐ r�ł dÐ Áœ—«Ë ÈËdO$ Ω (N)

l d²� V�ŠdÐ Ê«—Ëœ e�d� Uð ËdO$ ÈÅtKEU: Ω (m)

 r²�OÝ —œ —ËU²AÖ bŠ«ËSI d²� sðuO$ V�ŠdÐ (N.m)ÆbýUÐÅv� 

r?¼UÐ —ËU²AÖ Ëœ s¹« t� v$U�“ ÆbM�U$Åv� dŁR� ÈË“UÐ U¹ ËdO$ ÈË“UÐ «— ÁUÖÅtOJð Uð U¼ËdO$ tKEU:

∫býUÐÅv� d¹“  —uEÅtÐ ‰œUFð t�œUF� ∫XÝ« ‰œUFð ‰UŠ —œ r�ł bMýUÐ dÐ«dÐ

  

F1 × l1 = F2 × l2 ⇒ F1

F2

= l2
l1

∫tłuð ÈÅtKO� œ«b²�« dÐ U¼ËdO$ “« vJ¹ dÖ« ABËdO$ —ËU²AÖ —«bI�  X�UŠ s¹« —œ ̈ býU³$ œuLŽ 

Å® ÁUÖÅtOJð Uð ËdO$ ÈœuLŽ tKEU: —œ »d{ ËdO$ Á“«b$« “« XÝ«  —U³Ž
  
l2©dÐ ÁUÖÅtOJð “« t� vDš vMF¹  

 qJý® œuý œuLŽ ËdO$ œ«b²�«≥‡‡¥Æ©

F2

F1

11

12O

A B

d

H

α

 qJý≥‡‡¥ tDI
 ÈœuLŽ tK9U	 g¹UL
  ‡‡O ÈËdO
 Uð 
  
(l2) F2

®≤‡‡¥©M2 = F2 × l2 = F2 × d × sin α

∫‰U?¦+ q?J?ý —œ ≥‡?‡¥ t?â?$U?MÇ 
  
F1 = 20N Ë 

  
l1 =1m Ë   d =1/ 5mÈËd?O?$ —«b?I?� býUÐ 

 ÁbMM�Å‰œUF²�
  
F2 b$ULÐ ‰œUFð X�UŠ —œ Ë bMJ$ X�dŠ dOð Uð býUÐ Ê«eO� tÇ 

    (α = 30
)Æ

 ∫qŠ jÐ«Ë— tÐ tłuð UÐ±‡‡¥ Ë ≤‡‡¥ Ê«uðÅv� d¹“  —uEÅtÐ 
  
F2∫œ—Ë¬ XÝœÅtÐ «— 

  

F1 × l1 = F2 × l2 ⇒ F2 = F1 × l1
l2

= F1 × l1
dsin α

    

⇒ F2 = 20N × 1m
1/ 5sin 30

m
= 26 / 6N

 vMF¹ r�ł ‰œUFð ◊dý tÐ tłuð UÐ «— tK¾�� s¹« rO¼«uGÐ dÖ«  . M =0d~¹œ  —uE rOM� qŠ 

∫œuÐ b¼«uš VOðdð s¹« tÐ tK¾�� qŠ ‘—U~$



ÅÅÅÅÅÅÅÅ∑≤Å

  
. Mo =0⇒ −(M1) + (M2 ) =0⇒ M1 = M2

  

⇒ F1 × l1 = F2 × l2 ⇒ F2 =
F1 × l1

l2
=

20×1

dsin α
= 26 / 6N

XNł —œ Ê«—Ëœ Ë œuýÅv� hGA� ËdO$ gšdÇ XNł UÐ —ËU²AÖ X�öŽ t� Xý«œ tłuð b¹UÐ

ÆœuýÅv� Áœ«œ ÊUA$ vHM� X�öŽ UÐ XŽUÝ ÈU¼ÅtÐdIŽ XNł ·öš Ë X³¦� X�öŽ UÐ XŽUÝ ÈU¼ÅtÐdIŽ

 d~¹œ  —U³Ž tÐ
  
M1 ÈËdO$ “« qEUŠ —ËU²AÖ 

  
F1 Ë vHM� X�öŽ UÐ 

  
M2 ÈËdO$ “« qEUŠ —ËU²AÖ 

  
F2

ÆbýUÐÅv� X³¦� X�öŽ UÐ

¥‡‡¥v
«—Ëœ qÄu. U¹ výœdÖ —ËU²AÖ ‡‡

—ËU?²?A?Ö U?¼ÅÊ¬ ÈËœ d?¼ d?Ð ¨b?$U?šd?â?Ð «— È—u×� všdÇ U¹ b$«œd~Ð «— všdÇ ¨È—u×� dÖ«

v?ÝU?L� ÈËdO$ UÐ XÝ« dÐ«dÐ Ê¬ —«bI� Ë œuýÅv� œ—«Ë výœdÖ
±

t?K?EU: —œÅ»d{ ŒdÇ jO×� dÐ œ—«Ë 

ÆÊ«—Ëœ e�d� “« ËdO$ ÈœuLŽ

Æb¹¬ œułËÅtÐ dO−$“  ŒdÇ U¹ tL�ð ŒdÇ ¨Áb$œÅŒdÇ p¹ tKOÝËÅtÐ XÝ« sJL� výœdÖ —ËU²AÖ

 d²� sðuO$ eO$ výœdÖ —ËU²AÖ bŠ«Ë(N.m)ÆXÝ« 

∫‰U?¦+ q?J?ý o?ÐUD� výœdÖ —ËU²AÖ dÖ« ¥‡‡¥Ê¬ —«b?I?� b?ýUÐ Ábý qEUŠ Áb$œÅŒdÇ jÝuð 

ÆœuýÅv� t³ÝU×� d¹“  —uEÅtÐ U¼ÅŒdÇ —u×� ÈË—

©XŽUÝ ÈU¼ÅtÐdIŽ X�dŠ n�UG�® dðÅ¯—eÐ ŒdÇ —u×� ÈË—

  

M1 = F × r1 = 50× 50

100
= 25N.m

©XŽUÝ ÈU¼ÅtÐdIŽ X�dŠ o:«u�® dðÅpÇu� ŒdÇ —u×� ÈË—

  

M2 = F × r2 = 50×25

100
=12 / 5N.m

±lD( «— jO×� Ád¹«œ tDI$ p¹ —œ UNMð Ê¬ œ«b²�« Ë ÁœuÐ ”UL� ŒdÇ jO×� dÐ t� XÝ« v¹ËdO$ ̈ vÝUL� ÈËdO$ “«ÅÅ—uEM� ‡‡

ÆœuÐ b¼«uš œuLŽ ŒdÇ ŸUFý dÐ ”ULð tDI$ —œ ËdO$ v²�UŠ sOMÇ —œ ÆbM�Åv�



ÅÅÅÅÅÅÅÅÅÅ∑≥

 —uEÅs¹« —œ œuý œ—«Ë XÝ« dOÖ v¹UłÅtÐ Ê¬ dÝ p¹ t� È«ÅtKO� jO×� dÐ vÝUL� ÈËdO$ tâ$UMÇ

ÆœuýÅv� ÁbO�U$ vAâOÄ —ËU²AÖ qEUŠ —ËU²AÖ

µ‡‡¥„UJD9« ÈËdO
 ‡‡

bM�Åv� œ—«Ë v¹ËdO$ d~¹bJ¹ dÐ ̀ DÝ Ëœ “« p¹d¼ ̈ œeGKÐ Èd~¹œ r�ł ̀ DÝ ÈË— vL�ł ÁUÖd¼

ôË« t�Î qJý® XÝ« ̀ DÝ œ«b²�« —œ ËdO$ s¹« µ‡‡¥UO$UŁ ̈ ©ÎÆœuýÅv� d~¹bJ¹ ÈË— r�ł Ëœ X�dŠ l$U� 

ÆbM�U$Åv� å„UJDE« ÈËdO$ò «— ËdO$ s¹«

X�dŠ tÐ È«dÐ ËdO$ s¹« ¨rOAJÐ vI:« œ«b²�« —œ vL� ÈËdO$ UÐ sO�“ ÈË— «— sO~MÝ r�ł dÖ«

UL²Š ‰UŠ s¹« —œ Æb$U�Åv� v(UÐ ÊuJÝ ‰UŠ —œ r�ł Ë X�O$ v:U� r�ł Êœ—Ë¬—œÎË ÈËU�� v¹ËdO$ 

—œ „U?JDE« ÈËdO$ò ÊUL¼ ËdO$ s¹« ÆXÝ« Áœd� v¦Mš «— Ê¬ ¨r�ł dÐ œ—«Ë vł—Uš ÈËdO$ n�UG�

r�ł ̈ býUÐ ÊuJÝ ‰UŠ —œ „UJDE« ÈËdO$ “« Åd²AOÐ r�ł dÐ œ—«Ë ÈËdO$ ÁUÖd¼ ÆXÝ« åÊuJÝ ‰UŠ

t?K?ÐU?I?� r?�?ł d?Ð œ—«Ë v?ł—Uš ÈËdO$ UÐ t� «— v�UJDE« ÈËdO$ X�UŠ s¹« —œ Ë b¹¬Åv�—œ X�dŠ tÐ

ÅÅqJý® bM�U$Åv� åvA³Mł „UJDE«ò U¹ åX�dŠ ‰UŠ —œ „UJDE« ÈËdO$ò bM�Åv�µ‡‡ÅÅ¥Æ©

25cm 50cm

50N

2

1

vÝUL+ ÈËdO


 qJý¥‡‡¥Áb
œÅŒdÇ ÈË— ‘œdÖ —ËU²AÖ ‡‡
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 qJýµ‡‡ÅÅ¥X.dŠ ‰UŠ —œ Ë ÊuJÝ ‰UŠ —œ „UJD9« g¹UL
 ‡‡

N

W

N

W

f

T

N

W

f

T

N

W

f

T

N=W T = f s µ . sN

T= f = µsN T . f k = µ kN

ks

s

s

œ—«œ œułË X.dŠX.dŠ t
U²Ý¬

œ—«b
 œułË X.dŠ

©n!«® ©»®

©Ã® ©œ®

∫œ—«œ v~²�Ð d¹“ q�«uŽ tÐ „UJDE« ÈËdO$

±”ULð `DÝ dÐ œuLŽ ÈËdO$ Á“«b$« ‡‡

≤”ULð `DÝ ÈdÐ“ U¹ v:UE ‡‡

≥ Ëœ fMł ‡‡(”ULð `DÝ —œ tFD

±‡‡µ‡?‡ÅÅ¥∫v?A?³Mł „UJD9« Ÿ«u
« ‡‡Ëœ t?Ð Ê«u?ðÅv?� «— v?A³Mł „UJDE« ¨vK� —uÞÅtÐ 

tÝU� Ë e�dð XM� sOÐ „UJDE« bM$U� výeG� „UJDE« Æœd� rO�Ið vA²Kž Ë výeG� „UJDE« t²Ýœ

Ÿu$ Ëœ dÐ „UJDE« s¹« ÆbýUÐÅv� —«œÅVOý `DÝ U¹ o:« `DÝ ÈË— r�ł X�dŠ U¹ —u²�«dð —œ ŒdÇ

„U?JDE« bM$U� vA²Kž „UJDE« ÆX�dŠ ‰UŠ —œ „UJDE« Ë ÊuJÝ ‰UŠ —œ „UJDE« ∫XÝ«

ÆbýUÐÅv� Ê¬ ‰U¦�« Ë U¼Å@M¹d³KÐ —œ „UJDE« ¨—u²�«dð U¹ tOKI$ q¹UÝË —œ ”ULð `DÝ UÐ ŒdÇ

„UJD9« Ÿ«u
«

výeG!

vA²Kž

ÊuJÝ ‰UŠ —œ

X.dŠ  ‰UŠ —œ

..

..

..

..

....

  

..

..

..

..

..

..

..

  ..
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∫v?ýeG� „UJD
« ‡‡ n�« qJý —œ µ‡‡¥ ÈËd?O$ bOM� ÷d: Tg?¹«e:« dHE “« Z¹—bð tÐ 

 v?�U?J?D?E« qLF�«ÅfJŽ ÈËdO$ p¹ ËdO$ s¹« ÆbÐU¹f sn?�U?G� Ë ÈËU�� «b²Ð« —œ t� Áœd� œU−¹« «— 

 X?NłT ÈËd?O?$ d?Ö« Æb?²?:«Åv?L?$ ‚U?H?ð« v?²�dŠ t$uÖÅêO¼ s¹«dÐUMÐ ¨ÁœuÐ Tt?Ð ‰U?Šd?¼ tÐ ¨œuý dðœU¹“ 

 d¦�«bŠ UÐ t� bOÝ— b¼«uš È—«bI�
± f s bŠ s¹d²AOÐ t� «— ËdO$ —«bI� s¹« ÆœuÐ b¼«uš dÐ«dÐ f sXÝ« 

 ÈËd?O?$ g?¹«e?:« U?Ð Æb?M?�U$Åv� X�dŠ t$U²Ý¬ „UJDE« ÈËdO$ U¹ ÊuJÝ ‰UŠ —œ „UJDE« ÈËdO$T

 ÈËd?O$ XNł —œ r�łT—u?ÞÅt?Ð œd� X�dŠ tÐ ŸËdý r�ł t� sOL¼ Æœd� b¼«uš X�dŠ tÐ ŸËdý 

 Â“ô ÈËdO$ t� X:U¹ rO¼«uš—œ `{«ËTvL� t×HE œ«b²�« —œ Xš«uMJ¹ —uÞÅtÐ r�ł X�dŠ È«dÐ 

 X�dŠ ‰UŠ —œ „UJDE« «d¹“ bÐU¹Åv� g¼U�(f k )ôuLF� Î® ÊuJÝ ‰UŠ—œ „UJDE« “« d²L� f s©

ÆbýUÐÅv�

∫výeG� „UJDE« jÐ«Ë—

®≥‡‡¥©f s = µs .N

®¥‡‡¥©f k = µk .N

∫r¹—«œ jÐ«Ë— s¹« —œ

= f sÊuJÝ ‰UŠ —œ „UJDE« ÈËdO$ 

= µsÊuJÝ ‰UŠ —œ „UJDE« V¹d{ 

= f kX�dŠ ‰UŠ —œ „UJDE« ÈËdO$ 

= µk X�dŠ ‰UŠ —œ „UJDE« V¹d{

= Nr�ł dÐ `DÝ qLF�«ÅfJŽ ÈËdO$ 

 „UJDE« V¹«d{µs Ë µkvÝu�×� —uÞÅtÐ tJKÐ œ—«b$ ”ULð ÕuDÝ ÈU¼ÅÁ“«b$« tÐ v~²�Ð 

 ‰Ëbł ÆXÝ« ÁdOž Ë XÐuÞ— ¨U�œ ¨ÕuDÝ ÊœuÐ vKIOE tł—œ ¨œ«u� XO¼U� Ë fMł ¨Ÿu$ lÐUð±‡‡¥

ÊU?A?$ «— p?A?š ÂU?�?ł« n?K?²?G?� Õu?D?Ý È«d?Ð Êu?JÝ ‰UŠ —œ „UJDE«  V¹«d{ v³¹dIð d¹œUI�

Æb¼œÅv�

± d¦�«bŠ ‡‡fs „UJDE« V¹d{ UÐ VÝUM²� ®Åµs©® `DÝ dÐ œuLŽ ÈËdO$ Ë NÆœuÐ b¼«uš ©



ÅÅÅÅÅÅÅÅ∑∂Å

r�ł ÂU
„UJD9« V¹d{

eK: ÈË— eK:∞[∂∞ ‡‡ ∞[±µ

»uÇ ÈË— eK:∞[∂∞ ‡‡ ∞[≤∞

@MÝ ÈË— eK:∞[∑∞ ‡‡ ∞[≥∞

ÂdÇ ÈË— eK:∞[∂∞ ‡‡ ∞[≥∞

»uÇ ÈË— »uÇ∞[µ∞ ‡‡ ∞[≤µ

ÂdÇ ÈË— »uÇ∞[µ∞ ‡‡ ∞[≤µ

@MÝ ÈË— @MÝ∞[∑∞ ‡‡ ∞[¥∞

„Uš ÈË— „Uš±[∞∞ ‡‡ ∞[≤∞

ÊULOÝ ÈË— pO²Ýô∞[π∞ ‡‡ ∞[∂∞

 ‰Ëbł±‡‡¥

±‡‡ 
  
1 kgf = 9 / 8N

∫‰U¦+ Ê¬ Ê“Ë ÈËdO$ t� v¼U~²Ýœ Êœd� UłÅtÐUł È«dÐ Â“ô ÈËdO$ 
  
W = 8000N(800

1kgf)

 ÊuJÝ ‰UŠ —œ „UJDE« V¹d{ Æb¹—Ë¬ XÝœÅtÐ «— XÝ«µ[∞Æœuý t²:dÖ dE$ —œ 

  N = W = 8000N

  
f s = µs .N =0/ 5 × 8000= 4000N

∫‰U¦+ qJý oÐUD� È«ÅtFD( ∂‡‡¥t¹Ë«“ bOM� t³ÝU×� ÆXÝ« t²:dÖ —«d( —«œÅVOý `DÝ ÈË— 

ÆbM� X�dŠ sO¹UÄ XLÝ tÐ œuš Ê“Ë ÈËdO$ dŁ« —œ b¼«uGÐ r�ł t� È«ÅtE×� È«dÐ «— —«œÅVOý ̀ DÝ

∫qŠ „UJDE« ÈËdO$ bM� X�dŠ sO¹UÄ XLÝ tÐ r�ł dÖ« X�UŠ s¹« —œ (f s )dŁ« ôUÐ XLÝ tÐ 

 —«œÅV?O?ý `?D?Ý œ«b²�« —œ Ê“Ë ÈËdO$ tH�R� dÐ«dÐ b¹UÐ ËdO$ s¹« ‰œUFð tE×� —œ Ë Áœd�(F)® býUÐ N

 ÈËdO$ rzU( tH�R�WÆ©

F = f s

f s = µs × N

 —«œÅVOý `DÝ —œ ËdO$ t¹e−ðF = W × sin α Ë N = W × cosα



ÅÅÅÅÅÅÅÅÅÅ∑∑

X?$«ó?$U?ð UÐ dÐ«dÐ ¨r¼ ÈË— tFD( Ëœ „UJDE« V¹d{ dÖ« t� r¹dOÖÅv� t−O²$ tK¾�� s¹« qŠ “«

—«œÅV?O?ý `?D?Ý t?¹Ë«“ X?$«ó?$U?ð t?� v?�U~M¼ U�« ¨XÝ« ‰œUFð ‰UŠ—œ r�ł býUÐ —«œÅVOý `DÝ t¹Ë«“

t?¹Ë«“ X?$«ó?$U?ð d?Ö« Ë ÁœuÐ ÊuJÝ ‰UŠ —œ œuš q×� —œ r�ł ¨býUÐ „UJDE« V¹d{ “« dðÅpÇu�

s?¹«d?ÐU?M?Ð Æb¹¬Åv�—œ X�dŠ tÐ sO¹UÄ XLÝ tÐ r�ł býUÐ „UJDE« V¹d{ “« dðÅ¯—eÐ —«œÅVOý `DÝ

∫Xýu$ Ê«uðÅv�

          ‰œUFð X�UŠµ = tgα

          ÊuJÝ X�UŠµ . tgα

          X�dŠ XOF{Ëµ . tgα

∫vA²Kž „UJD
« ‡‡ »ÈU¼œdÐ—U� “« vCFÐ ÆœuýÅv� ÁœUH²Ý« ËdO$ ‰UI²$« È«dÐ „UJDE« “«

∫“« bMð—U³Ž Ê¬

±∫vÞËdR+ v.UJD9« ÈU¼ÅŒdÇ ‡‡p¹ Ë vł—Uš ◊ËdG� Ëœ “« t� XÝ« sJL� q¹UÝË s¹« 

vKš«œ ◊ËdG� p¹ Ë vł—Uš ◊ËdG� p¹ U¹ Ë Ád�ÅrO$ p¹ Ë ◊ËdG� p¹ ̈ X�dŠ ÁbMM�ÅqI²M� t$«u²Ý«

®PKÆbMýUÐ Ábý qOJAð ©

 È«dÐ Ábý t³ÝU×� d¹œUI� Êœd� sOA$Uł UÐF Ë f s∫Xý«œ rO¼«uš 

F = µs × N

W × sin α = µs × W cosα ⇒ µs =
Wsin α
W cosα

= tgα

®                                               µ‡‡ÅÅÅ¥©µ = tgα

α
W

N
F

f s

α

 qJý∂‡‡ÅÅÅ¥—«b³Oý `DÝ ÈË— r�ł X.dŠ ‡‡



ÅÅÅÅÅÅÅÅ∑∏Å

≤∫vÐUIAÐ v.UJD9« ÈU¼ÅŒdÇ ‡‡ÈU¼ÅŒdÇ ÈÅtKOÝË tÐ È«ÅtKÄÅdOž X�dŠ ‰UI²$« Âd: s¹dðÅÁœUÝ 

s¹« —œ ÆbýUÐÅv� ”ULð —œ p�¹œ p¹ v$UAOÄ UÐ t� XÝ« v$«eG� t$«u²Ý« p¹ “« ÁœUH²Ý« ¨v�UJDE«

Êœu?ÐÅÅÅÈ“«u?�d?O?ž q?O?�œ t?Ð U?�« Æœu?ý l?(«Ë „d?×?²� U¹ Ë ÁœuÐ „d×� t$«u²Ý« t� XÝ« sJL� q¹UÝË

t?$u?ÖÅs?¹« “« È«ÅÁ—U?Ä —œ Æb?ýU?ÐÅv?� r� U¼ÅÁU~²Ýœ Ÿu$ s¹« ÁdNÐ V¹d{ Ë œU¹“ U¼ÅÊ¬ „öN²Ý« ¨ U�dŠ

 qJý∑‡‡¥

 qJý∏‡‡ÅÅÅ¥

—uðu+Ëd²J!«

„d×²+ —u×+

ÁbMM.ÅÊUÝu
 t²ÝuÄ

„d×+ ◊ËdR+

„d×²+ ◊ËdR+

ÅX.dŠ ÁbMM.ÅqI²M+ ÈÅt
«u²Ý«Ë vł—Uš ◊ËdR+ Ëœ ‡‡ n!«Ád. rO
 p¹ Ë ◊ËdR+ p¹ ‡‡ »



ÅÅÅÅÅÅÅÅÅÅ∑π

r
Fr

W=N D
h

l
X.dŠ XNł

 qJý±∞‡‡¥ŒdÇ p¹ ÈË— dŁR+ vA²Kž „UJD9« ‡‡

ŒdÇ

p�¹œ

 qJýπ‡‡¥

¨Ê«—Ëœ X?Žd?Ý d?O?O?Gð dÐ ÁËöŽ ¨d~¹œ XLÝ tÐ XLÝ p¹ “« t$«u²Ý« q×� dOOGð UÐ Ê«uðÅv� U¼ÅÁU~²Ýœ

 Æœd� ÷uŽ eO$ «— X�dŠ XNł  v?²(Ëq?LŽ —œ ÊuÇ ¨b²KGÐ v×DÝ ÈË— t$«u²Ý« p¹ U¹ ŒdÇ p¹

dOOGð s¹« —«bI� ÆbM¼œÅv� qJý dOOGð Ëœd¼ U¹ `DÝ U¹ ŒdÇ ¨œ—«b$ œułË »uKD� Ë q�U� VKE r�ł

Æœ—«œ v~²�Ð UJð« `DÝ Ÿu$ Ë ŒdÇ fMł tÐ U¼ÅqJý

 qJý —œ tâ$UMÇ±∞‡‡¥b¹UÐ ̈ `DÝ ÈË— ŒdÇ p¹ vA²Kž X�dŠ œU−¹« È«dÐ œuýÅv� Áb¼UA� 

È«dÐ Â“ô „d×� ÈËdO$ t³ÝU×� È«dÐ Æb¹UL$ v¦Mš «— qJý dOOGð “« qEUŠ v~²�łdÐ b$«u²Ð ŒdÇ

 tDI$ tÐ X³�$ —U� s¹«D∫rO�¹u$Åv� Ê¬ È«dÐ «— ‰œUFð ◊dý Ë t²:dÖ —ËU²AÖ ©Ê«—Ëœ e�d�® 

  
. MD =0

  
Fr × h − N × l =0

Fr × h = N × l

∫r¹—«œ jÐ«Ë— s¹« —œ

= FrsðuO$ V�ŠdÐ vA²Kž „UJDE« ÈËdO$ 

= hd²�Åv²$UÝ V�Š dÐ „d×� —ËU²AÖ dŁR� ‰uÞ 

= NsðuO$ V�ŠdÐ `DÝ dÐ œuLŽ ÈËdO$ 

©n!«®

©»®



ÅÅÅÅÅÅÅÅ∏∞Å

= ld²�Åv²$UÝ V�ŠdÐ ÂËUI� —ËU²AÖ dŁR� ‰uÞ 

 Á“«b$« ·ö²š« qLŽ —œ ÊuÇr Ë h ÈUłÅtÐ Ê«uðÅv� XÝ« eOÇU$ —UO�Ð h —«bI� r∫œ«œ —«d( «— 

Fr × r = N × l

 —uEÅtÐ «— Ê¬ Ê«uðÅv� býUÐ dE$œ—u� vA²Kž „UJDE« ÈËdO$ —«bI� tDÐ«— s¹« “« dÖ« ‰UŠ

∫œ—Ë¬ XÝœÅtÐ d¹“

®∂‡‡ÅÅÅ¥©Fr = l
r

× N

 ÂËUI� —ËU²AÖ dŁR� ‰uÞ —«bI�(l)Æœ—«œ v~²�Ð UJð« `DÝ fMł  Ë ŒdÇ fMł tÐ 

 X³�$
l
r

 vA²Kž „UJDE« V¹d{ ÊUL¼ qE« —œ (µ i )ÆbýUÐÅv� 

∫‰U¦+ qJý oÐUD� dK¹dð p¹ Êœ—Ë¬—œ X�dŠÅtÐ È«dÐ Â“ô ÈËdO$ ±±‡‡ÅÅÅ¥dÖ« ̈ bOM� »U�Š «— 

 g�—UÐ —u×� dÐ œ—«Ë Ê“Ë ÈËdO$  W =10000N Ê¬ ÈU¼ÅŒdÇ dD( Ë µ[¥∑dŁR� ‰uÞ Ë d²�Åv²$UÝ 

 Ê¬ ÂËUI� —ËU²AÖ  l = 4ÆbýUÐ d²�Åv²$UÝ 

ŒdÇ d¼ `DÝ dÐ œuLŽ ÈËdO$

  

N =
W
2

= 5000N

ŒdÇ d¼ vA²Kž „UJDE« ÈËdO$

  

Fr =
l
r

× N =
4

47 / 5
× 5000= 421/05N

ŒdÇ Ëœ vA²Kž „UJDE« ÈËdO$Fr ×2 = 421/05 ×2 = 841/1N

 qJý±±‡‡¥©dKOð® ŒdÇËœ —u².«dð tÐ qB²+ dK¹dð ‡‡

∂‡‡¥©È—Ë¬œU¹® —U. ‡‡

œuý œ—«Ë s�UÝ r�ł tÐ ËdO$ dÖ« ÆXÝ« Ábý ÂU−$« —U� œuý UłÅtÐUł ËdO$ dŁ« X×ð vL�ł dÖ«

ËdO$ »d{ÅqEUŠ UÐ XÝ« dÐ«dÐ —U� ̈ n¹dFð tÐUMÐ ÆœdOÖÅvL$  —uE È—U� ̈ bMJ$ œU−¹« X�dŠ  Ê¬ —œ Ë

ÆËdO$ v¹UłÅtÐUł tKEU: —œ



ÅÅÅÅÅÅÅÅÅÅ∏±

®∂‡‡¥©W = F × d

∫r¹—«œ ‰u�d: s¹« —œ

W ‰Ë˛ V�ŠdÐ —U� Ω (J)

F sðuO$ V�ŠdÐ ËdO$ Ω (N)

d d²� V�ŠdÐ v¹UłÅtÐUł Ω (m)

 vKKL�«ÅsOÐ r²�OÝ —œ —U� bŠ«ËSI d²� sðuO$ ¨(N.m) ‰Ë˛ t� XÝ« (J)v²(Ë ÆœuýÅv� ÁbO�U$ 

ÆXÝ« Ábý ÂU−$« —U� ‰Ë˛ p¹ bM� UłÅtÐUł d²� p¹ œuš ÈU²Ý«— —œ «— r�ł vMðuO$ p¹ ÈËdO$

t?D?Ð«— “« —U?� ©b?ýU?Ð —«œÅt¹Ë«“® býU³$ vJ¹ v¹UłÅtÐUł —«œdÐ ÈU²Ý«— UÐ ËdO$ —«œdÐ ÈU²Ý«— dÖ«

∑‡‡¥ÆœuýÅv� t³ÝU×� 

®∑‡‡¥©W = F × d cos .

.v¹UłÅtÐUł ÈU²Ý«— Ë ËdO$ —«œdÐ ÈU²Ý«— sOÐ t¹Ë«“ 

∑‡‡¥©È—Ë¬œU¹® È˛d
« ‡‡ 

b$«uðÅv� È˛d$« ÆbýUÐÅv� ‰Ë˛ Ê¬ bŠ«Ë Ë œuýÅv� n¹dFð —U� ÁbM¼œ ÂU−$« q�UŽ Ê«uMŽÅtÐ È˛d$«

ÆvJO$UJ� È˛d$« Ë vJ¹d²J�« È˛d$« ¨vð—«dŠ È˛d$« ∫bM$U� býUÐ t²ý«œ œułË nK²G� ÈU¼Å —uEÅtÐ

∫vJO
UJ+ È˛d
« Ÿ«u
«ÆXÝ« Ÿu$ Ëœ dÐ vJO$UJ� È˛d$« 

vA³Mł È˛d$« ‡‡Å»                 v$UN$ U¹ qO�$U²Ä È˛d$« ‡‡ n�« 

∫q?O�½U²Ä È˛d½« ‡‡ n�«X?Ý« qO�$U²Ä È˛d$« È«—«œ œdO~Ð —«d( vŽUHð—« —œ t� vL�ł d¼ 

d?Ö« ÆX?Ý« ◊u?Ðd?� r�ł Ê“Ë Èd~¹œ Ë sO�“ “« r�ł ŸUHð—« vJ¹ ¨q�UŽ Ëœ tÐ qO�$U²Ä È˛d$« fÄ

 Âdł tÐ vL�łm ŸUHð—« Uð ÈœuLŽ —uÞÅtÐ ÂdÖuKO� hÈËdO$ ¨œuý ÁœdÐ ôUÐ sO�“ `DÝ tÐ X³�$ d²� 

 Ê¬ Ê“Ë ¨vMF¹ bM�Åv� dŁ« r�ł dÐ t� sO�“ tÐ–Uł ÈËdO$ dÐ«dÐ vKLŽ sOMÇ ÂU−$« È«dÐ Â“ôW = mg

 ÈÅtDÐ«— “« ÁœUH²Ý« UÐ r�ł ÊœdÐ ôUÐ È«dÐ Ábý ÂU−$« —U� ÆœuÐ b¼«uš sðuO$∂‡‡¥∫UÐ œuÐ b¼«uš dÐ«dÐ 

®∏‡‡ÅÅ¥©(J)    Wp = mgh

ÆXÝ« Ábý ÁdOš– qO�$U²Ä È˛d$«  —uEÅtÐ r�ł —œ Ë t²:d$ —b¼ tÐ Ábý ÂU−$« —U� —«bI� s¹«

∫b¹¬Åv�—œ d¹“  —uEÅtÐ qO�$U²Ä È˛d$« ‰u�d: VOðdð s¹bÐ

®π‡‡¥©Ep = W × h

 Ê¬ —œ t�Ep Ë qO�$U²Ä È˛d$« W Ë r�ł Ê“Ë ÈËdO$ hÆXÝ« sO�“ “« r�ł ŸUHð—« 



ÅÅÅÅÅÅÅÅ∏≤Å

∫‰U¦+ Âdł tÐ È—u²�«dð ≤≤∞∞ qJý oÐUD� ÂdÖuKO� ±≤‡‡¥tDI$ tÐ Ë Áœd� X�dŠ È«Åtáð ÈË— 

B t?D?I$® táð ÈUÄ “« tDI$ Ê¬ ŸUHð—« t� bÝ—Åv� A ©µd?ÞU?šÅtÐ «— —u²�«dð qO�$U²Ä È˛d$« ÆXÝ« d²� 

ÆbOM� t³ÝU×� táð ÈUÄ “« g²OF(u�

α

A

B

C

5
m

qJý±≤‡‡¥

Ep = W × h = mghqO�$U²Ä È˛d$« 

  
= 2200kg ×9 / 8m s2 × 5m =107800Nm =107800J =107 / 8 kj

∫vA³Mł È˛d½« ‡‡ »È˛d$« È«—«œ ¨býUÐ t²ý«œ XŽdÝ vMF¹ býUÐ X�dŠ ‰UŠ —œ t� vL�ł d¼ 

 ∫œ—«œ v?~?²?�Ð q�UŽ Ëœ tÐ vA³Mł È˛d$« ÆXÝ« vA³Mł± ¨r?�ł Âdł ‡‡≤—œ Ær?�ł XŽdÝ —Ëc−� ‡‡

 œbŽ VÝUMð V¹d{ ̈ vA³Mł È˛d$« ‰u�d:

  

1

2
∫b¹¬Åv�—œ d¹“  —uEÅtÐ vA³Mł È˛d$« ‰u�d: s¹«dÐUMÐ ÆbýUÐÅv� 

®±∞‡‡¥©EC = 1

2
mv2

 tDÐ«— s¹« —œEC vA³Mł È˛d$« ®ÅJ Ë ©mÅ® Âdł kg Ë ©vÅ®ÅÅr�ł XŽdÝ 
m
s©ÆbýUÐÅv� 

 tDÐ«— UÐ Ê«uðÅv� eO$ «— b$—«œ v$«—Ëœ X�dŠ t� v�U�ł« vA³Mł È˛d$«±∞‡‡¥Æœd� t³ÝU×� 

∫‰U¦+ vÐUIAÐ dÖË—œ p¹ v$«—Ëœ XŽdÝ dÖ« ≥∞∞∞œ dÐ —Ëœ (Âd?ł tÐ dÖË—œ tGOð Ë býUÐ tIO

±∞∞ t?KEU: —œ Ë ÁœuÐ ÂdÖ ≤±∞ »U?I?A?Ð —u×� “« Èd²�ÅvKO� (q?J?ý® býUÐ t²:dÖ —«d±≥Å‡‡Å¥È«dÐ ©

∫œuýÅv� qLŽ d¹“ VOðdð tÐ XÝ« ÊUšdÇ r�ł p¹ t� tGOð s¹« vA³Mł È˛d$« t³ÝU×�

  

EC = 1

2
mv2

tGOð 

∫t� rO$«œÅv� Æœuý sOOFð b¹UÐ tGOð vDO×� XŽdÝ U�« XÝ« hGA� tGOð Âdł tDÐ«— s¹« —œ

= . 2πn
60

(rad s)   Ë   v = r. (m s)

  

= .
2× 3 /14× 3000

60
= 314rad s

∫UÐ œuÐ b¼«uš dÐ«dÐ tGOð vDO×� XŽdÝ



ÅÅÅÅÅÅÅÅÅÅ∏≥

  r = 210mm =0/ 21m

  
v =0/ 21× 314 = 65 / 94m s

∫UÐ bý b¼«uš dÐ«dÐ tGOð vA³Mł È˛d$« VOðdð s¹bÐ

  

EC =
1

2
mv2 =

1

2
×0/1× (65 / 94)2 = 217 / 4j

 qJý±≥‡‡¥tGOð XOF2u+ ‡‡

vÐUIAÐ dÖË—œ —œ

∏‡‡ÅÅÅÅ¥e.d+ “« e¹dÖ ÈËdO
 ‡‡

ÈË— «— Ê¬ t?Ð q?B?²?� r?�?ł Ë ÊU?L?�?¹— f?áÝ rOM� qEË v�“U$ ÊUL�¹— ÈUN²$« tÐ «— vL�ł dÖ«

‰U?L?Ž« ÊU?L?�?¹— ÈË— ¨Ê«—Ëœ e?�d?� “« Ã—U?š ·d?Þ t?Ð vAA� ÈËdO$ p¹ r�ł ¨rO$UšdâÐ ¨vI:« t×HE

 Æœd� b¼«uše?�d� tÐ q¹U� ÈËdO$ ¨Ê¬ qLF�«ÅfJŽ Ë t²ý«œ ÂU$ e�d� “« e¹dÖ ÈËdO$ ¨vŽUFý gA� s¹«

ÆœuýÅv� ÁbO�U$

 qJý±¥‡‡¥Ê¬ —u×+ ‰uŠ ‘œdÖ ‰UŠ —œ Ë ÊUL�¹— tÐ qB²+ r�ł —œ e.d+ tÐ q¹U+ Ë e.d+ “« e¹dÖ ÈU¼ËdO
 g¹UL
 ‡‡

r

M

.

q?š«œ XLÝ tÐ e.d+ tÐ q¹U+ ÈËdO


 bM.Åv+ dŁ« r�ł dÐ  mr.
2

 U¹ 

  

mv2

r

ÊËd?O?Ð X?LÝ tÐ e.d+ “« e¹dÖ ÈËdO


 bM.Åv+ dŁ« —u×+ dÐ  mr.
2

 U¹ 

  

mv2

r



ÅÅÅÅÅÅÅÅ∏¥Å

t?K?OÝËÅtÐ Ë Ábý výU$ X�dŠ XNł —œ dOOGð qÐUI� —œ r�ł X�ËUI� “« ¨e�d� “« e¹dÖ ÈËdO$

∫r¹—«œ s¹«dÐUMÐ œuýÅv� Áœ«œ ÊUA$ e�d� tÐ q¹U� ÈËdO$

®±±‡‡¥©

  

F = mv2

r
= mr. 2

 qJý —œ±¥‡?‡¥ Âd?ł tÐ vL�ł dÖ« m ŸUFý —œ rX?Žd?Ý U?Ð —u×� Ë býUÐ qB²� —u×� tÐ 

. ( rad
s )UðU¹ dÐ Ã—Uš XLÝ tÐ v¹ËdO$ ÁUÖÅÊ¬ ¨bšdâÐ (ÆbM�Åv� dŁ« ¨bšdÇÅv� Ê¬ qš«œ —u×� t� v$U

∫‰U¦+ q?Jý vÐUIAÐ dÖË—œ ±∞‡‡¥ ÈÅt?G?Oð tâ$UMÇ b¹dO~Ð dE$—œ «— ∏∞—œ »UIAÐ s¹« v�dÖ 

 tKEU:≤±∞ XŽdÝ UÐ Ê¬ e�d� “« Èd²�ÅvKO� ≥∞∞∞œ dÐ —Ëœ (dÐ œ—«Ë e�d� “« e¹dÖ ÈËdO$ ¨œœd~Ð tIO

ÆbOM� »U�Š «— tGOð Áb$—«bN~$ sOÄ

∫qŠ

  r = 210mm =0/ 21m   Ë   
  
m = 80gr =0/08kg

  

n = 3000rpm ⇒ .=
2πn
60

=
2× 3 /14× 3000

60
= 314rad s

  F = mr. 2 =0/08 ×0/ 21× 314
2 =1656 /14Ne�d� “« e¹dÖ ÈËdO$ 

 —«b?I� —U� sOŠ —œ s¹«dÐUMÐ±¥[±∂µ∂—œ t?G?O?ð Áb?$—«bN~$ sOÄ dÐ výdÐ  —uEÅtÐ ËdO$ sðuO$ 

ÆœuýÅv� œ—«Ë »UIAÐ ÈË—

tÇ tÐ sOÄ dÐ œ—«Ë ÈËdO$ r�ł Âdł Ë v$«—Ëœ X�dŠ XŽdÝ dOOGð UÐ bOM� vÝ—dÐ ‚u: ‰U¦� —œ

ÆbM�Åv� dOOGð v²³�$

s
dL�

±ÆbOM� n¹dFð «— „d×� ÈËdO$ Ë ÂËUI� ÈËdO$ ‡‡

≤ÆbOM� ÊUOÐ qJý rÝ— UÐ «— vA²Kž „UJDE« Ë výeG� „UJDE« ÂuNH� ‡‡

≥Æb¹d³Ð ÂU$ «— „UJDE« ÈËdO$ dÐ dŁR� q�«uŽ ‡‡ÅÅ

¥ o?L?Ž —œ —«Ëœ Êe?L¼ „Uš p¹ ‡‡≤µU?Ð U?¼Åt?G?O?ð —u?×?� b?M�Åv� œdš «— „Uš Èd²�Åv²$UÝ 

 XŽdÝ≤∞∞ n =œ d‡Ð —Ëœ ‡( Ê«—Ëœ —u‡×� e‡�d‡� Uð tGOð „u‡$ tKEU‡: Ë œœdÖÅv‡‡� t‡IO≥∞d²�Åv²$UÝ 

∫XÝ« »uKD� ÆbýUÐÅv�



ÅÅÅÅÅÅÅÅÅÅ∏µ

U¼ÅtGOð È«Åt¹Ë«“ XŽdÝ ‡‡ n�«

U¼ÅtGOð „u$ —œ vDO×� XŽdÝ ‡‡ »

bMð —u×+ —Ëœ ©n!« bM. —u×+ —Ëœ ©»

µ tK¾�� —œ ‡‡ÅÅ∂ U?¼ÅtGOð Âdł dÖ« ±∞∞∞ tKEU: —œ Ë œuý ÷d: ÂdÖ ≤∞e�d� “« Èd²�Åv²$UÝ 

 UÐ «— tK¾�� ÆbOM� »U�Š «— tGOð d¼ vA³Mł È˛d$« bM� dŁ« Ê«—Ëœ≥∞∞ n =  Ë ±∞∞ n = tIO(œ dÐ —Ëœ 

ÆbOM� qŠ

∂ XŽdÝ UÐ t� vAJÇ »UOÝ¬ p¹ —œ ‡‡ÅÅÅÅrpm µ∞∞ n =  U?¼ÅtGOð Âdł dÖ« œœdÖÅv� ≤∞∞ÂdÖ 

e?�d?� t?KEU: ÆbOM�  »U�Š «— ©U¼ÅgJÇ® U¼ÅtGOð Áb$—«bN~$ —u×� dÐ œ—«Ë e�d� “« e¹dÖ ÈËdO$ býUÐ

 Ê«—Ëœ —u×� Uð tGOð qIŁcm ≤∞ÆXÝ« 

 qJý±µ‡‡¥



ÅÅÅÅÅÅÅ∏∂Å

r−MÄ qB�

`
UB� X�ËUI�

ÂU?L?ð v?J?¹eO
 ÈU¼ÅÁ“«b�« ¨XÝ« Ábý t²šUÝ vÝbMN�  U³ÝU×� UÐ t# vðUFD& Ë U¼ÅÊUL²šUÝ —œ

q?ÐU?I?� —œ b?M?�«u?²Ð t# b�uý t³ÝU×� È—uÞ b¹UÐ «eł« s¹« Æb�uý n¹dFð Ë sOF� b¹UÐ —UÐ X×ð È«eł«

p¹ nIÝ ‰U¦� Ê«uMŽÅtÐ ÆbMM# X�ËUI� ¨bM¹UL� dOŁQð U¼ÅÊ¬ dÐ XÝ« sJL� t# v;UL²Š« U¹ vF&«Ë ÈU¼ËdO�

p?¹ —u?×� Ë bM# X�ËUI� Áœ—«Ë ÈU¼ËdO� qÐUI� —œ b�«u²Ð Uð býUÐ rJ×²>� v
U#Å—b&ÅtÐ b¹UÐ ÊUL²šUÝ

nK²@� ÈU¼ÅXL>& sOMâL¼ ÆbýUÐ t²ý«œ «— dŁR� vAâOÄ —ËU²AÖ ‰UI²�« È«dÐ VÝUM� œUFÐ« b¹UÐ sOýU�

“U−� bŠ “« gOÐ qJý dOOGð Áœ—«Ë ÈU¼—UÐ dOŁQð X×ð Uð býUÐ rJ×� v
U# —b&ÅtÐ b¹UÐ vÝbMN� Á“UÝ p¹

ö¦� ¨b¼b� ÊUA� œuš “«Ît²ý«œ v
U# X�ËUI� Áœ—«Ë ÈU¼—UÐ dÐ«dÐ —œ ÊUL²šUÝ p¹ nIÝ XÝ« sJL� 

ÈU¼ÅÈ—U#Å„“U� tÐ VOÝ¬ Ë t�bM YŽUÐ t# œuý œU−¹« ©eOš® v¹UM×�« ÊUMÇ U¼—UÐ s¹« dOŁQð X×ð v;Ë býUÐ

¨‚u?
 ÈU?¼Å‰U?¦?� t?Ð t?łu?ð U?Ð Æœœd?Ö ÊUÖbMM#ÅÁœUH²Ý« v�UA¹dÄ Vłu� v�«Ë— ÿU×; “« U¹ Ábý œuš d¹“

UÐ ÊUL²šUÝ U¹ sOýU�  UFD& œUFÐ« Ë fMł sOOFð È«dÐ vKLŽ  U³ÝU×� rKŽ Ê«uðÅv� «— `;UB� X�ËUI�

ÆX>�«œ bM¹UL� qL×ð b¹UÐ t# v¹U¼—UÐ tÐ tłuð

±ÅÅÅ‡‡ÅÅÅµÂU�ł« dÐ œ—«Ë ÈU¼ËdO� ‡‡ÅÅÅ

ÈU?¼—UÐ dŁ«ÅX×ð ¨ÂU>ł« qJý dOOGð Ë vKš«œ X�ËUI� vÝ—dÐ `;UB� X�ËUI� —œ vKM« tK¾>�

Á«dL¼ Uð bM¹¬ÅÅv� œułËÅtÐ r>ł qš«œ —œ t# XÝ« v¹U¼ËdO� XO¼U� tF;UD� ÂeK²>� d�« s¹« ÆXÝ« vł—Uš

p?¹ t?O?Nð ÂUÖ sO;Ë« ¨‚u
 tF;UD� ÂU−�« —œ ÆbMM# sOLCð «— Ê¬ ‰œUFð ¨r>ł dÐ dŁR� vł—Uš ÈU¼ËdO�

ÊU?A?� t?LOÝdð ÈË— ÊUýdŁ« ◊UI� —œ U¼ËdO� tOK# Ê¬ —œ t# XÝ« dE�Åœ—u� r>ł U¹ tFD& “« œ«“¬ tLOÝdð

ÂULC�« tÐ r>ł dÐ dŁR� ÈU¼ËdO� tOK# ÆœuýÅv� ÁbO�U� œ«“¬ r>ł tLOÝdð ̈ È«ÅtLOÝdð sOMÇ Æb�«ÅÁbý Áœ«œ

 ‰uÞ tÐ È—«u;« t²@ð ÆbMýUÐÅv� vł—Uš ÈU¼ËdO� ¨r>ł Ê“Ë Ë v¼UÖÅtOJð gM#«Ë ÈU¼ËdO�¥Ê“Ë Ë d²� 

  400N qJý bM�U� t# b¹dO~Ð dE�—œ ±‡‡µ ÁUÖÅtOJð ÈË— n;« ‡‡ÅÅA Ë B —UÐ Ë t²
dÖ —«d& µ∞∞—œ vMðuO� 

 q?J?ý —œ ‚u
 —«u;« œ«“¬ tLOÝdð ÆœuýÅv� œ—«Ë Ê¬ dÐ qJý —œ Ábý Áœ«œ ÊUA� tDI�±ÅÅ‡?‡µ‡‡ÅÅÊUA� » 



ÅÅÅÅÅÅ∏∑

ôu?L?F� Ê“Ë ÈËdO�Îq?L?F?;«Åf?J?Ž ÈU?¼ËdO� Á«dL¼ tÐ ËdO� s¹« ÆœuýÅv� Áœ«œ ÊUA� ÂU>ł« —œ 

 U¼ÅÁUÖÅtOJðRA ) Ë (RB ÈËdO� Ë PÆb�uýÅv� »u>×� vł—Uš ÈU¼ËdO� Ê«uMŽÅtÐ 

 qJý —œ Ábý Áœ«œ ÊUA� r>ł≤ÅÅÅ‡‡µ ÈU¼ËdO� dŁ« X×ð t# b¹dO~Ð dE�Å—œ «— n;« ‡‡ÅÅÅÅ
  
F

1
 Ë 

  
F

2

 Ë
  
F

3
 Ë 

  
F

4
ÆbýUÐÅv� 

v?K?š«œ ÈU?¼ËdO� vÝ—dÐ È«dÐ býUÐ ‰œUFð Ë ÊuJÝ X;UŠ —œ Ë —«b¹UÄ  —uMÅtÐ r>ł s¹« dÖ«

¨œu?ýÅv?� Áœ«œ —u?³?Ž r?>?ł “« Á«u?@?;œ v?{d?
 È«Åt?×HM ¨r>ł dÐ vł—Uš ÈU¼ËdO� ‰ULŽ« “« výU�

ö?�U# r>ł t# È—uÞÅtÐÎ ÈU?¼Åq?Jý —œ qLŽ s¹« t−O²� Æœuý rO>Ið «e−� XL>& Ëœ tÐ ≤ÅÅÅÅ‡‡µË » ‡‡ÅÅÅÅ

≤ÅÅÅ‡‡µÆœuýÅv� ÁbO�U� lDI� ‘Ë— qLŽ s¹« ÆœuýÅv� Áb¹œ Ã ‡‡ÅÅÅ

M A B N1m
P = 500N

W = 400N

1m0/5m

RA

M P N

RBW

 qJý± ‡‡µ‡‡ n
« ‡‡  —«u
« œ«“¬ tLOÝdð ‡‡ » ¨ÁUÖÅtOJð ÈË——«u
«

©»®

©n
«®

 qJý≤ ‡‡µr�ł p¹ Êœ“ lDI� ‘Ë— ‡‡ 

©n
«® ©»® ©Ã®

ÆXÝ« Ábý Áœ«œ

ö�U# vL>ł dÖ«Î‰œUFð È«dÐ fÄ ¨býUÐ ‰œUFð ‰UŠ —œ b¹UÐ eO� Ê¬ ¡eł d¼ býUÐ ‰œUFð ‰UŠ —œ 

t?−?O?²?� Ê«u?ðÅv?� Ë—Ås?¹« “« Æb?ýU?Ð t?²?ý«œ œu?łË ¨v{d
 Ábý lD& `DÝ —œ v¹U¼ËdO� b¹UÐ XL>& d¼



ÅÅÅÅÅÅÅ∏∏Å

lD& `DÝ —œ Áb�¬ œułËÅtÐ ÈU¼ËdO� UÐ ¨Á«u@;œ lDI� d¼ ·dÞ p¹ —œ dŁR� vł—Uš ÈU¼ËdO� ∫X
dÖ

ÂËUI� ÈU¼ËdO� d~¹œ  —U³ŽÅtÐ ÆbM²>¼ ‰œUFð ‰UŠ—œ ©b�uýÅv� Áb�«uš vKš«œ ÂËUI� ÈU¼ËdO� t#® Ábý

ÆbM²>¼ ‰œUFð ‰UŠ —œ vł—Uš ÈU¼ËdO� UÐ vKš«œ

≤ÅÅÅ‡‡ÅÅÅµøX�OÇ gMð ‡‡ÅÅÅ

¼dÖUÁ ł>Lv ð×X «Łd ÐU— ®�OdËÈ© šU—łv #t Ð@u«¼b ÐUŽY ðGOOd ýJq ¬Ê ýuœ &d«— ÖOdœ ̈œ— «¹s

ŠU;X �O?dË¼UÈ œ«šKv Ë«—œ ŽL?q ýbÁ ®Ðd«È łKu?ÖOdÈ «“ ðGOO?d ýJq© Ë œ— �IU?ÐKt ÐU ÐU?— šU—łv &d«—

�vÅÖOd�bÆ ¼M~U�v #t «¹s �OdË¼UÈ �IUËÂ Ë«—œ ŽLq �vÅýu�b ̈ÖH²t �vÅýuœ #t ł>r ð×X ðMg &d«— Öd
²t

«ÝXÆ ¼dÇt �OdË¼UÈ šU—łv Ë«—œ Ðd ł>r «
e«¹g ÄOb« #Mb ðMg Ë«—œ Ðd ł>r �Oe “¹Uœðd �vÅýuœÆ ðMg

—« �vÅðu«Ê �Ib«— �OdËÈ Ë«—œ Ðd Ë«Šb ÝD` ł>r �U�ObÆ ðMg «“ ðI>Or ÐU— ¹U �OdËÈ šU—łv «ŽLU‰ ýbÁ

Ðd ÝD` �IDFv #t œ— �IUÐq ÐU— ¹U �OdË �IUË�X �AUÊ �vÅœ¼b ÐtÅÅÅœÝX �vÅ¬¹b¨ ÐMUÐd«¹s «Öd∫

= ! ©gMð® vKš«œ ÂËUI� ÈËdO�  bý   (N / m2)

=F Ábý œ—«Ë —UÐ U¹ ËdO� (N)

=A r>ł lDI� `DÝ   (m2)

∫r¹—«œ ÁUÖÅÊ¬

®± ‡‡µ©= .
F

A

 p?¹d?²� r²>OÝ —œ gMð bŠ«Ë(SI) l?Ðd?� d²� dÐ sðuO� ¨  (N / m2)X?Ý—œ bŠ«Ë s¹« ÆXÝ« 

gMð t# XÝ« dðÅVÝUM�  U&Ë« vCFÐ ÆœdOÖÅv� —«d& ÁœUH²Ý« œ—u� —UA
 È«dÐ t# XÝ« ÈbŠ«Ë ÊUL¼

 lÐd� d²� dÐ sðuO�uKO# V>ŠdÐ  (kN / m2) ‰U?JÝUÄ ¨lÐd� d²� dÐ sðuO� bŠ«Ë tÐ Æœuý ÊUOÐ (Pa)eO� 

 œuýÅv� t²HÖ
  
(1N / m2 =1Pa)Æ

U?¹ r?zU?& g?M?ð Æœd?# r?O?>?I?ð výdÐ gMð Ë rzU& gMð ¨t²Ýœ Ëœ tÐ «— gMð Ê«uðÅv� ¨vK# —uÞÅtÐ

ÆbýUÐÅv� vHM� È—UA
 gMð X�öŽ Ë X³¦� vAA# gMð X�öŽ ÆÈ—UA
 U¹ XÝ« vAA#  —uMÅtÐ

Æb�«ÅÁbý Áœ«œ `O{uð ‚u
 ÈU¼ÅgMð “« p¹d¼ t�«œ« —œ

±‡‡≤ ‡‡µ∫v?A?A?? gMð ‡‡ ÈËd?O?� U?¹ —U?Ð r?>?ł t?Ð t?# b¹¬Åv� œułËÅtÐ vF&u� vAA# gMð 

 qJý Æœuý œ—«Ë vAA#≥ ‡‡µÊ¬ —œ Ë t²
dÖ—«d& vAA# ÈËdO� dŁ« X×ð t# b¼œÅv� ÊUA� «— È«ÅtKO� 

ôuLF� ÆXÝ« Ábý qMUŠ vAA# gMðÎ‰uÞ t# œ—«œ q¹ULð r>ł dÐ Ábý œ—«Ë vAA# ÈËdO� U¹ —UÐ 



ÅÅÅÅÅÅ∏π

A

F F

 qJý≥ ‡‡µvAA? ÈËdO� dŁ« X×ð tKO� g¹UL� ‡‡ 

r>ł ̈ býUÐ r>ł qL×ð bŠ “« gOÐ r>ł dÐ œ—«Ë vAA# gMð dÖ« ÆbM# œU¹“ ËdO� œ«b²�« —œ «— r>ł

ÆœuýÅv� ©Á—UÄ® t²@O>Ö œuš ‰uÞ “« È«ÅtDI� —œ

F F

 qJý¥ ‡‡µÈ—UA� ÈËdO� dŁ« X×ð tKO� g¹UL� ‡‡ 

r>ł Êbý rš YŽUÐ Áœ—«Ë gMð býUÐ d²AOÐ Ê¬ qL×ð bŠ “« r>ł dÐ œ—«Ë È—UA
 gMð dÖ«

ÆœuýÅv� r>ł Êbý œdš U¹ Ë ËdO� œ«b²�« —œ

»u?>?×?� r?zU?& U¹ ÈœuLŽ ÈU¼ÅgMð ¡eł È—UA
 Ë vAA# ÈU¼ÅgMð bý Á—Uý« t# t�uÖÅÊUL¼

t# XÝ« vFDI� `DÝ ¨œdOÖÅv� —«d& ÁœUH²Ý« œ—u� gMð t³ÝU×� È«dÐ t# vFDI� `DÝ «d¹“ b�uýÅv�

ÆbýUÐÅv� Ábý qOL×ð —UÐ U¹ ËdO� dŁ« jš œ«b²�« dÐ œuLŽ

∫‰U¦� qJý —œ Ábý Áœ«œ ÊUA� tKO� dD& tâ�UMÇ ≥ ‡‡µ UÐ dÐ«dÐ   16mm‰ULŽ« vAA# ÈËdO� Ë 

 Ê¬ dÐ Ábý  4 / 4kNÁbýÅ‰ULŽ« ÈËdO� dÖ« sOMÇÅr¼ ÆbOM# »U>Š«— tKO� tÐ Ábý œ—«Ë vAA# gMð býUÐ 

 qJý oÐUD�¥ ‡‡µÆbOM# t³ÝU×� «— Áœ—«Ë gMð œuý ‰ULŽ« È—UA
  —uMÅtÐ 

∫qŠ

 tDÐ«— “«± ‡‡µ∫r¹—«œ 

  F = 4 / 4kN = 4400N

≤‡‡≤ ‡‡µ∫È—U?A?� gMð ‡‡ ÈËd?O?� U?¹ —U?Ð r?>?ł d?Ð t# b¹¬Åv� œułËÅtÐ vF&u� È—UA
 gMð 

ôuLF� Æœuý œ—«Ë È—UA
Î—œ «— r?>ł ‰uÞ t# œ—«œ q¹ULð r>ł tÐ Ábý œ—«Ë È—UA
 ÈËdO� U¹ —UÐ 

 qJý ÆbM# r# ËdO� U¹ —UÐ œ«b²�«¥ ‡‡µt²
dÖ —«d& È—UA
 ÈËdO� dŁ« X×ð t# b¼œÅv� ÊUA� «— È«ÅtKO� 

Æœ—«œ «— ËdO� œ«b²�« —œ tKO� ‰uÞ g¼U# tÐ q¹ULð t# XÝ« Ábý qMUŠ È—UA
 gMð Ê¬ —œ Ë



ÅÅÅÅÅÅÅπ∞Å

  D =16mm =0/016m

= .
F

A

  
A = πd2

4
⇒ A ≈0/0002m2

∫UÐ œuÐ b¼«uš dÐ«dÐ vAA# gMð Á“«b�«

  

= .+
4400

0/0002
= +22000000

N

m2
= +22000kPa

∫UÐ XÝ« dÐ«dÐ È—UA
 gMð Á“«b�« VOðdð sOL¼ tÐ Ë
  
= .− 22000kPa

≥ÅÅÅ‡‡ÅÅÅµ©g�d?® —UA� Ë gA? —œ v³�� ‰uÞ dOOGð ‡‡ÅÅÅ

—œ d?~¹œ  —U³ŽÅtÐ ¨b¹¬Åv� œułËÅtÐ qJý dOOGð Ê¬ —œ ¨œdOÖÅv� —«d& gMð ÷dF� —œ vL>ł v²&Ë

b¹¬Åv� œułËÅtÐ gMð dŁ«—œ t# qJý dOOGð s¹« ÆœuýÅv� qMUŠ dOOGð ¨gMð dŁ« X×ð r>ł Á“«b�« Ë qJý

«— Ê¬ ‰uÞ Ë Ábý vAA# ‰uÞ dOOGð YŽUÐ r>ł p¹ —œ vAA# gMð Æœ—«œ ÂU� v³>� ‰uÞ dOOGð U¹ g�d#

 qJý® bM#Åv� œU¹“µ ‡‡ µÈ—U?A
 ‰uÞ dOOGð YŽUÐ r>ł p¹ —œ È—UA
 gMð VOðdð sOL¼ tÐ Æ©n;« ‡‡ 

 qJý® bM#Åv� r# «— Ê¬ ‰uÞ Ë Ábýµ ‡‡ µ¨r>ł p¹ —œ Ábý œU−¹« v³>� ‰uÞ dOOGð “« —uEM� Æ©» ‡‡ 

 U?Ð Ë œu?ýÅv?� Áb?O?�U?� g?�d?# t?# b?ýU?ÐÅv?� Ê¬ t?O?;Ë« ‰u?Þ dÐ Áb�¬ œułËÅtÐ ‰uÞ dOOGð X³>�.Áœ«œ ÊU?A� 

∫œuýÅv�

®≤ ‡‡µ©= .
x

l

∫Ê¬ —œ t#

= .È—UA
 U¹ vAA# v³>� ‰uÞ dOOGð 

= x ‰uÞ g¼U# U¹ g¹«e
« (m)

 ÊuÇ œuýÅv� Áb¹œ t# t�uÖÅÊUL¼.b&U
 s¹«dÐUMÐ XÝ« Áb�¬ XÝœÅtÐ bM�UL¼ XOL# Ëœ rO>Ið “« 

ÆXÝ« bŠ«Ë

l® tO;Ë« ‰uÞ Ω m©



ÅÅÅÅÅÅπ±

¥ÅÅÅ‡‡ÅÅÅµv³�� ‰uÞ dOOGð Ë gMð sOÐ tDÐ«— ‡‡ÅÅÅ

d?E?�—œ «— g?# t?F?D?& p?¹ Æœ—«œ v?MUš XOL¼« vŽU−ð—« XOKÐU& ÂuNH� `;UB� X�ËUI� —œ

p¹ tâ�UMÇ ÆœuýÅv� œU¹“ g# tFD& ‰uÞ X;UŠ s¹« —œ ÆrOA#Åv� «— Ê¬ È—b& ·dÞ Ëœ “« t# b¹dO~Ð

—«bI� tÐ nK²@� ÂU>ł« —œ XOMUš s¹« ÆœœdÖÅv�dÐ œuš tO;Ë« X;UŠ tÐ g# r¹“UÝ U¼— «— Ê¬ ·dÞ

v?ŽU?−?ð—« X?O?KÐU& ÆbM¹uÖÅv� ©t²O>O²Ýô« XOMUš U¹® vŽU−ð—« XOKÐU& Ê¬ tÐ t# œ—«œ œułË vðËUH²�

tÐ r>ł ¨b�bý t²ý«œdÐ Ê¬ tÐ Áœ—«Ë ÈU¼ËdO� v²&Ë t# r>ł —œ v²OMUš “« XÝ«  —U³Ž ©pO²Ýô«®

t?²?ý«œd?Ð Ê¬ t?Ð Áœ—«Ë ÈU?¼Ëd?O?� ÂULð t# s¹« “« fÄ r>ł ÁUÖd¼ ÆœœdÖÅv�dÐ œuš tO;Ë« Á“«b�« Ë l{Ë

Ábý œU−¹« ©pO²ÝöÄ® vLz«œ ‰uÞ dOOGð r>ł —œ t# bM¹uÖÅv� ̈ bMJ� XAÖdÐ œuš tO;Ë« l{Ë tÐ ̈ b�bý

“« r>ł tÐ œ—«Ë ÈËdO� t#ÅÊ¬ ◊dý tÐ b¹¬ b¹bÄ XÝ« sJL� eO� vŽU−ð—« r>ł p¹ —œ l{Ë s¹« ÆXÝ«

Æœuý dðœU¹“ Ê¬ vŽU−ð—« bŠ

  œ«“¬ tF�UD�ÅÅ           œ«“¬ tF�UD�ÅÅ           

b?Š —œ t# v�U�“ Uð «— r>ł p¹ v³>� ‰uÞ dOOGð Ë gMð t# vLN� —UO>Ð tDÐ«—

 —uMÅtÐ Ë ÁœuÐ ·ËdF� „u¼ Êu�U& ÂU� tÐ bM#Åv� j³ðd� r¼ tÐ b�—«œ —«d& œuš vŽU−ð—«

∫œuýÅv� ÊUOÐ d¹“

—œ ©g?�d?#® Áb?ý œU−¹« v³>� ‰uÞ dOOGð býUÐ vŽU−ð—« X;UŠ —œ r>ł ÁUÖd¼ò

∫t# X
U¹—œ Ê«uðÅv� „u¼ Êu�U& “« åÆXÝ« Ê¬ tÐ Ábý œ—«Ë gMð UÐ VÝUM²� r>ł

F F

X

F F

X

 vKL« ‰uÞ(l)

 ‰uÞ g¹«e�«(x)

 qJýµ ‡‡ µ—UA� Ë gA? —œ v³�� ‰uÞ dOOGð ‡‡ 

vAA? ‰uÞ dOOGð ©n
«®

 ‰uÞ g¼U?(x)

È—UA� ‰uÞ dOOGð ©»®

 vKL« ‰uÞ(l)



ÅÅÅÅÅÅÅπ≤Å

 XÐUŁ —«bI� × v³>� ‰uÞ dOOGð =gMð 

—œ Èd²AOÐ v³>� ‰uÞ dOOGð ̈ œuý dðœU¹“ r>ł dÐ Ábý œ—«Ë gMð Á“«b�« d¼ vMF¹

∫t−O²� —œ Æb¼œÅv� Œ— r>ł

gMð                                                                         

 XÐUŁ

                           =
v³>� ‰uÞ dOOGð                                                                 

«U?Ð Ë ÁœuÐ ·ËdF� @�U¹ ‰Ëb� U¹ v;uÞ t²O>O²Ýô« V¹d{ ÂU� tÐ XÐUŁ —«bI� s¹

 ·dŠE—«d& —UA
 U¹ gA# X×ð t# œ—«œ ÈeK
 fMł tÐ v~²>Ð Ë œuýÅv� Áœ«œ ÊUA� 

ÆbýUÐÅv� „u¼ Êu�U& ÈU¹uÖ d¹“ v{U¹— tDÐ«— ÆœdOÖÅv�

®≥ ‡‡µ©= . E × .

∫Ê¬ —œ t#

=E lÐd�d²� dÐ sðuO� V>ŠdÐ ©vŽU−ð—« V¹d{® t²O>O²Ýô« V¹d{   (N / m2)

= ! lÐd�d²� dÐ sðuO� V>ŠdÐ gMð   (N / m2)

= .©bŠ«Ë ÊËbÐ® v³>� ‰uÞ dOOGð 

 v³>� ‰uÞ dOOGð ÊuÇ t# Xý«œ tłuð b¹UÐ( . )bŠ«Ë s¹«dÐUMÐ ¨XÝ« bŠ«Ë b&U
 

ÆbýUÐÅv� gMð bŠ«Ë ÊUL¼ t²O>O²Ýô« V¹d{

VÝUMð bŠ —œ tDI� s¹bMÇ —œ «— Ê¬ tÐ ◊uÐd� v³>� ‰uÞ dOOGð Ë gMð d¹œUI� dÖ«

bŠ —œ r¼ tÐ ◊UI� s¹« ‰UBð« “« rOM# qI²M�  UB²@� —u×� ÈË— «— U¼ÅÊ¬ Ë ÁœuL� «bOÄ

 qJý® œ—cÖÅv�  UB²@� e#d� “« t# b¹¬Åv� XÝœÅtÐ rOI²>� vDš ¨VÝUMð∂ ‡‡ µÆ©

b

a c

VÝUMð bŠ

v³�� ‰uÞ dOOGð

gMð

 qJý∂ ‡‡ µË gMð sOÐ tDÐ«— ‡‡ 

v³�� ‰uÞ dOOGð
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 @�U¹ ‰Ëb� tOŠU� s¹« —œ —«œuL� VOýE v³¹dIð d¹œUI� Æb¼œÅv� ÊUA� «— EÈ«dÐ 

 ‰Ëbł —œ  «eK
 všdÐ± ‡‡µÆXÝ« Ábý Áœ«œ 

µ ‡‡ µvAA? ÂUJ×²Ý« ‡‡ 

 v?A?A?# ÂUJ×²Ý«(! u )Êb?ýÅÁ—U?Ä “« q?³?& e?K?
 t?# v?A?M?ð s¹d²AOÐ “« XÝ«  —U³Ž eK
 p¹ 

gA# g¹U�“¬ sOŠ —œ Ábý œ—«Ë —UÐ s¹d²AOÐ rO>Ið “« Ê¬ —«bI� Ë bM# qL×ð b�«uðÅv� ©v~²@O>Ö®

∫Xýu� Ê«uðÅv� Ë— s¹« “« Æb¹¬Åv� XÝœÅtÐ g¹U�“¬ X×ð t�uL� U¹ tFD& vKM« lDI� `DÝ dÐ

 ©Áœ—«Ë —UÐ s¹d²AOÐ®Fu
®¥ ‡‡ µ©=                                          

 ® ©vAA# ÂUJ×²Ý«! u
                                  

Å ©tO;Ë« U¹ vKM« lDI� `DÝ®A

—œ eK
 p¹ vAA# ÂUJ×²Ý« ¨œuýÅv� ÁœUH²Ý« vAA# ÂUJ×²Ý« “« l&«u� È—UO>Ð —œ Á“Ëd�«

Æœ—«œ vðUOŠ Ë vÝUÝ« XOL¼« nK²@�  UFD& vŠ«dÞ

∂ ‡‡ µÊUMOLÞ« V¹d{ Ë “U−� gMð ‡‡ 

 “U?−?� g?M?ð “« g?OÐ vAMð X×ð b¹U³� nK²@� q¹UÝË Ë U¼ÅsOýU�  UFD&(! al )—«d& —U# —œ 

b¹UÐ —U# —œ “U−� gMð Êœ—Ë¬ XÝœÅtÐ È«dÐ ÆbýUÐ vŽU−ð—« bŠ gMð “« d²L# b¹UÐ —«bI� s¹« Ë b�dOÖ

∫vMF¹ bM¹UL� rO>Ið ¨bM¹uÖÅv� ÊUMOLÞ« V¹d{ Ê¬ tÐ t# v³ÝUM� œbŽ tÐ «— gA# ÂUJ×²Ý«

                                ©vAA# ÂUJ×²Ý«®  ! uÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

®µ‡‡ÅÅµ©  
=

                                  
 ® ©—U# —œ “U−� gMð! al                           

   
 ©ÊUMOLÞ« V¹d{®S.F.

 ‰Ëbł±ÅÅÅ‡‡µnK²S� eK� bMÇ È«dÐ @�U¹ ‰Ëbł v³¹dIð d¹œUI� ‡‡ÅÅÅ

® @�U¹ ‰Ëb�             eK� ÂU�    
≤

ÅE(GN/m

Âd� œôu
≤∞∞

ÊbÇ±±∞

f�±∞∞

—«œdH>
 e�dÐπµ

Z�dÐ∏µ

ÂuOMO�u;¬∑∞



ÅÅÅÅÅÅÅπ¥Å

 V¹d{ ¨bMýUÐ ©pOðU²Ý«® XÐUŁ sOýU� U¹ ÊUL²šUÝ dÐ œ—«Ë ÈU¼ËdO� dÖ«  n = 2v;u³& qÐU& Á“«b�« 

¨bM#Åv� dOOGð Ê¬ Á“«b�« U¹ œuýÅv� œ—«Ë v�UNÖU� —uÞÅtÐ U¼ËdO� t# v²;UŠ —œ v;Ë býUÐÅv� “U−� gMð sOOFð —œ

 È«dÐ b¹UÐ ¨È“—ËUA# ÈU¼ÅsOýU� VKž« XOF{Ë bM�U�nÆX
dÖ dE�b� «— ÈdðÅ¯—eÐ Vð«d� tÐ œbŽ ¨

Ë œË—Åv?� —U?#Åt?Ð s?O?ýU� dÐ œ—«Ë vł—Uš ÈU¼ËdO� sOOFð —œ t# v²&œ tÐ ÊUMOLÞ« V¹d{ Á“«b�«

v~²>Ð Ábý ·dB� `;UB� Ë œ«u� v²š«uMJ¹ Ë sOýU� nK²@� ÈU¼ÅXL>& —œ U¼ÅgMð t³ÝU×� X&œ

Êb?ý »«d?š V?łu?� U?¼ÅÊ¬ Êb?ý »«dš t# vðUFD& ¨sOýU� p¹ —œ Xý«œ tłuð b¹UÐ sOMâL¼ Æœ—«œ

Æb�uý t³ÝU×� ÈdðÅgOÐ ÊUMOLÞ« V¹d{ UÐ b¹UÐ ¨œuýÅv� ÁU~²Ýœ “« Èd~¹œ ÈU¼ÅXL>&

∫‰U¦�v?AA# ÂUJ×²Ý« UÐ Èœôu
 tKO� 
¿

   420MN / m2
 lDI� `DÝ Ë   300mm2

œu?łu� 

 “U?−?� v?A?A?# —UÐ d¦#«bŠ dÖ« ÆXÝ«  30kN—U?# Ê¬ U?Ð Èœôu?
 t?K?O?� t# «— v�UMOLÞ« V¹d{ býUÐ 

ÆbOM# »U>Š ¨bM#Åv�

  

! u = 420MPa = 420×10
6 N

m2

  
A = 300mm2 = 300×10

−6m2

  
Fal = 30kN = 30×10

3 N

S.F.(n) = ?

! al = Fal
A

  

! al =
30×10

3

300×10
−6

=100×10
6 N

m2

bFÐ ÊËbÐ     

  

S.F.=
! u

! al

=
420×10

6

100×10
6

= 4 / 2

 ‰Ëbł —œ≤ ‡‡µÊU?A?� n?K?²@� eK
bMÇ È«dÐ È—«cÖ—UÐ nK²@�  ôUŠ —œ “U−� gMð d¹œUI� 

∫XÝ« Ábý Áœ«œ

¿   N / mm2 = MN / m2 = MPa



ÅÅÅÅÅÅπµ

∑ ‡‡ µvýdÐ gMð ‡‡ 

v?ýd?Ð g?M?ð Æœ—«œ ÂU� výdÐ gMð ¨œdOÖ —«d& Ê¬ dŁ« X×ð r>ł XÝ« sJL� t# Èd~¹œ gMð

b?M?#Åv?� d?Ł« v?ýdÐ gMð Ê¬ tÐ t# È«ÅtFD& ÆbM#Åv� dŁ« ©r>ł lDI� `DÝ UÐ È“«u�® ”UL�  —uMÅtÐ

Æœuý Á—UÄ ¨b�eG;Åv� r¼ ÈË— dÐ XL>& Ëœ t# vFDI� —œ œ—«œ q¹ULð

 q?J?ý oÐUD� «— vÇdÄ∑ ‡‡µËœ Ë Áœu?L?� q?MË r?¼ t?Ð «— t×HM Ëœ t# b¹dO~Ð dE�—œ n;« ‡‡ 

 n;U@� Ë ÈËU>� ÈËdO�F«— ıdÄ bM¼«ušÅv� ËdO� Ëœ s¹« ÆXÝ« Ábý œ—«Ë  U×HM tÐ qJý oÐUD� 

 lDI� —œABv?¹ôU?Ð tLO� d~¹œ  —U³ŽÅtÐ ÆbMM# Á—UÄ ¨bý Áœ«œ ÊUA� sOÇÅtDI�  —uMÅtÐ qJý —œ t# 

 qJý oÐUD� Ê¬ vMO¹UÄ tLO� tÐ X³>� t‡# œ—«œ q¹ULð ıdÄ∑ ‡‡µv¹U‡łÅÊ¬ “« ÆœeGKÐ éÇ XLÝ tÐ » ‡‡ 

U¹ œdHM� ‘dÐ Ê¬ tÐ s¹«dÐUMÐ ¨œdOÖ  —uM Ê¬ lÞUI� “« vJ¹ œ«b²�« —œ ıdÄ ‘dÐ XÝ« sJL� UNMð t‡#

ÆbM¹uÖÅv� ÁœUÝ

łbË‰ ≤‡‡ÅÅÅÅÅÅÅµ ‡‡ �IUœ¹d ðMg �−U“ œ— ŠU
X «Ý²×JUÂ ?AAv Ðd«È �Ke«  �S²Kn ÐdŠ�V 
≤

Å(MPa)N/mm

 Â«—¬ —UÐ XOF{Ë —œ  2 . n . 6  dOG²� —UÐ XOF{Ë —œ Ë   6 . n . 12 d²AOÐ Ë »ËUM²� —UÐ X;UŠ —œ Ë   12 . n . 20

F

F
A

B
A B

 qJý∑ ‡‡µ —UA� X×ð t×HL Ëœ t? bŠ«Ë ıdÄ p¹ ÈUL� ‡‡ FÆXÝ« ÁœuL� qLË r¼ tÐ «— 

©n
«® ©»®

eK�           È˛UO
¬ œôu�È˛UO
¬ œôu�Âd� œôu�XSÝ œôu�ÊbÇ

ŠU
X ?U—Âd�XSÝ

Â«—¬ —UÐ   ∑∞ ‡‡¥µπµ ‡‡∂µ≥∞‡‡≤∞µ∞‡‡ ¥∞µ∞ ‡‡ ≤µ

dOG²� —UÐ   πµ ‡‡∂µ±≥¥‡‡π∞∂∞‡‡ ¥∞±∞∞‡‡∏∞∂∑‡‡ µ∞

»ËUM²� —UÐ  ±µ∞‡‡±∞∞≤±∞‡‡±¥∞π∞‡‡∂∞±µ∞‡‡±≤∞∏µ ‡‡ ∂µ

 q?J?ý o?ÐU?D� «— È—u²#«dð XÐUŁ bM³;U� sOÄ dÖ« ‰UŠ∏ ‡‡ µœ—u?�Åv?Ä t# b¹dO~Ð dE�—œ n;« ‡‡ 

 XN−;«ÅnK²@� Ë ÈËU>� ÈËdO� Ëœ dŁ« X×ð Ë ÁœuL� qMË —u²#«dð tÐ «— ©g#—UÐ®F¨býUÐ t²
dÖ —«d& 



ÅÅÅÅÅÅÅπ∂Å

 lDI� Ëœ —œ sOÄ ËdO� Ëœ s¹« dŁ« X×ð XÝ« sJL�CD Ë EFÊUA� sOÇÅtDI�  —uMÅtÐ qJý —œ t# 

qJý oÐUD� œuš UÐ Á«dL¼ «— sOÄ Èe#d� XL>& XÝ«— XLÝ tKO� X;UŠ s¹« —œ Æœuý Á—UÄ ̈ Ábý Áœ«œ

∏ ‡‡ µÈËU>� výdÐ ÈËdO� ÂËUI� lDI� ̀ DÝ v²OF{Ë sOMÇ —œ Æb¼œÅv� X#dŠ XÝ«— ·dÞ tÐ » ‡‡ 

Æ©V#d� ‘dÐ® býUÐÅv� sOÄ lDI� `DÝ dÐ«dÐ Ëœ

C D

E F

FF

C D

E F

 qJý∏ ‡‡ µbM³
U� sOÄ dÐ ËdO� dŁ« Áu×� ‡‡ 

©g?—UÐ® tKOÝË bM³
U�

—u²?«dð bM³
U�

©»®
©n
«®

¨b?¼œÅv?� ÊU?A?� X?�ËU?I� ‘dÐ qÐUI� —œ t# vFDI� `DÝdÐ výdÐ ÈËdO� rO>Ið “« výdÐ gMð

Æb¹¬Åv� XÝœÅtÐ

®∂ÅÅ‡‡ÅÅµ© = .
f

A

.Ω  výdÐ gMð   (N / m2)

=f výdÐ —UÐ U¹ ËdO� (N)

=A výdÐ ÂËUI� lDI� `DÝ   (m2)

∫‰U¦� qJý sOÄ dÐ Ábý œ—«Ë výdÐ ÈËdO� dÖ« ∏ ‡‡ µ dÐ«dÐ ∂∞[¥µ≥výdÐ gMð Ë býUÐ sðuO� 

 sOÄ tKOÝËÅtÐ “U−�  420kN / m2
ÆbOM# »U>Š «— sOÄ dD& býUÐ 

∫qŠö³& t# —uÞÅÊUL¼ Î—œ «c; œuý Á—UÄ lDI� Ëœ —œ XÝ« sJL� ‚u
 bM³;U� sOÄ bý Á—Uý« r¼ 

 tDÐ«—∂ ‡‡µ —«bI� A lDI� `DÝ Ëœ d¼ q�Uý CD Ë EFÆœuÐ b¼«uš 

  
A = ACD + AEF = πd2

4
+ πd2

4
= 2πd2

4
= πd2

2

=dsOÄ dD& 

  
= . F

A
⇒ A = F

. ⇒ πd2

2
= 453 / 60

420000



ÅÅÅÅÅÅπ∑

sOÄ dD&  d = 2 / 62cm U¹   ⇒ d =0/0262m

∏ ‡‡ µvýdÐ ÂUJ×²Ý« ‡‡ 

‘d?Ð “« q?³?& r?>?ł t?# výdÐ gMð s¹d²AOÐ “« XÝ«  —U³Ž r>ł U¹ eK
 p¹ výdÐ ÂUJ×²Ý«

∫bMM#Åv� n¹dFð d¹“  —uMÅtÐ «— r>ł p¹ výdÐ ÂUJ×²Ý« ÆbM# qL×ð b�«uðÅv�

 ©—UÐ s¹d²AOÐ®F
U

®∑ÅÅ‡‡ÅÅµ©=                                                                
 ®©výdÐ ÂUJ×²Ý«. u

 ©XÝ« ÂËUI� ‘dÐ qÐUI� —œ t# vK# lDI� `DÝ®A

»U?>?Š ¨b?ý t?²?H?Ö È—U?A?
 Ë v?A?A# ÈU¼ÅgMð È«dÐ t# vð—uMÅtÐ —U# —œ “U−� výdÐ gMð

∫r¹—«œ s¹«dÐUMÐ ÆœuýÅv�

©výdÐ ÂUJ×²Ý«®
. u

®∏ÅÅ‡‡ÅÅÅµ©=                       
®©—U# —œ “U−� výdÐ gMð. al

 ©ÊUMOLÞ« V¹d{®S.F

Æb¼œÅv� ÊUA� Z¹«—  «eK
 “« vCFÐ È«dÐ «— výdÐ ÂUJ×²Ý« v³¹dIð d¹œUI� d¹“ ‰Ëbł

 ‰Ëbł≥Å‡‡µnK²S� eK� bMÇ výdÐ ÂUJ×²Ý« ‡‡

 výdÐ ÂUJ×²Ý«                 eK�       
≤

ÅMN/m

Âd� œôu
≥≤∞ Uð ≥π∞

—«uš gJÇ s¼¬≥∞∞

ÊbÇ   π∞ Uð ≤∞∞

Z�dÐ   ±µ∞

∫‰U¦� dD& tÐ dÄuð ©sOÄ ÊóÖ® Êu²>OÄ v²A~�« p¹ —œ výdÐ gMð sO~�UO� bOM# »U>Š   25mm

 Ê¬ dÐ Ábý œ—«Ë —UÐ t# vð—uM—œ  40kNÆbýUÐ 

∫qŠ v²A~�« v{dŽ lDI� `DÝ   A = 2xÊUA� X�ËUI� ‘dÐ qÐUI� —œ t# q# lDI� `DÝ ¨

Æb¼œÅv�

  

A =
2× π ×25

2

4
= 982mm2

  F = 40kN = 40000NvýdÐ —UÐ U¹ výdÐ ÈËdO� ¨



ÅÅÅÅÅÅÅπ∏Å

  

= .
F

A
=

40000

982

N

mm2

#
.%

&
.(Êu²>OÄ v²A~�« —œ výdÐ gMð 

  = . 40/ 74N / mm2 = 40/ 74MN / m2

ÂU?J?×²Ý« Y×³� —œ sOMÇÅr¼ Ë ÊUMOLÞ« V¹d{ Ë výdÐ gMð YŠU³� —œ Ábý t²HÖ V;UD� “«

œuý tłuð t²J� s¹« tÐ nK²@� ÈU¼—UÇ¬ “« ÁœUH²Ý« ÂU~M¼ —œ t# X
dÖ t−O²� t�uÖÅs¹« Ê«uðÅv� výdÐ

V?¹d?{ e?O?� Ë v?ýdÐ ÂUJ×²Ý« Ë b�«ÅÁbý t²šUÝ ÊU>�« XÝœ ÈËdO� UÐ VÝUM²� U¼—UÇ¬ t²Ýœ ‰uÞ t#

t?# v?�U?~?M¼ ÆbýUÐÅv� ÊU>�« XÝœ ÈËdO� Ë Ábý t²
dÖ dE� —œ ‰uÞ ”UÝ«dÐ eO� “U−� gMð ÊUMOLÞ«

ÈËdO� g¹«e
« YŽUÐ tÐd{ Êœd#œ—«Ë UÐ U¹ Ë bÐU¹Åv� g¹«e
« Èd~¹œ tKOÝË U¹ t;u; UÐ —UÇ¬ ÈÅt²Ýœ ‰uÞ

X?Ý« Áb?A?� t?³?ÝU?×?� —U?Ç¬ XšUÝ ÊUMOLÞ« V¹d{ —œ tKMUŠ ÈËdO� g¹«e
« œuýÅv� —UÇ¬ tÐ œ—«Ë

ÆœœdÖÅv� —UÇ¬ v~²>Jý V³Ý s¹«dÐUMÐ

 qJýπ ‡‡µ

 qJý±∞ ‡‡µ



ÅÅÅÅÅÅππ

s�dL�

±ÆbOM# n¹dFð «— gMð ‡‡

≤øX>OÇ —œ È—UA
 gMð UÐ vAA# gMð ·ö²š« ‡‡

≥ÆbOM# n¹dFð «— v³>� ‰uÞ dOOGð U¹ g�d# ‡‡

¥øœ—«œ v~²>Ð v¹U¼eOÇ tÇ tÐ Ê¬ Á“«b�« Ë X>OÇ ÊUMOLÞ« V¹d{ ‡‡

¿ µ ‰uÞ tÐ Èœôu
 tKO� p¹ q# ‰uÞ g¹«e
« ‡‡ ≤±v?AA# gMð ÆbOM# sOOFð «— d²�Åv²�UÝ

 ÈËU>�  15 ×10
6

ÆbýUÐÅv� lÐd�d²� dÐ sðuO� 

¿ ∂ —bMKOÝ dD& tÐ —bMKOÝ pð —uðu� p¹ —œ  —b& tKŠd� “« vMOF� tE×; —œ ‡‡   76 / 5mm¨

 Êu?²>OÄ ÈôUÐ —UA
  2MN / m2
 “« p¹d¼ —œ qMUŠ gMð XÝ« ¥»U?>Š «— —bMKOÝdÝ êOÄ œbŽ 

 U¼ÅêOÄ “« p¹d¼ dD& s¹d²L# ÆbOM#  9mmÆXÝ« 

∑ t?E?×?; p?¹ —œ È—u²#«dð tDI� tÝ ‰UBð« jÝË ‚UÝ dÐ œ—«Ë È—UA
 ÈËdO� dÖ« ‡‡  30kN

 ÊU?M?O?L?Þ« V?¹d?{ t?# v?ð—u?M —œ b?ýU?Ð¥—u?²?#«d?ð j?ÝË ‚U?Ý j?Ð«— s?O?Ä e?K?
 v?ýd?Ð ÂU?J?×?²?Ý« Ë 

  360MN / m2
ÆbOM# »U>Š «— sOÄ VÝUM� dD& ¨býUÐ 



ÅÅÅÅÅÅÅ±∞∞Å

�rAý qB

—u²?«dð Ë —uðu� —œ Ê«uð

Ê«uð

ÆXÝ« ÊU�“ bŠ«Ë —œ Ábý ÂU−�« —U# “«  —U³Ž Ë Áœ«œ ÊUA� «— —U# ÂU−�« XŽdÝ ¨ —b& U¹ Ê«uð

 dÖ«W ÊU�“ —œ Ábý ÂU−�« —U# —«bI� t∫œuýÅv� t³ÝU×� d¹“ tDÐ«— “« Ábý ·dB� Ê«uð t−O²� —œ ̈ býUÐ 

Ábý ÂU−�« —U#

®±‡‡∂©=                          ⇒ P = W
t

Ê«uð 

                 ÆbýUÐÅv� Ê«uð t³ÝU×� d~¹œ qJý d¹“ tDÐ«—

—U# ÂU−�« ÊU�“   

®≤‡‡∂©P = F × v

P Ω  «Ë V>ŠdÐ ÁU~²Ýœ jÝu²� Ê«uð

W Ω ‰Ë˛ V>ŠdÐ Ábý ÂU−�« —U#

F Ω sðuO� V>ŠdÐ r>ł dÐ œ—«Ë ÈËdO�

t Ω tO�UŁ V>ŠdÐ —U# ÂU−�« ÊU�“

v Ω  tO�UŁ dÐ d²� V>ŠdÐ XŽdÝ

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

ÅÅÅÅÅ

®  «Ë vKKL;«ÅsOÐ r²>OÝ —œ Ê«uð bŠ«ËWÈ«dÐ t# v�«uð “« XÝ«  —U³Ž  «Ë p¹ ÆbýUÐÅv� ©

p?¹ ÆX?Ý« “UO�œ—u� tO�UŁ p¹ ÊU�“  b� —œ d²� p¹ tKMU
 tÐ sðuO� p¹ Ê“Ë tÐ vL>ł v¹UłÅtÐUł

® ÊuðuO�N‰œUF� vÐU²ý r>ł Ê¬ œuý ‰ULŽ« ÂdÖuKO# p¹ Âdł UÐ r>ł p¹ tÐ dÖ« t# XÝ« v¹ËdO� ©

±ÆbM#Åv� X#dŠ tO�UŁ —Ëc−� dÐ d²�ÅÅ

  

= (kg)1×1 ) m

s2
. ÊuðuO� ®ÅN©

  

=
(N)1× (m)1

(s)1
  «Ë ®ÅW©

 —U@Ð VÝ« q¦� Èd~¹œ ÈU¼bŠ«Ë “« Ê«uð g−MÝ È«dÐ(hp)  «Ëu?KO# U¹ (kW)ÁœUH²Ý« eO� 

∫œuýÅv� ÁœUH²Ý« d¹“ q¹b³ð V¹«d{ “« ¨fJŽdÐ Ë —U@Ð VÝ« tÐ  «ËuKO# q¹b³ð È«dÐ ÆœuýÅv�



ÅÅÅÅÅÅ±∞±

  
1kW =1/ 36hp

  
1hp =0/ 736kW = 736W

�¦U‰∫ ÝO>²r ¼Ob—Ë;Op ðd«#²u—È ł>Lv —« Ðt Ë“Ê¥ kg ≤¥∞∞ #t Ðt «ðBU‰ Ýt �IDt ¬Ê ËMq

Ðuœ —œ �b  ≥ ŁU�Ot Ðt «—ðHUŸ cm ∂∞ ÐUô �vÅÐdœÆ ðu«Ê  �Bd
v —« ÐdŠ>V #OKuË«  Š>U» #MObÆ

∫qŠ

  
F = 2400kgf = 2400×9 / 8 = 23520N

  
W = F × d = 23520×0/ 6m =14112j

  

P =
W

t
=

14112

3
= 4704W = 4 / 704kW

XŽdÝ bO;uð V³Ý ËdO� ‰ULŽ« t# XÝ« v�U�“ vDš Ê«uð ÆbM#Åv� “ËdÐ Ÿu� ËœÅtÐ vJO�UJ� Ê«uð

Ê«uð s¹« qJý Ëœ d¼ ‰UŠd¼ÅtÐ ÆbM#Åv� “ËdÐ gšdÇ ‰UŠ —œ ÂU>ł« —œ v�«—Ëœ Ê«uð Ë œœdÖÅv� vDš

ÆbMM#Åv� ÈËdOÄ d¹“ tDÐ«— “«

 tKMU
×ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅËdO� 

=
                    

Ê«uð

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÊU�“

∫‰U¦� ÈËdO� NÅ±∞∞ XŽdÝ UÐ   4m / sÆbO¹UL� t³ÝU×� «— “UO�œ—u� Ê«uð ÆœœdÖÅv� ‰ULŽ« 

  

100(N) × 4) m

s
. = 400W

® tDÐ«— “« eO� v�«—Ëœ Ê«uð t³ÝU×� È«dÐ±‡‡∂ÆœœdÖÅv� ÁœUH²Ý« ©

«— Ê«—Ëœ Ád¹«œ jO×� Á“«b�« tÐ gšdÇ —Ëœ p¹ —œ ¨Ê«—Ëœ ÈË“UÐ œ«“¬ ÈUN²�« dÐ œ—«Ë ÈËdO�

 U?Ð X?Ý« d?Ð«d?Ð j?O?×� s¹« bM#Åv� vÞ  2πr t# rœu?ýÅv?� t?²?H?Ö v?²&Ë ‰UŠ XÝ« Ê«—Ëœ ÈË“UÐ ŸUFý 

U{d
 v#d×²�Î ±∞∞ tIO&œ p¹—œ vMF¹ œœdÖÅv� tIO&œ —œ —Ëœ ±∞∞vÞ Ê«—Ëœ Ád¹«œ jO×� Á“«b�«ÅtÐ —UÐ 

Æb¹¬Åv� XÝœÅtÐ v�«—Ëœ Ê«uð vKM« ‰u�d
 Áœ—«Ë ÈËdO� —œ v�«—Ëœ XŽdÝ Êœd# »d{ UÐ ÆœuýÅv�

 v�«—Ëœ XŽdÝ× Ê«—Ëœ jO×� × ËdO� =v�«—Ëœ Ê«uð 

®                                                                             ≥‡‡ÅÅ∂  ©P = F.π.d.n

∫Ê¬ —œ t#

P «Ë V>Š dÐ Ê«uð Ω 

FsðuO� V>ŠdÐ ËdO� Ω 



ÅÅÅÅÅÅÅ±∞≤Å

dd²� V>ŠdÐ Ê«—Ëœ Ád¹«œ dD& Ω 

n©tO�UŁ —œ —Ëœ® v�«—Ëœ XŽdÝ Ω 

∫‰U¦� ”UL� ÈËdO� ̈ È«ÅtL>ð dÖ« F dÐ«dÐ NÅ±∞∞ ŸUFý tÐ È«ÅtL>ð ŒdÇ ÈË— R —«bI�ÅtÐ ∞[≤µ¥

 XŽdÝ UÐ±µ∞ r²>OÝ —œ «— tL>ð ŒdÇ v�«—Ëœ Ê«uð ¨b¹UL� œ—«Ë tIO&œ —œ —Ëœ SIÆb¹—Ë¬ XÝœÅtÐ 

∫qŠtO�UŁ dÐ —Ëœ tÐ tIO&œ dÐ —Ëœ q¹b³ð 

Å—Ëœ
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

  

150

60
= 2 / 5

     

s
 v�«—Ëœ XŽdÝ× Ê«—Ëœ jO×� × ËdO� =v�«—Ëœ Ê«uð 

=100×2π ×0/ 254×2 / 5 ≈ 400WÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ  

vAA# ÈËdO� p¹ d~�UOÐ tL>ð jÝuð Ábý œ—«Ë ÈËdO� t# s¹« tÐ tłuð UÐ ‚u
 ‰U¦� vDš Ê«uð

s¹«dÐUMÐ ÆbM#Åv� qI²M� «— Ê«uð Ë bM#Åv� X#dŠ tL>ð ŒdÇ Ëœ sOÐ vDš  —uMÅtÐ t# XÝ« tL>ð —œ

                                                                              
—Ëœ

 dÐ«dÐ ÊU�“ bŠ«Ë —œ Ábý vÞ X
U>� vMF¹ tL>ð vDš XŽdÝ

  

π × d ×2 / 5
     

s
 U¹   4m / sÆXÝ« 

vDš Ê«uð —u²Ýœ œdÐ—U# UÐ

 tKMU
×ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅËdO� 

  

=
                   

=
100× 4

1
= 400 WÊ«uð 

ÅÅÅÅÊU�“ÅÅÅÅÅÅÅÅÅ

±‡‡∂—uðu� Ê«uð ‡‡ 

Êu²>OÄÅÅÅt²Ýœ t‡Ð Ê¬ ‰UI²�« Ë Êu²>OÄ ÈË— dÐ Ábý ‚d²×� “U‡Ö È˛d�« “« t# @M;ÅqO� v‡�«—Ëœ ÈËdO�

—Ëœ «c‡; Ë œuýÅv‡� X¹«b¼ —bMKOÝ qš«œ tÐ t# XÝ« È“U‡Ö —«bI� lÐUð ¨œuýÅv‡� qMU‡Š @M;ÅÅqO� Ë

d?O?O?G?ð e?O?� —uðu� Ê«uð ¨@M;ÅqO� nK²@� ÈU‡¼—Ëœ —œ s¹«dÐUMÐ ÆbM#Åv‡� dOOGð Ê¬ UÐ VÝUM²� @M;ÅqO�

ÆœuL� t³ÝU×� «— Ê«uð Ê«uðÅv� —uðu� “« XÐUŁ —Ëœ p¹ —œ qO;œ sOL¼ tÐ Ë œd# b¼«uš

±ÅÅÅ‡‡±‡‡∂∫—uðu� vKš«œ Ê«uð ‡‡ÅÅÅÅÅÅÅÅqMUŠ È˛d�« —«bI� Ê¬ “« XÝ«  —U³Ž —uðu� vKš«œ Ê«uð 

ÆœuýÅv� œ—«Ë XÐUŁ —Ëœ —œ —uðu� p¹ ÈU¼ÅÊu²>OÄ tÐ ÊU�“ bŠ«Ë —œ t# “UÖ “« vMOF� r−Š XšuÝ “«

≤‡‡±‡‡∂∫bOH� Ê«uð ‡‡ÅÅÅ“« h?@A� —Ëœ —œ t# XÝ« v�«uð —«bI� Ê¬ “«  —U³Ž bOH� Ê«uð 

ÆX
dÖ Ê«uðÅv� d~M; ŒdÇ U¹ @M;ÅqO�

≥‡‡±‡?‡∂∫—u?ðu?� v�dB� Ê«uð ‡‡ÅÅÅt?# v?�«u?ð —«b?I� “« XÝ«  —U³Ž —uðu� v
dB� Ê«uð 

—œ ÁdOž Ë U¼ÅÊu²>OÄ X#dŠ XNł dOOGð Ë U¼ÅÛUÄuÝ ÈU¼dM
 —UA
 ¨U¼ÅÊU&UðU¹ „UJDM« dÐ t³Kž È«dÐ

ÆœuýÅv� ·dB� @M;ÅqO� XÐUŁ —Ëœ



ÅÅÅÅÅÅ±∞≥

¥‡‡±‡‡∂©Êu²�OÄ ̀ DÝ®—bMKOÝ t�U¼œ ̀ DÝ ‡‡ÅÅÅÅ∫U¼—uðu� —bMKOÝ t�U¼œ ̀ DÝ 

ôuLF�Î∫œuL� »U>Š Ê«uðÅv� d¹“ ‰u�d
 “« Ë ÁœuÐ qJý È«ÅÁd¹«œ 

®¥‡‡∂©

  
A = d2.π

4

 qJý±‡‡∂

Ê¬ —œ t#

d   d²�Åv²�UÝ V>ŠdÐ —bMKOÝ t�U¼œ dD& Ω

AÆbýUÐÅv� lÐd� d²�Åv²�UÝ V>ŠdÐ —bMKOÝ t�U¼œ `DÝ Ω  

µ‡‡ÅÅ±‡‡∂∫—bMKOÝ bOH� r−Š U¹ v¹UłÅtÐUł r−Š ‡‡ÅÅÅ—œ —bMKOÝ qš«œ ÈUC
 

U?¹ v?¹U?łÅtÐUł r−Š «— ©sO¹UÄ ¯d� tDI� Ë ôUÐ ¯d� tDI� sOÐ® Êu²>OÄ X#dŠ ÅÁœËb×�

ÆbM¹uÖ —bMKOÝ bOH� r−Š

®µ‡‡ÅÅ∂©Vh = A.S

Sd²�Åv²�UÝ V>ŠdÐ Êu²>OÄ ”—u# Ω 

ÅÅœ«“¬ tF�UD�œ«“¬ tF�UD�



ÅÅÅÅÅÅÅ±∞¥Å

VhÆXÝ« VFJ�d²�Åv²�UÝ V>ŠdÐ —bMKOÝ p¹ bOH� r−Š Ω 

∂ÅÅÅ‡‡±‡‡∂ ∫—uðu�Åp¹ ÈU¼—bMKOÝ bOH� r−Š ‡‡ÅÅÅr−Š ŸuL−� “« XÝ«  —U³Ž

ÆœuýÅv� ÁbO−MÝ VFJ� d²�Åv²�UÝ V>ŠdÐ Ê¬ —«bI� t# —uðu� p¹ ÈU¼—bMKOÝ bOH�

®∂‡‡ÅÅ∂©VH = Vh.k

VH Ë d²O; U¹ VFJ� d²�Åv²�UÝ V>ŠdÐ —uðu� p¹ ÈU¼—bMKOÝ bOH� r−Š kœ«bFð 

ÆbýUÐÅv� U¼—bMKOÝ

∑‡‡±‡‡∂ ∫Êu²�OÄ ÈË— ‚«d²Š« jÝu²� —UA� ‡‡ÅÅÅ —U³Ž ‚«d²Š« jÝu²� —UA


Uð ŸËdý “« ”—u# ‰uÞ —œ Ábý ÈdOÖÅÁ“«b�« ÈU¼—UA
 ‰bF� “« XÝ«

—œ @M;ÅqO� tÐ «— v¹ËdO� ÊUL¼ ‚«d²Š« jÝu²� —UA
 Æ‚«d²Š« tLðUš

vMF¹ Æb¼œÅv� ‚«d²Š« dOG²� —UA
 t# œ«œ b¼«uš Êu²>OÄ ”—u# ÂULð

œU?¹“ Êu?²?>?O?Ä ÈË— “U?Ö —U?A
 œdOÖÅv�  —uM ‚«d²Š« t# È«ÅtE×;

‚«d²Š« —UA
 “« r−Š œU¹œ“« dŁ« —œ œË— dðÅsO¹UÄ Êu²>OÄ tÇd¼ Ë XÝ«

—UA
 tE×; s¹« —œ t# œuý “UÐ œËœ ÛUÄuÝ t#Åv²&Ë Uð œœdÖÅv� t²ÝU#

g?¼U?# “U?Ö ·d?Þ “« Êu?²?>?O?Ä dÐ œ—«Ë ÈËdO� Ë b¹¬Åv� sO¹UÄ ‚«d²Š«

ÆbM#ÅvL� œU−¹« È«ÅtEŠö� qÐU& Ê«uð ¨t²
U¹

bMM#Åv� ÁœUH²Ý«  U³ÝU×� —œ ‚«d²Š« jÝu²� —UA
 “« dOG²� —UA
 ÈUłÅtÐ s¹«dÐUMÐ

 UÐ jÝu²� —UA
PmôuLF� Ë Ábý Áœ«œ ÊUA� ÎÁbO−MÝ lÐd� d²�Åv²�UÝdÐ sðuO� V>ŠdÐ 

ÆœuýÅv�

∏‡‡ÅÅ±‡‡∂∫©‚«d²Š« jÝu²� ÈËdO�ÅÅ® Êu²�OÄ ÈË— ‚«d²Š« dŁR� ÈËdO� ‡‡ÅÅÅ

XŠU>� »d{ÅqMUŠ “« XÝ«  —U³Ž Êu²>OÄ ÈË— ‚«d²Š« dŁR� ÈËdO� U¹ jÝu²� ÈËdO�

Æ‚«d²Š« jÝu²� —UA
 —œ —bMKOÝ t�U¼œ

® ∑‡‡ÅÅ∂©F = A.Pm

 tDÐ«— o³Þ∑‡‡∂ ¨F«c; ÆbýUÐÅv� ‚«d²Š« jÝu²� —UA
 lÐUð ‚«d²Š« dŁR� ÈËdO� 

ÆœuýÅv� t²
dÖ dE�—œ XÐUŁ ¨”—u# ‰uÞ —œ Ê¬ —«bI�

π‡‡±‡‡∂∫Êu²�OÄ p¹ —U? ‡‡ÅÅÅ»d{ÅqMUŠ “« XÝ«  —U³Ž Êu²>OÄ p¹ —U# 

ÆÊu²>OÄ ”—u# —œ ‚«d²Š« jÝu²� ÈËdO�

®∏‡‡ ∂©W = F.S

Pm

A

F

 qJý≤‡‡∂



ÅÅÅÅÅÅ±∞µ

W Ë d²� sðuO� V>ŠdÐ Êu²>OÄ —U# SÆbýUÐÅv� d²� V>ŠdÐ Êu²>OÄ ”—u# 

±∞‡‡±‡‡∂∫@?M?
ÅqO� vDO×� XŽdÝ ‡‡ÅÅÅ—Ëœ —œ @?M?;ÅqO� vDO×� XŽdÝ 

Æb?M?#Åv?� v?Þ ÊU?�“ b?Š«Ë —œ „d?×?²?� ÊU&UðU¹ t# v²
U>� “« œuÐ b¼«uš  —U³Ž XÐUŁ

Æb¹¬Åv� XÝœÅtÐ d¹“ tDÐ«— “« „d×²� ÊU&UðU¹ ‘œdÖ —Ëœ p¹ jO×�

®π‡‡ÅÅ∂©U = D.π

ÆœuÐ b¼«uš d¹“ tDÐ«— o³Þ ÊU�“ bŠ«Ë tÐ X³>� @M;ÅqO� vDO×� XŽdÝ «c;

®±∞‡‡∂©

  

V(m/s) =
D.π.n

60

V ¨tO�UŁdÐ d²� V>ŠdÐ @M;ÅqO� vDO×� XŽdÝ n—œ @M;ÅqO� XÐUŁ —Ëœ œ«bFð 

 Ë tIO&œDËœ Ë Êu²>OÄ ”—u# dÐ«dÐ @M;ÅqO� dD&® býUÐÅv� d²� V>ŠdÐ @M;ÅqO� dD& 

 XÝ« @M;ÅqO� ŸUFý dÐ«dÐ  (D = S = 2RÆ

±±‡‡±‡?‡∂∫Êu?²?�?OÄ jÝu²� XŽdÝ ‡‡ÅÅÅ◊U?I?� —œ Êu?²?>OÄ XŽdÝ jÝu²� 

s?O?O?F?ð È«d?Ð ÆbM�U� Êu²>OÄ jÝu²� XŽdÝ «— @M;ÅqO� XÐUŁ —Ëœ —œ —bMKOÝ nK²@�

r?O?�«œÅv?� Ær?¹d?OÖÅv� dE�—œ XÐUŁ —Ëœ UÐ «— È—uðu� @M;ÅqO� ¨Êu²>OÄ jÝu²� XŽdÝ

Êu²>OÄ XŽdÝ ‰UŠ s¹« —œ ÆXÝ« Ábý qB²� @M;ÅqO� tÐ Êu²>OÄÅÅt²Ýœ jÝuð Êu²>OÄ

Ë bM#Åv� X#dŠ tÐ ŸËdý —bMKOÝ —œ tDI� s¹dðôUÐ “« Êu²>OÄ vMF¹ ÆœuÐ b¼«uš dOG²�

U?³¹dIðÎ—œ Ë t?²?ý«œ v;Ëe� dOÝ XŽdÝ Ê¬ “« bFÐ Ë bÝ—Åv� rL¹e#U� tÐ ”—u# jÝË —œ 

ÆbÝ—Åv� dHM tÐ —bMKOÝ —œ ¨X#dŠ dO>� tDI� s¹dðÅsO¹UÄ

® XÐUŁ @M;ÅqO� —Ëœ tâ�UMÇn“« Êu²>OÄ jÝu²� XŽdÝ ¨býUÐ ©tIO&œ —œ —Ëœ 

∫b¹¬Åv� XÝœÅtÐ d¹“ tDÐ«—

®±±‡‡ ∂©

  
Vm(m/s) = 2S.n

60
= S.n

30

= VmtO�UŁ dÐ d²� V>ŠdÐ Êu²>OÄ jÝu²� XŽdÝ 

= n   tIO&œ —œ @M;ÅqO� —Ëœ œ«bFð 

=Sd²� V>ŠdÐ Êu²>OÄ ”—u# 



ÅÅÅÅÅÅÅ±∞∂Å

±≤‡‡±‡‡∂ÅÅÅ‡‡ �×‡UÝ³t ðu«Ê œ«šKv �‡uð‡u—∫ t�U�“—U‡N‡Ç —u‡ðu‡� v‡K‡š«œ Ê«u‡ð t³ÝU‡×� È«d‡Ð

∫œuýÅv‡� ÁœUH²Ý« d¹“ tDÐ«— “« býUÐÅv‡� bOH� —U‡‡# X;UŠ p¹ ¨X;UŠ —U‡N‡Ç “« UNMð t‡# —bMKOÝÅp¹

®±≤‡‡∂©

  

Pi (Nm / s) =
F.Vm

4

 tDÐ«— s¹« —œVm ̈ tO�UŁ dÐ d²� V>ŠdÐ Êu²>OÄ jÝu²� XŽdÝ FV>ŠdÐ ‚«d²Š« dŁR� ÈËdO� 

 Ë sðuO�Pi  «Ë U¹ tO�UŁ dÐ d²� sðuO� V>ŠdÐ —uðu� vKš«œ Ê«uð (W)ÆbýUÐÅv� 

®±≥‡‡∂©

  

Pi (Nm / s) =
F.Vm.k

4

 ¨Ê¬ —œ t#kÆbýUÐÅv� —uðu� —bMKOÝ œ«bFð 

 j?Ð«Ë— È—«c?ÖU?ł UÐ∑ÅÅ‡?‡∂ Ë ±±‡?‡ÅÅ∂ÈU?¼—u?ðu?� È«d?Ð —u?ðu?� v?K?š«œ Ê«u?ð ¨‚u
 tDÐ«— —œ  

∫bý b¼«uš t�U�“—UNÇ

®±¥‡‡∂©

  

Pi =
Pm (N / cm2) × S(m) × A(cm2) × n(rpm) × K

30× 4

 tÐ tłuð UÐ
  
1~10N / cm2

 —UÐ (bar)±

  1=1000cm3
 d²O; (lit)

Ë

  
A(cm2) × S(cm) × k = VH (cm3 )

∫Xý«œ rO¼«uš

  
Pi (kW) =

Pm (bar) × VH (cm3 ) × nRPM

12000×100
=

Pm (bar) × VH (lit) × nrpm

1200

±≥‡‡±‡?‡∂∫n?K?²?S� ÈU¼bŠ«Ë tÐ Ê«uð q¹b³ð ‡‡ÅÅn?K?²?@� ÈU¼bŠ«Ë q¹b³ð Áu×� d¹“ —œ  

ÆXÝ« Áb�¬ d~¹bJ¹ tÐ Ê«uð

(W)  «Ë   1=1000  «ËuKO# (kW)

 ©v>OK~�« —U@Ð VÝ«®  1hp = 746  W

 ©p¹d²� —U@Ð VÝ«®
  
1Ps = 736  W

≤

±ÆXÝ« —UA
 ‰Ë«b²� bŠ«Ë p¹ —UÐ ‡‡

≤ ©ÊUL;¬® Ê«uð bŠ«Ë ‡‡P ferde Stärke UÐ dÐ«dÐ ∑≥µ[¥π∏∑µ «Ë 



ÅÅÅÅÅÅ±∞∑

∫‰U¦� È—uðu� Ê«uð   25kWVÝ« Ë v�OK~�« —U�Ð VÝ« ̈  «Ë tÐ «— —uðu� s¹« Ê«uð býUÐÅv� 

ÆbO¹UL� q¹b³ð p¹d²� —U�Ð

  

25
kW

1
×

1000W

kW
= 25000W «Ë tÐ q¹b³ð 

  

25
kW

1
×

1000W

kW
×

hp

746W
= 33 / 5hpv�OK~�« —U�Ð VÝ« tÐ q¹b³ð 

  
25

kW
1

×1000W
kW

= Ps
736W

34Psp¹d²� —U�Ð VÝ« tÐ q¹b³ð 

±¥‡‡±‡‡∂∫vJO
UJ� ÊU�b
«— ‡‡ÅÅÅbOH� Ê«uð X³�� “« XÝ«  —U³Ž —uðu� vJO�UJ� ÊU�b�«— 

ôu?LF� t, vKš«œ Ê«uð tÐÎ sOÐ vM¹eMÐ ÈU¼—uðu� —œ ∏∞ U?ð •π≤ sOÐ v8e¹œ ÈU¼—uðu� —œ Ë •∑µUð •

∏∂ÆbýUÐÅv� •

®±µ‡‡∂©

  

. m =
1Pw

Pi

 Ê¬ —œ t,Pw Ë bOH� Ê«uð Pi Ë —uðu� vKš«œ Ê«uð . mÆbýUÐÅv� —uðu� vJO�UJ� ÊU�b�«— 

±µ‡‡ÅÅ±‡‡∂∫—u?ðu?� vL−Š  —b� U¹ Èd²O! Ê«uð ‡‡ÅÅÅÅ“« X?Ý«  —U?³Ž —uðu� vL−Š Ê«uð 

—uðu� p¹ ÈU¼—bMKOÝ bOH� r−Š tÐ bOH� Ê«uð X³��

®±∂‡‡∂©
PH =

Pw

VH

 Ê¬ —œ t,Pw ¨ «ËuKO, V�ŠdÐ —uðu� bOH� Ê«uð VHV�ŠdÐ —uðu� p¹ ÈU¼—bMKOÝ bOH� r−Š 

 Ë d²O8PHÆXÝ« d²O8 dÐ  «ËuKO, V�ŠdÐ vL−Š Ê«uð 

±∂‡‡±‡‡∂∫—uðu� v
“Ë Ê«uð ‡‡ Ê“Ë tÐ —uðu� bOH� Ê«uð X³�� “« XÝ«  —U³Ž v�“Ë Ê«uð 

©sžË— Ë »¬ ÊËbÐ® Ê¬ h8Uš

®±∑‡‡∂©PG =
Pw

G

 Ê¬ —œ t,G Ë Âd?Öu?KO, V�ŠdÐ —uðu� h8Uš Ê“Ë PGÂd?ÖÅu?K?O, dÐ  «Ë uKO, V�ŠdÐ v�“Ë Ê«uð 

ÆbýUÐÅv�

±lÐUM� “« všdÐ —œ ‡‡PeÆXÝ« Ábý d,– eO� 



ÅÅÅÅÅÅÅ±∞∏Å

±∑‡‡±‡‡∂∫—uðu� —ËU²AÖ t³ÝU×� ‡‡ÅÅÅÅ@M;ÅqO� vDO×� ÈËdO� “« XÝ«  —U³Ž —uðu� —ËU²AÖ 

Æœd# »U>Š Ê«uðÅv� d¹“  —uMÅtÐ t# @M; ŸUFý —œ »d{

®±∏‡‡∂©M = F × R

∫UÐ XÝ« dÐ«dÐ b¹¬Åv� XÝœÅtÐ @M;ÅqO� “« t# ÈbOH�  —b& v
dÞ “«

®±π‡‡∂©Pw = F × V

U¹ Ë

®≤∞‡‡∂©

  

Pw =
F × V

1000

 Ê¬ —œ t#V Ë @?M?; vDO×� XŽdÝ F Êu?Ç X?Ý« @M; vDO×� ÈËdO� V = 2Rπn
60

r?O¼«uš fÄ 

∫Xý«œ

®≤±‡‡∂© Pw (kW) =
F(N) ×

2R(m)πn(rpm)

60

1000
=

M × n(rpm) ×2π
60000

~
Mn(rpm)

9550

U¹ Ë

®≤≤‡‡∂©

  

M =
Pw (kW) ×9550

n(rpm)

±∏‡‡±‡‡∂∫vL−Š Ë v�“Ë Ê«uð ‡‡ÅÅÅs¹« tÇd¼ œuýÅv� h@A� bý d#– t# v¹U¼Å‰u�d
 “« 

s¹« œËbŠ d¹“ d¹œUI� ÆbýUÐÅv� v;UŽ  UB@A� UÐ —uðu� »uš ÕdÞ ÅÁbM¼œ ÊUA� býUÐ d²AOÐ U¼Å —b&

Æb¼œÅv� ÊUA� vM¹eMÐ Ë v;e¹œ ÈU¼—uðu� “« všdÐ È«dÐ «— U¼Å —b&

       È—«uÝ vM¹eMÐ ÈU¼—uðu�≤µ Uð µ∞         ≥ Uð ¥

        È—«uÝ ‰e¹œ ÈU¼—uðu�±∏ Uð ≤µ          µ Uð ∂/µ

           È—UÐ ‰e¹œ ÈU¼—uðu�±∏ Uð ≤∏          µ/µ Uð π/µ

   —uðu� Ÿu�     PHkW / Lit

±π‡‡±‡‡∂∫—uðu� r?«dð X³�� sOOFð ‡‡ÅÅr−Š X³>� “« XÝ«  —U³Ž —uðu� r#«dð X³>� 

Æ—uðu� ‚«d²Š« ÈUC
 tÐ r#«dð ÈUC
 Ë Êu²>OÄ v¹UłÅtÐUł

PG kw / kg) .



ÅÅÅÅÅÅÅÅÅÅÅÅ±∞π

 “« vM¹eMÐ ÈU¼—uðu� —œ X³�� s¹«±∫∂ Uð ±∫±± “« ‰e¹œ ÈU¼—uðu� —œ Ë ±∫±¥ Uð ±∫≤≤ÆbýUÐÅv� 

∫œuÐ b¼«uš  —U³Ž —uðu� r%«dð X³��

®≤≥‡‡∂                              ©= .
V

h
+ Vc

Vc

r%«dð ÈUC,Å®≤¥‡‡∂                                   ©

  

Vc =
Vh

− . 1

—bMKOÝ p¹ bOH� r−Š v,dÞ “«
  
Vh = Vc (− . 1)

ôUÐ jÐ«Ë— —œ t%

. ® ©sKO�Ä«
Ω

r%«dð X³�� 

VcVFJ�d²�Åv²�UÝ V�ŠdÐ ‚«d²Š« p?Uð« r−Š Ω

VhVFJ� d²�Åv²�UÝ V�ŠdÐ —bMKOÝ bOH� r−Š Ω

ÆbýUÐÅv�

∫‰U¦� —bMKOÝ bOH� r−Š µ∞∞ r%«dð ÈUC, Ë VFJ� d²�Åv²�UÝ ∑µtÇ È«—«œ VFJ�d²�Åv²�UÝ 

øXÝ« vL%«dð X³��

  
Vh = 500cm3

  

Vc = 75cm3                 = .
Vh + Vc

Vc
=

500+ 75

75
= 7 / 7 :1

= . ?

X³�� —bMKOÝ t%uKÐ U¹ —bMKOÝdÝ n% Êœ“ @MÝ UÐ —bMKOÝdÝ dý«Ë X�UI{ dOOGð  —uL —œ

Æœd% b¼«uš dOOGð r%«dð

≤‡‡∂—u²�«dð Ê«uð ‡‡ÅÅ

XL�? s¹« —œ Ë—Ås¹« “« XÝ« È“—ËUA%  «Ëœ« “UO�œ—u� È˛d�« sO�Qð vKL« l³M� —u²%«dð Ê«uð

ÆœuýÅv� sO�Qð —u²%«dð “« t% œuýÅv� t²š«œdÄ vHK²I� ÈU¼ÅÊ«uð vÝ—dÐ tÐ

≥‡‡∂ ‡‡ÅÅ—u²�«dð ÈU¼ÅÊ«uð Ÿ«u�« “« všdÐ

 «Ëœ« œu?ý t?²?,d?Ö —U?% t?Ð t?Ž—e?� Èb?OSuð ·«b¼« tÐ vÐUO²Ýœ È«dÐ b¹UÐ —u²%«dð Ê«uð U¹  —b? 

® v?¼b?�«u?ð —u?×� Æb�dOÖÅv� ËdO� ÈbM³SU� vAA% Ë „d×� ÈU¼ÅŒdÇ ÈdOÖ—œ o¹dÞ “« vAA%PTO©

«— v�«—Ëœ Ë vAA% Ê«uð Ÿu� Ëœ d¼ b�«uðÅv� —u²%«dð pOSË—bO¼ ÁU~²Ýœ ÆbM%Åv� sO�Qð «— v�«—Ëœ Ê«uð



ÅÅÅÅÅÅÅÅÅÅ±±∞Å

ÆbýUÐÅv� d¹“ Õdý tÐ —u²%«dð Ê«uð vðU³ÝU×� jÐ«Ë— b¹UL� bOSuð

∫—u²�«dð ©ÈbM³ U�® vAA� Ê«uð ‡‡Á“«b�« Ê¬ bM³SU� ÈË— «— —u²%«dð vAA%  —b? U¹ Ê«uð 

œuýÅv� ÁbOA% Ê¬ jÝuð t% vMOýU� Ë —u²%«dð sOÐ «— ©vAA% d²�u�UM¹œ® ZMÝËdO� p¹ dÖ« Æb�dOÖÅv�

 t?H?SR� Ê«uðÅv� ¨rO¼œ —«d?FX?%d?Š X?Nł UÐ È“«u� t% «— sOýU� tÐ —u²%«dð ·dÞ “« Áœ—«Ë ÈËdO� 

 d?Ö« d~¹œ ·dÞ “« ÆX,dÖ Á“«b�« ¨XÝ«V¨b?ýU?Ð u?Kł ·dÞ tÐ sOýU� Ë —u²%«dð ÈË— gOÄ XŽdÝ 

 »d{ÅqLUŠF × VÆbM¹uÖÅv� —u²%«dð bM³SU� ÈË— vAA%  —b? «— 

®≤µ‡‡∂                   ©Pdb =
F × V
3 / 6

F = tÐ ËdO� kN

V= tÐ ÈËdAOÄ XŽdÝ km h

Pdb = tÐ vAA% Ê«uð kW

∫‰U¦�tÝ s¼¬ËUÖ p¹ ÊbOA% È«dÐ Â“ô ÈËdO� t% XÝ« Ábý hIA� ZMÝËdO� p¹ pL% tÐ 

 d?Ð«d?Ð —u²%«dð p¹ Áb�œ —œ gOš
  
25 kN —u?²?%«dð XŽdÝ Áb�œ s¹« —œ dÖ« XÝ« ÁœuÐ 

  
5 / 5 km h

ÆXÝ« —«bI� tÇ —u²%«dð ÈbM³SU� Ê«uð ÆbýUÐ

  

Pdb =
F × V
3 / 6

  

Pdb =
25 × 5 / 5

3 / 6
= 38 /19kW

‡‡ ðu«Ê œË—«�v∫ Ð�OU—È «“ ËÝU¹q Ë «œË«  %AUË—“È �U�Mb œ—ËÖ‡d¼U ̈—œ¹nÅ%sÅ¼U ̈%L³U¹sÅ¼UÈ

%AA?v Ë žOdÁ Ðt? %Lp �×u?— «�²IU‰ �O?dË ÐtÅ%U— �v?Å«,²Mb?¨ �Ib«— ?b—  —ËÈ «¹s? �×u— «“ —«ÐDt? “¹d

�×UÝ³t �vÅÖdœœ∫

®≤∂‡‡∂            ©

  

PPTO =
F ×2× π × R × n

60

F = ËdO� ‰UI²�« —u×� ÈË— —œ vÝUL� ÈËdO� ®ÅkN©

R = ËdO� ‰UI²�« —u×� Ê«—Ëœ ŸUFý ®ÅmÅ(

n = ËdO� ‰UI²�« —u×� v�«—Ëœ XŽdÝ ®ÅrpmÅ(

PPTO= ËdO� ‰UI²�« —u×� Ê«uð ®ÅkW©



ÅÅÅÅÅÅÅÅÅÅÅÅ±±±

∫‰U¦� Ê«uð ‰UI²�« —u×� —Ëœ È“—ËUA% —u²%«dð p¹ —œ 
  
540 rpm Ê¬ dD? Ë 

  
35mmXÝ« 

 —u×� ÈË— vÝUL� ÈËdO� s¹d²AOÐ t% b¼œÅv� ÊUA� U¼ÅÈdOÖÅÁ“«b�«
  
48 / 50kNÊ«eO� tÇ tÐ ÆXÝ«  

øX,dÖ Ê«uð ¨ËdO� ‰UI²�« —u×� s¹« “« Ê«uðÅv�

  

R =
35mm

2
=

0/035

2

  
n = 540 rpm

  
F = 48 / 50kN

  

PPTO = F2πRn
60

=
48 / 5 ×2π ×0/035

2
× 540

60
= 48kW

∫pO Ë—bO¼ Ê«uð ‡‡v?JOSË—bO¼ ÈU¼ÅéLÄ Ë vJOSË—bO¼ ÈU¼Åpł “« ÁœUH²Ý« Á“Ëd�« 

È«d?Ð v?³?ÝU?M?�  —b? l³M� —u²%«dð pOSË—bO¼ r²�OÝ Ë XÝ« Ábý Ê«Ë«d, —UO�Ð È“—ËUA% —œ

d?¹“ t?D?Ð«— “« vJOSË—bO¼ Ê«uð ¨vK%—uÞÅtÐ býUÐÅv� vJOSË—bO¼ ÈU¼—«eÐ« Ë U¼ÅsOýU� È“«b�«ÅÁ«—

∫œœdÖÅv� t³ÝU×�

®≤∑‡‡∂                   ©

  

Phy =
P.Q

1000

Ê¬ —œ t%

P =‰UJÝUÄ uKO% V�ŠdÐ sžË— —UA, 

Q = ‰UOÝ ÊU¹dł  bý ®tO�UŁ dÐ d²OS V�ŠdÐ ©sžË— vÐœ

Phy= «ËuKO% V�ŠdÐ vJOSË—bO¼  —b? 

ÆbýUÐÅv�

 ÂUE� —œ —UA, bŠ«ËSI® ‰UJÝUÄ Pap¹ ÈËdO� p¹ t% XÝ« È—UA, dÐ«dÐ ‰UJÝUÄ p¹ ÆXÝ« ©

¨X?Ý« p?Çu?% —U?O?�?Ð bŠ«Ë s¹« ÊuÇ ÆbM%Åv� œ—«Ë lÐd�d²� p¹ XŠU�� tÐ v×DÝ ÈË— v�uðuO�

ôuLF�Î® ‰UJÝUÄuKO% bŠ«Ë “« kPa—UÐ bŠ«Ë “« «cS XÝ« pÇu% eO� bŠ«Ë s¹« vSË ÆœuýÅv� ÁœUH²Ý« ©

®bar ‰œUF� ©
  
100000Pa U¹ 

  
100kPabŠ«Ë s¹« ¨œœdÖÅv� ÁœUH²Ý« —UA, vKLŽ bŠ«Ë p¹ Ê«uMŽÅtÐ 

ÆXÝ« uł —UA, tÐ p¹œe� ÈœbŽ dE� “«

∫vJ¹d²J « Ê«uð ‡‡sO�Qð «— XSË p¹ vJ¹d²JS« —UA, UÐ dá�¬ p¹ ÊU¹dł b�«u²Ð ÈbSu� ÁUÖd¼ 

d?¹“ tDÐ«— “« Ê«uð s¹« ÆbýUÐÅv�  «Ë vJ¹d²JS« Ê«uð bŠ«Ë ÆœuÐ b¼«uš  «Ë p¹  —b? È«—«œ bM%



ÅÅÅÅÅÅÅÅÅÅ±±≤Å

Æb¹¬Åv� XÝœÅtÐ

®≤∏‡‡∂           ©Pe = I.E

Ê¬ —œ t%

= Pe «Ë V�ŠdÐ vJ¹d²JS« Ê«uð 

I =dá�¬ V�ŠdÐ ‚dÐ ÊU¹dł  bý 

E =ÆbýUÐÅv� XSË V�ŠdÐ ‚dÐ ˛U²SË U¹ —UA, 

Ëœ È«—«œ p¹ d¼ s¹«dÐUMÐ bMýUÐÅv� vJ¹d²JS« ÊU�b�«— È«—«œ —u²%«dð —uð«d�˛ Ë dð—U²Ý« ÊuÇ

 È—u¾ð U¹ Èd¼Uþ Ê«uð vJ¹ bM²�¼ Ê«uðPi bOH� Ê«uð Èd~¹œ Ë PeÈd¼Uþ Ê«uðÅtÐ bOH� Ê«uð X³�� ̈

ÆbM¹uÖ ÊU�b�«— «—

®≤π‡‡∂                     ©
= .

Pe

Pi

œu?š t?Ð «— X?SË “« È—«b?I?� œu?š t?% vDÐ«— ÈU¼ÅrOÝ jÝuð —u²%«dð ÈU¼ÅÁbMM%Å·dB� d¹UÝ

 ˛U?²?SË U?ð Ábý V³Ý bM¼œÅv� ’UB²š«∂ U¹ ±≤ö?�U% XSË Î U?�U?²?,¬ X?NłÅs¹bÐ bÝd� v?dÐ tKOÝËÅtÐ 

ÈdÞUÐ ˛U²SË “« d²AOÐ XSË Ëœ vJ¹ Ê¬ —«bI� ¨b¼œÅv� t% È˛U²SË Uð b�«ÅÁœuL� rOEMð È—uÞ «— —uð«d�˛

ôuLF� ÆœuAÐ tBOI� s¹« Ê«d³ł V³Ý Uð býUÐÎ —uð«d�˛ ∂ Uð XSË ∑[µUð XSË Áœ“«Ëœ —uð«d�˛ Ë XSË 

±¥[µÆœuý sO�Qð ÁbMM%Å·dB� “UO� œ—u� ˛U²SË Uð Xý«œ bM¼«uš vJ¹d²JS« —UA, XSË 

∫‰U¦� v?J?¹d²JS« —UA, UÐ È—uð«d�˛ ±¥[≤ ¨XSË ≥µv?J?¹d²JS« ÊU�b�«— dÖ« b¼œÅv� ‚dÐ dá�¬ 

 —uð«d�˛∂∂∫X�ÐuKD� býUÐ •

 «Ë V�ŠdÐ —uð«d�˛ bOH� Ê«uð ©nS«

 «Ë V�ŠdÐ —uð«d�˛ È—u¾ð Ê«uð ©»

∫qŠ

©nS«Pe = I × E

  
Pe = 35 ×14 / 2 = 497W

©»Pi =
Pe

+

  

Pi =
497

0/ 66
= 753W



ÅÅÅÅÅÅÅÅÅÅÅÅ±±≥

∫‰U¦� ‰œU?F� v
U¹dł —U� ÂU~M¼ dð—U²Ý« p¹ ≤≤µvJ¹d²J�« ÊU�b
«— dÖ« bM�Åv� ·dB� dá�¬ 

 dð—U²Ý«≥µ Ê¬ bOH� Ê«uð Ë •∞[∑µøXÝ« X�Ë bMÇ dð—U²Ý« —«b� `DÝ ·ö²š« býUÐ  «ËuKO� 

∫qŠ
  
Pe =0/ 75kW = 750W

      «Ë

  

Pi =
Pe

.
 .  Pi =

750

0/ 35
= 2140

   X�Ë

  

Pi = I × E  .  E =
Pi

I
=

2140

225
= 9 / 5

¥‡‡∂—u²�«dð —œ  —b� X�« ‡‡ÅÅ

± ‡‡¥‡‡Å∂∫—u²�«dð —œ vAšdÇ  —b� X�« ‡‡ÅÅÅŒdÇ —u×� tÐ —u²�«dð p¹ X�dŠ l=u� —œ 

® ÂËUI� —ËU²AÖ p¹ sO�“ ·dÞ “« Ê¬ „d×� ÈU¼ÅŒdÇ U¹Cr¨—u²�«dð d~¹œ ·dÞ “«ÆœuýÅv� œ—«Ë ©

® vAA� ÈËdO
F bM
U� È—ËU²AÖ ¨vAA� ÈËdO
 s¹« ÆbM�Åv� œU−¹« eO
 ©F × RU¼ÅŒdÇ —u×� ÈË— 

® Æœ—Ë¬Åv?� œułËÅtÐR =„d?×?� ŒdÇ ŸUFý ©ÈU?¼ÅŒd?Ç t?Ð t?� v?¹U?¼—ËU?²AÖ lLłÅqNUŠ s¹«dÐUMÐ Æ

∫“« XÝ«  —U³Ž œuýÅv� œ—«Ë „d×�

®≥∞‡‡∂©T = Cr + (F × R)

 g?A?� ÈËdO
 tâ
UMÇ ‰UŠF „d?×?� ŒdÇ ŸUFý Ë ËdO
 ÂdÖuKO� VWŠdÐ RË d?²� VWŠdÐ 

 „d?×?� ÈU¼ÅŒdÇ ‘œdÖ XŽdÝnV?W?Š d?Ð „d?×� ŒdÇ —u×� ÈË—  —b= ¨býUÐ tIO=œ —œ —Ëœ 

ÆœœdÖÅv� t³ÝU×� d¹“  —uNÅtÐ —UYÐ VÝ«

®≥±‡‡∂©

  

PW =
T × n

716 / 2
=

(Cr + F × R) × n
716 / 2

n = „d×� ŒdÇ Ê«—Ëœ XŽdÝ ®Årpm©

R = „d×� ŒdÇ ŸUFý ®Åm©

F = —u²�«dð vAA� ÈËdO
 ®Åkgf©

Cr = „d×� ŒdÇ ÈË— ÂËUI� —ËU²AÖ ®Åkgfm©

= PW „d×� ŒdÇ ÈË— Ê«uð ®Åhp©

 ôUÐ ÈÅtDÐ«— —œ

  

FRn
716 / 2

 Ë ÁœuÐ bOH�  —b= UÐ dÐ«dÐ 

  

Cr.n
716 / 2

gšdÇ tÐ ◊uÐd�  —b= X^« 

Æb¼œÅv� ÊUA
 «— —u²�«dð ÈU¼ÅŒdÇ



ÅÅÅÅÅÅÅÅÅÅ±±¥Å

 tDÐ«— s¹« —œ∑±∂[≤ U¼bŠ«Ë q¹b³ð XÐUŁ V¹d{ 

  

2× 3 /14

60× 75
ÆbýUÐÅv� 

≤‡‡¥‡‡Å∂ÅÅÅ‡‡? «/X -b—   Geýv œ— ðd?«�²u—∫ ðd«%²u?—È —« œ— �Ed Ð~Od¹b? %t —ËÈ “�Os ¹U

łUœÁ �¦öÎ �dÞu» Šd%X �vÅ%Mb¨ «Öd? �×Oj ÇdŒ �×d„ ¬Ê 
  
l0 ÐUýb ,ULKtÅ«È %t ðd«%²u— ÐU ¹p ÐU—

Ödœ‘ Çd?Œ —ËÈ “�Os Þv? �vÅ%Mb? ��UËÈ l �v?ÅÐUýb? %t ?b—È %L?²d «“ 
  
l0 šu?«¼b ÐuœÆ «¹s? %U¼g

�dÐu◊ Ðt SGe‘ ®ÐJ�u« © ÇdŒÅ¼UÈ �×d„ —ËÈ “�Os «ÝXÆ SGe‘ ¹U ÐJ�u«  —« �vÅðu«Ê ÐU —«ÐDt “¹d

�AUÊ œ«œ∫

®≥≤‡‡∂©

  

S =
l0 − l

l0
=1−

l
l0

 t?DÐ«— s¹« —œSôu?L?F?� Ë Áœu?Ð bFÐ ÊËbÐ Ë ‘eGS —«bI� Îd?Ö« Æœœd?ÖÅv?� ÊUOÐ bL—œ V�ŠdÐ 

 XÐUŁ XŽdÝ UÐ —u²%«dð „d×� ÈU¼ÅŒdÇn‘eGS ÊËbÐ —u²%«dð ÈËdAOÄ XŽdÝ ̈ b�œd~Ð tIO?œ dÐ —Ëœ 

∫UÐ œuÐ b¼«uš dÐ«dÐ ©ÈdE� XŽdÝ®

®≥≥‡‡∂©

  

V0 =
l0 × n
60

∫UÐ œuÐ b¼«uš dÐ«dÐ XŽdÝ ¨býUÐ ‘eGS UÐ Á«dL¼ X%dŠ t% vð—uL —œ

®≥¥‡‡∂©V =
l × n
60

 ·cŠ UÐ s¹«dÐUMÐn jÐ«Ë— “« ≥≥‡‡∂ Ë ≥¥‡‡∂∫Xý«œ rO¼«uš vF?«Ë XŽdÝ 

®≥µ‡‡∂©

  

V = V0 × l
 l0

 ÅtDÐ«— tÐ tłuð UÐ≥µ‡‡∂ t%Ås¹« Ë 

  

l
l0

=1− S∫Xýu� Ê«uðÅv� býUÐÅv� 

®≥∂‡‡∂©
  
V = V0(1− S)

V = tO�UŁ dÐ d²� V�ŠdÐ —u²%«dð ÈËdAOÄ XŽdÝ (m / s)

 ÈËU?�?� bM³SU� ÈË— vAA% ÈËdO� tÇdÖ« ‰UŠF©Èb?M?³SU� Ê«uð® Áb�¬ XÝœÅtÐ  —b? ¨býUÐ 

∫UÐ bý b¼«uš dÐ«dÐ

®≥∑‡‡∂©

  

P =
F × V

75
=

F × V0

75
(1− S) =

F × V0

75
−

F × V0

75
S



ÅÅÅÅÅÅÅÅÅÅÅÅ±±µ

∫Ê¬ —œ t%

P = —UIÐ VÝ« V�ŠdÐ —u²%«dð vAA% Ê«uð ®Åhp©

F = ËdO� ÂdÖuKO% V�ŠdÐ vAA% ÈËdO� ®Åkgf©

  
V0

 = tO�UŁ dÐ d²� V�ŠdÐ —u²%«dð ÈdE� ÈËdAOÄ XŽdÝ (m / s)

V = tO�UŁ dÐ d²� V�ŠdÐ —u²%«dð vF?«Ë ÈËdAOÄ XŽdÝ (m / s)

S =  «u�JÐ ®©bFÐ ÊËbÐ

 t?SœUF� ÂËœ XL�?≥∑‡?‡∂  —U?³Ž vMF¹ 

  

F × V0

75
SÊU?A?� «— —u²%«dð —œ výeGS  —b? X,« ¨

 Ë Áœ«œ

  

F × V0

75
ÆbM%Åv� hIA�«— v�U� ÈbM³SU� Ê«uð 

∫‰U?¦� d?D?? U?Ð È“—ËU?A?%—u?²?%«dð p¹ ©„d×� ŒdÇ® VIŽ ŒdÇ 
  
1/ 836m Áb?�œ —œ ≤—œ 

 œËbŠ±∂Ë X?,d?Ö —«d?? g?¹U?�“¬ œ—u?� »u?Þd� sO�“ p¹ —œ —u²%«dð s¹« ÆœœdÖÅv� tIO?œ —œ —Ëœ 

 dÐ«dÐ œd% vÞ sO�“ ÈË— ŒdÇ ‘œdÖ —UÐ p¹ UÐ —u²%«dð t% È«ÅtKLU, bý hIA�
  
l = 4 / 8mÁœuÐ 

 —u²%«dð bM³SU� ÈË— gA% ÈËdO� Ë
  
F = 2575kgfÈbM³SU� Ê«uð Ë výeGS  —b? X,« ÆXÝ« ÁœuÐ 

∫b¹¬Åv� XÝœÅtÐ d¹“  —uL tÐ v�U�

ŒdÇ jO×�  

  

l0 = 2πr = 2× π ×
1/ 836

2
= 5 / 76m

   «u�JÐ Ê«eO�

    
S =

l0 − l
l0

=
5 / 76 − 4 / 8

5 / 76
=0/167 = - 16 / 7

 ÈdE� XŽdÝ

  

V0 =
l0 × n
60

=
5 / 76 ×16

60
=1/ 536m / s

  ‘eGS UÐ Á«dL¼ —u²%«dð XŽdÝ

  

V =
l × n
60

=
4 / 8 ×16

60
=1/ 28m / s

  

=
F × V0

75
× S =

2575 ×1/ 536

75
×0/167 = 8 / 8hp = 6 / 47kWvýeGS  —b? X,« 

  

=
F × V0

75
=

2575 ×1/ 536

75
= 52 / 73hp = 38 / 77kWv�U� ÈbM³SU� Ê«uð 



ÅÅÅÅÅÅÅÅÅÅ±±∂Å

s�dL�

±ÆbOM% n¹dFð «— d¹“  UŠöDL« ‡‡

—uðu� r%«dð X³�� ¨—uðu� v�“Ë Ê«uð ¨Êu²�OÄ —U% ¨—uðu� vKš«œ Ê«uð

≤ X?Žd?Ý —œ s?¼¬ËUÖ UÐ —u²%«dð p¹ t% v²?Ë «dÇ ‡‡ÅÅ
  
5km hX?šu?Ý ·dB� b�“Åv� rIý 

 XŽdÝ UÐ ·UL ÁœUł —œ t% XÝ« v�U�“ “« d²AOÐ
  
10km hÆbM%Åv� X%dŠ 

≥ XŽdÝ —œ t% «— È—u²%«dð vAA% Ê«uð ‡‡ÅÅ
  
12km hvAA% ÈËdO� ‰ULŽ« UÐ «— vÐUIAÐ t−MÄ 

  16kNÆbOM% sOOFð bA%Åv� 

¥ —uðu�Ë—bO¼ p¹ tÐ sžË— ÈœË—Ë ‡‡
  
20lit s Ê¬ vłËdš Ë ÈœË—Ë sOÐ —UA, X,« Ë   2bar

 Áœ“UÐ UÐ —uðu�Ë—bO¼ s¹« vJOSË—bO¼ Ê«uð XÝ«±∞∞ÆbOM% sOOFð «— bL—œ 

µ UBIA� tIDM� U¹ ÊU²ÝdM¼ —œ ‰Ë«b²� ÈU¼—u²%«dð “« vJ¹ ÈULM¼«— tâÐU²% tÐ tFł«d� UÐ ‡‡Å

ÆbOM% sOOFð Ê¬ È«dÐ «— d¹“

ÈbM³SU� Ê«uð d¦%«bŠ ‡‡

tDI� tÝ ‰UBð« Ê«uð dE� “« —u²%«dð Ÿu� ‡‡

ËdO� ‰UI²�« —u×� v�«—Ëœ  —b? ‡‡
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r²H¼ qB/

È“—ËUA� ÈU¼ÅsOýU� Ë —u²�«dð œUB²-«

±‡‡∑n¹—UFð Ë rO¼UH� ‡‡

È“—ËU?A?% ÈU?¼Ås?O?ýU?� X?¹d¹b� pHM¹ô ¡eł È“—ËUA% ÈU¼ÅsOýU� oO?œ »U�Š È—«bN~�

È“—ËUA% t�ÝR� ÈU¼b�¬—œ Êœd% d¦%«bŠ ̈ È“—ËUA%  ÈU¼ÅsOýU� X¹d¹b� —œ v¹UN� ·b¼ ÆbýUÐÅv�

“« vCFÐ t% XÝ« Â“ô «b²Ð« —œ ÆXÝ« Ê¬ ÈU¼ÅtM¹e¼ Êœd% q?«bŠ Ë sOýU� Áœ“UÐ g¹«e,« UÐ tŽ—e� U¹

Æœuý n¹dFð qB, s¹«  UŠöDL« Ë  «—U³Ž

±‡‡±‡‡Å∑‡‡∫t?�U�“«dð p?¹ v?SU?� l?{Ë t?% v?ÐU?�?×ð—uL “« XÝ«  —U³Ž ÊöOÐ U¹ t�U�“«dð 

Æb¼œÅv� ÊUA� sOF� a¹—Uð —œ «— t�ÝR�

≤‡‡±‡‡Å∑‡‡∫v¹«—«œ p?¹  «“U?O²�« Ë ‚uIŠ Ë œuNA�dOž Ë œuNA� ‰«u�« tOK% “« bMð—U³Ž 

t�ÝR�

ÆbMM%Åv� rO�Ið œuNA�dOž Ë XÐUŁ ¨È—Uł ¨t²Ýœ tÝ tÐ «— t�ÝR� p¹ ÈU¼Åv¹«—«œ

∫È—Uł v¹«—«œ ‡‡ n «ÊU¹dł—œ Ë p¹œe� ÁbM¹¬ —œ œË—Åv� —UE²�« t% XÝ« v�ö?« “«  —U³Ž 

∫“« bMð—U³Ž È—Uł ÈU¼Åv¹«—«œ Âö?« Æœuý q¹b³ð ‰uÄ tÐ t�ÝR�  UOKLŽ ÈœUŽ

∫‚ËbM�pÇ ̈ ”UMJÝ« “« rŽ« X%dý U¹ hIý p¹ ÈbI� ÈU¼ÅÈœułu� tOK% “«  —U³Ž t% 

«—ÅÊ¬ v?L?Ý« m?K³� ÂULð p�UÐ tÐ tz«—« i×� tÐ t% XÝ« v?«—Ë« ÂULð vK%—uÞÅtÐ Ë vJ�UÐ ÈU¼ÅtS«uŠ Ë

ÆœuýÅv� È—«bN~� v�UJ� tÇ —œ t%Ås¹« “« dE�Å·dL œuL� ‰uLË Ê«u²Ð

 ∫Ê«—U?J¼bÐs?J?L?� t?% d?~¹œ  U�ÝR� U¹ ’UIý« “« ÊU�“UÝ p¹  U³SUD� “« XÝ«  —U³Ž

ÆbýUÐ Ábý qLUŠ tO�� ‘Ëd, U¹ U¼ÅÊ¬ tÐ Â«Ë ÈUDŽ« t−O²� —œ XÝ«

∫ôU� Èœułu�l?u� —œ ÂULð tLO� Ë ÂUš œ«u� Ë Ábý t²šUÝ U¹ Ë Ábý È—«b¹dš ÈU¼ôU% q�Uý 

ÆbýUÐÅv� t�U�“«dð rOEMð

∫ U�ËeK� U?O?K?L?Ž ÂU−�« —uEM� tÐ œuš t�«“Ë— ·dB� È«dÐ t�ÝR� t% XÝ« v�“«uS tOK% 

Ë d¹d×²S«ÅÂ“«uS Ÿ«u�« bM�U� XÝ« œułu� t�U�“«dð rOEMð l?u� —œ Ë Áœd% È—«b¹dš Ê¬ d¹UE� Ë È—«œ«
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ÆÁdOž Ë sÐ—U% ¨cžU% ¨d³Lð sOMâL¼

∫U¼ÅXš«œdÄÅgOÄXš«œdÄ œdOÖÅv�  —uL ÁbM¹¬ —œ t% vðU�bš U¹ U¼ôU% XLO? t%Åvð—uL —œ 

ÆœuýÅv� t²HÖ Xš«œdÄÅgOÄ Ê¬ tÐ býUÐ Ábý

∫X?ÐU?Ł v¹«—«œ ‡‡ »b?O?Su?ð Ë v?�U?Ö—“U?Ð —u?�« ‘œd?Ö È«dÐ t% œuýÅv� t²HÖ v¹«—«œ “« v�ö?« tÐ 

∫“« b�«Å —U³Ž XÐUŁ ÈU¼Åv¹«—«œ Âö?« ÆbýUÐÅvL� œuÝ qOB×ð Ë ‘Ëd, U¼ÅÊ¬ tONð “« —uEM� Ë ÁœuÐ È—Ëd{

 ∫tOŁUŁ«b?M?%Åv?� È—«b¹dš t�ÝR� q×� —œ ÁœUH²Ý« —uEM� tÐ ÊU�“UÝ t% XÝ« v¹U¼ôU% tOK%

ÆvSbML Ë eO� ¨t�H? ¨»U�ŠÅsOýU� ¨d¹d×ðÅsOýU� ¨dSu% bM�U�

∫ ô¬Ås?OýU�¨È“—ËU?A?%  ô¬Ås?O?ýU?� b?M?�U?� Ábý È—«b¹dš ÈbOSuð ÈU¼ÅsOýU� tOK% ÈUNÐ 

ÆvK¹b³ð l¹UML Ë È“UÝÅÁ«—

∫tOKI½ qzUÝË¨ÊUÝ—Åt�U� —uð ¨Ê«bM�—U% f¹ËdÝ ”uÐuð« bM�U� tOKI� qzUÝË tOK% ÈUNÐ q�Uý 

ÆbýUÐÅv� ÁdOž Ë ÊuO�U% Ë q�UŽd¹b� qO³�uð«

∫sO�“q?O?³?? “« v?ł—U?I?� È«dÐ dÖ« t²³S« býUÐÅv� t�ÝR� tÐ oKF²� v{«—« tOK% XLO? q�Uý 

ÁœËe?,« g?¹U?N?Ð t?Ð b?ýU?Ð Â“ô Ê¬ d?¹U?E?� Ë È—«œd?³?%U?š Ë Ê¬ —œ œu?łu‡� ÈU‡¼Å‚öðU‡Ð Êœd% pAš

ÆœœdÖÅv�

∫ÊUL²šUÝ“« v?H?K?²?I� bLUI� È«dÐ t% XÝ« q�Uý «— t�ÝR� tÐ oKF²� ÈU¼ÅÊUL²šUÝ XLO? 

ÆbýUÐ Ábý —«cÖ«Ë Á—Uł« tÐ U¹ Ë U¼—U³�« ¨ÁU~ýËd, ¨ «—«œ« q×� qO³?

∫œu?NA�dOž v¹«—«œ ‡‡ Ãœu?łË UÐ t% býUÐÅv� t�ÝR� vSU� ‚uIŠ Ëeł œuNA�dOž v¹«—«œ 

X?ÝœÅt?Ð ‰uÄ Xš«œdÄ UÐ ÊuÇ bM²�¼ ‘“—« È«—«œ t�ÝR� È«dÐ vSË X�O� œuNA� Ã—Uš —œ t%ÅÊ¬

ÆœdÐ ÂU� «— d¹“ ‚uIŠ Ê«uðÅv� Ê¬ Âö?« s¹d²LN� “« bM²�¼ ‰uÄ UÐ vÐU¹“—« qÐU? U¹ bM¹¬Åv�

∫vKH0dÝË ÊU?¹d?²?A� Ë vð—U−ð  dNý “« ÁœUH²Ý« tÐ X³�� t�ÝR� t% vIŠ “« XÝ«  —U³Ž 

ÆbM%Åv� «bOÄ œuš  —U−ð q×�

∫Ÿ«d²š« oŠo?Š Ê¬ Ÿd²I� U¹ nýU%ÅtÐ b¹bł Ÿ«d²š« U¹ ·UA²%« r�? d¼ ◊uÐd� sO�«u? oÐUD� 

b?¹U?L?� ÁœU?H?²?Ý« œu?š Ÿ«d?²š« U¹ ·UA²%« “« —dI�  b� —œ Ë sOF� j¹«dý o³Þ dÐ t% b¼œÅv� È—UB×�«

ÆbýUÐ ÁbOÝ— X³Ł tÐ œUMÝ« X³Ł Á—«œ« —œ v�u�U?  «—dI� oÐUD� —uÐe� Ÿ«d²š« U¹ ·UA²%« t‡%ÅÊ¬ dÐ ◊ËdA�

∫d~¹œ v6U� ‚uIŠÆÁdOž Ë —UA²�« oŠ ¨“UO²�« oŠ qO³? “« 

≥‡‡± ‡‡Å∑‡‡∫v¼bÐ X³�� t�ÝR� ÊU³ŠUL “« dOž tÐ ’UIý« ÂULð t% XÝ« v?uIŠ “«  —U³Ž 

œ«d?,« t?Ð t?% X?Ý« v?G?SU?³?� “«  —U?³?Ž t?�?ÝR?� p¹ v¼bÐ d~¹œ  —U³Ž tÐ Æb�—«œ t�ÝR� v¹«—«œ tÐË 
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ôuLF� v¼bÐ s¹« Ë býUÐÅv� —UJ¼bÐ d~¹œ  U�ÝR�ÎœułËÅtÐ Â«Ë X,U¹—œ dŁ« dÐ U¹ tO�� b¹dš t−O²� —œ U¹ 

Æb�«ÅÁœd% rO�Ið XÐUŁ Ë È—Uł t²Ýœ Ëœ tÐ «— v¼bÐ ÈU¼Å»U�Š Æb¹¬Åv�

∫È—Uł ÈU¼Åv¼bÐ ‡‡ n «Ê«uMŽ d¹“ ¨býUÐ È—Uł v¹«—«œ Xš«œdÄ q×� t% v¼bÐ “« v�ö?« 

∫“« bMð—U³Ž È—Uł v¼bÐ Âö?« ÁbLŽ b�uýÅv� ÈbMÐÅtI³Þ È—Uł v¼bÐ

∫Ê«—UJ½U²7ÐôuLF� Ë býU³� ÈbMÝ tÐ vJ²� t% œuýÅv� q�Uý «— t�ÝR� “« v�u¹œ Ît−O²� —œ 

Æb�«ÅÁbý qLUŠ Â«Ë X,U¹—œ U¹ tO�� —uÞÅtÐ ôU% b¹dš

∫vM²š«œdÄ œUMÝ«b¹UŽ Â«Ë X,U¹—œ U¹ ôU% b¹dš dŁ« dÐ t% b�«Åt�ÝR� “« v�u¹œ q�Uý Âö?« s¹« 

ÆbMýUÐ bMÝ tÐ vJ²� Ë Ábý t�ÝR�

∫b?�¬—œ X8U¹—œ gOÄö?³?  U�bš U¹ U¼ôU% XLO? tâ�UMÇ Î‚ö?ð« Ê¬ t?Ð X,U¹—œ gOÄ œuý ‰uLË 

«— ‰uB×� Êœd‡% ‘Ëd,ÅgOÄ U¹ Á—U‡łô«Å‰U‡� X,U¹—œ gOÄ Ê«u‡ðÅv‡� U¼ÅX,U¹—œÅgOÄ Ÿ«u‡�« “« ÆœœdÖÅv‡�

ÆœdÐ ÂU�

∫X?ÐUŁ ÈU¼Åv¼bÐ ‡‡ »r?O?E?M?ð a¹—Uð “« ‰U�J¹ “« gOÐ U¼ÅÊ¬ bOÝ—dÝ t% v¼bÐ “« v�ö?« tÐ 

ôu?LF� XÐUŁ v¼bÐ ÆbM¹uÖ XÐUŁ v¼bÐ ¨býUÐ t�U�“«dðÎXKŽ tÐ U¹ Ë XÐUŁ v¹«—«œ nK²I� Âö?« b¹dš “« 

ÈU¼ÅÂ«Ë ¨vM¼— Êu¹œ ∫“« b�«Å —U³Ž XÐUŁ ÈU¼Åv¼bÐ rN� Âö?« Æb¹¬Åv� œułËÅtÐ  bLS«Åq¹uÞ Â«Ë cš«

Æt{d? ‚«—Ë« Ë  bLS«Åq¹uÞ

¥‡‡± ‡‡Å∑∫t?¹U�dÝ ‡‡X?³?�?� t?�ÝR� p¹ ÊU³ŠUL U¹ VŠUL oŠ “« XÝ«  —U³Ž t¹U�dÝ 

Ë n?K?²I� d¹Uš– q�Uý tJKÐ œ—«b� «— t¹U�dÝ ÂUNÝ ÂuNH� jI, t�U�“«dð —œ t¹U�dÝ Æt�ÝR� ‰«u�«ÅÅtÐ

ÆœuýÅv� eO� t�ÝR� œuÝ

∫t¹U�dÝ ÂUNÝÆbM¹uÖ t¹U�dÝ ÂUNÝ «— t¹U�dÝ Ê«uMŽ tÐ Á—œUL ÂUNÝ 

 ∫d¹Uš–ÊU³ŠUL v�uLŽ lL−�  ULOLBð tKOÝËÅtÐ U¹ v�u�U?®  ËUH²�  UNł tÐ nK²I�  U�ÝR�

ÆbM¹uÖ ÁdOš– U¼ÅÊ¬ tÐ t% b�—«cÖÅv� —UM% —U³²Ž«  —uLÅtÐ Ë vMOÐÅgOÄ vGSU³� ©ÂUNÝ

∫v?? U?� Á—Ëœt??O??N??ð t??Ð Â«b???« Ê¬ ÊU??¹U??Ä —œ t??�?ÝR?� t?% v?�U?�“  b?� “«  —U?³?Ž v?SU?� Á—Ëœ 

t?SU?�?J?¹ U¹ t¼U� gý ¨t¼U� tÝ ¨t¼U� p¹ XÝ« sJL� Á—Ëœ s¹« Æb¹UL�Åv� v¹UN� ÈU¼Å»U�ŠÅ —uL

ôuLF� ÆbýUÐÎbM�U� vSU� ‰UÝ «—ÅÊ¬  —uL s¹« —œ t% œuýÅv� t²,dÖ dE� —œ v�Lý ‰UÝÅp¹ vSU� Á—Ëœ 

ÆbýUÐ Ê¬ “« dOž U¹ bMHÝ« dš¬ Uð s¹œ—Ëd, ‰Ë« “« vL¹uIð ‰UÝ UÐ oÐUD� XÝ« sJL� Ë

µ‡‡ÅÅ± ‡‡Å∑ ∫tM¹e¼ ‡‡—U% È«dÐ Ê¬ “« ÁœUH²Ý« t% ‘“—« UÐ ÈôU% ·dB� “« XÝ«  —U³Ž tM¹e¼ 

ÆXÝ« Â“ô ÈbOSuð bŠ«Ë p¹
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∂‡‡ÅÅ±‡‡Å∑∫b�¬—œ ‡‡U¼ÅÊU��«  U�bš “« sOF� ÊU�“ vÞ t% vSuÄ  «b¹UŽ Áó¹Ë tÐ ¨ÈœU� l,UM� 

ÆœuýÅv� ÁbO�U� b�¬—œ œœdÖÅv� qLUŠ v¹«—«œ ÊœdÐ —U% tÐ “« U¹

∑‡‡ÅÅ±‡‡Å∑∫œuÝ ‡‡ÆœuýÅv� t²HÖ œuÝ b�U�Åv� v?UÐ b�¬—œ “« bOSuð tM¹e¼ d�% “« fÄ tâ�¬ 

∫œuÝ Œd� U¹ ÁdNÐ Œd�hIA� v�U�“ —œ ̈ d~¹œ hIý ‰uÄ “« ÁœUH²Ý« ‰U³? —œ t% XÝ« vSuÄ 

ôuLF�®ÎôuLF� Ë œuý Xš«œdÄ b¹UÐ ©‰UÝÅp¹ ÎÆœuýÅv� t³ÝU×� ‰uÄ qL« “« ÈbL—œ  —uLÅtÐ 

Ë v¼bÐ lLł UÐ XÝ« ÈËU�� v¹«—«œ Âö?« lLł t% XÝ« s¹« t�U�“«dð d¼  UOLuBš “« vJ¹

∫vMF¹ t¹U�dÝ

 v¼bÐ ´ t¹U�dÝ=v¹«—«œ 

U¹ Ë v¼bÐ− v¹«—«œ =t¹U�dÝ 

U¹ Ë t¹U�dÝ− v¹«—«œ =v¼bÐ 

t�U�“«dð rOEMð t¹UÄ Ë ”UÝ« bM�U� È—«bÐU�Š vKL« tSœUF� U¹ t�U�“«dð tSœUF� «—ÅÊ¬ t% ‚u, tSœUF�

ÆXÝ« È—«bÐU�Š  UOKLŽ “« d~¹œ È—UO�Ð Ë

≤‡‡∑È“—ËUA� ÈU¼ÅsOýU� tM¹e¼ ‡‡

ÈU¼ÅtM¹e¼ Ë XÐUŁ ÈU¼ÅtM¹e¼ q�Uý ©sOýU� U¹ —u²%«dð® È“—ËUA% sOýU� p¹ ÈU¼ÅtM¹e¼ vK%—uÞÅtÐ

X?ÐUŁ vSU� ‰UÝÅp¹ q?«bŠ È«dÐ Ê¬ mK³� t% œuýÅv� ‚öÞ« v¹U¼ÅtM¹e¼ tÐ XÐUŁ ÈU¼ÅtM¹e¼ ÆbýUÐÅv� dOG²�

Ë ˛«—UÖ ¨t¹U�dÝ œuÝ ¨„öN²Ý« ÈU¼ÅtM¹e¼ bM�U� œuýÅvL� qLUŠ Ê¬ —œ ÈdOOGð t�uÖÅêO¼ Ë b�U�Åv� v?UÐ

ÆtLOÐ

d?O?OGð sOýU� p¹ —U%—«bI�  «“«u� tÐ t% bM²�¼ v¹U¼ÅtM¹e¼ ôUÐ ÁËdÖ ·öšdÐ dL²�� ÈU¼ÅtM¹e¼

s¹« t% XHÖ Ê«uðÅv� sOMâL¼ ÆXÝ« hOIAð qÐU? —U% ÂuKF� ÊU�“ p¹ vÞ v²Š  «dOOGð s¹« Ë bMM%Åv�

sOF� —«bI� tÐ ÃUO²Š« bOSuð “« sOF� —«bI� È«dÐ ÊuÇ ÆbM%Åv� dOOGð sOýU� bOSuð —«bI� tÐ X³�� U¼ÅtM¹e¼

ö¦� ÆbMM%Åv� v?dð d~¹bL¼ ÈUÄÅtÐUÄ tM¹e¼ —«bI� Ë —U% —«bI� Ë XÝ« —U%ÎÃUO²Š« —u²%«dð p¹ —U% È«dÐ 

d²AOÐ Ê¬ sžË— Ë XšuÝ ·dB� —«bI� bM% —U% d²AOÐ —u²%«dð s¹« Á“«b�« d¼ XÝ« sžË— Ë XšuÝ tÐ

tÐ ◊uÐd� dL²�� ÈU¼ÅtM¹e¼ Ë ÁœuÐ sOýU� U¹ —u²%«dð XOJSU� tÐ ◊uÐd� XÐUŁ ÈU¼ÅtM¹e¼ s¹«dÐUMÐ ÆœuýÅv�

∫rOM% ÈbMÐÅrO�Ið d¹“  —uL tÐ rO�«uðÅv� «— tM¹e¼ nK²I� Âö?« ÆbýUÐÅv� Ê¬ “« ÁœUH²Ý« Ë —U%

‡‡ ‰Ë«∫q�Uý XÝ« sOýU� XOJSU� tÐ ◊uÐd� t% XÐUŁ ÈU¼ÅtM¹e¼ 

t²,— —U%ÅtÐ t¹U�dÝ U¹ b¹dš XLO? „öN²Ý« ‡‡
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t²,— —U%ÅtÐ t¹U�dÝ U¹ b¹dš XLO? œuÝ ‡‡

tLOÐ tM¹e¼ ‡‡

È—«bN~� —U~�U¼ U¹ ÁU~H?uð tM¹e¼ ‡‡

 UOSU� tM¹e¼ ‡‡

‡‡ ÂËœ∫q�Uý XÝ« sOýU� UÐ —U% tÐ ◊uÐd� t% dL²�� ÈU¼ÅtM¹e¼ 

v,dB� ‚dÐ U¹ XšuÝ tM¹e¼ ‡‡

sžË— tM¹e¼ ‡‡

sOýU� U¹ —u²%«dð È«dÐ pO²Ýô b¹dš tM¹e¼ ‡‡

f¹ËdÝ Ë È—«bN~� tM¹e¼ ‡‡

 «dOLFð tM¹e¼ ‡‡

sOýU� U¹ —u²%«dð vÖbM�«— tÐ ◊uÐd� ÈU¼ÅtM¹e¼ ‡‡

±‡‡≤‡‡∑∫„ö?N²Ý« ‡‡d?Ł« —œ sOýU� ÈœUB²?« ‘“—« —œ g¼U% “« XÝ«  —U³Ž „öN²Ý« 

“« v?ýU?�  —U?�?š ¨v?F?O?³?Þ g?¹U?Ýd?‡?, ¨sOýU� ‰b‡� Êbý tMN% t−O²� —œ „ö‡N‡²Ý« ÆÊU‡�“ XýcÖ

œu?łËÅt?Ð Èu?ł j?¹«d?ý d?Ł« —œ g?¹U?Ýd?, U?¹ v?Öœ“«u¼ ¨vÖœ—uš ¨vÖœ“Å@�“ ¨jKž œdÐ—U% U¹ ·œUBð

Æb¹¬Åv�

∫“« bMð—U³Ž „öN²Ý« sOLIð “« ÁbLŽ ·b¼ Ëœ

qLF²�� ÈU¼ÅsOýU� ‘Ëd, ‘“—« U¹ “Ë— ‘“—« sOOFð ∫nS«

ÆÈ“—ËUA% ÈU¼ÅsOýU� t�ôUÝ ÈU¼ÅtM¹e¼ t³ÝU×� È«dÐ „öN²Ý« ÈU¼ÅtM¹e¼ sOOFð ∫»

Ê¬ “Ë— ‘“—« t% œuýÅv� Ã—Uš Áœ— “« Ë Ábý pKN²�� ÈœUB²?« ÿU×S “« v�U�“ sOýU� p¹

œuýÅv� ÁœdÐ —U%ÅtÐ „öN²Ý« t³ÝU×� È«dÐ vHK²I� ÈU¼Å‘Ë— ÆbýUÐ Ê¬ vÞUIÝ« ‘“—« dÐ«dÐ sOýU�

ÆœuýÅv� t²š«œdÄ œ—«œ v�uLŽ œdÐ—U% t% výË— tÐ Y×³� s¹« —œ t%

∫vDš ‘Ë— tÐ „öN²Ý« t³ÝU×�vÞUIÝ« ‘“—« Êœd% d�% “« vDš ‘Ë— —œ „öN²Ý« 

Æb¹¬Åv� XÝœÅtÐ ‰UÝ V�ŠdÐ sOýU� bOH� dLŽ dÐ Ê¬ rO�Ið Ë tOSË« XLO? “«

®±‡‡∑©D =
P − S

L
Ê¬ —œ t%

D = t�UOSUÝ „öN²Ý« ®©ì U¹ Ë ‰U¹—

P = ÁU~²Ýœ tOSË« XLO? ®©ì U¹ Ë ‰U¹—



ÅÅÅÅÅÅÅÅÅÅ±≤≤Å

L = ÁU~²Ýœ bOH� dLŽ ®©XŽUÝ U¹ Ë ‰UÝ

S = vÞUIÝ« ‘“—« ®©ì U¹ Ë ‰U¹—

d¦%« jÝuð Ê¬ “« ÁœUH²Ý« g¹«e,« qOSœ ‘Ë— s¹« “« ÁœUH²Ý« UÐ „öN²Ý« tM¹e¼ t³ÝU×� vÖœUÝ

U?� —u?A?% È—«œ« Ë v?ðUOSU‡� ¨vðU³ÝU‡×‡� ÈU‡¼ÅÊU�“UÝ Ë È“—ËUA% ÈU‡¼ÅsOýU� ÊU‡JSU‡� Ë Ê«d¹b‡�

t?²?š«œd?Ä ’u?B?š s?¹« —œ È«Åt?�u?L?� d?%– tÐ ‘Ë— s¹« œdÐ—U% d²NÐ „—œ XSuNÝ È«dÐ ÆXÝ« Ábý

ÆœuýÅv�

∫‰U¦� sÝuÖd,Åv�� —u²%«dð p¹ ©u�® b¹dš XLO? ≤∏µ œËbŠ —œ ∂µÅ® ‰U¹— ÊuOKO� PdLŽ Ë ©

 È“—ËUA% œUNł  —«“Ë —œ ‰u¾�� e%«d� œUNMAOÄ ”UÝ«dÐ Ê¬ bOH�±≥® ‰UÝ L“« fÄ Ê¬ ‘“—« Ë ©

 tÐ p¹œe� bOH� dLŽ∂® ‰U?¹— ÊuOKO� St?³ÝU×� d¹“  —uL tÐ —u²%«dð s¹« t�UOSUÝ „öN²Ý« ÆXÝ« ©

ÆœuL� hIA� ‰UÝ d¼ ÊU¹UÄ —œ «— —u²%«dð “Ë— XLO? Ê«uðÅv� sOMâL¼ ÆœuýÅv�

D =
P − S

L

t�ôUÝ „öN²Ý« ‰U¹—

  

D =
65000000−6000000

13
= 4538461/ 5

« ‰UÝ ÊU¹UÄ —œ sOýU� XLO? sOMâL¼ ËË
Ò

œ Ë ‰Ë
Ò

∫“« XÝ«  —U³Ž Â

 ‰U¹—  65000/000− 4538461/ 5 = 60461538 / 5 ‰UÝ ÊU¹UÄ —œ —u²%«dð XLO? «Ë
Ò

‰

 ‰U¹—  60461538 / 5 − 4538461/ 5 = 55923076 / 9œ ‰UÝ ÊU¹UÄ —œ —u²%«dð XLO? Ë
Ò

Â

ÆbýUÐÅv� t³ÝU×� qÐU? VOðdð sOL¼ tÐ r¼œeOÝ ‰UÝ Uð d~¹œ ‰UÝ d¼ ÊU¹UÄ È«dÐ Ë

≤‡‡≤‡‡∑∫t?¹U?�dÝ œuÝ ‡‡œ—u?� b?¹U?Ð t?% X?Ý« tM¹e¼ t³ÝU×� —œ dŁR� r?— sO�Ëœ t¹U�dÝ œuÝ 

XÝ« U¼ÅtM¹e¼ t³ÝU×� ÊUBBI²� Y×Ð œ—u� tAOL¼ t¹U�dÝ œuÝ Ê«eO� ÊœuL� hIA� ÆœdOÖ —«d? tłuð

U²?u� È“—ËUA% bŠ«Ë p¹ —œ dÖ« ‰U¦� Ê«uMŽ tÐ t% X,dÖ dE� —œ Ê«uðÅv� vK% XSU‡Š —œÎ—u²%«dð b¹dš “« 

—«bI� ̈ bM% È—«bN~� Ë ÁdOš– p�UÐ —œ XÝ« —u²%«dð b¹dš XLO? t% «— vSuÄ —«bI� Ë œuý dEM,dL b¹bł

t?% v?SuÄ —«bI� tÐ b¹UÐ œuý È—«b¹dš —u²%«dð s¹« ÁUÖd¼ s¹«dÐUMÐ œdOÖÅv� oKFð ‰uÄ s¹« tÐ œuÝ vBIA�

 —u?LÅt?Ð Ê¬ t?Ð t?% œd?O~Ð oKFð œuÝ ÊUL¼ —u²%«dð b¹dš t¹U�dÝ vMF¹ XÝ« Ábý Xš«œdÄ Ê¬ b¹dš È«dÐ

t¹U�dÝ t²,— XÝœ “« XLd, œuÝ “«  —U³Ž XIOIŠ —œ t¹U�dÝ œuÝ ÆX,dÖÅv� oKFð œuÝ p�UÐ —œ ÁœdáÝ

ÆœœdÖÅv� t³ÝU×� d¹“ tDÐ«— “« t¹U�dÝ t�ôUÝ œuÝ ÆbýUÐÅv� —u²%«dð b¹dš È«dÐ Ábý t²,dÖ —U%ÅtÐ

®≤‡‡∑©

  

I = ) P + S
2

. i



ÅÅÅÅÅÅÅÅÅÅÅÅ±≤≥

I =t¹U�dÝ t�ôUÝ œuÝ 

i =Ë ÁdNÐ Œd� 

S Ë Pö³? ÎÆXÝ« Ábý Áœ«œ `O{uð 

∫‰U¦� ‰U¦� sÝuÖd,Åv�� —u²%«dð ‘“—« ± Ê¬ bOH� dLŽ ÊU¹UÄ —œ   S = 6000000býUÐÅv� ‰U¹— 

 t³ÝU×� ÊU�“ —œ —«“UÐ Z¹«— ÁdNÐ Œd� tâ�UMÇ±∏·dL t¹U�dÝ  t�ôUÝ œuÝ ̈ œuý t²,dÖ dE� —œ bL—œ 

® —u²%«dð b¹dš È«dÐ Ábý∂µ∞∞∞∞∞∞∫“« œuÐ b¼«uš  —U³Ž ©‰U¹— 

 ‰U¹—

    
I = ) 65000000+6000000

2
. × - 18 = 6390000

≥‡‡≤‡?‡∑∫ U?O? U?� Ë t?LOÐ ¨XþUHŠ ÈU¼ÅtM¹e¼ ‡‡—œ «— v?J?Çu?% ÂU?—« tM¹e¼ Ÿu� tÝ s¹« 

kHŠ È«dÐ t% v¹U¼ÅtM¹e¼ “«  —U³Ž v²þUHŠ ÈU¼ÅtM¹e¼ ÆbM¼œÅv� qOJAð È“—ËUA% ÈU¼ÅsOýU� tM¹e¼

ÊUL²šUÝ È«dÐ t% v¹U¼ÅtM¹e¼ q�Uý s¹«dÐUMÐ œuýÅv� Xš«œdÄ ÁdOž Ë v�U³N~� Ë Èuł q�«uŽ “« sOýU�

«— ̨ «—UÖ ÊUL²šUÝ tM¹e¼ rO¼«uIÐ dÖ« XÝ« vN¹bÐ ÆbýUÐÅv� œuýÅv� Xý«œdÐ ÁdOž Ë ÊUÐÅt¹UÝ U¹ Ë ̨ «—UÖ

«— Ê¬  «d?O?L?F?ð t?M?¹e?¼ Ë Ê¬ t?Ð ◊u?Ðd?� t?¹U?�dÝ œuÝ ¨ÊUL²šUÝ „öN²Ý« tM¹e¼ v²�¹UÐ rOM% »U�Š

«— X?þU?HŠ tM¹e¼ b¹UÐ œuýÅv� ÁœUH²Ý« nK²I� ÈU¼ÅsOýU� XþUHŠ È«dÐ ˛«—UÖ dÖ« Ær¹—Ë¬ »U�ŠÅÅtÐ

ÆœuL� rO�Ið nK²I� ÈU¼ÅsOýU� sOÐ VÝUM²� —uÞÅtÐ

ôuLF�ÎX?³?�� t% œuýÅv� tOLuð Ë bMM%Åv� tLOÐ Àœ«uŠ Ë È“uÝÅgð¬ qÐUI� —œ «— U¼ÅsOýU� 

«— t?L?O?Ð t?M¹e¼ b¹UÐ œuA� tÇ Ë œuý tLOÐ vMOýU� tÇ ¨œuý Â«b?« È“—ËUA% ÈU¼ÅsOýU� ÊœuL�ÅtLOÐÅÅtÐ

d?E?� —œ «— v?G?K?³?� t?A?OL¼ b¹UÐ Àœ«uŠ “« výU�  —U�š Ê«d³ł È«dÐ ‰UŠ d¼ÅtÐ «d¹“ œ—Ë¬ »U�ŠÅÅtÐ

ÆX,dÖ

tÐ v~²�Ð Ê¬ —«bI� Ë XÝ« È“—ËUA% ÈU¼ÅsOýU� —œ XÐUŁ ÈU¼ÅtM¹e¼ d~¹œ Âö?« “« eO�  UOSU�

ôu?L?F?� Æœ—«œ È“—ËU?A?% t?�ÝR� U¹ pSU� ¨“—ËUA% ÈU¼Åv¹«—«œ Ê«eO�ÎË t?L?O?Ð ¨XþUHŠ ÈU¼ÅtM¹e¼ 

 œËbŠ —œ r¼ ÈË— «—  UOSU�±[µ Uð ≤ÆbMM%Åv� —uEM� ‰UÝ d¼ È«dÐ sOýU� tOSË« b¹dš XLO? bL—œ 

∫‰U¦� ‰U¦� sÝuÖd, v�� —u²%«dð  UOSU� Ë tLOÐ ¨XþUHŠ ÈU¼ÅtM¹e¼ ±b¹dš XLO? tÐ tłuð UÐ 

 Ê¬ tOSË«∂µ∞∞∞∞∞∞“« œuÐ b¼«uš  —U³Ž ‰U¹— 

 ‰U¹—    65000000× - 2 =1300000

 VOðdðÅtÐ —u²%«dð XþUHŠ Ë  UOSU� ¨tLOÐ t�UOSUÝ ÈU¼ tM¹e¼ tâ�UMÇ
  
k

1
 Ë 

  
k

2
 Ë 

  
k

3
Áœ«œ ÊUA� 

∫œuÐ b¼«uš  —U³Ž —u²%«dð XOJSU� tÐ ◊uÐd� t�UOSUÝ tM¹e¼ œuý



ÅÅÅÅÅÅÅÅÅÅ±≤¥Å

 X?þUHŠÅÅtM¹e¼+  U?OSU� tM¹e¼ + t?LOÐ tM¹e¼ + t?¹U�dÝ œuÝ tM¹e¼ + „ö?N²Ý« tM¹e¼ 
  
C1 =tM¹e¼ 

XÐUŁ

®≥‡‡∑©C1 = D + I + k1 + k2 + k
3

≥‡‡∑—u²�«dð t�UO UÝ dL²P� ÈU¼ÅtM¹e¼ t³ÝU×� ‡‡

¨X?šu?Ý t?Ð ◊u?Ðd?� ÈU?¼ÅtM¹e¼ ¨È“—ËUA% —u²%«dð p¹ t�UOSUÝ dL²�� ÈU¼ÅtM¹e¼ t³ÝU×� —œ

vÝ—dÐ t�UÖ«bł —uÞÅtÐ ÁbM�«— tÐ ◊uÐd� ÈU¼ÅtM¹e¼ Ë  «dOLFð ¨f¹ËdÝ Ë È—«bN~� ¨pO²Ýô ¨sžË—

ÆœuýÅv�

±‡‡≥‡‡∑∫sOýU� „d×� —uðu� ‚dÐ ·dB� U¹ —u²�«dð XšuÝ tÐ ◊uÐd� ÈU¼ÅtM¹e¼ ‡‡

p?¹ ‰U?¦?� È«d?Ð Æœd?% t?³?ÝU?×?� X?Su?N?Ý tÐ Ê«uðÅv� «— —u²%«dð XšuÝ jÝu²� ’uBI� ·dB�

 ‰e¹œ —u²%«dð¥∞ —œ t% VÝ« ∏∞∞ t�UOSUÝ —U% XŽUÝ ¥±∂∞·dB� XÝ« Áœd% ·dB� qOzË“UÖ d²OS 

 jÝu²� ’uBI�(Ls )∫œuýÅv� t³ÝU×� d¹“  —uLÅtÐ XŽUÝ —œ VÝ« dÐ d²OS V�ŠdÐ 

        d²OS V�ŠdÐ —u²%«dð t�ôUÝ v,dB� XšuÝ

=
                                                                                       

jÝu²� ’uBI� ·dB� 

—UIÐ VÝ« V�ŠdÐ —u²%«dð Ê«uð   ×—u²%«dð œd%—U%  UŽUÝ œ«bFð 

 XŽUÝ —œ VÝ« dÐ d²OS

4160

800× 40
=0/13

—U%  UŽUÝ œ«bFð tÐ v~²�Ð XšuÝ t�UOSUÝ ·dB� q% ̈ jÝu²� ’uBI� ·dB� t³ÝU×� UÐ

 vMF¹ —u²%«dð′n —u²%«dð tâ�UMÇ ‰U¦� Ê«uMŽ tÐ ÆXý«œ b¼«uš ‰UÝ —œ ∏∞∞bM% —U% ‰UÝ —œ XŽUÝ 

∫“« XÝ«  —U³Ž XšuÝ ·dB�

 qOzË“UÖ d²OS
  0/13 × 40× 800= 4160

 tâ�UMÇ vK%—uÞÅtÐP¨—UIÐ VÝ« V�ŠdÐ —u²%«dð  —b? ′n ̈ ‰UÝ —œ Ê¬ —U%  UŽUÝ œ«bFð Ls

 Ád?šôU?Ð Ë X?ŽU?Ý —œ V?Ý« d?Ð d?²?O?S V?�ŠdÐ —u²%«dð jÝu²� ’uBI� ·dB�Fd?²?O?S d¼  XLO? 

 XšuÝ tÐ ◊uÐd� t�UOSUÝ tM¹e¼ býUÐ XšuÝ(Lf )∫“« X�ð—U³Ž 

®¥‡‡∑©Lf = P × ′n × Ls × F

 ‰Ëbł±ÅÅ‡‡∑XŽUÝ —œ VÝ« dÐ d²OS V�ŠdÐ «— nK²I� ÈU¼—u²%«dð ’uBI� ·dB� d¹œUI� 

Æœ—«cÖÅv� —UO²š« —œ v,dB� XšuÝ Ê«eO� t³ÝU×� È«dÐ



ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±≤µ

b?M?M?�Åv?� —U?� ‚d?Ð U?Ð t?� v?¹U?¼Ås?O?ýU?� „d×� —uðu� ‚dÐ ·dB� tM¹e¼ t³ÝU×� ’uBš —œ

 v? d?B� ‚dÐ XŽUÝ  «ËÅuKO� —«bI� ÈË— “« Ê«uðÅv�W ‚d?Ð XŽUÝ  «ËÅuKO� d¼ XLO, Ë 
  
F1Ë ′n

 ‚dÐ ·dB� t-UO.UÝ tM¹e¼ ¨‰UÝ —œ dŁR� —U�  UŽUÝ œ«bFð(Le )Æœd� sOOFð «— 

® µ‡‡ÅÅ∑©  Le = W = ′n × F1

VÝ« tÐ —u²
«dð  —b�ÅÅ   XšuÝ Ÿu� ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ —u²
«dð Ÿu�  

XŽUÝ —œ VÝ« dÐ d²O� V�ŠdÐ ’uB�� ·dB�ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

“UÖ ÂULð“UÖÅtLO�

t-U�“—UNÇ s¹eMÐs¹eMÐ±∞∞[¥∞∞∞[≤∏∞

±µ∞[≥∏∞∞[≤∑∞

≤∞∞[≥∂∞∞[≤µµ

t-U�“Ëœ ‰e¹œqOzË“UÖ±∞∞[≥≥∞∞[±π∞

±µ∞[≥∞∞∞[±∑µ

≤∞∞[≤∑µ∞[±∂∞

t-U�“—UNÇ ‰e¹œqOzË“UÖ≥µ∞[≥¥∞∞[±≥µ

¥∞∞[≤≥µ∞[±≥∞

¥µ∞[≤≥∞∞[±≤µ

µ∞∞[≤≤µ∞[±≤µ

∂∞∞[≤≤µ∞[±≤µ

∑∞∞[≤≤∞∞[±≤µ

 ‰Ëbł±‡‡∑nK²�� ÈU¼—u²
«dð ’uB�� ·dB� d¹œUI� ‡‡

≤‡‡≥‡‡∑∫—u²
«dð f¹ËdÝ XNł sžË— tM¹e¼ ‡‡ÈU¼—u²�«dð f¹ËdÝ È«dÐ sžË— ·dB� 

 ÈËUK� t-U�“—UNÇ vM¹eMÐ≤[µ ·dB� ‰U³, —œ d²O. ±∞∞t-U�“—UNÇ ‰e¹œ ÈU¼—u²�«dð È«dÐ Ë s¹eMÐ d²O. 

¥ Uð µ ·dB� ‰U³, —œ d²O. ±∞∞·dB� —«bI� s¹« s² dÖdE-—œ UÐ ÆœuýÅv� t² dÖ dE- —œ qOzË“UÖ d²O. 

∫œd� t³ÝU×� sOMÇ Ê«uðÅv� «— sžË— tM¹e¼ qOzË“UÖ Ë s¹eMÐ XLO, X³K- X¹UŽ— Ë sžË—

 ÈËUK� sžË— tM¹e¼ ‰e¹œ ÈU¼—u²�«dð —œ ‡‡µ∞ÆœuýÅv� t³ÝU×� XšuÝ tM¹e¼ •

 ÈËUK� sžË— tM¹e¼ vM¹eMÐ ÈU¼—u²�«dð —œ ‡‡±∞ Uð •±µœuýÅv� t² dÖ dE- —œ XšuÝ tM¹e¼ •



ÅÅÅÅÅÅÅÅÅÅÅÅÅ±≤∂Å

 ‰u�d  tÐ tłuð UÐ sžË— t-UO.UÝ tM¹e¼ s¹«dÐUMÐ¥‡‡∑∫r¹—«œ 

Å®∂‡‡ÅÅ∑‰e¹œ —u²�«dð È«dÐ ©
  
Lf =0/ 5 × P × ′n × Ls × F

Å®∑‡‡∑vM¹eMÐ —u²�«dð È«dÐ ©Lo =0/1× P × ′n × Ls × F

≥‡‡≥‡‡∑∫sOýU� U¹ —u²
«dð pO²Ýô tM¹e¼ ‡‡—u²�«dð v.uLF� pO²Ýô p¹ jÝu²� dLŽ 

 œËbŠ≥∞∞∞ pO²Ýô XLO, tâ-UMÇ ‰UŠ d¼ —œ ¨XÝ« —U� XŽUÝ Bp¹ tM¹e¼ ¨œuý t² dÖ dE- —œ 

 pO²Ýô dE- “« —U� XŽUÝ

  

B
3000

 UÐ «— X³K- s¹« tâ-UMÇ œuýÅv� 
  
K4tÐ ◊uÐd� tM¹e¼ ¨rO¼œ ÊUA- 

 È«dÐ pO²Ýô′n∫UÐ XÝ« ÈËUK� ‰UÝ —œ sOýU� U¹ —u²�«dð —U� XŽUÝ 

  
= K4 × ′npO²Ýô —U� t-ôUÝ tM¹e¼ 

¥‡‡≥‡‡∑∫f?¹ËdÝ Ë È—«bN~� tM¹e¼ ‡‡sžË— “« dOž —u²�«dð f¹ËdÝ Ë È—«bN~- È«dÐ 

ÆbýUÐÅv� ÁdOž Ë a¹ b{ ̈ ÈdÞUÐ È«dÐ dDI� »¬ ̈ uA²Ký ÈU¼—œuÄ f¹dÖ bM-U� vðôuB×� tÐ ÃUO²Š«

 tâ-UMÇ s¹«dÐUMÐ
  
K5—œ b?ýU?Ð —u²�«dð —U� XŽUÝ p¹ È«dÐ f¹ËdÝ Ë È—«bN~- tÐ ◊uÐd� tM¹e¼ ′n

∫“« œuÐ b¼«uš  —U³Ž f¹ËdÝ Ë È—«bN~- tM¹e¼ ‰UÝ —œ XŽUÝ

  
= K5 × ′nÈ—«bN~- Ë f¹ËdÝ t-ôUÝ tM¹e¼ 

µ‡‡ÅÅ≥‡‡∑∫ «dOLFð tÐ ◊uÐd� ÈU¼ÅtM¹e¼ ‡‡¨v,UHð« ̀ -«uÝ Ë v.UL²Š«  UF¹U{ “« dE- ·dd 

 ‰Ëbł  —udÅtÐ Èe¹—Åt�U-dÐ o³Þ —u²�«dð p¹  «dOLFð v.uLF� Ë vFO³Þ @M¼¬≤‡‡∑ÈU¼ÅtM¹e¼ Ë ÁœuÐ 

 ‰e¹œ —u²�«dð p¹ œ—u� —œ Ê¬ v²ŽUÝ¥∞ Uð µµÈ«dÐ —u²�«dð b¹dš XLO, bd—œ VKŠdÐ —UhÐ VÝ« 

ÆXÝ« Áb¹œdÖ d�– Ê¬ —U� XŽUÝ p¹

 ‰Ëbł —œ≥‡‡∑È“—ËUA� nK²h� ÈU¼ÅsOýU�  «dOLFð v²ŽUÝ Ë  «dOLFð t-UO.UÝ ÈU¼ÅtM¹e¼ eO- 

ÆXÝ« Ábý Áœ«œ ÊUA-

 XLO, UÐ Ábý È—«b¹dš —u²�«dð È«dÐ ‰U¦� Ê«uMŽ tÐ∞∞∞\∞∞∞\µ∞rOEMð Ë b¹œ“UÐ tM¹e¼ ̈ ‰U¹— 

qOK-«dH¹œ Ë Áb-œÅt³Fł b¹œ“UÐ ¨Ê¬ ÈU¼Å@M¹— Ë U¼ÅÊu²KOÄ i¹uFð ‡‡ —u²�ó-« éLÄ b¹œ“UÐ ‡‡ U¼—u²�ó-«

∫œuýÅv� »UKŠ d¹“  —udÅtÐ e�dð ÈU¼ÅXM. i¹uFð ‡‡ pO.Ë—bO¼ ÁU~²Ýœ b¹œ“UÐ ‡‡

    = 50000000× - 0/005b¹dš XLO, bd—œ VKŠdÐ XŽUÝ —œ jÝu²� tM¹e¼

‰U¹—

  

= 50000000×0/005

100
= 2500

 Uð t²³.«® —u²�«dð s¹« —U� XŽUÝ d¼ È«“« tÐ d~¹œ  —U³Ž tÐµ∞∞∞ mK³� b¹UÐ ©XŽUÝ ≤µ∞∞‰U¹— 

ÆX dÖ dE-—œ  «dOLFð tM¹e¼ XÐUÐ
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XŽUÝ p¹d¼ È«dÐ «—  «dOLFð tÐ ◊uÐd� tM¹e¼ tâ-UMÇ bý d�– t� v.Ë«bł Ë ‚u   UJ- tÐ tłuð UÐ

 UÐ —u²�«dð —U�
  
k

6
 È«dÐ t-UO.UÝ  «dOLFð tM¹e¼ ¨rO¼œ ÊUA- ′n∫“« XÝ«  —U³Ž ‰UÝ —œ Ê¬ —U� XŽUÝ 

  
= k

6
× ′nt-ôUÝ  «dOLFð tM¹e¼ 

∂‡‡≥‡‡∑∫ÁbM�«— œeL²Ýœ U¹ vÖbM�«— tÐ ◊uÐd� tM¹e¼ ‡‡v?ÖbM-«— tÐ ◊uÐd� tM¹e¼ tâ-UMÇ 

 UÐ XŽUÝ d¼ —œ «— —u²�«dð
  
k

7
 È«dÐ t-UO.UÝ tM¹e¼ rO¼œ ÊUA- ′nb¼«uš  —U³Ž ‰UÝ —œ —U� XŽUÝ 

∫“« œuÐ

  
= k

7
× ′nvÖbM-«— tM¹e¼ 

 UŽUÝ œ«bFð

«b²Ð« “« —U


µ∞∞XŽUÝ 

±∞∞∞XŽUÝ 

≤∞∞∞XŽUÝ 

≥∞∞∞XŽUÝ 

¥∞∞∞XŽUÝ 

µ∞∞∞XŽUÝ 

∂∞∞∞XŽUÝ 

∑∞∞∞XŽUÝ 

∏∞∞∞XŽUÝ 

U¼b¹œ“UÐ Ë  «dOLFð

—u?²?�«d?ð v?,d?Ð ÈU?¼ÅXLK, b¹œ“UÐ ‡ U¼—u²�ó-« rOEMð Ë b¹œ“UÐ

U¼—u²�ó-« rOEMð Ë b¹œ“UÐ ‡ U¼ÅÛUÄuÝ dKO  rOEMð

—u²�«dð v,dÐ ÈU¼ÅXLK, b¹œ“UÐ ‡ —u²�ó-« éLÄ b¹œ“UÐ

b?¹œ“UÐ ‡ dð—U²Ý« Ë ÂUM¹œ Êœd�eOLð ‡ U¼—u²�ó-« rOEMð Ë b¹œ“UÐ

é?L?Ä b?¹œ“U?Ð ‡ U?¼—u?²?�ó-« i¹uFð ‡ U¼ÅÛUÄuÝ ÈbMÐÅ»¬ ÈdÞUÐ

ÈdÞUÐ i¹uFð ‡ —u²�«dð ÊU�d  Ë ÈbMÐuKł b¹œ“UÐ ‡ —u²�ó-«

‡ÅU¼ÅÛUÄuÝ dKO  rOEMð ‡ U¼ÅÛUÄuÝ i¹uFð ‡ ıö� ÈU¼ÅXM. i¹uFð

—u²�ó-« éLÄ b¹œ“UÐ ‡ U¼—u²�ó-« rOEMð Ë b¹œ“UÐ

i?¹u?F?ð ‡ —u?²?�ó?-« é?L?Ä b?¹œ“U?ÐÅ‡ U?¼—u?²?�ó?-« rOEMð Ë b¹œ“UÐ

‡ q?O?K?-«d?H¹œ Ë Áb-œ t³Fł b¹œ“UÐ ‡ Ê¬ ÈU¼Å@M¹— Ë U¼ÅÊu²KOÄ

e�dð ÈU¼ÅXM. i¹uFð ‡ pO.Ë—bO¼ ÁU~²Ýœ b¹œ“UÐ

Ë Èb?MÐuKł b¹œ“UÐ ‡ U¼—u²�ó-« i¹uFð ‡ U¼ÅÛUÄuÝ dKO  rOEMð

‡ÅÈdÞUÐ i¹uFð ‡ —u²�«dð v,dÐ ÁU~²Ýœ  b¹œ“UÐ ‡ —u²�«dð ÊU�d 

U¼ÅÛUÄuÝ i¹uFð

b?¹œ“U?Ð ‡ —u?²?�ó?-« é?L?Ä b?¹œ“U?Ð ‡ U?¼—u?²?�ó?-« r?O?E?Mð Ë b¹œ“UÐ

—uðu� b¹œ“UÐ ‡ v,dÐ ÈU¼ÅXLK,

ÈbMÐuKł b¹œ“UÐ ‡ U¼—u²�ó-« rOEMð Ë b¹œ“UÐ ‡ U¼ÅÛUÄuÝ ÈbMÐÅ»¬

—u²�«dð ÊU�d  Ë

XŽUÝ—œ jÝu²� tM¹e¼

b¹dšÅÅXLO� bG—œÅÅV�ŠdÐ

∞[∞∞∞≥

∞[∞∞∞∑

∞[∞∞∞µ

∞[∞∞≥

∞[∞∞¥

∞[∞∞µ

∞[∞∞µ

∞[∞∞µ

∞[∞∞µ

ÅÅÅ‰Ëbł≤‡‡∑ ‰e¹œÅÅ—u²
«dð p¹  «dOLFð v²ŽUÝÅÅÈU¼ÅtM¹e¼ ‡‡µµ‡‡ÅÅÅÅÅÅ¥∞b¹dš XLO� bG—œ V�ŠdÐ —U�ÐÅÅVÝ« 



ÅÅÅÅÅÅÅÅÅÅÅÅÅ±≤∏Å

 ‰Ëbł≥‡‡∑È“—ËUA� nK²�� ÈU¼ÅsOýU� b¹dš XLO� b�—œ V"ŠdÐ  «dOLFð v²ŽUÝ Ë t-UO.UÝ ÈU¼ÅtM¹e¼ ‡‡

 «dOLFð t-UO.UÝ ÈU¼ÅtM¹e¼

b¹dš XLO� b�—œ V"ŠdÐ ‰UÝ —œV"ŠdÐ XŽUÝ —œ

 vŽ«—“ bŠ«Ë p¹ È«dÐµ∞È—U²J¼ b¹dš XLO� b�—œ

±∞∞[∞¥

∑∞[∞± Uð ∞[∞≤

≥∞[∞≤

±[µ∞[∞±

∑∞[∞∂

µ∞[∞¥

µ∞[∞µ

∂[µ∞[∞±

≤[µ∞[∞≤

≥[µ∞[∞≥

±∞∞[∞¥

≥[µ∞[∞±

µ∞[∞≤

µ‡‡

≥∞[∞±µ

≥ Uð µ∞[∞≤

µ Uð ±∞∞[∞∑

≥[µ‡‡

≥[µ∞[±µ

±[µ∞[∞∞µ

‡‡∞[∞∞µ

sOýU� Ÿu-

vÐUIAÐ s¼¬ËUÖ ‡ —uð«uO²�u� ‡ s¼¬ËUÖ

p ¹œ ‡ ©t~MÇ® ”d¼

—«œÅt+«b+œ p²Kž

v�uLF1 p²Kž

sJýÅtKÝ Ë Êœd� sOłË

È“UžÅt−MÄ s¼¬ÅËUÖ

‘UÄÅrÝ

‘UÄœu�

‘UÄ—cÐ

—U�UA+

dÐÅnKŽ

s�Ån¹œ—

©s�u�Ë® s�Ån¹œ—

©dÄUÇ® s�œdš Ë Ë—œ

bMÐÅt² Ð

©»u�ÅsOÇ®  öž s¹U³L�

s� vMO1“ÅVOÝ U¹ s�—bMGÇ

v1«œ ‘UÄœu�

vJO�Ë—bO¼ ‰U~MÇ

È“—ËUA� tOKI+ q¹UÝË

® v�uLF1 ‰e¹œ —u²�«dð¥∞  Uð ∂∞©VÝ« 



ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±≤π

d¹“ ‰u�d  “« ‰e¹œ —u²�«dð p¹ —U� tÐ ◊uÐd� t-UO.UÝ dL²K� ÈU¼ÅtM¹e¼ —u�c� œ—«u� tÐ tłuð UÐ

∫b¹¬Åv� XÝœÅtÐ

t?M?¹e¼ ´ pO²Ýô tM¹e¼ ´ t-UO.UÝ sžË— tM¹e¼ ´ t-UO.UÝ XšuÝ tM¹e¼ Ω t-UO.UÝ È—Uł tM¹e¼

vÖbM-«— t-UO.UÝ tM¹e¼ ´  «dOLFð t-UO.UÝ tM¹e¼ ´ t-UO.UÝ È—«bN~- Ë f¹ËdÝ

®∏‡‡ÅÅÅ∑©
  
C2 =1/ 5(p × ′n × Ls × F) + ′n (k4 + k5 + k

6
+ k 7 )

 ÈU?¼Å‰u�d  tÐ tłuð UÐ ‰UŠ≥ÅÅÅÅ‡?‡∏ Ë ∏ÅÅÅÅ‡‡ÅÅÅ∏œ—u?� —œ «— d?L²K� Ë XÐUŁ ÈU¼ÅtM¹e¼ q� Ê«uðÅv� 

Æœd� t³ÝU×� —u²�«dð

®π‡‡∑©Ct = C1 + C2 = D + I + k1 + k2 + k
3

+1/ 5(p × n × Ls × F) + ′n (k4 + k5 + k
6

+ k7 )

 ‰u�d π‡?‡∑t?� s?¹« È«d?Ð X?Ý« v?K� ‰u�d  p¹ b¼œÅv� ÊUA- «— —u²�«dð tÐ ◊uÐd� ÈU¼ÅtM¹e¼ t� 

È«e?ł« ÈU?łÅtÐ t� XÝ« v U� œd� t³ÝU×� «— È“—ËUA� ’uBhÐ sOýU� p¹ U¹ —u²�«dð p¹ ÈU¼ÅtM¹e¼

bMÐÅt.U³-œ sOýU� p¹ œ—u� —œ ‰u�d  s¹« t� s¹« tÐ t²KÐ XÝ« vN¹bÐ Æœ«œ —«d, «— Ê¬ Â“ô ÂU,—« Ê¬ tÞuÐd�

ÆœuýÅv� t² dÖ dE-—œ dHd ÈËUK� vÖbM-«— ̈ sžË— Ë XšuÝ qO³, “« Ê¬ È«eł« “« všdÐ œuý ÁœdÐ —U� tÐ

¥‡‡∑‰UÝ —œ —u²
«dð “« ÁœUH²Ý« ÊU�“  b� ‡‡

ðFb«œ ÝUŽU  «Ý²HUœÁ «“ ðd«�²u— ¹U ¼d �UýOs �AUË—“È œ— ÝU‰ ÐdŠKV ýd«¹j �U— Ë -uŸ �×Buô 

�AX ýb?Á œ— ¼d Ë«Šb “—«Žv �²HU?Ë  «ÝXÆ ÐtÅŽMu«Ê �¦?U‰ œ—  ‰Ëbł¥Å‡‡Å∑ �b  “�UÊ «Ý²?HUœÁ «“ ¹p

XŽ«—“ ÂU�ÊU�“  b�

bM, —bMGÇ ‡µ∞ Uð ∂∞XŽUÝ 

È«Åt-«œ  —– ‡µ∞ Uð ∂∞XŽUÝ 

vMO�“ÅVOÝ ‡¥µ Uð µµXŽUÝ 

«eK� ‡¥∞XŽUÝ 

œuh- ‡≥µXŽUÝ 

ÊU²� ‡≤µXŽUÝ 

ÂbMÖ ‡±µ Uð ≤∞XŽUÝ 

È—U�u� ‡¥µ Uð µµXŽUÝ 

vŽuMB� lðd� ‡±≤ Uð ±µXŽUÝ 

vLz«œ lðd� ‡µ Uð ∏XŽUÝ 

 ‰Ëbł¥‡‡∑“« ÁœUH²Ý« ÊU�“  b� ‡‡

nK²�� ÈU¼ÅXA
 —œ —u²
«dð



ÅÅÅÅÅÅÅÅÅÅÅÅÅ±≥∞Å

ðd«�²u— œ¹e‰ ¥∞ ðU µµ «ÝV Ðd«È ¼d ¼J²U— “—«ŽXÅ¼UÈ �h²Kn œ— ÝU‰ œ— ¹p �e—Žt œ«œÁ ýbÁ «ÝXÆ

µ‡‡ÅÅ∑È“—ËUA
 ÈU¼ÅsOýU� —U
 t�UO�UÝ tM¹e¼ t³ÝU×� ‡‡ÅÅ

È«Åt-uÖÅtÐ ÆbMýUÐ —u²�«dð bMÐ t.U³-œ U¹ Ë—œuš t� s¹« VKŠdÐ È“—ËUA� ÈU¼ÅsOýU� UÐ —U� tM¹e¼

∫r¹“«œdÄÅv� d¹“ —œ U¼ÅÊ¬ Õdý tÐ t� œuýÅv� t³ÝU×�  ËUH²�

±‡‡µ‡‡∑∫Ë—œuš È“—ËUA
 sOýU� p¹ —U
 t�UO�UÝ tM¹e¼ t³ÝU×� ‡‡—U� ÅtM¹e¼ t³ÝU×� 

—U� tM¹e¼ t³ÝU×� bM-U� È“—ËUA�  ôuB×� ÈU¼Ås¹U³L� qO³, “« Ë—œuš È“—ËUA� ÈU¼ÅsOýU� —œ

 ‰u?�d?  —œ t� býUÐÅv� —u²�«dðπ‡?‡∑X?L?O?, ÈUłÅtÐ XÝ« Â“ô œ—«u� s¹« —œ jI  ÆXÝ« Ábý tz«—« 

Æœu?ý t² dÖ dE-—œ s¹U³L� „öN²Ý«  b� —u²�«dð „öN²Ý«  b� ÈUłÅtÐ Ë s¹U³L� XLO, ¨—u²�«dð

ÈU¼ÅtM¹e¼ t³ÝU×� bM-U� r¼ s¹U³L� vÖbM-«— Ë  «dOLFð Ë f¹ËdÝ Ë sžË— Ë XšuÝ ÈU¼ÅtM¹e¼ t³ÝU×�

ÆbýUÐÅv� —u²�«dð —œ œ—«u�ÅsOL¼

≤‡‡µ‡‡ÅÅ∑∫bMÐÅt�U³�œ sOýU� p¹ —U
 t�UO�UÝ tM¹e¼ t³ÝU×� ‡‡ÅÅÈU¼ÅsOýU� —U� t-UO.UÝ tM¹e¼ 

ÁbOA� —u²�«dð UÐ t� ÁdOž Ë ‘UáLÝ ¨‘UÄœu� ¨—U�—cÐ ¨pK¹œ ¨s¼¬ËUÖ qO³, “« bMÐÅt.U³-œ È“—ËUA�

∫XÝ« d¹“ Õdý tÐ ¡ełËœ q�Uý b-uýÅv�

 ‰u?�d?  o?³Þ t� œ“«b-«Åv� X�dŠ tÐ U¹ ÁbOA� «— sOýU� t� È—u²�«dð —U� tM¹e¼ ‡‡ n.«πÅÅÅÅ‡‡∑

ÆœuýÅv� t³ÝU×�

 ‰u�d  o³Þ bMÐÅt.U³-œ È“—ËUA� sOýU� —U� tM¹e¼ ‡‡ »π‡‡∑t�  ËUHð s¹« UÐ œœdÖÅv� t³ÝU×� 

Æœu?ýÅv?L?- t?²? d?Ö d?E?-—œ v?Öb?M?-«— t?M?¹e?¼ Ë sžË— Ë XšuÝ tM¹e¼ tÐ ◊uÐd� ÈU¼ÅXLK, ‰u�d  —œ

È“—ËUA� sOýU�  «dOLFð Ë f¹ËdÝ ÈULM¼«— ÈU¼ÅtÇd² œ o³Þ  «dOLFð Ë f¹ËdÝ tÐ ◊uÐd� ÈU¼ÅtM¹e¼

bM-U�® býUÐ v-UK-« ÈËdO- “« ÁœUH²Ý« tÐ “UO- sOýU� —U� È«dÐ t� vð—ud —œ Ë œuýÅv� t³ÝU×� dE-œ—u�

ÆœœdÖÅv� —uEM� ÁbM-«— tM¹e¼ ÈUłÅtÐ Ê«dÖ—U� œeL²Ýœ tM¹e¼ ©—U�UA- U¹ —U� vMO�“ÅVOÝ

 ‰u�d  ‚u  Vð«d� tÐ tłuð UÐπ‡‡∑∫býUÐÅv� d¹“  —udÅtÐ bMÐÅt.U³-œ ÈU¼ÅsOýU� È«dÐ 

®±∞‡‡∑©Cm = D + I + k1 + k2 + k
3

+ ′n (k4 + k5 + k
6

+ k7 )

Ê¬ —œ t�

Cm‰U¹— VKŠdÐ È“—ËUA� ÈU¼ÅsOýU� t-UO.UÝ È—Uł Ë XÐUŁ ÈU¼ÅtM¹e¼ Ω 

Dt-UO.UÝ „öN²Ý« Ω 

It¹U�dÝ t-ôUÝ œuÝ Ω 



ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±≥±

nÈ“—ËUA� ÈU¼ÅsOýU� “« ÁœUH²Ý« ÈU¼Å‰UÝ œ«bFð Ω 

  
k

1
‰U¹— tÐ sOýU� t-UO.UÝ tLOÐ tM¹e¼ Ω 

  
k

2
‰U¹— tÐ sOýU� ¨t-UO.UÝ ÷—«uŽ Ë  UO.U� tÐ ◊uÐd� tM¹e¼ Ω 

  
k

3
‰U¹— tÐ ‰UÝ —œ È“—ËUA� sOýU� È—«bN~- —U~-U¼ U¹ ˛«—UÖ tÐ ◊uÐd� tM¹e¼ Ω 

  
k

4
 ‰U¹— tÐ sOýU� —U� XŽUÝ p¹ È«dÐ pO²Ýô tM¹e¼ Ω ®©vJO²Ýô ŒdÇ s²ý«œ  —ud —œ

  
k

5
‰U¹— tÐ sOýU� —U� XŽUÝ p¹ È«dÐ f¹ËdÝ Ë È—«bN~- tÐ ◊uÐd� tM¹e¼ Ω 

  
k

6
‰U¹— tÐ sOýU� —U� XŽUÝ p¹ È«dÐ  «dOLFð tÐ ◊uÐd� tM¹e¼ Ω 

  
k

7
 s²ý«œ  —ud —œ Ê«dÖ—U� œeL²Ýœ tÐ ◊uÐd� tM¹e¼ Ω ®—U� Ábž sOýU� —œ ‰U¦� Ê«uMŽ tÐ

©býUÐÅv� XýU�  UOKLŽ È«dÐ Ê«dÖ—U� œułË tÐ “UO- —U�UA- U¹ vMO�“ÅVOÝ

′n‰UÝ —œ sOýU� —U�  UŽUÝ œ«bFð Ω 

s�dL�

±ÆbOM� n¹dFð «— d¹“  UŠöDd« ‡‡

œuÝ Œd- ¨v.U� Á—Ëœ ¨È—Uł ÈU¼Åv¼bÐ ¨t�U-“«dð

≤Æb¹d³Ð ÂU- «— —u²�«dð dOG²� tM¹e¼ Ë XÐUŁ tM¹e¼ —UNÇ ‡‡ÅÅ

≥ÆbOK¹uMÐ «— „öN²Ý« sOLhð “« ÁbLŽ ·b¼ Ëœ ‡‡

¥bOM� sOOFð «— Ê¬ t-ôUÝ „öN²Ý« Áœ—Ë¬ XÝœÅtÐ «— tIDM� —œ ‰Ë«b²� u- —u²�«dð p¹ XLO, ‡‡

 bOH� dLŽ®±µÆ©œuý ÷d  ‰UÝ 

µÆbOM� sOOFð “Ë— ÈU¼ÅXLO, UÐ «— s¹U³L� ÁU~²Ýœ p¹ b¹dš t¹U�dÝ œuÝ ‡‡ÅÅ

∂ÆbOM� sOOFð “Ë— ÈU¼ÅXLO, UÐ «— vŽ«—“ —u²�«dð ÁU~²Ýœ p¹ È—Uł Ë XÐUŁ tM¹e¼ ‡‡ÅÅ



ÅÅÅÅÅÅÅÅÅÅÅÅÅ±≥≤Å

’uB�� Ê“Ë‰uÞ

±∂∞  N m2

  1bf ft2
≤µ[¥(mm)d²�ÅvKO� (in)©êM¹«® 

π[∏±  N m2

  kgf m3
∞[≥∞µ(m)d²�Å (ft)© u ® 

®±∞XFMd ©

±∂  kgf m2

  1bf ft2
∞[π±≤(m)d²�Å (Yd)©œ—U¹® 

—ËU²AÖ U¹ d~M�                       ±∂∞π[≥(m)d²�Å (mi)v¹UJ¹d�«Åq¹U� 

∞[±≥∏¥ton.mkip.ft±∏µ≤(m)d²�Å (mi)Åq¹U� 

±[≥∏¥kN.mkip.ftÂdł                                                 

π[∏±kN.mton.m
∞[¥µ¥

(kgm)(1bm)

®±∞XFMd ©Âdł ÂdÖuKO�Âdł b-uÄ

±[±µ≥kgf.cm1b.in±¥[∂(kgm)¯öÝ«

Âdł ÂdÖuKO�

±±µ[≥N.mm1b.in
—UAP U¹ gMð                                      

±∞∞N.mmkgf.cm

                               
ËdO�

∞[∞∞∂π  N mm2PSI

®∞[∞∞∑XFMd ©

¥[¥µ(N)sðuO- (lbf)ËdO- b-uÄ ∞[∞∞∞∞¥∏  N mm2PSF

π[∏±(N)sðuO- (kgf)∞[∞π∏±  N mm2

  kg cm2

®±∞XFMd ©ËdO- ÂdÖuKO�®∞[±XFMd ©

∞[¥µ¥(kgf)(lbf)
∞[∞∑  kg cm2PSI

ËdO- ÂdÖuKO�ËdO- b-uÄ

`DÝ                              ∞[∞∞∞¥π  kg cm2PSF

∂µ¥[±∂  (mm2 )
∞[±  kg cm2

»¬ ŸUHð—« d²�

lÐd� d²�ÅvKO�  (in2 )≤
©êM¹«®

∞[∞π≥  (m2 )lÐd� d²�   (ft2 )
≤

© u ®∞[∞±  N mm2
»¬ ŸUHð—« d²�

∞[∏≥∂  (m2 )lÐd� d²�    (Yd2 )
≤

©œ—U¹®±[¥≥PSI»¬ ŸUHð—« d²�

U¼ÅXÝuOÄ

 ‰Ëbł±ÆbOM
 »d{ Ê¬ tÐ «— XÝ«— XLÝ »—UC�¨jÝË œUŠ¬ tÐ éÇ XLÝ œUŠ¬ q¹b³ð È«dÐ ÆœUŠ¬ q¹b³ð ‡‡



ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±≥≥

XOL
—UB²š« U¹ bŠ«Ë ÈÅt�UA�V�ŠdÐ Ábý ÊUOÐ bŠ«Ë

vKG« qJý “« t
 v¹UłvKOLJð U¹ vÝUÝ« ÈU¼bŠ«Ë

XÝ«  ËUH²�

XŠUK�  m2

r−Š  m3

f-U�d Hz  S
4

XEKž  kg m3

XŽdÝm s

È«Åt¹Ë«“ XŽdÝrad s

»U²ý  m s2

È«Åt¹Ë«“ »U²ý  rad s2

vL−Š vÐœ  m
3 s

ËdO-N  kg.m s2

v×DÝ gA�  N m,J m2

  kg s2

—UA   N m2 ,Pa  kg m.s2

U�dÖ —«bI� ¨È˛d-« ¨—ËU²AÖ ¨—U�J,N.m,W.s  kg.m2 s2

v¹U�dÖ —Uý ¨Ê«uðW,J s  kg.m2 s2

 ‰Ëbł≤ vŽdP ÈU¼bŠ«Ë ‡‡SI

b�uAOÄ»dC�œUL�b�uAOÄ»dC�œUL�

vÝœ

  

1

10
=10

−1dU�œ±∞da

v²-UÝ

  

1

100
=10

−2cu²J¼±∞∞h

vKO�

  

1

1000
=10

−3muKO�±∞∞∞k

ËdJO�

  

1

10
6

=10
−6µU~�  10

6M

u-U- 

  

1

10
9

=10
−9nU~OÖ  10

9G

uJOÄ

  

1

10
12

=10
−12p«dð  10

12T

 ‰Ëbł≥U¼UJ¹ ·UF{« Ë «eł« ‡‡



ÅÅÅÅÅÅÅÅÅÅÅÅÅ±≥¥Å

  ‰Ëbł¥



ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±≥µ

 ‰Ëbł t�«œ«¥



ÅÅÅÅÅÅÅÅÅÅÅÅÅ±≥∂Å

 ‰Ëbłµ



ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±≥∑

 ‰Ëbł t�«œ« µ



ÅÅÅÅÅÅÅÅÅÅÅÅÅ±≥∏Å

 ‰Ëbł∂ÂdÖÅuKO
 V�ŠdÐ U¼Å‚—Ë “« všdÐ lÐd� d²� p¹ Âdł ‡‡ 

ÈœôuP ÈU¼Å‚—ËÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

ÈœôuP —«bł¬ ÈU¼Å‚—Ë

Ã¬ s²PdÖÅdE� —œ ÊËbÐ

ÈË— ÈU¼Å‚—Ë

»dÝ ÈU¼Å‚—Ë

f� ÈU¼Å‚—Ë

Z�dÐ ÈU¼Å‚—Ë

ÂuOMO�u�¬ ÈU¼Å‚—Ë

0.560.50.440.380.320.280.240.220.20.18s mm

4.403.933.462.982.512.201.881.731.571.41mkg m2

2.01.751.51.381.251.1310.880.750.63s mm

15.713.711.810.89.818.877.856.915.884.95mkg m2

5.554.754.543.532.752.52.25s mm

43.239.337.335.331.427.523.621.619.617.7mkg m2

14181211109876.56s mm

11010294.386.578.670.762.95551.147.2mkg m2

10987654
1

2
43

1

2
3s mm

86787062544642383228mkg m2

0.600.550.500.450.400.350.300.250.200.15s mm

4.313.953.593.232.872.512.151.801.441.08mkg m2

2.01.81.51.21.00.900.800.750.700.65s mm

14.412.910.88.627.186.465.745.385.036.67mkg m2

2.01.51.00.90.80.70.60.50.40.3s mm

22.817.111.410.29.127.986.845.704.553.42mkg m2

0.60.50.450.40.350.30.250.20.150.1smm

5.344.454.03.563.112.672.221.781.330.89mkg m2

2.52.01.81.61.41.21.00.90.80.7s mm

22.217.816.014.212.610.78.98.017.126.23mkg m2

0.60.50.450.40.350.30.250.20.150.1s mm

5.14.253.823.42.972.552.121.71.270.85mkg m2

2.52.01.81.61.41.21.00.90.80.7s mm

21.217.015.313.611.910.28.57.656.85.95mkg m2

0.90.80.70.60.50.40.350.30.250.2s mm

2.482.161.891.621.351.080.950.810.68054mkg m2

5.04.03.02.52.01.81.61.41.21.0s mm

13.510.88.16.85.44.94.43.83.32.7mkg m2



ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±≥π

 ‰Ëbł∑ V"ŠÅdÐ Èœôu8 ‘uÖÅgý Ë ‘uÖ—UNÇ ¨œdÖ ÈU¼ÅqO8ËdÄ “« d²� p¹ Âdł ‡‡ kg

71 ...10536 ... 701 ... 35
ddd
lll

SWSWSW

34.339.631.1718.8110.27.99360.0070.0080.0061

35.240.732.0729.310.78.44370.0270.0310.0252

36.241.832.9739.8111.38.90380.0610.0710.0563

37.243.033.87410.311.99.38390.1090.1260.0994

38.244.234.77510.912.69.86400.1700.1960.1545

39.245.335.67611.413.210.4410.2450.2830.2226

40.346.536.57712.013.910.9420.3330.3850.3027

41.447.837.57812.614.511.4430.4350.5020.3958

42.449.038.57913.215.211.9440.5510.6360.4999

43.550.239.58013.815.912.5450.6800.7850.61710

44.651.540.58114.416.613.0460.8230.9500.74611

45.752.841.58215.117.313.6470.9791.130.88812

46.854.142.58315.718.114.2481.151.331.0413

48.055.443.58416.318.814.8491.331.541.2114

49.156.744.58517.019.615.4501.531.771.3915

50.358.145.68617.720.416.0511.742.011.5816

51.559.446.78718.421.216.7521.962.271.7817

52.660.847.78819.122.117.3532.202.542.0018

53.862.248.88919.822.918.0542.452.832.2319

55.163.649.99020.623.718.7552.723.142.4720

56.365.051.19121.324.619.3563.003.462.7221

57.566.452.29222.125.520.0573.293.802.9822

58.867.953.39322.926.420.7583.604.153.2623

60.169.454.59423.727.321.5593.924.523.5524

61.470.855.69524.528.322.2604.254.913.8525

62.772.356.89625.329.222.9614.605.314.1726

64.073.958.09726.130.223.7624.965.724.5027

65.375.459.29827.031.224.5635.336.154.8328

66.677.060.49927.832.225.3645.726.605.1929

68.078.561.710028.733.226.0656.127.075.5530

69.380.062.810129.634.226.9666.537.555.9231

70.681.664.210230.535.227.7676.968.046.3132

72.083.265.510331.436.328.5687.408.556.7133

73.584.966.710432.437.429.4697.869.077.1334

75.086.568.010533.338.530.2708.339.627.5535

d l sw d l sw d l sw



ÅÅÅÅÅÅÅÅÅÅÅÅÅ±¥∞Å

 ‰Ëbł∏V�ŠdÐ ÈœôuP ÈU¼Åt�u� “« d²� p¹ Âdł ‡‡  kg

1 ′′a 1 ′′4 3 ′′8 1 ′′2 3 ′′4 ′′1 11
′′4

6 8 10 15 20 25 32

28 19 19 14 14 11 11

10 13.25 16.75 21.25 26.75 33.5 42.25

2 2.25 2.25 2.75 2.4 2.9 3.1

0.395 0.610 0.805 1.25 1.44 2.19 2.99

11
′′2 ′′2 21

′′2 ′′3 ′′4 ′′5 ′′6

40 50 65 80 100 125 150

11 11 11 11 11 11 11

48.25 60 75.5 88.25 113.5 139 164.5

3.1 3.3 3.75 4 4.25 4.5 4.5

3.45 4.61 6.64 8.31 11.5 14.9 17.8

8 10 12 14 16 18 20

51 ′′6 132 ′′2 153 ′′2 91 ′′6 5 ′′8 233 ′′2 253 ′′2

1.5 1.5 1.5 2 2 2 2

0.240 0.314 0.388 0.592 0.691 0.789 0.888

22 24 25 26 28 30 32

7 ′′8 151 ′′6 ′′1 11
3 ′′2 13

3 ′′2 13
1 ′′6 11

′′4

2 2 2 2 2 2,5 2,5

0.986 1.09 1.13 1.18 1.28 1.70 1.82

35 38 41,5 44,5 51 57 63,5

13
′′8 11

′′2 15
′′8 13

′′4 ′′2 21
′′4 21

′′2

2.5 2.5 2.5 2.5 2.5 2.75 3

2.00 2.19 2.40 2.59 2.99 3.68 4.48

70 76 83 89 95 102 108

23
′′4 ′′3 31

′′4 31
′′2 33

′′4 ′′4 41
′′4

3 3 3.25 3.25 3.5 3.5 3.75

4.96 5.40 6.39 6.87 7.90 8.50 9.64

êM¹« VKŠdÐ t.u. v¼bÐ¬ dD,

d²�ÅvKO� VKŠdÐ t.u. v¼bÐ¬ dD,

êM¹« d¼ —œ t-«b-œ œ«bFð

t.u. vł—Uš dD,

Á—«bł X�Uh{

 VKŠdÐ t.u. Âdł
kg
m

êM¹« VKŠdÐ t.u. v¼bÐ¬ dD,

d²�ÅvKO� VKŠdÐ t.u. v¼bÐ¬ dD,

êM¹« d¼ —œ t-«b-œ œ«bFð

t.u. vł—Uš dD,

Á—«bł X�Uh{

 VKŠdÐ t.u. Âdł
kg
m

d²�ÅvKO� VKŠdÐ t.u. vł—Uš dD,

êM¹« VKŠdÐ t.u. vł—UšdD,

d²�ÅvKO� VKŠdÐ Á—«bł X�Uh{

 VKŠdÐ t.u. Âdł
kg
m

d²�ÅvKO� VKŠdÐ t.u. vł—Uš dD,

êM¹« VKŠdÐ t.u. vł—UšdD,

d²�ÅvKO� VKŠdÐ Á—«bł X�Uh{

 VKŠdÐ t.u. Âdł
kg
m

d²�ÅvKO� VKŠdÐ t.u. vł—UšdD,

êM¹« VKŠdÐ t.u. vł—Uš dD,

d²�ÅvKO� VKŠdÐ Á—«bł X�Uh{

 VKŠdÐ t.u. Âdł
kg
m

d²�ÅvKO� VKŠdÐ t.u. vł—Uš dD,

êM¹« VKŠdÐ t.u. vł—Uš dD,

d²�ÅvKO� VKŠdÐ Á—«bł X�Uh{

 VKŠdÐ t.u. Âdł
kg
m

v.uLF� ÈU¼Åt.u.

vLÝ« Á“«b-«

“—œ ÊËbÐ ÈU¼Åt.u.

vLÝ« Á“«b-«

s

s



ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±¥±

 ‰ËbłπV�ŠdÐ ÈœôuP ÈU¼Åt²šUÝÅtLO� “« È«ÅÁ—UÄ d²� p¹ Âdł ‡‡  kg

80

100

120

140

160

180

200

220

240

260

280

300

320

340

360

380

400

450

500

550

30

40

50

60

65

80

100

120

140

160

180

200

240

280

300

350

400

450

500

550

10 × 5

10 × 8

12 × 5

15 × 5

15 × 10

20 × 5

20 × 10

25 × 5

25 × 15

30 × 5

35 × 5

40 × 10

40 × 25

45 × 30

50 × 20

50 × 40

60 × 20

70 × 30

80 × 40

90 × 50

0.39

0.63

0.47

0.59

1.18

0.78

1.57

0.98

2.94

1.18

1.37

3.14

7.85

10.6

7.85

15.7

9.42

16.5

25.1

35.3

0.64

1.14

1.45

1.36

2.18

2.1

3.04

2.42

3.52

3.38

4.60

3.77

6.47

4.95

5.42

6.83

7.38

7.94

9.66

12.2

5.95

8.32

11.2

14.4

17.9

21.9

26.3

31.1

36.2

41.9

48.0

54.2

61.1

68.1

76.2

84.0

92.6

115

141

167

80 × 42

100 × 50

120 × 58

140 × 66

160 × 74

180 × 82

200 × 90

220 × 98

240 ×106

260 ×113

280 ×119

300 ×125

320 ×131

340 ×137

360 ×143

380 ×149

400 ×155

450 ×170

500 ×185

550 ×200

1.74

2.75

4.32

5.07

7.09

8.64

10.6

13.4

16.0

18.8

22.0

25.3

33.2

41.8

46.2

60.6

71.8

115

141

167

30 × 15

40 × 20

50 × 25

60 × 30

65 × 42

80 × 45

100 × 50

120 × 55

140 × 60

160 × 65

180 × 70

200 × 75

240 × 85

280 × 95

300 × 100

350 × 100

400 × 110

450 × 170

500 × 185

550 × 200

15 × 15 × 3

20 × 20 × 4

25 × 25 × 4

30 × 30 × 3

30 × 30 × 5

35 × 35 × 4

35 × 35 × 6

40 × 40 × 4

40 × 40 × 6

45 × 45 × 5

45 × 45 × 7

50 × 50 × 5

50 × 50 × 9

55 × 55 × 6

60 × 60 × 6

65 × 65 × 7

70 × 70 × 7

75 × 75 × 7

80 × 80 × 8

90 × 90 × 9

10 × 5

10 × 8

12 × 5

15 × 5

15 × 10

20 × 5

20 × 10

25 × 5

25 × 15

30 × 5

35 × 5

40 × 10

40 × 25

45 × 30

50 × 20

50 × 40

60 × 20

70 × 30

80 × 40

90 × 50

h

b

h

b

h

b

b

b

d

   b × b × d     kg/m   ÁdL�      h × b         kg/m   ÁdL�      h × b       kg/m       h × b      kg/m



ÅÅÅÅÅÅÅÅÅÅÅÅÅ±¥≤Å

U¼ÅÁ“«b�«rš ÈU¼—u×� È«dÐ   “« tKGUP‡‡ Ê“Ë‡‡ `DÝtÐ U¼ÅÁ“«b�«    mm

 tÐmm                                                                                y–y      x–x —u×�x–v�uÞlDI�X�öŽ

dIWyIyWxIxex′′mSÁUðu


max.w2w1cm3cm4cm3cm4cmkg mcm2s == tb == hT

3,2––0,200,200,270,380,580,881,1232020

3,214150,340,430,490,870,731,291,643,52525

4,317170,580,870,801,720,851,772,2643030

6,422211,292,581,845,281,122,963,7754040

6,430302,426,063,3612,11,394,445,6665050

8,435344,0712,25,4823,81,666,237,9476060

1145459,2537,012,873,72,2210,713,698080

13606017,788,324,61792,7416,420,911100100

17707029,717842,03663,2823,229,613120120

21758047,233064,76603,8031,339,315140140

  sNÄ n� ÈdÄ tÝ

U¼ÅÁ“«b�«  ÅÅrš ÈU¼—u×� È«dÐ“« tKGUP‡‡ Ê“Ë‡‡ `DÝtÐ U¼ÅÁ“«b�« mm

 tÐ   mmy–y         x–x  —u×�x–v�uÞlDI�X�öŽ

dIWyIyWxIxex′′mSÁUðu


max.w1cm4cm4cm3cm4cmkg mcm2s == tbhTB

8,4342,878,621,112,580,673,644,645,5603030

11374,3115,11,654,490,774,665,946703535

11457,1328,52,507,810,886,217,917804040

135513,567,74,7818,71,099,4212,08,51005050

176522,81378,0938,01,3013,417,0101206060

ŸUHð—« UÐ sNÄ n� ÈdÄ tÝ tBhA� 60mm  “«St44-2 o³Þ DIN 1024 - St44 - 2 - TB 60:DIN 17 100  qO ËdÄTB-

SlDI� `DÝ Á“«b-«

I tł—œ È—u×� v×DÝ ÊUL�2

WÈ—u×� v×DÝ ‰Ëb�

′mv.uÞ Ê“Ë

 ŸUHð—« UÐ bMKÐ t³. ÈdÄ tÝ tBhA�50mm fMł “« St37-2 o³Þ DIN 17 100

DIN 1024 - St37 - 2 - T50 qO ËdÄ T-

o³Þ U¼ÅÁ“«b-«



ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±¥≥

 ·dŠ UÐ r−Š d¹“ ‰Ëbł —œV ·dŠ UÐ v³-Uł ̀ DÝ Ë Am ·dŠ UÐ q� ̀ DÝ eO- Ë AoÊUA- 

ÆbýUÐÅv� hhA� U¼ÅqJý —œ d~¹œ œ—«u� Ë XÝ« Ábý Áœ«œ

 ‰Ëbł±∞ÂU−Š« ‡‡

c d

a

b

a d

a
a

h

A1

h

A1

  V = a3

  
Ao = 6a2

V = abc

  
Ao = 2(ab + ac + bc)

  
V = A1h

  

V =
A1h

3

VFJ�

qOD²K�ÅVFJ�

u²�ÕuDK.«ÅÈ“«

AM�—u
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h

r

d

h

D

d

h

x

r
A1

A
2

m

h,U- —uAM�

t-«u²Ý«

v.Uš ÈÅt-«u²Ý«

◊Ëdh�

  

V =
h

3
(A1 + A2 + A1A2 )

≈ h
A1 + A2

2

  

V =
π
4

d2h

  
Am = 2π rh

  
Ao = 2π r(r + h)

V =
π
4

h(D2 − d2 )

  

V =
π
3

r2h

Am = πrm

Ao = πr(r + m)

  m = h2 + r2

  
A2:A1 = z2:h2

h

A1

A2



ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±¥µ

h

D

m
d

p

m
2

r

d

  

V =
π

12
h(D2 + Dd + d2 )

Am =
π
2

m(D + d) = 2πph

m = (
D − d

2
)2 + h2

  

V =
4

3
πr3 =

1

6
πd3

  ≈ 4 /189r3

  
Ao = 4πr2 = πd2

h,U- ◊Ëdh�

Ád�

vÝbMN� »U�ŠÅÅÅsOýU� “« ÁœUH²Ý« ‘Ë—

¨b?-—«œ d?~?¹b?J?¹ U?Ð t?� v?¹U?¼Å ËU?H?ð œu?łË UÐ nK²h� vÝbMN� ÈU¼Å»UKŠÅÅÅsOýU� UÐ —U� ‘Ë—

ôuLF�Îp¹ `O×d œdÐ—U� —œ t� vKd« sO.Ë« ÆœdÐ vÄ U¼Å ËUHð tÐ Ê«uðÅv� X,œ vL� UÐ t� XÝ« tÐUA� 

ÁœUH²Ý« “« q³, b¹UÐ dÐ—U� ÆbýUÐÅv� Ê¬ ÈULM¼«— tÇd² œ “« ÁœUH²Ý« œ—«œ œułË vÝbMN� »UKŠÅÅÅsOýU�

œ—u� »UKŠÅÅÅsOýU� UÐ ̀ O×d —U� ‘Ë— Uð b¹UL- tF.UD� X,œ tÐ «—ÅÊ¬ ÈULM¼«— tÇd² œ »UKŠÅÅÅsOýU� “«

—œ «— ULM¼«— tÇd² œ b¹UÐ bM� «bOÄ v U� jKKð »UKŠÅÅÅsOýU� Ê¬ UÐ —U� tÐ t� v-U�“ Uð Ë œ“u�UOÐ «— dE-

ÆbM� Ÿuł— Ê¬ tÐ Â“ô ÊU�“ —œ Uð býUÐ t²ý«œ ”d²Ýœ

t²³.« t� œuýÅv� Áœ«œ ÊUA- vÝbMN� »UKŠÅÅÅsOýU� p¹ UÐ v{U¹—  UOKLŽ bMÇ È«dł« UłÅs¹« —œ

UÐ ÁU~²Ýœ s¹« —œ U¼ÅÊ¬ ÊU�bOÇ Ë U¼ÅvÝUý Ë ©d¹“ qJý® »UKŠÅÅÅsOýU� s¹« Èd¼Uþ qJý XÝ« sJL�

ÆXÝ« ÊUKJ¹ v~L¼ —œ —U� ‰ud« v.Ë býUÐ  ËUH²� vL� d~¹œ Ÿ«u-«



ÅÅÅÅÅÅÅÅÅÅÅÅÅ±¥∂Å

∫œuL� tłuð t²J� bMÇ tÐ b¹UÐ d�« È«b²Ð« —œ

U³¹dIðÎÊ¬ ÈË— vÝUý d¼ vK#« qLŽ ÆbM²'¼ Á—U) tÝ UðÅÅËœ »U'ŠÅÅÅsOýU� p¹ ÈU¼ÅvÝUý ÂULð 

ôu?L?F� b¼œÅv� ÂU−�« vÝUý t) v�Ëœ qLŽ ÆXÝ« Ábý pŠÎv?ÝUý XÝ«— XLÝ ôUÐ U¹ Ë Ê¬ ÈôUÐ 

s¹« Æœuý Áœ“ U¼ÅvÝUý ÂËœ qLŽ È“UÝÅÅÅ‰UF7 vÝUý b¹UÐ «b²Ð« qLŽ Ê¬ È«dł« È«dÐ t) XÝ« Ábý pŠ

ôuLF� Ë XÝ« d~¹œ ÈU¼ÅvÝUý UÐ  ËUH²� v~�— È«—«œ vÝUýÎË t²7dÖ —«d< U¼ÅvÝUý t×H# ÈôUÐ —œ 

   —U³Ž Ê¬ ÈôUÐSHIFTÆXÝ« Ábý t²ýu� Ábý sOF� tÇd²7œ —œ t) d~¹œ vð—U³Ž U¹ 

U?�uLŽÎ¨t?¹Ë«“ X??U?Š —œ ‰U?¦?� —u?ÞÅt?Ð Ë œ«œ d?O?O?G?ð Ê«uðÅv� «— U¼Å»U'ŠÅÅÅsOýU� —œ —U) X?UŠ 

 U?O?K?L?Ž È«dł« È«dÐ »U'ŠÅÅÅsOýU� UÐ —U) jO×� —U) s¹« UÐ Æœ«œ —«d< ÁdOž Ë —U�¬ ¨ÊU¹œ«— ¨ÊU¹œ«dÖ

ôuLF� X?UŠ dOOGð ÆbMM)Åv� qLŽ jO×� Ê¬ —œ t²7— —U)ÅtÐ œ«bŽ« Ë U¼ÅvÝUý Ë œœdÖÅv� ÁœU�¬ Ábý sOOFðÎ

  —U?³Ž Ê¬ ÈË— t) vÝUý UÐMODEt?) œd?) ÊU?A?�ÅÅdÞUš b¹UÐ t²³?« ÆœuýÅv� ÂU−�« XÝ« Ábý t²ýu� 

ÈœUŽ —U) X?UŠ —œ »U'ŠÅÅÅsOýU� ÆœuL� tFł«d� ULM¼«— tÇd²7œ tÐ b¹UÐ X?UŠ dOOGð tÐ v7U) jK'ð È«dÐ

® X?UŠ —œ b¹UÐMODE® tł—œ ©DEGÆbýUÐ t²ý«œ —«d< ©

∫t²J�ò  —U³Ž X<Ë d¼ -E-ò U¹ åMA ERRORb¼œÅv� «— vMF� s¹« bý d¼Uþ t×H# ÈË— å

U?¹ d?H?# dÐ œbŽ p¹ rO'Ið bM�U� XÝ« Ábý Áœ«œ »U'ŠÅÅÅsOýU� tÐ v{U¹— dE� “« v¼U³²ý« t³ÝU×� t)

SHIFT ALPHA
REPLAY

MODE OFF

X -1

16

nCr

nprx1

Pol(

Rec( Rec(

3 X 1 X y

X

X 1ENG
.
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c

d/c
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c x
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C

hyp Sin
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STO RCL ( )
X Y; MM.
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7 8 9 DEL AC
/ON

A B C IMS Mcl    sd
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.
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y
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x

.

xon xon1 x

.

y

.
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ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±¥∑

œbŽ p¹ “« ÃË“ tA¹— U¹ —cł s² dÖÆvHM� 

ôuLF� t� v{U¹—  UOKLŽ bMÇ È«dł« t�«œ« —œÎÁœ«œ ÊUA- ̈ XÝ« “UO- œ—u� Ê«“u�¬Åg-«œ È«dÐ 

ÆœuýÅv�

±® sýË— ‡‡on® ‘u�Uš Ë ©off∫»U�Š sOýU� Êœd
 © tL�œ ¨Êœd�ÅsýË— È«dÐ [AC/ON]

 t?L�œ “« Êœd�Å‘u�Uš Ë[OFF]“« e?O?- t?³?ÝU×� dDÝ Êœd�dHd —uEM� tÐ sOMâL¼ ÆrOM�Åv� ÁœUH²Ý« 

 tL�œ[AC/ON]ÆœuýÅv� ÁœUH²Ý« 

∫‘u�Uš

∫sýË—

≤∫t²ýu� dDÝ Êœd
dHG ‡‡ tL�œ “« [AC/ON]ÆbOM� ÁœUH²Ý« 

≥Ëœ Ê«uð tÐ œ«bŽ« ‡‡

∫‰U¦� ≥ Ê«uð tÐ ≤®   3
2

©∫

  
3. / X2. / =. /

¥œbŽ Ëœ tłdP —cł ‡‡

∫‰U¦� —cł ¥

  
0. / 4. / =. /

µ©œbŽ ”—uM¹«® œbŽ dÐ rO�Ið p¹ ‡‡ÅÅ

∫‰U¦� ±[µ U¹ µ∫p¹ ÈUNM� Ê«uð tÐ 

5. / X−1. / =. /

∂tÝ Ê«uð tÐ œbŽ ‡‡ÅÅ

∫‰U¦� ≤® tÝ Ê«uð tÐ   2
3

©

  
2. / X3. / =. /

∑œbŽ tÝ tłdP —cł ‡‡

∫‰U¦� tłd  ≥ œbŽ ∏∫

  
30. / 8. / =. /

∏Á«u��œ Ê«uð tÐ œbŽ —«bI� t³ÝU×� ‡‡ÅÅ

OFF

AC/ ON

AC/ ON

3 X
2 =

4 =

5 X
-1 =

2 X
3 =

=3 8



ÅÅÅÅÅÅÅÅÅÅÅÅÅ±¥∏Å

6 =X
y2

∫‰U¦� ≤ Ê«uð tÐ ∂®   2
6

©

  
2. . XY. . 6. . =. .

πÁ«u�.œ tłd8 UÐ œbŽ —cł ‡‡

∫‰U¦� tłdJ —cł ¥ œbŽ ∂∫

  
4. . SHIFT. . XY. . 6. . =. .

±∞ ÈUM³� r²¹—U~. ‡‡ÅÅ±∞

∫‰U¦� ÈUM³1 r²¹—U~� ±∞ œbŽ ±±® 

  
log

10
10©

  
log. . 1. . 1. . =. .

±±dá- ÈUM³� r²¹—U~. ‡‡ÅÅ

∫‰U¦� dá+ r²¹—U~� ±≤® ln 12©

  
ln. . 1. . 2. . =. .

±≤ œbŽ ‡‡eÁ«u�.œ Ê«uð tÐ 

∫‰U¦� œbŽ e Ê«uð tÐ ±®   e
1

©

  
SHIFT. . ln. . 1. . =. .

±≥∫Á«u�.œ œbŽ Ê«uð tÐ Áœ ‡‡ÅÅ

∫‰U¦�±∞® gý ÈUNM1 Ê«uð tÐ   10
−6

©∫

  
SHIFT. . log. . (−). . 6. . =. .

∫œd� ÁœUH²Ý« r¼ Èd~¹œ ‘Ë—  “« Ê«uðÅv1 œ—u1 s¹« —œ

∫‰U¦� œbŽ ±∞∞∞∞∞∞

  
EXP. . 6. .

s¹« t� b¼œÅv1 ÊUA+ «— p¹ ÈuKł dHQ œ«bFð XÝ« Ábý Áœ«œ ÊUA+ e1dS @+— tÐ t� È—«bI1

 œb??Ž ö?¦?1 Æb?ýU?Ð r?¼ v?H?M?1 b?+«u?ðÅv?1 p?¹ “« d?²?J?Çu?� œb?Ž È«d?Ð œb?Ž∞[∞∞∞∞∞∞±∫œu??ýÅv?1 

  
EXP. . (−). . 6. .

 tL�œ s¹« “« vHM1 œbŽ Êœ«œÅÅÅÊUA+ È«dÐ(−). .ÆœuýÅv1 ÁœUH²Ý« 

6 =X
y4

SHIFT

1 =log 1

2 =ln 1

1 =ln
SHIFT

6 =(     )log __SHIFT

=EXP 6(     )__

=EXP 6



ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±¥π

5 =Sin 3

0 1Sin 5 =3
SHIFT

5 STO Sin

RCL Sin

±¥ tL
œ “« ÁœUH²Ý« ‡‡ÅÅENG

ôuLF� tL�œ s¹« “«Î¨tL�œ s¹« ÊœdA  —UÐ d¼ UÐ t�  —ud s¹« tÐ œuýÅv� ÁœUH²Ý«  ö¹b³ð —œ 

ö??ÐU??I??²??� Ë Áb??ý p??Çu??� —U??A??Ž« r??,— t??- U?¹ g?ý ¨t?Ý  —u?dÅt?Ð œb?ŽÎ —œ ±∞∞∞ ¨Å±∞∞∞∞∞∞Ë 

±∞∞∞∞∞∞∞∞∞ö¦� ÆœuýÅv� »d{ Î∫U~OÖ Ë U~� ¨uKO� d¹œUI� tÐ ¯—eÐ —«bI� p¹ q¹b³ð —œ 

  
123456789 ENG. / =123456.789*10

3 =123456.789  Kilo

  
123456789 ENG. / ENG. / =123.456789*10

6 ==123.456789  Mega

  
123456789 ENG. / ENG. / ENG. / =0.123456789*10

9 =0.123456789  Giga

±µ ‡‡ÅÅcos.sin Ë tanÆU¹«Ë“ 

∫‰U¦� sin ≥µ     ∫‰U¦�    cos¥µ       ∫‰U¦� tan¥µ

  
sin. / 3. / 5. / =. /     

  
cos. / 4. / 5. / =. / 

  
tan. / 4. / 5. / =. /

±∂® U¹«Ë“ ”—uM¹« ‡‡ÅÅARC©

∫‰U¦� Arc sin ∞[≥µ∫

SHIFT. / sin. / 0. / .. / 3. / 5. / =. /

±∑tEPUŠ tÐ œbŽ ÊœU²ÝdP ‡‡ÅÅ

 t?L?�œ “« —uEM� s¹« È«dÐ[STO] È«—«œ ‰b?� s?¹« ÆœuýÅv� ÁœUH²Ý« πU?Ð t?� býUÐ v� tE UŠ 

 ·ËdŠA,B,C,D,E,F,X,Æb-«ÅÁbý Áœ«œ ÊUA- e�d, @-— tÐ Ë 

∫‰U¦� œbŽ Êœ«œ—«d, µ tE UŠ —œ D∫

  
5. / STO. / Sin. /

±∏tEPUŠ —œ ÁbýÅÅÅÁdOš– œbŽ Êœ«œÅÅÅÊUA� ‡‡ÅÅ

 bOK� “«[RCL]ÆœuýÅv� ÁœUH²Ý« 

v?{U?¹—  U?O?K?L?Ž t?-u?ÖÅêO¼ ÂU−-« ÊUJ�« ¨b¹œ «— ÁbýÅÅÅÁdOš– œbŽ Ê«uðÅv� jI  tL�œ s¹« UÐ ‡‡

Æœ—«b- œułË

∫‰U¦� tE UŠ —œ ÁbýÅÅÅÁdOš– œbŽ Êœ«œÅÅÅÊUA- D∫

[RCL] [sin]

 s¹dLð±∫



ÅÅÅÅÅÅÅÅÅÅÅÅÅ±µ∞Å

RCL Sin89 1 =× SHIFT

  2sin72 / 5
2 +0/06

2

  
2. / sin. / 7. / (. / (. / 2. / .. / 5. / ). / X2. / +. / (. / 0. / .. / 0. / 6. / ). / X2. / ). / =. /

 tE UŠ tÐ «— —«bI� s¹« ‰UŠF∫rOM�Åv� qI²M� 

STO. / tan. /
¼«ušÅv� —«bI� “« «— œbŽ s¹« rO∞[∞∞∞∞∞∞∞∞∞∞µ∫rOM� r� 

ALPHA. / tan. / −. / 5. / EXP. / (−). / 10. / =. /
 s¹dLð≤∫

  e
5sin41 +2ln2 / 23

(. / SHIFT. / ln. / 5. / sin. / 4. / 1. / ). / +. / (. / 2. / ln. / 2. / .. / 2. / 3. / ). / =. /
±π U³ÝU×� —œ bG—œ “« ÁœUH²Ý« ‡‡ÅÅ

∫‰U¦� π∏∫•

9. / 8. / ×. / 1. / SHIFT. / =. /



ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±µ±

lÐUM�

±® v?M   U³ÝU×� ‡‡≤ Á—U?Lý ¨»uÇ l¹UMd t²ý— ©¥∑∏[≥¨d?³�«ÅvKŽ ¨v-«bL¼ UO-ÅŒd  ÆœuL×� ÆÈbÝ« ¨

® ¨Ê«dNð ‘—ËdÄ Ë ‘“u�¬  —«“Ë±≥∑∑Æ©

≤ d?C?Š  «—U?A?²?-« ¨r?O?F?- Æv?L?¹u?. ¨Â«dNý v-UO� ¨vCðd� ÆvÝUL.« ¨È“—ËUA� ÊuOÝ«eO-UJ� v-U³� ‡‡

® ¨t�uBF�±≥∑∏Æ©

≥® ¨Ê«dNð ÁU~A-«œ  «—UA²-« ¨bL×LOKŽ bOÝ ÆvF,dÐ ¨vŽ«—“ XÐUŁ  UKOÝQð Ë U¼ÅsOýU� ‡‡±≥µ≥Æ©

¥¨Ê«dNð v�öÝ« œ«“¬ ÁU~A-«œ  «—UA²-« ¨—uBM� Æ—ô È“ËdNÐ ¨È“—ËUA� ÈU¼ÅsOýU� vŠ«dÞ ‰ud« ‡‡ÅÅ

®±≥∑∏Æ©

µ® ̈ Ê«dNð ÁU~A-«œ  «—UA²-« ̈ —uBM� Æ—ô È“ËdNÐ ̈ È“—ËUA� ÈU¼ÅsOýU� Ë —u²�«dð X¹d¹b� ‡‡ÅÅ±≥∂πÆ©

∂¨Ê«d?N?ð ‘—Ëd?Ä Ë ‘“u?�¬  —«“Ë ¨b?O?L?Š ÆÈbŠ« ¨bO−� ÆÈbMłdOÐ ¨g�Å„b¹ ÈU¼ÅsOýU� ‰UBð« ‡‡ÅÅ

®±≥∑∏Æ©

∑® v?M?   U?³ÝU×� ‡‡≤ Á—U?L?ý ¨Ë—œu?š l?¹UMd t²ý— ¨©¥∂µ[∂Ë t?K?.«b?Ý« Æv?J?K?� ¨sKŠbL×� Æôuð ¨

® ¨Ê«dNð ‘—ËdÄ Ë ‘“u�¬  —«“Ë ¨sKŠ ÆvLÝU,±≥∑≥Æ©

∏® ¨Ê«dNð ÁU~A-«œ  «—UA²-« ¨bL×LOKŽbOÝ ÆvF,dÐ ¨sOýU� È«eł« ‡‡ÅÅ±≥∑πÆ©

π® vM   U³ÝU×� ‡‡± Á—ULý ¨pO-UJ� vKOB×ð ÁËdÖ ¨©≥µ∂¨“ËdNÐ È“u-“ ÈdOB- ¨bLd Âb,« v�œUš ¨

® ¨Ê«dNð ‘—ËdÄ Ë ‘“u�¬  —«“Ë±≥∑∑Æ©

±∞® vM   U³ÝU×� ‡‡≤ Á—ULý vA�ÅtAI- Ë vŠ«dÞ ‡‡ bO.uð Ë XšUÝ ÈU¼Åt²ý— ¨©¥∂±[∏ÆÂb,« v�œUš ¨

® ¨Ê«dNð ‘—ËdÄ Ë ‘“u�¬  —«“Ë ¨“ËdNÐ È“u-“ ÆÈdOB- ¨bLd±≥∑≥Æ©

±±¨e¹d³ð ÁU~A-«œ  «—UA²-« ̈ »UNý ÆÈœË«œ ̈ U{—bOLŠ ÆÁœ«“ÅrÝU, ̈ Ãd¹« Æd³−-— ̈ —u²�«dð —uðu� Ê«uð ‡‡

®±≥∑πÆ©

±≤® ¨Ê«dNð ÁU~A-«œ  «—UA²-« ¨bLŠ«bOÝ ÆvFOHý ¨‰Ë« bKł ¨È“—ËUA� ÈU¼ÅsOýU� ‰ud« ‡‡±≥∑≤Æ©

±≥® ¨Ê«dNð XFMd Ë rKŽ  «—UA²-« ¨Ãd¹« ÆÊ«Ë—œUý ¨sOýU� È«eł« vŠ«dÞ ‡‡±≥∑≤Æ©

±¥® ¨Ê«dNð ¨v³²−� ¨v¹UO{ ¨pO-UJ� ÈU¼ÅsOKOMJð È«dÐ vÝbMN� ÂuKŽ ‡‡±≥∂πÆ©

±µË v?M?  ‘“u�¬ ÊU�“UÝ ¨œuL×�bOÝ ÆÈdNE� ¨ —UN� vK� œ—«b-U²Ý« ”UÝ«dÐ XFMd —œ  U,U³D-« ‡‡

® ¨Ê«dNð ¨—uA� È«Åt dŠ±≥∂∏Æ©

±∂¨U?M?O?ÝÅvKŽuÐ ÁU~A-«œ  «—UA²-« ¨œË«œ Æœ«— È—uBM� ¨‰Ë« bKł ¨È“—ËUA� ÈU¼ÅsOýU� Ë —u²�«dð ‡‡

® ¨Ê«bL¼±≥∂∏Æ©

±∑¨U?M?O?ÝÅvKŽuÐ ÁU~A-«œ  «—UA²-« ¨œË«œ Æœ«— È—uBM� ¨ÂËœ bKł ¨È“—ËUA� ÈU¼ÅsOýU� Ë —u²�«dð ‡‡

® ¨Ê«bL¼±≥∑≤Æ©

±∏ ¨b� pO-UJ�uð« t²ý— ¨ÊU²ÝdM¼ ‰Ë« ‰UÝ vM  »UKŠ ‡‡¥∞µ® ¨Å±≥∂πÆ©

±π® ¨Õ«dÞ ¨tK.«b³Ž Æœ«ó-Åv.Ë ¨È“UÝÅsOýU� Ë vŠ«dÞ ÈU¼œ—«b-U²Ý« Ë ‰Ë«bł ‡‡±≥∏≤Æ©



XÝdNP

t�bI�

« qBPËÒ ∫‰vJ¹eO  ÈU¼ÅXOL�±

 ∫ÂËœ qBP U¦K¦� œdÐ—U�≥¥

 ∫ÂuÝ qBPÊ¬ ‰UI²-« Ë X�dŠ¥∏

 ∫Â—UNÇ qBPËdO-∂∏

 ∫r−MÄ qBP`.UB� X�ËUI�∏∂

 ∫rAý qBP—u²�«dð Ë —uðu� —œ Ê«uð±∞∞

 ∫r²H¼ qBPÈ“—ËUA� ÈU¼ÅsOýU� Ë —u²�«dð œUB²,«±±∑

U¼ÅXÝuOÄ±≥≤

lÐUM�±µ±
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